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1.1

(George B. Dantzig) 1947
),

min z = CGX1+ CX2 +

S.t. aiiX1 + a2Xz+

aiX1 + a2Xz2+

AmiX1 + am2X2+

X1, Xz, , Xn 2

s.t. subject to ;

+ CXn
+ anXn= o

+ a2an2 b2

+ amXn= bm
0

ChXn , X1, X2, y Xn
n
aix; =2 b, 1= 1,2, ,m
—1
ai )
aii ai2 Ain
Az Az Azn
A: = (ai)m n
aml amz amn
bi
o}
b
b=
o
(1.1) X1, X2, , Xa

(1.1)

CX1t ¢Xot +



1.1
min z = 3Xi1+ 2X:
s.t. 2X1+ 3X2=2 6
X1+ X2 4
X1,X22 0
4 4 2x1+ 3x2= 6, x1+ x2= 4, x1= 0, x2
=0 1.1
2x1+ 3x2= 6 1.2
1.1 1.2
1.2
1.2
, n
fa,f2, ,fn , m Vi, V2, , Vm,
b, b, ,bm : fi c,fi v ai,j=1,2, ,m, i
=12 ,n
fi xi, = 1,2, ,n, Z= CGXit CcX2t  F
CaXn Vi b 1= 1,2, ,m, ,
min z= CX:+ GX2 + + CXn
s. t. aiX1 + au2Xz+ + anXn= n
Qi1X1 + &a2X2+ + &nXn= b2
amiX1 + am2Xz2+ + amXn= b

X122 0,x2=2 0, ,Xn=2 O



1.3
P
m12
P:
40
29- 12- 13=4
1.4

Vi by, b,b> b, i= 1,2, ,n,
min z= GX: + GCX2 + + CiXn
S. t. HZ auX: + awX:+ + anXn= h
EZ AzX1 + axnXa2+ + anXn= b
EZ aml)(l + am2X2+ + amanZ bn
X122 0,x2=2 0, ,xa=2 0
fi di li: 11 2! lnl
min z= cGX: + GCX2 + + CiXn
S. t. HZ arX1 + awX:+ + ainXn= b
EZ a1X1 + a=Xa2+ + anXn= b
EZ ale1 + arn2X2+ + amanZ bm
0< X:1< di;,0< X2 dz, ,0< Xn< da
P: P P 29 P
12 P. 11
m:1 ) P- ma me
13 P2 10 m:
m:z 80 P ,
P X1 ) P2 X2 P
, P 23- 11- 10= 2
Z= 4X1+ 2 X2
2x1+ x2< 100
x1 + x2< 80
x1= 0, 0< x2< 40
max z= 4x: + 2X:
S. t. 2X1 + Xx2< 100
X1+ X2 80
0< X1, 0< x2< 40
i bi ,i: 1,2, , M

100
P-



aij

azj )
a = , ] =12, ,n
amj
ai ] | ;
aili + azl: + + amjlm < |
j X]’ j: 1’2’ ’n
min z= X:+ X2+ + Xan
S. t. X1+ aX2 + + awXn = |1
aiX1 + az2X2 + + axnxn> |2
amiX1 + am2X2 + + amXn = Inm
Xi= 0 1= 1,2, ,n
1.5
m A11A21 lAm; n Bl! le ) B”
Bi ci(i=1,2, ,mj=12 ,n), 1.3
a'il i= 1lzl lm! BJ lejz 1! 2’ !n
Z ai = Z bi
-1 -1
1.3
Ai B; Xi )
min z = Ci Xij
Zl =1
s.t. Xiz2 b j= 1,2, ,n
-

xi = 0, 1= 1,2, ,m;j= 1,2,



1.6

4 300 ,500 ,900 , 600
7.5%,6%,7.5%, 6.5%, 10
6.5%, 6.5%, 5.5%
: ?
[ Xi 1,234
, ] Yi
j=1,2,3
1 X1 y Y1 ,
X1- Yyi= 3
2 1.065y:, 2 X2,Y2
1. 065y: + X2- Yy2= 5
3
1. 065y2 + X3- ys= 9
4
1. 055ys + X4= 6
10
min z = 10(0.075x:) + 10(0.06xz) + 10(0.075xs) + 10(0. 065x.)
S.t. Xi- VY: = 3
1. 065y:1+ X2- V2 =5
1. 065y.+ Xs - =9
1. 055ys+ X4= 6
xi2 0, i= 1,2,3,4;yi=2 0, j= 1,23
1.7
17 13 15 19 14 16 11
5 , 2
?
Xi [ i 1,2,3,4,56,7



min
S. t.

Z= X1t

X2+ X3+ Xat+ Xs+ Xet

X1 + Xat+ Xs+ Xet

X1+ Xs+ Xet+

X1+ Xe+

X1+ X3+

X1+ X3+ Xas+

X3+ Xast+ Xs+

Xat+ Xs+

, 1= 1,2,

X3+

Xxi=> 0

1.3

(A)

(B)

X'=xi- d= 0

A (a1 a2

n

min z = Z G X;
=
n

Z aiX; = bi, 1=
Xi = 0, j 1,2,

S. t.

max z = Z G X
-1

Z aiXj < bii
-1
X;i = 0, j = 1,2,

S. t.

I
Lo
N

(B)

C=(ac o),
X= (X1Xz2 Xn)'
b= (b:b: ba)',
A= (ai)m n

an)

v v

x
\Y

17
13
15
19
14
16
11

(B),

Xj= d> 0,

(A)

(1 2)



a

o ) =

1.8

2x1+ 3x25 6

, X1+ 2X2Z5 6

1.4

1.8

X1t X2= C

= (@i Qi

am) , 1=

n
max z= Cx = Z CiXi
1

S. t. anaiXiS b

Xxi= 0, 1=

1.4

max z= X:+ Xo

S. t. 2X1+ 3X2<
3X1+ 2X2<
X1 =
1.4 :

1.5

1.6
OX1X2 ’

ol o

0, x2=2 O

o o

(1.3
2X1+ 3x2= 6
1.5
6
= =4 —
max Z 5 5



1.9

1.10

1.8

1.6

1.8

max z = 2Xi1+ 3Xo
S. t. 2X1+ 3X22 6
3X1+ 2X2X 6

X122 0, Xz22

1.8 :

max z= X1+ X

s. t. 2X1 + 3X2<
3X1 + 2X2<
X1+ Xe<

X1, X2= 0

0

3

1.7

(0,2)

1.9

Ul o

a1 o



1.9 X1+ X2< 3

1.11
max z= - 2X1+ X
S. t. - 2Xat+ 3X25 6
- X1+ X< 1
X1, X22 0
, 1.10 : (0,1)
max z= 1
1.10

max z = X:+ Xo

S.t. - 2X1+ 3X22 6
- X1+ X5
X1, X2= 0
, 1.11

1.11



1, 2,

A= (ai)m = (a1a

1.12

10:

ai, dz,

G X

X3, X4

max

max z= X1+ Xo

S. t. 2X1 + 3X2<

X1+ 2X25 6

X1+ X2= 3

X1, X222 0
n(> 2) ,
max z = CXx
S.t. AX<
x>

an),

n

Z= Z CiXi
-1

s. t. axj<s b
Zl j Xj
xj=2 0,j= 1,2,
, dn, X1, X2 , Xn
b> Zanj
-1
Z aj X; ai, az,
-1
2X1 + X<
- X1+ 3X:z<
X1, X2= 0
2X1 + X2+ Xz =
- X1+ 33X + Xu4=
xi= 0,1= 1,2,3,4
2 2 __ 1
397 o1 37

b= 2a;+ 3a«

2
3

v

0,]



X1, X2, X3, Xa= 0, b= aix:+ axX:+ asxsz+ asXa 1.12

1.13
2X1 + X2t Xs =- 2
- Xi1t+  3Xe + Xa= 3
xi=z 0, 1= 1,2,3,4
xiz 0,1= 1,2, 3,4 _2= 2X1+1X2+1X3+0X4
’ A 3 -1 3 0 1 ’
1.13 :
4 (3,0),(0,- 3),(- 2,1) (1,49 |,
(X1, x2)
(a) 4 (X1, X2) (;,;) d
d= ©f1- X104 O x:C]
(b) (X1, x2) - 1< xa< 2, 0< xo< 1, ?
: 10 12 100 000 1 4
10 000; 30000 10 2 50000
; 15000 5
8 6 , 6 4.5 7,
120 000, 2
; 1 , 150 000 :
1 0.1
(a) max z= 5Xxi+ X2 (b) max z= 5xi1+ X2
s.t. X1+ X< 12 s.t. X1+ X< 12
4x1+ X2< 20 4x1- X2< 20
X1, X2= 0 X1, X22 0
(c) min z= 3Xx:- X2 (d) (c) , Xi,Xe
s. t. X1+ 2X22 12
4x1- X2 20
3X1+ 6x2=> 36
X1, X2= 0
(e) max z= X1+ X (f) min z= 4x:+ X2
s.t. X1+ X< 10 s.t. X1+ 2X2< 7
X1+ X222 5 3X1+ 2x2= 30
X1, X222 0 X1,X22 0

11



B,C

12.

4 000

: : 1 000

50 000 20
15 60 30
4 3 : :
«C )
1 2 3 4
1 4 4 5 7
6 5 6
12 10 8 11
C )
1 2 3 4
1 0.3 ]1]0.25| 0.2 | 0.2
2 0.2 1 03] 0.2 (0.25
3 0.8 06| 0.6 | 0.5
4 000, 5000, 3 000, 1 500, 1 200, 1 500, 2 000,
3 A,
)
A B C
300 600 800
250 400 700
200 350 600
100 200 300
50 I, 30 ,50 ,80
10 000, 8 000, 6 000, 6 000( )



2.1
2.1.1
2.1 X FE X1 X2 X : O< A< 1
i+ (1- ANX X
X
At (1- )N xe X1 X2 :
x x$?
x 5" N
X1 = , X2 =
x4 x (7
Mt (1- N xe= (XiXz  Xn)', o< A< 1, xi= &P+ (1- Vx¥?, 1,2 ,n
X2+ y2S RZ 2-1
) X1, X2
2.1
2.1 A= (ai)m n, b= (b2 bm)', X, Ax=b {x@Ax= b, x= 0}
X1. AX:= b, x:= 0
X2. AX2= b, x2= 0
" N0 A< 1) x= Mt (1- Nx2  x= 0,
Ax= Mxi+ (1- A)Ax:
= A+ (1- Nb
= b
2.2 X X X1, X2 X A 0< A< 1, X= M1+
(1- )\)Xz
2.3 {xCdx= b} E" : a E , b

13-



X1+ aXe+ + axo=b, n=2 = n=3 E

a

Xo , axo=Db
a(x- xo) =0

a X- Xo , 2.2 292
2.1.2
ax=>b ,
2.4 {xGix< b} {xCix= b} E'
E" ax=b {x@x< b} {xC4x= b}
2.5 {Xot+ ACSY> O} Xo , d : d
2.6 , Xo , d, {Xo+ )\d©:
= 0} : d
{x@Ax= Db, x= 0}, d A(x+ M) = b, x+
M= 0, A2 0, x X, AXx= b, Ad= 0
, d {x©Ax= b, x= 0}
d= 0, d# 0, Ad= 0
d {x@\x= b, x= 0} : d# 0, d= 0O, Ad= 0
2.2 {x@Ax= b, x> 0} P
' XEAXE D X= 5 I T T S
2.3
2.3

14-



X1 d. d. 0
: X= X d= Z , Ad= 0,
X2 d: d- 0

di- 2d22>2 0, di- dz.= O,
di=> 0, d-= 0, d. > 2d

1,
1 2/ 5
d: = , 02 = —
0 1/ 5
d= Adi+ Xd2, A, A2> 0
2.7 d , d. dz, A, &> 0, d= Ahd.+
Adz, d
k
2.8 a, &, ,a . C= Z )\iai‘)\iz 0 112 .,k al, a,
=1
1a-k
2.9 {XCAX< b} . A= (a3)m o b= (bib

b)", b=0 {xCrxs 0} ,

2.2
1. n= 1 , X1, X2, X , A=
L = (1 Nxet M
X = MX1+ AX2, M+ =1, MA=20 (2.1
2.n= 2 : X1, X2, X3 2.4
X , X1, X X2X3 X (2.1)
X= MXz+ XXz, M+ A= 1, M, 2= 0 (2.2
X X1 X , (2.1)
X = MiXi1+ MHoX, i+ M= 1, i, 2= 0 (2.3
X (2.2 (2.3)
X = MiX1 + M2(MXz + A2Xa)
= MiX1 + MM2Xz + AM2Xs
= ANiXa + NaXz2 + AsXs
AN+ N+ M= it Mpet epe= 1,  ALA, A2 0
3. n=3 : X1, X2, X3, X4, X
X1, X x ( 2.5), X= MXet NXxst MXa, M+ Nt A=
1, M, N, =0 X= MiXit MoX, hi+ P2= 1, M1, 2= 0

15



2.4 2.5

X = MiXs + Mz2(AiX2 + AeXs + AsXa)
= NiX1 + ANoXz + AsXs + AiXa
A= Pi, = Az, o= Az, Ai= Az,
A+ A2+ N+ Ai= P+ M2+ Aeplz + Aspe
= M+ (Mt ket X

= M+ 2= 1
A, Ao, s, i O
2.1 X= {x@x= b, x= 0} : X1, X2, ,Xk, X X
k k
A, A2, , A2 0, Z A= 1, X = Z NiXi
2.6 X X Hdl y dl ]

2.6

X= Aixit leXet MXs, M+t e+ A= 1 A, A2, A2 0
X= MXit XXzt Asxst pde

2.2 X= {x@Ax= b, x= 0} , X1, X2, . Xk
d:, do, cdn, x X A, A, A 0, o+ Aot + A=
M1, b2, , pn= O,

X = Zk AXi + Zh i di

16-



2.3

2.3.1

max zZ = CiXi:+ CX2 + + CiXn
S.t. AiiX1 + aw2X2+ + anXn< bt
A21X1 + a2X2+ + anXn< b
(2.4)
am1X1 + am2X2+ + amanS bm
X122 0, X2=2 0, ,Xxa= 0
max z = CX
s. t. Ax< b (2.5)
x= 0
A= (ai)m n, C= (e &), x=(x1x2 xn)', b= (bth: bn)’
Xn+ 1, Xn+ 2, Xn+ m( ) (2.4
max Zz = X1+ CGX2 + + GCiXn
S. t. aAuX:+ awX:2+ + anXn + Xn+1= hn
azXi1+ azXz2+ + anXn+ Xn+2= b
am1X1+ am2X2+ + aman + Xn+ m= bﬂ
xi=2 0, 1= 1,2, ,n+ m
max z = CX
S. t. Ax= b
x= 0
X= (X1X2 XoXne1 Xmem),C= (GG G:m), A= (A | Lmy), Im m

max z= X1+ X
S. t. 2X1+ 3X2<
3X1+ 2X2<
X1, X2= 0
X3, X4
max z= X:+ X
s. t. 2X1 + 33X+ X3 = 6
3x1 + 2Xxe + X4= 6
xiz 0, 1= 1,2,3,4
17-



2.3.2

X1, X2 , ? Xx2=0,Xx2= 0 ,X3= 0,X4= 0
? 2X1+ 3X2+ X3= 6 , 2X1+ 3X2= 6 X3= 0; 2X1+ 3X2= 3
X3= 3 , 2x1+ 3x2= 6 X3=

: X1+ 2X2+ Xa= 6, X1+ 2X2= 6 X+= 0, X1+ 2X2

= C Xa= , 2.7
2.7
(d) x1= 0, x2= 0, x3= 0,x4= 0, 4
» X212 0, x2= 0, 2x:1+ 3x2< 6(xs= 0), 3x1+ 2x2< 6(x4= 0) 4 (0,0,
6,6),(20.20), £.2.00,(0202), ,

0, (0,0,6,6) xi=0 X:=0 £ (2,0, 2,

0) x2= 0 xa= 0
18-



max Z = CiX1+ CX:2 + + G Xn

S. t. AiiX1 + aw2X2+ + anXn< bt
A21X1 + a2X2+ + axnXn< b
am1X1 + am2X2+ + amanS bm

X1, X2, ,Xn2= 0

max Z= CX:+ CX2 + + GiXn

S. t. Au X1+ awpXz2+ + AunXnt+ Xn+1 = b
Az X1+ axX2+ + AonXn + Xn+ 2 = b
ale1 + am2X2+ + a.man + Xn+ m= bm

Xxi= 0, 1= 1,2, ,n+ m

max z = Cx
S. t. Ax= b
x= 0
A= (A | | (m))m (n+ m) n= 2 n= 2
) y n n= 2
) n n
2.4
2.4.1
max z = Cx
S. t. Ax= b
x= 0
{xCAx= b, x= 0} X S X1, X2, Xk,
X = AX1+ AoXz2+ +  AXk

A2 O 1= 1,2, ki M+ A+ + k=1

Cx= X1t cX2t  + OoiXn ,
k k
C(X) = C Z AiXi = Z )\iC(Xi)

z= Cx : xn, max{C(xi), C(xz2), ,C(xx)}= M=

C(xn)  X= Xn, M= 1, A= O(i#% h)
19-



C(x) max {x@Ax= b, x= 0} C(x)

Xn
max z= X:+ X
s. t. 2X1 + 33X+ X3 = 6
(2.6)
3X1 + 2X2 + X4= 6
xiz 0, 1= 1,2,3,4
2X1 +  3Xz2t X3 = 6
X1+ 2X2 + X4= 6
(1) X1= 0,x2.= 0
X1= 0,X2= 0 (2.6)
X3= 6 1 0 Xs 6
X4 = 0 1 xsi 6
xs 1 0 6 _
x« 0 1 6
x1(0,0,6,6)",C=(1,1,0,0),Cx:= 0
(2) x1= 0,xs= 0 : (2.6)
3X2 = 6

3 0 xe 6 X 3 0 "6

2 1 Xa 6 Xa

0
x2(0,2,0,2", Cx-= (1,1,0,0) 3 =2
2
(3) x1= 0,x4= 0
X2+ Xz = 6 3 1 Xz
2X 2 = 6 2 0 xXs
X2 6 3
Xs 6 - 3
xs= - 3< 0, (0,3,- 3,0)
(4) X2= 0,x3= 0
2X1 = 6 2 0 X _
X1+ Xa = Xe
X1 "6 - 3
Xs B 3

20-



x.= - 3<0, (- 3,0,3,0)
(5) x2= 0, x4s= 0

2X1+ X3 = 6 2 1 X1 6

3 = 6 3 0 xs 6
X1 21 "6 2
Xxs 3 0 6 2
xs= (2,0,2,007, Cxs= 2

(6) xs= 0, xs= 0
2X1+ 3x:= 6 2 3 X1 6
31 + 2Xo = 3 2 x: 6

6
X1 2 3 '6 6/5
3 2 6 6/5

T

6 6 _
Xa 5,5,0,0 , Cxa= 12/5

max z = max 0,2,2,%2 = 12/5
(x1,x2)= (6/5, 6/5)
2.4.2
A= (aij)rx n, A= (A | |(n)), )
n A ( : )
A , A (I | A , A T
A—l
2 3 1 0 (1)/2,(2)/3> 1 3/2 1/2 0 (2) « (2) - (1)>
3 2 0 1 1 2/3 0 13
6 3
1 32 1/ 2 o @ - 7§ 1 3/2 12 o MO-D- %
> >
O - 56 - 1/2 13 0O 1 35 2/5
1 0 - 2/5 3/5
0 1 3/5 - 215
(1)/2 1 2,(2)- (1 2 1
2 3'1_ - 2/5 3/5
3 2 35 - 25
2.4.3
S: Ax=b
x= 0

.21



A2 0, 1= 1, 2,

S, X1, X2, , Xk dl,dZ,
k h
X = AiXi + id
gt g md
k, At Rt + A=1,u20,j=1,2, ,h
k h
Cx = AC(Xxi) + i C(d;
Zl (xi) ZIUJ (d)

k h

max z = Z )\iC(Xi) + Z IJiC(dJ')

A+ N+ +A=1LA20,11,2, ,kiu=0,j=1,2, ,h
C(di)> 0, S Cx ,
j,C(di)< 0, w=0,j=12 ,h, max{ C(xi) }
2.3
max z = - 2Xi1 + 3X:
S.t. - X1+ Xot+ Xs= 2
- X1+ 2X2+ X4= O
xi=2 0, 1= 1,2,3,4
2.8
0 0
X1= y X2= y X3=
0 2
1 2/ 5
1= , d2= ., C=(- 2,3
0 1/ 5
1
Cd:i= (- 2,3 =-2<0
0
2 5 4
Cd:= (- 2,3 = —=x<0
1/ 5 S
0 0
Cxi= (- 2,3 =0, Cx2= (- 2,3) =6
0 2
2.8
2
Cxs= (- 2,3 =8
4
max z= 8, (2,4)
2.4 max z= X1+ X
S.t. - Xit X2 + Xs =2
- X+ 2X2 + X4= 6

Xxi2 0, 1= 1,2, 3,4

, Ch,



1
Cd:= (1,1 =1>0
0
2l 5 —
Cd:= (1,1 =3/ 5>0
Y 5
max z = Cx
S. t. Ax= b
x= 0

A= (A | I(m))m (n+ m)
b= (b1 b. bm)T
C= (Cl C2 c 0 O)x (n+ m)

A: (ai)m n
+ |
m! n!
n n , n m
2.4.4
, N n ,
2.5 max z= X1+ X
S. t. 2X1+ 3X2< 6
5x1+ 2x2< 10
X1+ 5x.< 16
X1, X222 0
X1+ 5x.= 16
ﬁi_cl) 3 o 2X1+ 3Xz2= 6, bXxit+ 2X2=
10 7x1+ Bx.= 16 2.9
X3, X4, Xs
max z= X1+ X
S. t. 2X1 + 3X2+ X3 = 6
5x1 + 2X2 + Xa = 10
7X1 + 5X2 + Xs= 16
xi> 0, i= 1,2, .5 2.9

, X3= X5= 0

2.5

23



2X1 + 3Xo2 = 6
10
16

51+ 2X2 + Xa

X1+ BXo

X1 18/11
x2 = 10/11
X4 0
x1= 18/ 11, x.= 10/ 11, x3= x4+= x5= 0
Xa= Xs5= 0
2X1+ 3X2+ X3= 6
5x1 + 2X» 10
7X1 + 5X2 = 16

X1 18/ 11
X2 = 10/11
X3 0
x:1= 18/ 11, x>= 10/ 11, X3= Xa= Xs= 0
3

2.5

2.5.1

A= (aij)nx n, Xn+ 1, Xn+ 2, y Xn+ m , (2.6)
’ n+ m n , m

max z= X1+ X
S. t. 2X1+ 3X2< 6
3X1+ 2X2<
X1, X222 0
X3, X4
24.



max z= X1+ Xo
S. t. 2X1 + 3X2+ X3 = 6
3X1 + 2X2 + X4= 6
xiz 0, 1= 1,2,3,4
X1= x2= 0, xs= 6, x4= 6,

, (O, 0, 6, 6),X3,X4 y X1, X2
, (0,0,6, 6) (6/5,6/5,0,0), X1,
X2 y X3, X4
Ax= b, A= (ai)m (mn, X X8 XN
: C Cs A
Xe
B N , o ox= LG (G | o),
A= (B | N) = (ar & A+ m)
B ' N , B
A B » N N ai, az, ,anm
Ax= b BN " =b
X

Bxe + Nxv = Db
Xe = B 'b- B 'Nxvn = B 'b- zNB' "a X
xv = 0
Xxs = B 'b
z= GCsxs+ Cuxn = CsB 'b
xs= B 'b- B 'Nxv= B 'b- ) B 'ax
Z=Cexs+ Cuxn = Gs(B 'b- B 'Nxn) + CuXwn
= CB b+ (Cv- CeB 'N)xn
= CsB b+ ZN(O- CsB 'a) x
, X; G- CB 'a>0, x
zZ Xi
: Xi G- CsB 'a> 0 Xi 0
, j,a- CsB 'a= g- z< 0,

xe = B 'b,xx=0

max z = Cx

S. t. Ax= b
x= 0
, Cv- CeB 'N< 0, X = (Xs,Xn) X

25



X ,  xe= B b,
AXx=Bxs + Nxn = b
Xs = B’ lb- B lNXN
C(x- X )=GCs(x- Xs) + Cu(Xn - Xn)
= Cs[B '(b- Nxn)- B 'b] + Cu(xn - 0)
= G[B 'o- B 'Nxn - B 1b] + CuXn
= - CBB_lNXN + CuXn
= (CN - GB lN)XN
Cv- CsB 'N< O
Cx< Cx
2.5.2
, A= (ar@: @ m) B ' (p:, P2, Prem),
pi= B ‘a, (p:pz pm)= lm
1 0
0 0
p:= 0 ,pz2= 0 , , pm = 0o ,
0 0 1
O O O pPim1 Prmeo P1m+n
1 O 0 p2, m+ 1 pZ,m+ 2 pZ,m+ n
B_ 1A = O O 1 0 p3, m+ 1 p3,m+ 2 p3,m+ n
O O O 1 pm, m+ 1 pm,m+ 2 pm,m+ n
X1, X2, y Xm, Xm+ 1, Xm+ 2, y Xm+ n
P
B 'b= po = b2
Pm
Po = pPi1p1 + Pzpz2+ Psps+ + PmPm
(p:, P2, ,pm,0, ,0), po= pipi Xi=
n O
pi,1= 1,2, ,m,

. 26



Z1 = CpP1+ CpP2+

+ Gapm = CeB 'b

G- GB 'a>0 G- Gpi>0
Pui
pi= ' = pupi+ pap:+  + Pupn
P mi
Po- PBps = pipi+ pzpz+  + papm- P(PuP: + papz+  + Puipn)
= (p:- PBpu)p:+ (p2- Ppa)p:+  + (Pn- PPm)pn
Po=(p:- Ppu)pr+ (P2- Ppa)pz+  + (Pm- Ppm)pn+ Pp;
B O ,
B=min ~*|pn> 0 = E?T:’ 1< 1< m
(2.7) , p- Bpi= O p po . Bpi :
P p< 0, p , (2.7) B,
B ,
Po=(p:- Ppuy)p:+ (Pz- Ppa)pi+ + (pr- Bpu)p
0
+  + (pm- Ppm)pn+ Pp
p p ! (p1, pz ,pm 0,0, 0) (m
0):
(p:- Bpu,pz- PBpz, ,pr- Bpu, ,pm- Ppm,0, ,TB,O, , 0)
0 j
z=c(p:- Ppu) + c(pz- Ppz) +  + Ca(pm- Ppm) + GB
=Gap:+ CGpz+  + GePpmt+ B(CG - CPiy - CPz - - GnPmi)
=z:+ B(g - CeB 'a)
Zi=Gpi+ Gp2+  + GPn  (P1,pP2, P, 0, ,0)
: X P X P1 ;
pz, .pm 0, ,0)
(pr- PBpu,pz- Ppa, ,TO, ,pm - Bpm, 0, ,TB,O, , 0)
| j
2.5.3

(2.7)

P

(pl’



max z= X1+ Xz
S. t. 2X1 + 3X2+ Xs = 6
3X1 + 2X2 + Xi= 6
xiz 0, 1= 1,2,3,4
6
Po= 6 = 6p3+ 6p4 X3= 6,Xs= 6,X1= X2= 0, X3, X4, X1, X2
(0,0,6,6)
ci=c= 1,= =0, (0,086, 6) 0 ci- CsB ‘a=1>0, p:
I = O e+
P: = 3~ SE P4, Po= 6 SE P4
Po- PBp:= (6- 2B)p=+ (6- 3B)ps,
_ o 6 6 _ ) _
B= min 53 =2 ,6- 3B=0
po= 2ps+ 2p:
2X1+ 3X2 + Xs = 6 (1)
X1+ 2X2 + X4= 6 (2
(2) X1t %Xz + %X4= 2 (3)
5 2. _
(1)- 2(3) 3X2+ X3 3X4— 2 (4)
(4 () (3
%Xz+ X3~ %X4: 2
X1 + %Xz + %X4= 2
1 0 2 5 5
= , P1= , = = + 1
Ps 0 P 1 P2 5 Ps+ 2p
X1 X3 y P2 y P4 ,(2, 0, 2, O) , 2
.1 - 23
B = , B =
0 3 0O 13
B" A
1 - 213 2310 0531 - 23
0 1/3 3 2 01 1 2/3 0 1/3
B" b

1 - 213 6 2

T 0 s 6 2

28-



.1 - 23
C:= (0,1), B '=

0 1/3
. 1 - 2/3 3 5/3 1
- GB 'aa= 1- (0,1) = 1- (0,1) = >0
0 U3 2 2/ 3 3
p2
Po = 2ps+ 2p:
_5 .2
P2 = 3p3 3p1
5 2
Po- Bp2= 2- 3[3 ps+ 2- EB P2
_ .6 _ 6
B= min 5 .3 = 5
pz ,ps
Po= gpl+ 5p2
_ .. 5 Y 6 6
X1= X2= 5 X3= X4= 0, 5,5,0,0
_ 12 2
Z= 57 2%
2.6 ()
2.6.1
2.3 X= (X1Xz2 Xnem) '
AXx=Db
x= 0
A= (aij)m< (m+ n),bz (b]. b2 bm)T,X
A
X ) ) ) X11X21
Xm+ 1, Xme 2, , Xn+m, Xx= (x1x2 xmO O)T a., a2z, ,am
n
ai A 1 1= 1,2, ,m+ n,
A= (anaz amwm)
Oh, Ok, , O,
chas + Cka: + + Omam= 0
z=(xtoe om0 0)F £ :

,Xm,

. 20.



A(xxt €2 = AX+ eAz= Ax= D

Xt e S
S :
X1= Xt €z, X2= X- €z
X = %zw %Zz
X ) z2z Sz S X Z1 22
a, az, , am y X= (Xl X2 Xm O O)T
n
X1 S, X2 S,
X= M1+ (1- ANX2, 0< A< 1
X Xm+ 1= Xm+ 2= = Xn+m= 0, X1 X2 n 0,
xi= (xi? x? xs? xP 0 0F
n
x2 = (x{? x¥? x8¥?  xP 0 0F
n
y= X+ (Xi- X2), X1# Xa,
y# X
A(y- x)=0
(Yi- Xi)ait (Yz2- X2)az+ + (Ym- Xm)an= 0
ai, az, ,am , X S
2.6.2
2.10 b A m , AX=Db
) b nl
n :
2.4 x= (X1Xz Xm+m)' S S X1, X2, X+ m
m
X : m ,  X= (X1X2

Xm Xm+ 10 0',xi>0,i= 1,2, ,m+ 1,

Ao= (p1pz Pm1)

Aiz= 0
30-



2.6.3

lm+ l ’
Z= (ZlZZ Z m+ 1)T> O

z= (z2zz zo+1 0 0)'

Az= 0
X1= Xt €z X2= X- €&z
, x1> 0, x2> 0,
Axi= b 1= 12

S,Xz S,
X = _;Xl‘l' %Xz
S
X= (X1X2 Xm0 0), xi> 0,i= 1, 2,
xi= (x"x? x®¥0 07, i= 1,2
X = _;Xl‘l' EXZ
Xi S1 i: 1721
Axi= b 1= 1,2
A(Xl' X2) =0
y=X+ a(X1- X2)
Ay = AX+ 0A(Xi1- X2) = Db
y= (yry> yn0 0
yi= xi+ axi’ - x{?), i= 1,2, ,m
H y11y2, 1ym
Ay= Db
yip1 + Yap2+ + Yopm = Db
A m )
max z= CX
S.t. AX< b
X2

1ml

X

. 31



S:
S

Ss
Sa

. 32.

X

Xxe,Bxe= Db, xe=B 'b=b,xn=0,z= CsXs

Cu- CsB N,

Ci- Zi= G-

,G- z= G- CsB 'a> 0,

pi= B 'a, pi<O,

B= min

h

Xk, Xk
S Xi
. G- Zj= mgx{ci- ziCg- zi> 0}
c- z>0
G- 2> 0

2.10

Ss

b, pn > 0 = hb/py
P

g- z>0

2.10

CsB ‘ai, i

ci- zi< 0, i



2.6.4

2.6
max z= X1+ 3X2

S.t. 2X1 + 3X2<

- X1+ X 1
X1, X222 0
X3, Xa,

max z = X: + 3X:

S.t. 2X1 + 33X+ Xs = 6
- X1+ X + Xa= 1
xi= 0, 1= 1,2,3,4
_1 0
X3= 6,X4= 1, X1= Xea2= 0, B= , B = 1 ) Cs= (00),
Ci- GB 'ai= 1> 0, xu , ,
_ b 6 _
B_ ll_ 2_ 3
X1 X3, X3
X3 X1 1
1. Xe= , XN= , B= =B
Xa X2
2. ci- CB la1= 1> 0, X1
3.B 'a= (2,- 1)
_ b
4. ; B— p11_3 X1
X1, X4, X2, X3
2 0 o 1/2 O
= , = , Ce= (10)
-1 1 1/2 1
X1 N 1/2 0 6 3
b= = — =
X3 /72 1 1 4
o, 1/2 0 3 32
- GsB ‘az= 3 (10) = 3- (10)
/2 1 1 5/ 2
_ 3_3
=3 5= 2>O
- 1/2 0 3 3/2
X2 , p2= B "az= = ,
1/2 1 1 5/2
_ .. 3 4 _ 8 _ 8
B=min 555, = Mn 275 =75

. 33



2 3 . Y5 - 3/5
X1, X2 , B= ,B =
-1 1 /5 2/ 5
X1 1/5 - 3/5 6 3/5
b= = = ,CB=(13)
X2 1/5 2/5 1 8/5
. 5 - 3/5 1 1/5
G- GB 'as= 0- (13 =0- (13 = -
/5 2/ 5 0 0
. 5 - 3/5 0 - 3/5
- GB aa= 0- (13 = 0- (13) =
/5 2/ 5 1 6/ 5
x—ix—ﬁx:x—Omaxz:Z—7
1 5’ 2 5 3 4 ) 5
2.7
max z= 3Xx:1 + X2+ 2Xs
S.t. X1+ 2X2 + 4xs < 18
X1+ 2X2 + 12x35 B4
X1, X2, Xa= 0
Xa, X5
max z = 3X1+ X2+ 2Xs
S. t. X1+ 2X2+ 4Xs+ Xa = 18
X1+ 2X2+ 12Xs + Xs= 54
xi= 0, 1= 12, ,5
X4, Xs, B= =B ' C=(00),a- CB 'a:=1>0, xu
B= min 1T5_?f1 = 18
Xs ,
, . L
T -1 3
XB:(X4X1),B: , B =
0 3 0 1
3
1
. S RT: 0
b: B b= =
0 1 54 18
3

. 34



X1

C2_

C3_

C5_

X1= 18, x2= xa=

2.8

. 3
CsB 'az= 1- (03) .
0 73
Loy

C:B 'a:= 2- (03) .
0 3

.

C:B 'as= 0- (03) .
0 73

x3= Xs5= 0 , max z=

max z = HBXxi1- 2X2+ 3Xs

(31200(180000)7

S.t. X1+ X2+ X3+ Xa =7
X1+ X + Xs= 3
xi= 0, 1= 1,2,3,4,5
Xa 7 .
Xs = = ,CB:(OO),Cl' CsB ‘a:= 5> 0,
X5 3
_ 1 _ L
B= min 3 , 3 = 3
1 0
Xs = , Cs= (50), B=
5 1
1
» 3 0 7/3
B = ,B b= b=
A 2/3
3
1
» 5 0 1
- GBla=- 2- (50) <0
RER
3
1
, 3 0 >
G- GB 'as= 3- (50 <0
1 0
- 3 1



1
ci- CB 'ar= 0- (50) .
- 3 1
X1= 713, x2= x3= x4= x5= 0, z= 3—3?
2.9
max z = X1+ 3Xo2
S. t. X1 - 2X22 4
- X1+ X2 3
X1, X222 0
X3, X4
max z = X1+ 3X:
S. t. X1 - 2X2+ X3 - 4
- X1+ Xo + Xs= 3
xiz 0, 1= 1,2,3,4
X3 4 -,
Xe = ‘. = 3 c- GB "ai= 1> 0, X:
B=4, Xs
xe=  ,Ca= (10), B= 0 g
4 -1 1
b= 0 4: 4
1 3 7
G- CsB 'a:= 3- (10) '12 = 5>
X2 ’
- 2 - 2
P2 = 1 = <0
: 2.11
2.11

36-



2.10

max z = 6x: + 14x.+ 13Xs

S. t. X1+ 4X2+ 2X3< 48
X1+ 2X2+ 4xs3< 60
X1, X2, Xa= 0
Xa, X5,
max z = 6x: + 14x. + 13Xs
S. t. X1+ 44X+ 2Xs3+ Xa = 48
X1+ 2X2+ 4Xs + Xs= 60
X1, X2, X3, X4,Xs= 0
X4 48 L
Xs = = , G= (00, B= = B
X5 60
cs- CsB 'a:= 13> 0, X3 ,
_ . 48 60 _
B= min 50 4 " 15
Xs
1 1
X Lot L-% 4
Xe = ' B= 4% , 0 PF 1 60
X3 L L
0 4 0 4
- 1
G- CB 'a=6- (0 13 . = 6- (0 13) .
S 4
=6- 3%= 2—.->0
X1 ’
st 1
2 2 ) .
p1 = = , B= min{36 ,60} = 36
1 1
4 4
X4
X1 1 2 i 2 -1
Xg = C:= (6 13), B= , B = 1 1
X3 1 4 - E E

37



2 1
C- 2= C- GCB 'az= 14- (6 13) 1 1 =- 9< 0
22
2 -1 0
G- zs= G- CeB 'as=- (6 13) 1 1 <0
- 5 5 1
2 2
2 -1 4 36
Xs= 1 1 =
-5 > 60 6
36
max z= (6 13) 5 = 294
2.7
2.1
2.1
X X1 X2 Xij Xn+m
XB Cs B
h ¢ C1 C2 G Cr+ m
Xe, Cs, b1 au aw aj atnem bi/ &
Xs, Cs, b, az a2 =% A2 n+ m b,/ a2
Xg, Cs, b a1 a2 a ak n+ m b/ a
X8, Ce,, bm am1 ame amj am,n+ m b/ am;
Zo Ci- Z1 C2- Z2 G- Zj C+ m= Zn+m
(1) zo ¢-z,j=12 ,ntm
Zo= Cs it G2+  + Cs Dn
Zi= c,at cg,azt  + ceam
(2) c- zi< 0, , G- z>0, pi
(3) B= min{b/ai C4i> 0}= bd aq
(4) a
bgl) = b/ aq, aﬁ?) = awlag, 1= 1,2, , N+

38-



bi'= bi- —a;, i= 1,2, ,k- 1,k+ 1, ,m
i
ak -
ai’ = ai- —ai, 1= 1,2, ,k- Lk+ 1, ,m
akj
l=1,2, ,j- 14,j+ 1, ,n+ m
W _ au _ - -
i - Zi= G- Zi- ak(Ci- Zi), 1= 1,2, ) - 1,j+ 1, , N+ m
j
axj , G- zi, = 1,2, ,n+m,
(1) i axi
Zi = Cs;, au- a; + Cs, @i - a; +
A akj
o2 4o oam- X,
. |- .
akj m < A :
Akl Ak
= Cpi - Caut G A akj(CBp; - Cs )
Akl
=z+ ~ (G- z
Sa- 2)
(1) Ak
cC- Z = C- Zr- — (G- 2z
| I akj(Q 1)
] 1XJ XBk ] Cs CBk CJ!
) K 1, 0
2.2
2.2
X X1 X2 Xj Xn+m
Cs
h C1 C2 G Ch+ m
Cs, b&l) a.ﬁ) a%) 0 a&,lzw m
Cs, 5V as a% 0 asthe m
G b akt’ al’ 1 akhe m
Cs,_ bt a a'y 0 akihne m
pal ci- z4 - z% G- zY Cr m= Z99m

2.11



max z = 3X1+ 6X:2+ 2Xs

S. t. X1+ 4X2+ X< 2
X1+ 3X2+ 2X3<
xi= 0, 1= 1,2, 3
X4, X5,
max z = 3Xi1 + 6X2 + 2Xs
S.t. X1+ 44X+ Xszt+ Xa =
X1+ 3X2 + 2X3 + Xs= 1
xi= 0, i= 1,2,3,4,5
( 2.3):
2.3
X X1 X2 X3 Xa X5
XB Cs B
3 6 2 0 0
h
X 4 0 2 3 4 1 1 0 1/2
Xs 0 1 1 2 0 1 0]
0 3 2 0 0
X4 2/ 3 O 0 - 53 1 - 4/3 2/5
X2 13 13 1 2/3 0 3 1
2 0 2 0 2
X1 3 2/ 5 1 0 1 3/5 - 4/5
X2 6 /5 0 1 1 - 1/5 35
12/ 5 0 0 -1 - 3/5 - 6/5
X1= 3, X2= 6, X3= xs= xs= 0, max z= 12/5
X1
Xa 1
1. xe= , Xn= X2 |, B= =B °, G=(00)
Xs
X3
2. ci- CsB 'a= 3> 0, - GB "a:= 6> 0
cs- CsB 'as= 2> 0, x2
i 21
3. p:= B "a:= , B= min 4' 3 - 1/3, Xs
X4 1 4 . 1 4
1. Xe= ,Cs= (0 6), B= 0 3,B = 3
Xz 0 13

40.



-1 3 3
2. ci- z1i= &- CeB "aa= 3- (0 6) =1
0 L 1
3
4
-2(06)1-31—2(06)_5/—2<0
C3- Z3— . i 2— o 3 -
3
4 4
0(06)1-30(06)_3 2< 0
Cs- Zs5= - = = - <
5 5 . i 1 l
3 3
X1
1 - 4/3 5/3 1 - 4/3 2 2/ 3
3p1: = , Po= =
0 1/3 1/3 0 /3 1 /3
=min;§;/;:; .
B 3/ 3" 3/ 3 5’ )
3 4
X1 . 5 -5
1XB_ 1CB=(3 6);B= IB =
2 1 3
5 5
3 4
., 5 5
2. C3- z3= 2- CsB "as= 2- (3 6) 3 =- 1<0
"5 5
3 4
5 1
ca- z+= - (3 6) =- =<0
1 3 0
5 5
3 4
= 3 6 ° > 0— 6 0]
Cs-Zs—-( ) 1 3 1—- 5<
"5 5
2
-2 L1 4590 - Coxe= (3 6) ° = 12/5
X= £ & ,max z= Csxs= ( )l_
5
2.12
max z = X1+ 3X2
S. t. 2X1+ 3X2+ X3 = 8
- X1+ X + Xs= 1

X1, X2, X3, Xa=2 0



2.12

2.12
max z= X1+ 3X:
s.t. 2X1 + 3X2<
X1+ X<
X1, X222 0
: X1+ 3x2= ¢ , X1t 3x2
(1,2) ,max z= 1+ 8 2=7
2.4
2.4
X X1 X2 X3 Xa
XB Cs B
1 3 0 0
X3 0 8 2 3 1 0 8/3
X4 0 1 -1 0 1
0 1
X3 0 5 0 1 - 3 1
X2 3 1 -1 1 0 1
3 0 0 0
X1 1 1 1 0 15 - 3/5
X2 3 2 1 15 2/5
7 0 0 - 4/5 - 3/5
)

42



X3 8 1 O

1. Xs= = ,Cs= (00),B=B '=

X4 1 0 1
2. Ci- Z1= 1, G- z.= 3, X2
3.

_ .8 1 _
B= min 3,1—1

X3 1 3 g 1 -3
1. Xe= , B= B =
X2 0 1 0o 1

1 - 3
2.G=(0 3.o- =1 (0 3 " =40

X1
3.
_B-lal_ 1 2 —
OF! S 1
» 1 - 3 8
po=B 'b= =
0 1 1
B:l, X1
1 3
X1 2 3 1 5 5
1. xs= , b= , =
X2 -1 1 1 2
5 5
1 3
_ 5 5 1_ 4
2. Cs- Z3= O- (13)l 2 0—- 5<0
5 5
1 3
-0 (13 > > Y-. 3.9
C4-Z4—-( )l 2 1—-5
5 5
X1 1
X8 = = , max z= 7
X2

max z= 2X1+ Xz2- Xs

S. t. X1+ X2+ 2X3<

X1+ 4X2 - Xs3< 4

X1, X2,X3= 0

X4, X5



max z= 2X1 + Xz2- Xs
S. t. X1+ X2+ 2X3+ Xa = 6
X1+ 4X2 - Xs + Xs= 4
xiz 0, 1= 1,2,3,4,5

( 2.5):
2.5
X X1 X2 X3 Xa X5
XB Cs B
2 1 1 0 0
b
Xa 0 6 1 1 2 1 0 6
Xs 0 4 4 1 0 1
1 1 0 0
Xa 0 2 0 3 1 -1 2/3
X1 2 4 1 4 1 0 1
8 0 7 0 -2
X3 0 2/3 0 1 1 1/3 - 13
X1 2 14/ 3 1 3 /3 2/ 3
26/ 3 0 - 6 0 - 1/3 - 53
x—;x—klx—x—x—Omaxz—&3
3= 3" 1= 3 2 = 4 = 5 = , = 3
2.14
max z = 2X1 + 3X2 + 4Xs
S.t. X1+ X2+ 2X3t+ Xa = 2
X1+ 4X2-  Xs + Xs =
X1+ 2X2 - 4Xs3 + Xe= 1
xi= 0, 1= 1,2, , 6
( 2.6)
T
(X1X2X3X4X5X6)T= 0%%002_99 , max z = 430
Xa 1 0 O
1.xe= Xs , B= 0 1 0=B " C=(0 0 0)
Xs 0O 0 1

2. ci- z1= 2- CsB 1a1: 2
C2- 72= 3- CsB’ 1a2: 3
44.



Cs- Z3= 4- CsB 1332 4

4 :
3. Bz 1, X 4
2.6
X X1 X2 X3 X4 X5 X6
XB Cs C B
b 2 3 4 0 0 0
Xa 0 1 1 1 0 0
X5 0 1 4 -1 0 1 0
X6 0 1 2 - 4 0 0 1
2 3 0 0 0
X3 4 1 12 1/2 1 12 0 0 2
X5 0 2 3/2 o) 0 12 1 0 o)
X6 0 5 3 4 0 2 0 1 5/ 4
4 0 0 -2 0 0
X3 7/9 1/3 0 1 4/ 9 - 19 0
X2 4/9 13 1 0 19 2/9 0
X6 29/9 5/ 3 0 0 14/ 9 - 89 1
40/ 9 - 1/3 0 0 - 19/9| - 2/9 0
1
X3 2 0O 0 2 0
1.xs= xs , B= -1 1 O B '= 1 O,CB:(4OO)
Xo ~ 4 0 1 2
2 1
1
2 0 1
2.C- zi=a- GB 'a=2- (4 0 0) 1 0 0
2
2 1
1
2 0 1
Ce- z2= - CeB '&=3- (4 0 0) 1 0 1
2 2
2 1
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1
, 00
Ca- za= - CsB 'au= - (400) 1 0=-2
1 0
2 0
2 0 1
1> 0, X2
1
> 00 5 1
- -l —
3. po= B b—% 1 0 1 = 32
1 5
2 0 1
1
= 0 0 1
1 2 1 5
pe= B &= % 10 47 o2
2 4
2 0 1
_ 1 _ 1
B= min 2,3,5/4 =3
X5
X 2 10 49 - 1/9 0
1.Xe= X2 , B= -1 4 0,B '= 1/9 29 0, Cs=(430)
Xs -4 21 14/9 - 8/9 1
4 1
— - = 0
9 9 1
2. Ci- z:= - CeB 'a= 2- (430)% % 0 =-%<o
14 8
o ~ o 1
4 1
—~ - = 0
9 9 L
Ca- Z4= Ca- CBB-1a4='(430)_é %0 0=-1T99<0
14 8 0
9 9
4 1
=~ .= 0
9 9 0
c5-z5=-(430)% % 0 1=- %<0
u 8, °
9 9

. 46



X Ax lx Aax—x—x— max z = CsXs =
2 9’ 3 9 6 9 1 4 5 , B
e
9
4 40
430 —
( ) 9 9
29
9
2.15
max z= 3X1+ 2X2- Xz + Xua
S.t. 2X1 - 4X2 - Xs+ Xat+ Xs = 8
X1+ X2+ 2X3 - 3Xa + Xe = 10
X1- Xz2- 4X3+ Xa + X= 3
XiZ O, i: 1,2; s7
( 2.7
2.7
X X1 X2 X3 X4 X5 X6 X7
X8 Cs C B
h 3 2 1 1 0 0 0
X5 8 2 -4 1 1 1 0 0 4
X6 0 10 1 2 -3 0 1 0 10
X7 0 3 -1 4 1 0 0 1
0 2 1 1 0 0 0
X5 0 2 0 -2 -1 1 0 - 2 Q7
X6 0 7 0 2 0 - 4 0 1 -1 7/ 6
X1 3 3 1 -1 4 1 0 0 1
9 0 8 - 2 0 0 - 3
X3 -1 217 0 - 217 1 - 1/7 v7 0 - 217
X6 0 377 0 26/ 7 0 - 2217\ - 6/7 1 57
X1 3 29/ 7 1 - 15/7 0 37 417 0 37
85/ 7 0 @0/ 7 0 - 37 |- 117 0 11/7
126 51 e 14 42
xa | -1 182 0 0 1 7 o1 182 182
3 22 6 e 5
X2 | 2 26 0 1 0 "7 26 26 26
1309 309 14 105 153
X1 3 182 1 0 0 T 49 182 182 182
1442 0 0 0 820 656 39 | 265
182 49 182 182 182
X4 p4< 0,
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max zZ= Xi- 2X2- X3+ Xa
S. t. 3X1 + 2X2t+ Xs =5
X1+ 2X2 + Xa= 6
xi2 0, 1= 1,2,3,4

max z= X1+ X2+ 2X3+ Xa- Xs+ 3Xe+ X7

S. t. X1+ 2X3+ 2Xa4 +  Xo =4
X2+ Xzt 3Xa + 4Xe =4
X3+ 2Xa+ Xs+ 4Xe =2
X3+ 3Xa + Xet X7= 5
xi2 0, 1=1,2, ,7
x= (4,4,0,0,0,2,5)7 ? ?
max z = X1+ 3Xe
S. t. - X1+ X2 4
- X1+ 2% 12
X1+ X< 10
X1, X222 0
S Ax= b : A m™ n ,m> n,
A b
A= Ai b= b.
A b.

A,br  n ,Az,b2 m-n
AiXo = b1, AXo= b
max z= 2Xi+ Xz2- Xa
S. t. X1t Xzt 2X35 6
X1+ 4X2- X35 6
X1, X2, Xs= 0
max z= Xi+ 2X2+ 4Xs+ Xat DXs+  Xo
S. t. 2X1+ 6X2+ 3Xs+ 2X4+ 3Xs+ 4xe< 600
xi2 0, iI=1,2, ,6
48



0.

10.
(a)

(¢)

(e)

(4,0)

max z=

S. t.

max z=

S. t.

max Zz=
S. t.

max z =
S. t
max z =
S. t.
max z = -
s. t.
20x1+ 24x:
2X1+ X< 24
2x1+  3X2< 48
X1+ X2 20
2X1- 3X22 0
X1, X2= 0
10x1+ 8X2
2X1+ X< 4
3x1+ Xx22 10
X1, X22 0
X1- 2X2+ X3
X1t Xzt X< 12
2X1+ X2- X< 6
- Xi+ 32 <9

X1, X2, X322 0

5x1 + 4X:

X1+ 2X25 6

2X1 -

5x1 + 3Xx:2<

X< 6

15

X1, X2= 0

3X1 + 2X2

2X1 - 3X2<

X1+ X<

X1, X2= 0

X1+ 2X2

3X1 + 4X.=

2X1 -

(b)

(d)

(f)

X1,

12
12

X22=2 0

X<

max z= 45x:+ 15X

364
8x1+ 5x.< 120

X122 0, 0 X2 2

S. t. 4x 1+ X2<

max z= 5Xi+ 4X.+ 2Xs
2X1+ X2+ Xs3< 4
4X1+ 4x+ 2Xs< 12

S. t.

X1, X2, X322 0

max z= 2Xi1+ X2- 3X3+ 5Xa4

S. t. X1+ 2X2+ 4X3- X4< 6
2X1+ 3X2- Xst+ Xa< 12
X1 + X3+ X< 4

Xxi2 0, 1=, 1,2 3,4
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3.1

3.1.1 . Cs(B 'a)= (CsB Ya

1 N
G- zi= G- GCB 1ai
CeB 'ai= Cs(B 'a)) = (C:B Dai
C:(B ‘ai) B ‘a, C:(B ‘a),
) = CsB l, Ci- Zi= Ta,
3.1.2
, ?
; (Jordan)
B * | | B '
Bo= (p1 p: P« pn)n< n Bol, Bn Bo P« P,
Bn = (pl p2 p pn)w n
1
k
B '
Bay= p, y= Ba'p= (yiyz yn)'
Y1 0
0 )&
E« = = e | ez| | | €n
k Y« 0 y
O O Yn 1
Ex & n I K y ; ei i 1

. 50



BoEk = Bn
BOei= pi, i: 1! 21 y N, B°y= p
B: '= (BeEx) "= Ei'Bs’

1 0 -yl y« 0
0 1 - Yal Y« 0
Ev' =
0 0 Uy« 0
0 0 - Yol yx 1
, Edll
1 0 y1 o1 0 0
yk
0 0 Yo 110 0 1
, I(n) | D )
0 0] 1 - Y1l y« 0
0 0 0|0 -yl yx
1 Uy«
0 0 0 110 o - Yol Y 1
1 1
Kk k
D E—kl y yk )
Ekl y Y« Ekl
Bn
1 0 - Y1l Y« 0
0 1 - yal yx 0y 0
y> _
1/ y« 1 < Kk
Yn
0 0 SR UAL 1 0
Ex B;)l
B.'ly



B- ' | Ex
3.1
2 1 0 49 - 19 0 2 1 1
Bo.= -1 4 0,B,'= 19 2/9 0,B.= -1 4 1
-4 2 1 14/9 - 89 1 -4 2 0
B-l
49 - 1/9 0 1 1/3
y=B.'p= V9 279 0 1= 1/3, o
14/9 -8/9 1 0 2/3
4 1 1
9 9 0 3
49 - 19 0|13 4 3
179 29 0|13 1L 2 4
-9 9 3
14/9 - 8/9 1l o 7 a4 3
3 3 2
i 1 1
. 1 3 3 2 0
> .2 2 14
1.2 3 3 2
7 4 3
3 -~ 3 o 1
1 1 1
> 1 1 ° 3 3 2
_ 2 2 y
-l4alo= -7 3 -5
-4 20 7z 4 3
3 3 2
3.2
3.2.1
, B , Cv- CeB 'N
max z= Cx
S.t AX< b
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Sl. xs, B’

S2. ™= CsB ',G- z= & T, i N, G- z< 0,
c- z> 0, X S3
S3. , b= B 'b, pi= B 'a pi< 0,
B= min F?_; pni> 0 = %
Xk , S1
3.2.2
3.2
max z = 2X1 + X
S.t. X1+ 4x.< 32
X1+ X< 11
5X1+ X2< 35
X1, X2=2 0
X3, X4, Xs,
maxz = 2X: + X2+ 0joxs+ 0 joxs+ O joxs
S. t. X1+ 4Xo+ X3 = 32
X1+ Xo + X4 = 11
S5X1 +  Xo + Xs= 35
xi2 0, 1= 1,2, ,5
X3 32 1 0 O
1.xe= X« = 11 ,B= 0 1 0 =B % C:=(000)
Xs 35 0 0
1 00
2. = C:B '=(000) 0 1 0=(000)
0 0 1
Ci- z1= C- Tau= 2> 0
Ce- Z2= C- Ta= 1> 0
2> 1 X1
3. : b= Db, p1= a
B= min 32,11,3—55 = 7



0
0 11

X3

B’

Xsa , B=

1. XB

0

X1

1

1 0 O
0O 1 0

0

0
1

3

k

1

1 =

O,vy

0

0

0

1
1

1 0 O

01 0

0

(002 0 1

m= C:B '=

2.

z2= 1-

C2-

Cs- Zs5— 0-

X2

4 71
4/5' 1/5

25
19/5’
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X4

4

X3

N
1l
4

Slw <|w Aw
I

<t -

| «|w 0
1 1

o — o

— o o

o — o
o < A~ — <
1
,n|u__4 o < — <
1 1
— o o
9w —| v
1_5 1_4 1_5

1 1
o 5_4 o
— o o
Ao P w
1_5 1_5
1_5
1 1
o — o
— o o

- <
o < —| <
1
9 < of < | <
1 1
— o o
I
— — 0
<
— O O

© n ©
[l
AN D
M d M
1_ <t
o < | <
1

o)

1_ < o < —| <
1 1
— o o

[l
o™ N —
X X X
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Xn = =0
Xs
6
max z= (0 1 2) 5 =17
6
3.3
max z= - Xi- X2+ 4Xs
S. t. X1+ X2+ 2X3+ Xa

X1+ X2- X3 +

- X1+ X2+ X3

1. xs= (x«XsXs)', Cs= (0 0 0)

1 0 O
B=B = 0 1 0
0 0 1
2. ™= C:B "= (0 0 0)
Ci- z1= - 1, & z:=- 1 - zs= 4
X3
3. :
B= min -4 %

2 1

1. xs= (X« Xxsxs) ', Ce= (0 0 4)

2
B= 0 1 -1, B
0 0 1
1 0 0] 2 1 0 0]2 1 0 -
01 0|-1 0 1 1|0 0 1
0 0 1 0 0 111 0 0
10 2 ' 1 0 -2
01 -1 =01
00 1 0 0
1 0 -2
2.m=CB '=(004) 0 1 1 =(00 4
00 1
1
C1-21:C1-TB.1:'1'(004) 1 =3>0
-1
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1

C- z2= - Tae=- 1- (0 0 4 1 =-5<0
1
X1
1 0 -2 9 1
3.b=B b= 0 1 1 2= 6
0 0 1 4 4
1 0 -2 1 3
pi=B 'aa= 0 1 1 1 = 0
00 1 -1 -1
Bzé, Xa
X1 1 0 2
l.xe= Xs ,B= 1 1 -1, B’
X3 -1 0 1
1 0 -2 1 3
y—Ol 1 = 0
0o 1 -1 -1
1
1 2 =
0o -2 3 O 3| 1 3
0 0 o1 1 | o0 0
0 -1 i
0o 0 1 '-1 3
1 2
3 0'3
B'= 0 1 1
1 1
3 0 73

0
1
Ce- z2= - 1- Ma.=- 1- (1 0 2 1=-4<0
1
1
ca- za=- (1 02 0=-1<0
0

Wl -




0

ce- ze=- (1 02 0=-2<0
1
1 o _ _13 __
X1= 3 X2= 0, Xs= 3,z— 17
3.3
3.3.1
( 3.1), P« , Px= Bo fa
3.1
X8 Cs b B! ax Pk B
z CsB !
3.4 3.3,
Ci- z1= - 1, @ z:= - 1, - z3= 4, X3 ps 3.2 3.4
3.2 3.3
X8 Cs b B! ak Pk B X8 Cs b B p
X4 0 9 1 0O O 2 2 9/2 X4 0 1 1 0 -2 O
Xs 0 2 0 1 O -1 -1 X5 0 6 0O 1 1 0
X6 0 4 0 0 1 1 X3 4 4 0O O 1 1
0 0O 0 O 16 0O 0 4
1
ci- z1=- 1- (00 4) 1 =3>0, x:
-1
3.4 3.5
Xs Ce b B *' a1 p1 B Xs G b B p1
X4 0 1 1 0o -2 1 O X1 -1 73 |1/3 0 - 2/3[ 1
X5 0 6 0 1 1 1 0 X5 0 6 0 1 1 0
X3 4 4 O O 1(-1{-1 X3 4 13/311/3 O 1/3 | 0
16 0 0 4 17 |- 1 O 2
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1
C- z2=- 1- (1 0 2) 1 =-4<0

1
1
Ci- Za=- (10 2 0 =-2<0
0
0
Ce- ze=- (1 0 2 0 =-2<0
1
X1= %,Xz= 0, X3= 1—33 max z= 17
3.5
max z = X:+ 2X2- Xs+ Xa+ 4Xs - 2Xe
s. t. X1+ X2+ Xszs+ Xa+t Xs+ Xet Xz =
2X1- Xz2- 2X3+ Xa + Xs =
X3+ Xa+ 2Xs5 +  Xo + Xo=
xiz 0, i= 1,2, ,9
Cs- Zs= 4> 0, Xs 3.6
3.6
xs | G b B’ a | ps B
X7 0 6 1 0 0 1 1 6
X8 0 4 0 1 0 0 0
X9 0 4 0 0 1 2
0 0 0 0
Xe Cs b B * Ps
X7 0 4 1 0 - 1/2 0
Xs 0 4 0 1 0
Xs 4 2 0 0 2 1
1
ci- z2=1- (00 2) 2 =1>0, X: ( 3.7)
0
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X8 Ce b B * au p1 B
X7 0 4 1 o -1/2] 1 1 4
X8 0 4 0 1 0 2
X5 4 2 0 0 12 0
8 0 0 2
XB Ce b B ' p1
X7 0 2 1 -2 - 1/2 0
X8 1 2 0 1/2 0 1
X5 2 0 0 12
1
1 3
C- 22=2- 0 E 2 -1 = E> 0, X2 ( 3.8)
0
3.8
X8 Cs b B! a p2 B
X7 0 2 1 - 12-1/2] 1 o)
X1 1 2 0 12 0 -1 1/2
Xs 4 2 0 0 12 0 0
10 0 12 2
XB Cs b B ' p2
X2 2 4/ 3 2/ 3 - 13 - 1/3 1
X1 1 8/ 3 1/3 1/3 - 1/6
X5 4 2 0 0 1/ 2
1
5 1 7 73
- =-1 - - == -2=-1- =<0
Com 22 373 6 30
5 1 7 43
- - 1. = _ = L = =2
Ca- za= 1 3 3 6 1 1 30 0
1
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Cs-

Cr7-

Cs-

Co-

1
5 1 7 17
= - - - - . = = - - <
Z6 2 3 36 0 2 0
1
1
5 1 7 5
= - - - —_ - = - /<L
Z7 3 3 6 0 3 0
0
0
5 1 7 1
= - - - —_ = >
Zs 3 3 6 1 3 0
0
Z9= - %< 0
( 3.9 3.10)
3.9
X8 Cs b B as ps B
x2 | 2 | 43|23 -v3- 13 o |-V3
x1 | 1 | 83| w3 w3 -wu3 1 | o
Xs 4 2 0 0 12 0 0
22/3 | 5/3 - 13 7/6
X8 Cs b B Ps
X2 4 - 1/2 0
Xs 0 8 - 1/2
X5 4 2 /2
3.10
XB Cs b B!
X2 2 4 1 0 - 12
X8 0 8 1 1 - 12
X5 2 0 0 /2
16 2 0 1
XB Cs b B Ps
X2 2 4 - 1/2 0
X8 0 8 - 1/2
X5 2 2 0
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1

ci- z2=1- (20 1) 2 =-1<0
0
Cs- 23= - 4< 0
cs- z4a= - 2< 0
Cs- Zo= - 1< O
cr- zi=- 2<0
Co- 2= - 1< O
X2 4
Xse= Xs = 8 ,xv=0,max z= 16
Xs 2
3.3.2
max z = Cx
s.t. AX< b
X2
: A= (ai)m o,

(m+ 1)(m+ n+ 4= mn+ m°+ n+ 5m+ 4

nm+ (m+ 1)(m+ 6 = mn+ m°+ m+ 6

2

mn m :
(m+ D)m
m(m+ n)
G- zi,i N, , m’+ mn
nm’
n> m,
3.4
3.4.1
max z = Cx
S. t. Ax= b
< x< u
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3.4.2

max z= 2X1 + X

S. t. X1+ 2X2< 6
X1+ XX 4
X1- X2 2
1< x2:< 3, 1< X2 2
X3, X4, X5,

max z= 2X:+ X:

Xk= 0, Xk

Uk

S. t. X1+ 2X2+ Xs = 6
X1+ Xo + Xa = 4
X1 - X + Xs= 2
1< xa< 3, 1< X2 2
X1= X1+ 1, X2= X+ 1
max z= 2Xi1+ X2+ 3
S. t. X1+ 2X2+ X3 = 3
X1+ Xo + X = 2
X1- Xo2 + Xs= 2
0< x:< 2, 0< x2= 1
XB
X = A= BIN ,c= cla ,B
XN
Bxs+ Nxvn = Db
Xse= B 'b- B 'Nxv = B 'b- ZNB' A
z= CeXe + Cuxn= GsB 'b+ (Cv - GCsB 'N)xn
= CB 'b+ ZN(Q' CsB’ 1a,~)x,-
= CGB b+ ZN(Q- Zj) Xi
] ) XN
u , N= N1 Nq, Xn,= 0, Xn,= U2
Xk , : (l) - zx> 0,
(2) Xk
Xk , Xk 0 B,
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3.6 max z= 2Xi1+ Xo

s. t. X1+ 2X2+ Xs = 10
X1+ X + Xa =6
X1- X2 + Xs5= 2

0< x:1< 3, 0< X2< 2, X3, X4, X522 0

3.11
3.11
X X1 X2 X3 X4 Xs
X Cs o B
h 2 1 0 0 0
X3 0 10 1 0 0 10
X4 0 0 1 0 6
Xs 0 2 1 0 0 1
X3 10
X1
Xe= Xa = 6 ,Xn= = 0, X1
. 5 X2
10
Ppo= 6 = 10ps+ 6ps+ 2ps
2
1
P:= 1 = pst pat ps
1
po- Bp:= (10- B) ps+ (6- B)ps+ (2= B)ps
X1 B, : X1
3, X3 10 10- B Xa 6 6- B, Xs
2 2- B
B= min{10,6,2 ,3} = 2
=2 , xa 2, X3 8, Xa 4, Xs 0, (0,0, 10, 6,
2) (2,0,8,4,0) z O 4, Xs 0 3.11
X1 Xs 3.12
X2 : x2 0 B
8
Po= 4 = 8ps+ 4dps+ 2p:
2
P2 = 2 = 3ps+ 2ps- pa
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2)ps+ (2+ P)ps

3B)ps + (4-

Pp2= (8-

Po -

3.12

X5

Xa

X3

X2

X1

Cs

XB

X3

Xa

X1

8- 3B< 0, x«

» X3

X2
2+

3
B= min{3 -

- 2B< 0, X1

*

2" ,8/3,4/2,2 =1

0

01

X3

1

X4 ,B=

X2

» XB=

y X1

y X2

X1

1

0 O

1 0 1

0

0
0 1 1, Bo'=

0O 0 1

Ps

B-l

Bo=

1

0 O

0

P,

P,

0

0

0

0

B lb- B 131X1

XB =

10

13 =

=1

5,X4: 4- 2[3: 2, X2= B

X3— 8- B

p=1

Xs

X1

, B 1852

B 131 =
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( 3.13)

3.13
X X1 X2
XB Cs
po & 2 1 0 0
X 3 0 0 1 0
X4 0 0 0 1
X2 1 1 1 1 0 0
3 0 0 0
5
Po= 2 = 5ps+ 2ps+ p2+ 3p:
1

ps= 2p3+ pPs- P2
po- Bps= (5 2P)ps+ (2- B)p++ (1+ B)p2+ 3p:
B= min %,2, 2- 1 =1

x2 1 2 B=1

X3 10 7

Xa = 6 - 5

Xs 2 1

3.14
X X1 X2 X3 X4 Xs
XB Ce C
Po 2 1 0 0 0
X3 3 1 1 0 0
X4 1 1 0 1 O
X5 1 1 1 0 0 1
2 1 0 0 0
c- z1= 2> 0, - z2> 0, X1 X2 , (
3.14)
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3.7

max z= 2Xi1 + 4x:+ Xs
S. t. 2X1 + X2+ X3 10
X1+ Xz2- X3 4
0< x1 < 0< x2< 6, Xs< 4
Xa, X5
max z= 2X: + 4x:+ Xs
2X1 + X2t X3zt Xa 10
X1+ Xo- + Xs5=
0< xi1< 4, 0< Xx2< 6, 0< X3< 4, Xa,%X52 0
3.15
3.15
X1 X2 X3 X4 X5
XB Ce
Po 2 4 1 0 0
Xa 0 10 2 1 1 1 0
Xs 0 4 1 1 0 1
0 2 1 0 0
X2
10
Po= = 10p4+ 4p5,p2: = pst+ Ps
Po- PBp:= B)ps+ (4-
B= min{10,4 ,6} = 4
X2 , X5
( 3.16)
3.16
X1 X2 X3 X4 X5
XB Ce
Po 2 4 1 0 0
X4 0 6 1 0 2 1 1
X2 4 4 1 1 1 0 1
16 -2 0 5 0 - 4
X3 )
= 6p:+ 4p:
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Po- PBps= (6- 2B)ps+ (4+ P)p:
B: min %,6- 4*’4:2
, X3 B=2 ,x2= 6, xs= 2,x4= 4
1 - 1 1
B = , B =
0 O - 1
1 10 1 1 1 1
X = - —
0 4 0 1 1 0O - 1
3.17
3.17
X X1 X2 X3 X4 Xs
X C
B B po C > 4 1 0 0
X4 0 2 3 2 0 1 1
X3 1 2 1 1 1 0 1
5 0 0 1
z= 26
X1 y Po= 2p4+ 2p3, p:i= 3p4- Ps
Po= (2- 3P)ps+ (2+ PB)ps+ Pp:
B = min % 4,2 = 2/3, X4
3.18
3.18
X X1 X2 X3 X4 Xs
XB Cs C
bo 2 4 1 0 0
X1 2 2/3 1 2/3 0 /3 1/3
X3 1 2 0 1/ 3 1 3 - 2/3
0 3 0 -1 0
C- 72> 0, X2 , ,Z= 28
3.5
3.5.1
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S. t.

max Z = CiXi1 + Ca2Xot + CnXn
Aixit+ AoXa+ + AnXn<
BiX1 <
B2X2 <
w
BnXn<
xi= 0,i= 1,2, ,n
Ar A An
B:
A= B2 0
0 w
B

Ai= (an)w n, Bi= (bim)ix o, Gi= (G) s n, Xi= (X1”,X2",

b= (b: b2
A
n
|
db i
3.5.2

bn) ",

= (B, b,

B0 1,2,

max zZz= CGX:+ CXo

S. t.

Aixi+ AxxXe.= b
Bix: = b
B:x2= b

X1, X222 0

y N

Xi + Xi + + Xy < by
ZX%J'- ZXIli: i "o
ZX?j' ZXIZiz d? "
Zx'ﬁ-— Zx:‘i= di "
X3 = 0, 1,j,h

n= 2

1

2

b.
b

o}

 xe) ', 0= 1,2,

X h

Ky K

, N

(3.1)
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(3.1)
max z= Cx
s. t. Ax= b
X S
A= AlA L olc
X2
Bixi = In
S: BxX:= I
Xi,X22 0
S : X1, X2, ,XI, X S, t1, t2,
| |
X = thixi, thiz 1, iz 0, i= 1,2, I
ti,t2, Lt :
|
max z = Zl(CXi)ti
|
s. t. Zl(AXi)ti: b
|
ti= 1
-1
ti= 0, 1= 1,2, I
, X1, X2, Xi ;
Cxi  AXi :
Axi = A, AXe = Az, JAXIi= A
CX1= C,CX2= C, ,CXn= G
max z= cti+ Ct.+ + ot
S. t. Aits + Actot + At= b
tr+  tot +t =1
ti> 0, i= 1,2, ,I
Cc,C, ,C A, A2, A S
AXx
L ,
G- Zx= mjax{q- z}> 0
G= Cx, z= CoB 'p; = GsB * Ai(j

t



AX
max w= Cx - GCsB *

1
X S
o< 0, , LG- zi< 0
3.5.3
3.8 max z= 2Xi1+ X2+ 3X3+ Xa
s.t. X1+ X2+ X3zt Xs4< 4
X2+ 2X3+ X4< 6
X1+ X2 <6
X2 < 2
- Xszt+ X4< 3
X3+ X4< B
Xxi2 0, 1=1,2, 3,4
1 1 1 1
C=(213-1), A=
0 1 2 1
1 1 Xa 6
S < (S)
0 1 X2 2
-1 1 Xs 3
< (S)
1 1 Xa 5
X1 X3
> 0, >0
X2 X4
S S 3.1
3.1
S= & &, S S
S S , y:;= (0 0 0 0)'

=16



Eslz

72

0
0 0
A= AXx: = =
0
0
0
0
= Oa= (2131 =0
0
0
max z = ct: + Ctat + Cietis
S. t. Ait: + Acto+ + Awntis< b
tr + t2+ + tis= 1

ti> 0, 1= 1,2, ,16

) tSl tSZ

Adt: + Asts + + Awtic + Eata + Exte= b
.+ t2+ + tie= 1

ti= 0, 1= 1,2, ,16

1 0
) Es.= ) fs1 {s t1 , 1= 1,t51= 4,t52: 6,t2= {:=
0 1
1 0 O
0 1 0=B" Cxi=0, CsB '=(0 0 0)
0O 0 1

max w = Cx - CsB 'p

X S
_ AX
,p= L
X1 + X2+ Xzt Xa
max w= (2Xx1+ X2+ 3Xxsz+ Xi) - (0 0 0) X2 + 2X3t+ Xa
1
X S
max z= 2Xx:+ X2+ 3Xs+ Xu
X S

= s



max wi= 2Xi1+ X: max w:= 3Xsz+ Xa
S.t. X1+ X252 6 S. t. - X3+ X4 3
X< 2 X3+ X4< 5
X1, X222 0 X3, Xa= 0
: 3.1
X1= 6,X2= 0, Xa= 5,x4= 0, X.= (6 0 5 0)'
6"
C:=Cx:= (2 1 3 1) 2 = 27
0
x.= (6 0 5 07, CsB '= (0 0 0)
co 20= - GB 1 = o= 25 0
_ AX
S
6
_ 0O 1
Axe= 5 10
0
11 11
. AXe
p:= B = 0 10 = 10
1 1 1
3. : : 3.19 3.20
3.19 3.20
G | po B * pz | p2 B Cs Po B * p2
tas | O 1 0| 11 04/11 t (27/11| 411 | /11 0 0| O
te | O 1 0| 10 | 10| 6/10 ts2 0 [26/11F 10011 1 0| 1
tt |0 1]0 1] 1|1 1 t1 0O |711]|-1/12 0o 1|0
ts1 ti= 7/ 11, t.= 4/ 11
6 24/ 11
X = tixi+ t2X2= AO: 0
11 5 20/ 11
0 0
24/ 11
=Cx= (2 1 3 1 0 = 108/ 11
20/ 1
0
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C

Cc= 0 = (27007
C
1/11 0 O te
_B = - 10/11 1 0, xe= te , Ce= (27 0 0

- 111 0 1 ts

1/11 0 O

GB =(27 0 0) - 10011 1 0 = f{ 0 0
- 111 0 1

max w= Cx - GCsB '

X S
X1 + X2+ X3+ Xasa
max w = 2X:1 + X2+ 3Xsz+ Xa- i—IOO X2+ 2Xs+ Xa
1
= - éX - 1_6X + éX - 1_6)(
-0 o1t 11 o117ttt
X S
6 16
max wi= - %Xl' i_?xz max W:2= ﬂxs- EX4
S.t. X1+ X2< 6 S. L. - Xzt X4< 3
X< 2 X3+ X4< 5
X1, X222 0 X3, X4= 0
X1= X2= 0
0
- 0
X1= X2= 0,X3= 5,x4= 0, xs= (0050) , z=Cxs=(2 1 3 1) c =15
0

AXs =
10

o o1 O O
ol



_ AXs _ 10
ps .
1
5
, AXs 27
G- z2:3= &- CB = 15- EOO 10 = 15- 135/11> O
1
Ps
1/ 11 O 0 4 4/ 11
3. po=B b= - 10/11 1 0 6 = 26/11
-1/11 0 1 1 7/ 11
3.21 3.22
G| po B ' ps | ps B Cs po B ' ps3
ta |27 4/11| 1/11 0 Of 5 (511 4/5 ta | 27 6| V6 - V12 O 0
t2 | 0 |[26/11)|- 10/11 1 O 10 |60/ 11| @6/ 60 ts 15 |[13/30|- 1/6 11/60 O 1
tr | O|711)|- Y11 0 1( 1 |(6/11 716 t1 0 2/ 5 0O - 110 1 0
Is2
Ve - 112 O
1. xe= (t2tat1)’, B''= - 1/6 1160 O
0 - 110 1
Ce=(cccci)= (27 15 0)
1/6 - 1/12 0
CsB '=(27 15 0) - /6 11/60 0 = 2 %o
0 - 1/10 1
2. ,
max w= Cx- CeB ' .
X S
X1 + Xz+ Xst+ Xa
., AX 1
Cx - CeB 1 = 2X1+ X2+ 3Xs+ Xua- 2?0 X2 + 2X3+ Xa
1
S S
= 2X1+ X2+ 3Xs+ Xa- 2X1- 2X2- 3Xs - 2X4
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3
max w = - EXz - EX4
X S
3 3
max wWi= - X2 max wW:a2= - " Xa
2 2
S.t. X1+ X226 S.t. - X3t X4< 3
2X2< 2 X3+ X4< 5
X1, X222 0 X3, X4= 0

x1= 0,x2= 0,x3= 0,x4= 0
xa= (0000, a= Cx= 0

1 AX4
G- Zs= - 2 - 0 =0
2 0
xi= (0 00 O)T, ti= 2/5
6 0 1 1
_ 10 130 O _ 0
X—t2X2+t3X3—6 5+305— 3,2—(2131) 3—11
0 0 0 0
max z= CX max W= Z Gl
S. AXs b S. t. Z Aiti< b
X2
th =1
420, j= 1,2,
c= Cxj, A= AX; S Xj
’ G- Z

max w= Cx- CsB ‘'

AX
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3.9

111 1
C=(2 1 3 1), A= . b=
0121

X = letiXi, Z ti =

3.2

1. B=

s. t. X1+ X2+ Xz + Xa<
X2 + 2X3 + X2 4
X S= Sx S
Si: S
X1 + X226 - X3 + Xa< 3
X< 2 X3 + X4 5
X1, X22 0 X3, X2 0
S 1 0 O
& ,C=(000,B= 0 10
ta 0O 01

max z= 2Xi+ X2+ 3Xs+ Xa

S. L. X1+ X2+ Xst+ Xa<
X2+ 2X3+ Xa<

X1+ X2 <

X2 <

- Xst+ Xu4<

X3+ Xa<

X1, X2, X3, Xa2

6
4
1, ti= 0O "1
0
0
X1 = , 0= Cxa= 0
0
0
|
max z = Z ti( Cxi)
|
EE (Ax)ti< b

ti= 0, 1= 1, 2,

o o1 w NN O b~ O

max z= 2X:1 + X2+ 3Xsz + Xua
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3.2

2. ;
max w= Cx- CsB ' AX
S. t. X S
max w = 2X:+ X2+ 3Xs+ Xa
S. t. X S
max wi= 2Xi1+ X: max Wa2= 3Xs3+ Xa
s.t. X1+ X226 s. t. - X3t X4 3
X2< 2 X3+ X4 5
X1, X220 X3, Xa= 0
X1= 6,x2= 0,x3= 5,x4= 0
max w = 27
6
= Cx2= (21 3 1) g: 27> 0
0
6
Ax, = 1 0 _ 11
1 5 10
0
11
10 , T2
1

3. Cx.- GsB ! L C.= 27

f2 y 2
78-



3.23 3.24
3.23 3.24
Cs | b B * p|p B Cs | po B * P2
St 0 6 1 0O O|11)11 6/11 S1 0 851 - 1110 O 0
) 4 1 01]110]0 @) t2 27 | 2/51 0 1/10 0 1
t1 1 0 1 1 1 t1 0 33510 - 110 1 0
S 1 - 11/10 O
1. xs= t> , B '= 0 1/10 0, C=(0 27 0), CB’ = (0 27/10 0)
t1 0O -110 1
., AX
max w= Cx- CsB
s. t X S
o, AX 27
Cx - GCsB 1 = 2X1+ X2+ 33Xz + Xa- E(Xz‘l‘ 2X3 + X4)
= 2X1 - 1—7x - 2—4x - 1—7x
T 10T 1077 107
max = 2X 17 max = 24 1/
W1i= 1= 10X2 Wa= - 1OX3- 10X4
X1 X3
S.t. S S.t S,
X2 Xa
6
; 0
X1=— 6,X2: O,X3= 0,X4= 0, X3= (6 00 0) , 3= Cxz3= (2 13 1) 0 =12
0
6
0 6
AXsz = =
0 0
0
ts
, 3.25 3.26
3.25 3.26
Cs| b B * ps | ps B Ce B * ps
S 0|85 1 - 11/10 O 6 8/ 30 ts 1218/ 30| - 1/6 - 11/60 O 1
t | 271 2/5] O 1/ 10 0 0 t2 271 2/5 0 1/ 10 0 0
t1 0|3/5( 0 -1/10 1 1 1 3/5 t1 O [10/5| - 1/6 5/60 1
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St , &= Cxs= 12, Cs= (12 27 0)
/6 - 11/60 O

C:B '=(1227 00 O 1/10 0 = 2%0
- 1/6 5/60 1

ts 1/6 - 11/60 O

1. xs= t. , B '= 0 /10 O
ta1 - 16 5/ 60 1
2.
., AX
max z= Cx- CsB
S. t. X S
X1 + X2+ Xsz+ Xa
max z= 2xi1+ X2+ 3Xs+ Xa- 2 _; 0 X2+ 2X3+ Xa
1
max z= - ix - gx
= 2 2 2 4
S. t. X S
_ 3 _ 3
max Wwi= - 2X1 max W:a= - 2X4
X1 X3
s.t. S S. t. S
X2 Xa
0
0
0 o AXa
X1= X2= X3= X4= 0, xa= 0" c= 0, C:B = 0 ,c- z=0
0
0
6 6 4 4
20+80 0 (2131)014
X= g 2q A , max z= =
S 5 3009 2 2
0 0 0 0
3.6
3.6.1
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= 1,2 ,I;j=1212 ,m
X1, X2, , X S yri,r2,  ,rm S N m
] Xl’le ’Xl Sl’&’ ,ST],
11, t2, b
| m
max z = Cxi) ti + Cri)s
Zl( ) Zl( i)s
| m
S. t. AXi) ti + Ar))s= b
Zl( ) Zl( i)
|
Z ti= 1,ti= O, 1= 1,2, I
1
S 2 Ol J = 1121 1m
3.6.2
3.10 max z= X1+ 2X2+ Xz
s. t. X1+ X+ Xs< 12
- X1+ Xo < 2
- X1+ 2X2 < 8
X3< 3
X1, X2, X322 0
X4, X5, X6, X7, . 3.27
3.3
3.3
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3.27

S} N o~ o« To < N Nl ™
< ©O o o « o o o - © o o « o o o « o o (@) — o
© N SVNep) N ™ —| ™ — ™
S o o +«H o O o +«H o — «d O - < « —| ™ o
! 1 1 1 1
0 - o — o —i AN (90)
5 O «4 o o _ — _ o ™ _ _ o — — o o o o
1 1 1
< — —
M -+ O o o A O o o 4 o o o 1__3 o o 1__3 1__3 aNlon ©
1 1
— ™M
N - o o - - o o o o 4| o o o A H®m o
1
¢ — N O O 4 o o O 4 o o o — o o o — o o o
B — —
> — o ~ ) ©o o +H o o © <« o o o - O o
x/ O
N ~n o o™ S o~ « ™ N © S ol oo © <« N Qo Yo m| o
0
mw O o o o O N o o o N +H o — N - o o N — o
om <t n [{e} ~ < N © M~ <t N - ~ (92} [aV) — ~ n [aV) — N~
X X X X X X X X x x < X X < x > > x X X X
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max z= Cx
s.t. Ax< b
X S
C=(121, A= (111), b= (2
- X1+ X2 2
S - X1+ 2X:£ 8
0< xs3< 3

X = Z tixi + Z ST
max z = (Cxa)t: + (Cx2)t2 + + (Cxi)t
+ (Cri)ss + (Cr2)s: + + (Crm)Snm

S. t. (Ax2)tz + + (Axi)t
+ (Ar) s + + (Arm)Sn+ ts= 12
I+ + t2+ + ti= 1
ti= 0,1= 1,2, ,I;,s=20,j= 1,2, ,m
. 1 0 .
ts, t,B = ,Cs= (0 0), CsB" = (0 0)
0 1
., max{c- zi},
., AX
max w=Cx - CsB
s.t. X S
max W= X1+ 2X2+ Xs
s.t. X S
max Wi = X1+ 2X2 max W:z= Xs
S.t. - X1+ X< 2 s.t. 0< xs< 3

- X1+ 2X25 8

X1, X222 0
max wi = X1+ 2X2
S.t. - X1+ X2+ Xs = 2
- X1+ 2X2 + X4= 8

xiz2 0, 1= 1,2,3,4
3.28



3.28

X1 X2 X3 X4
XB Cs Do C L ) 0 0
X3 0 2 -1 1 0
X4 0 8 -1 2 0 1
0 1 2
X2 2 2 -1 1 1 0
Xa 0 4 0 -2 0
4 0 -2 0
X2 2 2 0 1 -1 1
X1 1 6 1 0 -2 1
10 0 0 -3
Cr- CsB Al
r= :
0
2
Ci- z1= Cr- GB ' AT (1 2 1) 1= 4
0
2
Ar= (111 1= 3,
0
3.29
3.29
Cs Po ! p Cs Po B!
ts 0 12 0 S 4 4 13 0
ta 6 1 1 0 t1 0 1 1
r ts, :
1. r  t,B '= Us 0, Ce= (4 0),CsB '= (4 0) O=(4/3 0)
0 1 1
2. :




max z= Cx- C:B '

S. t. X S
o AX 4 X1+ X2+ Xs
Cx- C:B = X1+ 2X2+ Xs- — 0
1 3 1
_i,,2, 1
= - 3X1 3X2- 3X3
Max 7= - “=xa+ Sxo- —=x
-0 37T 3% 37
S. t. X S
Max Wi= - =x.+ 2x - 4
1 3 1 3 2 max Ww:a= - 3X3
S. t. - X1t X< 2 S.t. 0< x3< 3
- X1+ 2X25 8
X1, X2=2 0
X1= 4,X2= 6,X3= 0
4
10
X2= 6 , &= 16, AXz2= 10,p2:
0
3.
3.30
3.30
Cs | Ppo B ' p p B Cs Po B!
St 4 4 1/3 0 10 10/ 3| 12/10 St 4 2/ 3 /73 - 10/ 3
t1 0 1 0 1 1 X2 2 1 0 1
X2 {1, {1
rm ., 13 - 10/3
1. B= B = , Cs= (4 16),
X2 0 1
.
Tl 3 3 = = =
CsB '= (4 16) 3 3
0 1
2. ,

X1+ 2X2+ Xs

_ 4 8
max w = CX - 3 3 1

S. t. X S
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(a)

(¢)

(d)

(e)

86-

. AX 4 8

Cx - GsB’ 1 = X1+ 2X2+ Xs- g(x1+ X2 + Xs3) - 3
. 1,.,2, .1 8
3 3 3 3
4 2 16/ 3
x:6+%1=20/3,maxz=5§6
0 0 0
max z = - ix1+£x2- —1x3- 8
3 3 3 3
s. t. X S
X S, max w = 0
max z= 2X2- Xs (b) max z= 3Xx:1+ 4X2+ X3+ 7Xa4
s.t. - X1t 2X2- X35 4 s.t. 8X1t+ 3X2+ 4Xst+ Xa< 7
X1+ Xzt X< 9 2X1+ 6X2+ Xzt 5Xs4< 3
2X1-  X2- X3 5 X1+ 4X2+ 5xs+ 2x4< 8
X1, X2, X3= 0 X1, X2, X3, Xa= 0

min z= X1+ ©6X2- 7X3+ X4 + 5Xs

S. t. X1- %X2+ 2X3- %X4 =5

1
- Zx2+ 3X 3- %x4+ Xs= 5

Xi2 0,1= 1,2, ,3,4,5

max z= 7Xi- 7X2+ 2X3+ Xa+ OXs

S.t. 3X1- X2+ Xs- 2Xa =3
2X1+ X2 + Xait+ Xs =4
- X1+ 3X2 - 3Xa + Xe= 12

xi2 0,1= 1,2, ,6

max Z= Xa- Xs

S. t. - 2X2+ Xzt Xa- Xs< 0
- 2X1 - 2X3+ Xa- X5 0

- X1+ 2X2 + X4- Xs< O

X1+ X2+ Xs <1

xi2 0,1= 1,2, 3,4,5



(f)

max
S. t.

max

S. t.

max

S. t.

max

S. t.

max
S. t.

max

S. t.

max

S. t.

Z= 5Xi1- X2+ Xs- 10Xas+ 7Xs

3X1- X2- X3 =4
X1- X2+ Xs+ Xa =1
2X1+ X2+ 2Xs3 + Xs= 7
xi2 0, 1122345
Z= Xait X2+ 3Xs
X1+ X2+ Xs< 12
- X1t X2 <5
X2+ 2X3< 8
0< xi< 3, 0< x22 6
0< x3< 4
Z= - X1- 2X2- 3X3t+ Xa
X1- X2+ Xsz- 2X4< 6
- X1+ X2- Xs+ Xs< 8
2X1+  Xa2- X3 > 2
O< x:1£ 3, 0< x3< 10
1< X224, 2< X4< 5
Z= 2X1t+ 3X2- 2X3
X1+ X2+ X3< 8
2X1+ Xo- X3= 8
0 x1£ 4, - 2< XX 6
2< X3
z= 2X1+ X2+ BXst Xat  Xs

X1+ X2+ 12Xs+
xi= 0, 1=1,2, 3,

2Xas+ 3Xs< 10
4,5

Z= 2X1+ 6X2- Xs- 4Xas+ Xs

2X1+ X2+ 4xs3+ X+ Xxs5= 10

X1+ 8X2- Xzt Xa =7
0< x:< 3, 1< x2:< 4

0< xs3< 8§, 1< x4 2

0< xs< 20

Z= B6X1+ 4X+ 2Xs
4x.- 3X2+ X3< 8
X1+ 2X2+ 4x3< 1

0< x:< 3, 0< X2

0

< 2, X3= 0
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8. max z= X1+ X2+ 2Xs3+ Xa

S.t. X1+ 2X2+ 2X3+ X4< 40
- X1+ X2+ X3+ x4< 10
X1+ 3X: < 30
2X1+  Xo < 20
X3 < 10
x4< 10
X3+ X4 15
xi2 0, 1=1,2 3,4
9. max z= Xi1+ 3X2- X3+ Xu
S. t. X1+ Xzt X3+ X4< 8
X1+ X2 <6
X3+ 2Xa< 10
- X3+ Xus 4
xi2 0, 1=1,2 3,4
10. max z=  Xit+ X2+ 3X3- X4
S.t. X1+ X2+ Xzt Xa<
- X1t Xz <
3X1 - 4Xs <
X3+ Xa<
- Xst+ Xa<
xi2 0, 1=1,2 3,4

88-
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max z = Cx
S. t. AX<
X
XS ]
, b ?
Ax= b ? : AxX= b
max z = Cx
S. t. Ax= Db
X
min z= Cx
S. t Ax= b
X
Xs
min z = Cx
S. t AX - Xs= b
Xs= 0, x= 0
4.1
AX= b, Xa AX+ Xa= b, ,
] Xa Xa
Xa ? : , Xa

89-



min z = IXa
S.t. AX+ Xa= Db
X, Xa= 0
Xa= 0, , Xa
XN xaZ 0, ;
: Xa= 0,
xs= B b, B 'xs+ B 'Nxnv=B b

max z = CsXs + CyuXn
s.t. B 'xs+ B 'Nxn= B 'b
Xe, Xn2= 0
4.1
mn z= 2x1 + X
S. t. X1+ X2
4K, + 3X2=>
X1+ 2X22
X1, X2=2 0
X3, X4, X5
min z= 2x:1+ X

S. t. X1+ X2- Xs = 3
4x1 + 3X:2 - Xa = 6
X1+ 2X:2 - Xs= 2

xiz 0, 1= 1,2,3,4,5
X6, X7, X8,
mnw= Xe+ X7+ Xs
S.t. 3X1+ X2- Xz + Xe =

4x1 + 3X:2 - Xs + Xz =

X1+ 2X2 - Xs + Xs
Xxi= 0, 1= 1, 2, , 8
4.1

min w= Xst+ X7+ Xs min max

C- z«< 0 Xk

y X6— X7— Xs— 0 ,

X1= %, X2= %, X3— l,X4: xs= 0
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4.1

X X1 X2 X3 X4 X5 X6 X7 X8
X8 Cs C B
0 0 0 0 0 1 1 1
X 1 3 1 -1 0 0 1 0 0
X7 1 6 4 3 0 -1 0 0 1 0
X8 1 2 1 2 0 0 -1 0 0 1
11 Q 8 - 6 1 1 1 0 0 0
X1 0 1 1 13 - 1/3 0 0 1/3 0 0 3
X7 1 2 0 5/3 4/ 3 -1 0 - 4/ 3 1 0 6/ 5
Xg 1 1 0 3/5 1/3 0 1 - 1/3 0 1 35
3 0 o 10/3 - 53 1 1 5/3 0 0
X1 0 6/5 1 0 - 25 0 1/5 215 0 - 1/5
X7 1 1 0 0 1 1 1 1 1
X2 0 3/5 0 1 1/5 0 3/5 - 1/5 0 3/5
1 0 0 Q1 1 -1 2 0 2
X1 0 6/5 1 0 0 - 215 3/5 0 2/5 - 3/5
X3 0 1 0 0 1 -1 1 -1 1 -1
X2 0 2/5 0 1 0 5 - 4/5 0 - 15 4/5
0 0 0 0 0 0 1 1 1
C Ci- Zi, 4.2
4.2
X X1 X2 X3 X4 Xs
XB Cs C
2 1 0 0 0
X1 2 6/5 1 0 0 - 2/5 3/5
X3 0 1 0 0 1 -1
X2 1 215 0 1 0 U5 - 45
14/5 0 0 0 35 - 25
X1 2 3/5 1 0 - 35 U5 0
X5 0 1 0 0 1 -1 1
X2 1 6/5 0 1 4/5 - 3/5 0
12/5 0 0 2/5 U5 0
(X1 X2)= 36 ,min z= L
5 5 5
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4.2
min z= 2x: + 3X:

S. t. 2X1+ X2 16
X1+ 3x2= 20
X1+ X2= 10
X1, X222 0
X3 X4, X5
min z= 2x: + 3X»
s.t. 2X1+ X+ Xs = 16
X1+ 3X2 - Xat Xs = 20
X1+ Xz + Xe= 10
xi= 0, 1= 1,2, ,
min w = Xs + Xe
S.t. 2X1+ X + Xa = 16
X1+ 3X2- Xz + Xs = 20
X1+ Xz + Xe= 10
xi= 0, 1= 1,2, ,6
4.3
4.3
X X1 X2 X3 X4 X5 X6
" “ b Cl o 0 0 0 1 1 P
X4 0 16 2 1 0 1 0 0 16
Xs 1 20 1 - -1 1 0 @0/ 3
X6 1 10 1 1 0 0 0 1 10
30 -2 G 4 1 1 0 0
0 28/ 3 5/3 0 3 13 - U3 0 28/ 5
0 20/ 3 13 1 - 1/3 - 13 1/3 0 20
1 10/ 3 Q/3 0 3 13 - U3 1
10/ 3 G 2/3 0 -1/3 - 13 1/3 0
0 1 0 0 1/ 30 1/ 30 1/2 - 5/2
0 5 0 1 - 12 - 12 1/2 3
0 5 1 0 V2 12 - U2 32
0 0 0 0 0 1 1




4.4

4.4
X X1 X2 X3 X4
* “ b 2 3 0 0 P
X4 0 1 0 0 1/30 1/ 30
X2 3 5 0 1 - 12 - 1/2
X1 2 5 1 0 12 12
25 0 0 12 12
X1= 5,Xx2= 5,x4= 1,x3s= 0, z= 25
Xad 0O, : x= 0, Ax= b,
minz= 0, xaa 0 X,
X
0" 0, xaa 0
xa= 0, : : Xa :
Bxs + Nxo= b xs + B 'Nxv= B 'b
x= 0 x= 0
Xa ., Xa= 0, , 4.3
4.3 max z= 2xi:+ X2+ Xa
S. t. 4X1+ 6X2+ 3Xs< 8
X1- 9X2+ X3 - 3
- 2Xi- 3X2+ 5Xs< - 4
xiz 0, 1= 1,2, 3
X4, X5, X6
4X1 + 6X2 + 3Xs+ Xa = 8 (4.1)
X1- 92+ Xs + Xs =- 3 (4.2
- 2X1-  3Xz2+ 5Xs + Xe= - (4.3
(4.2)- (4.3 3X1- 6x2- 4xst+ Xxs- xe= 1
X7

4X1 + 66Xz + 3Xst+ Xa =

3X1- O6X2- 4Xs + Xs- Xs =

2X1+ 3X2- OSXs - Xet Xi= 4
4.5
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4.5

X X1 X2 X3 X4 X5 X6 X7
. R RN I 0 0 0 0 0 1 P
X4 0 8 4 3 1 0 0 0 43
X 0 1 3 6 - 4 0 1 -1 0
X7 1 4 2 3 -5 0 0 -1 1 43
4 -2 o 5 0 0 1 0
X2 0 43 2/ 3 1 1/2 16 0 0 0
X 0 9 7 0 -1 1 1 -1 0
X7 1 0 0 0 - 132 - 1/2 0 -1 1
0 0 0 13/ 2 1/ 2 0 1 0
: X7= 0,
4.6 x7= 0 (- D , X7
’ X7,
X1 = %,xzz 10/21, Xxs= Xsa= Xs= 0, max z= 64/ 21
4.6
X X1 X2 X3 X4 X5 X6 X7
. e Ne| 1 1 0 0 0 0 P
X2 1 43 2/ 3 1 1/2 16 0 0 0 2
X 0 9 0 -1 1 1 -1 0 g7
X7 0 0 0 0 - 13/ 2 - 1/2 0 1 1
é/'3 0 1/2 - 1/6 0 0 0
X2 1 10/ 21 0 1 25/ 42 1/14 - 2/21 2/ 21 0
X1 2 97 1 0 - U7 7 1/7 - U7 0
X7 0 0 0 0 132 - 1/2 0 -1 1
64/ 21 0 0 29/42 - 5/14 - 421 &l21 0
X2 1 10/21 0 1 - 142 V42 - 221 0 2/ 21
X1 2 97 1 0 11/14  3/14 17 0 - 17
X6 0 0 0 0 13/ 2 1/ 2 0 1 -1
64/ 21 0 0 - 23/42 19/42 - 421 0o -421
: 0 :
( Xz 1 ,
0, 4.7
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4.7

X1 X2 X3 Xa X5 X6 X7
X8 Cs b B
0 0 0 0 0 0 1
X2 0 4/ 3 2/ 3 1 1/2 16 0 0 0
Xs 0 9 7 0 -1 1 1 -1 0
X7 1 0 0 0 - 132 - 1/2 0 O 1 1
X2 0 4/ 3 2/ 3 1 1/2 6 0 0 0
Xs 0 9 7 0 11/2 32 1 0 -1
X6 0 0 0 0 13/2 2 0 1 -1
0 0 0 0 0 0 0 1
Xs X7,
X7 C ( 4.8)
4.8
X1 X2 X3 X4 X5 X6
X8 B
2 1 1 0 0 0
X2 4/ 3 2/3 1 12 16 0 0 2
Xs 9 0 11/2 3/2 1 0 97
X6 0 0 0 13/ 2 12 0 1
4/ 3 4 3 0 1/2 - 1/6 0 0
X2 10/21 0 1 - V42 142 - 2/21 0
X1 9/7 1 0 11/14 3/ 14 1/ 7 0
X6 0 0 0 13/ 2 1/ 2 0 1
64/21 0 0 - 23/42 - 19/42 - 4121 0
4.4 min z= 2Xi1+ X:
s.t. 5x1+ 10x.=> 8
2X1+ 2% 1
X1, X220
X3, Xa, Xs
min z= 2x: + Xz
s.t. 51 + 10X2- X3 + Xs= 8
2X1 +  2X2 + Xa =1
xi2 0, 1= 1,2,3,4,5
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min W= Xs

4.9
4.9
X X1 X2 X3 X4 Xs
” = 1 o 0 0 0 1 P
b
X5 1 8 5 10 -1 0 1 4/5
X4 0 1 2 0 1 0 &2
8 5 o 10 1 0 0
Xs 1 3 -5 0 -1 -5 1
X2 0 1/2 1 1 0 V2 0
3 5 0 1 5 0
Xs# 0,
4.5 max z= 2yi- 3Yy:t+ 4ys- Y.
s.t. yit Yot 2ys-  4y.=> 4
yi- 3Y2 - 2y:< 6
y: - Ys =-1
yit 'y + y«=0
ys= 0, ya= 0
yiu, Yo
Yi= X1- Xz2,Y2= X3- Xs4,Y3= Xs5,Y4= Xs
max z = 2Xi1- 2X2- 3Xst+ 3Xa+ 4Xs- X
s. t. X1- Xzt Xs- Xat 2Xs- 4Xe = 4
X1-  Xz2- 33Xzt 3Xa - 2X6 <
X1- Xz - Xs =-1
X1- Xzt X3-  Xa + Xe = 0
xi2 0, 1= 1,2, ,6
X7, X8, X9, X9, X10, X11
max z = 2Xi1- 2X2- 3Xst+ 3Xa+ 4Xs- X
s.t. X1- X2+ Xs-  Xat 2Xs- 4Xe - X7 + Xo =
X1-  Xz2- 33Xzt 3Xa - 2Xo + Xs =
- X1+ Xe + Xs + X =
X1- X2t Xs3- Xa + X + Xu=
xi2 0, 1= 1,2, ,11
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min W= Xo+ X0+ Xu

XB

X9

X8

X10

X11

X9

Xs

X5

X11

X9

X8

X5

X1

[EEN

o

o

\l

=

Xa

X8

X5

X1

Y SEENY NN SN

N AJFA

N ol

4.10
4.10
G pN\C
1| a4
o| &
1 1
1| o
5
1| 2
o| &
o | 1
1| o
2
1| 2
o| &
o | 1
o| o
2
o | 1
o | 2
o | 2
o | 1
0

o

X1:= 11, x2= x3= x7= Xs= 0, x4= 15, xs= 12, x6= 4,
yi= 11,y2= - 15,y3: 12,y4= 4,

max z= 111

(
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4.11

X X1 X2 X3 X4 Xs X6 X7 X8
X8 G b
2 -2 -3 3 4 -1 0 0
Xa 3 1 0 0 -1 1 o -7/2-1/2 O
Xs 0 2 0 0 0 0 0 &2 2 1
Xs 4 2 0 0 0 0 1 -52 -1/2 0
X1 2 1 1 1 0 0 0 -52 -12 0
13 0 0 0 0 0 49/2 92 0
X4 3 15 0 0 1 1 0 0 27/ 2 7
X6 1 4 0 0 0 0 0 1 4 2
Xs 4 12 0 0 0 0 1 0 19/2 5
X1 2 11 1 1 0 0 0 0 19/2 5
111 0 0 0 0 0 0 187/2 49
4.2 M
M M
min z= CX
S. t. Ax=
X2
4.6 M
min z=- 5BXi+ X2+ Xs+ 2Xs+ Xo
S.t. 2X1+ Xz2- X3t Xa- 2Xst+ 6Xe= 4
3X2+ 6Xs- 6Xs- 2Xs5 + 12Xe= 18
2X1+ X2+ 8X3t+ 4Xa- 2Xs+ 6Xe= 4
xi=2 0, 1= 1,2, ,6
X7, Xs, Xo,
minz=- 5BXi+ X2+ Xs+ 2Xs+ Xe+ M(X7s+ Xs+ Xo)
s.t. 2X1+ Xz2- Xzt Xa- 2Xs+ OBXet Xz =4
3X2 + 6X3- 6Xa- 2Xs5+ 12Xo + Xs = 18
2X1+ X2+ 8Xst+ 4Xs- 2Xs+  6BXs + Xo= 4
xiz 0, 1= 1,2, ,9
M

98-

, X7, X8, Xo ( 4.12)



4.12

X Xl X2 X3 X4 X5 XG X7 X8 Xg
xg | CB| | c B
5 1 1 0 2 1 M M M
X7 | M 4 2 1 -1 1 2 6 1 0 0 4/ 6
Xg 18 0 3 6 - 6 2 12 0 1 0
X9 4 2 1 8 4 2 0 0 1 @/6
26M |- 5- 4M 1- 5M 1- 13Mm M 2+ 6M dl- 24M 0 0 0
x7|[M 0 0 0 -9 -3 0 0 1 0 -1
Xs| M 10 - 4 1 - 10 - 14 0 0 1 -2
2 1 1 4 2 1 1
1 = - - — = - = 1 -
Xe 3 3 6 3 3 3 0 0 6
2|0, 16 5 o1 2 7 o1
10M+ 3 aMm 3 6 M 3 + 19M 3 + 17M03_' 2M 0 0 0 a4M 6
x7|[M 0 0 0 -9 o 3 0 0 1 1 -1
xs| 2 5 -2 1/ 2 -5 -7 1 0 0 1/2 -1
7 1 1 1 5 1 1
xe| 1 3 T 3 3 " 3 " 3 0 1 0 6 " 6
37 2 1 31 47 7 13
=L - = L= 22,9 =+ 3 0 0 0 - == om+ =2
3 3 3 3 M 3 M M- g =M™ 7
Xa| O 0 0 0 3 1 0 0 - U3 0 1/3
1 7 1 4
xs| 2| 5 - 2 5 0 . ° 7 2 s | &
7 1 1 14 5 1 7 1
Xe| 1 3 K 3 3 0 0 1 "9 6 18 2
37 2 1 2 47 7 55
3 - 3 - 3 - 367 0 0 0 M+ =g M- M- ¢
4.7 M
min z = X1 - 2Xo2
S.t. X1+ X222 2
- X1+ X222
X223
X1, X2= 0
X3, X4, X5, X6, X7
mnz= X:1- 2X2+ M(Xs+ X7)
S.t. X1+ X2- Xs + X = 2
- X1+ X2 - Xa + X7=
X2 + Xs =
xi= 0, 1= 1,2, ,7
4.13

99.



4.13

X1 X2 X3 X4 X5 X6 X7
XB Cs
1 - 2 0 0 0 M M
X6 M 2 1 1 -1 0 0 1 0
X7 M 1 - 0 -1 0 0 1
X5 0 3 0 1 0 0 1 0 0
3M 1 O- 2- 2M M M 0 0 0
X6 M 1 0 -1 1 0 1 -1
X2 - 2 1 - 1 0 -1 0 0 1
X5 0 2 1 0 1 1 0 -1
M- 2 - 2M+ 3 0 M M - 0 0 2M+ 2
1 1 4 A
X1 1 5 1 0 2 2 0 2 2
3 a a a 1
X2 | - 2 2 0 1 " 2 0 2 2
3 éé a1 a a
X5 0 2 O 0 2 1 2 ) 2
a a1 a a
-1 0 0 €] > > 0 + > M + 3
X1 1 2 1 0 0 1 0 -1
X2 - 2 3 0 1 0 0 1 0 0
X3 0 3 0 0 1 1 2 -1 -1
- 4 0 0 0 o1 1 M M+ 1
X4 0 2 1 0 0 1 1 -1
X2 -2 3 0 1 0 0 1 0 0
X3 0 1 - 0 1 0 1 -1
- 6 1 0 0 0 2 M M
X2= 3,X3: 1, x4= 2,X1: Xs5= O,nﬂn ZzZ= - 6
, 0
4.8 min z= Xi:- 3X2- Xs
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S. t.

2X1+ X2+ Xs3< 4
X1 - X3= 4
X1 > 3

X1, X2, X3= 0




X4, Xs, Xs, X7, Xs
minz= Xi- 3X2- Xs

S.t. 2X1+ X2+ Xs+ Xa = 4
X1 - X3 - Xs + X7 = 4
X1 - Xs + Xg= 3
xi=z 0, 1= 1,2, ,8
4.14
4.14
X X1 X2 X3 Xa X5 X6 X7 X8
XB Cs C
1 - 3 -1 0 0 0 M M
Xa 0 4 1 1 1 0 0 0 0
X7 M 4 1 0 -1 0 -1 0 1 0
X8 M 3 1 0 0 0 0 -1 0 1
™ 1- 2Mm - 3 -1+ M 0 M M 0 0
1 a1 1
X1 1 2 1 5 5 5 0 0 0 0
ad 3 a
X7 M 2 0 "5 "5 - -1 0 1 0
a1 a1 a1
X8 M 1 0 -5 - - 0 -1 0 1
e 3 1
0 2+ M 2+ 2M M- > M M 0 0
Cl' ZIZ O, X71X8 ]
4.9 M
minz=- Xz2- Xs
S.t. - Xi- X2+ Xs =1
2X1+ X2- Xsz- Xa= 1
X1, X2,X3,X4a= 0
Xs5, Xs,
mnNz=- Xz2- Xs+ MXs+ MxXes
S.t. - Xi- X2+ Xs + Xs =1

2X1 + X2- Xs3- Xa + Xe= 1
xi= 0, 1= 1,2,3,4,5,6
, 4.15
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X X1 X2 X3 X4 X5 X6
XB GCs
0 -1 -1 0 M M
X5 M 1 -1 - 1 0 1 0
X6 M 1 1 -1 - 0 1
M - M -1 -1 M 0 0
S T T S S
X6 M % 1 (15 % > 0 %
M o 1ty iy 4, M
X1 0 2 1 0 0 : 1 1
X2 1 1 2 1 1 - 0 1
-1 2 0 0 e 0O M+1
4.10 M
mnz=- Xi- Xz
s.t. - X1t X22
X1- X222 1
X1, X222 0
X3, Xa, X5, Xs
minz=- Xi- X2+ M(Xs+ Xe)
S. t. - X1+ X2- Xs + Xs 1
X1- Xz - Xa + Xe= 1
xiz 0, 1= 1,2, ,6
: 4.16
4.16
X X1 X2 X3 X4 X5 X6
X8 Gs C
-1 -1 0 0 M M
X5 M 1 -1 1 -1 0 1 0
X6 M 1 -1 0 -1 0 1
2M -1 -1 0 0 0 0
X5 M 2 0 0 -1 -1 1 1
X1 -1 1 1 -1 0 -1 0 1
2M- 1 0 0 M M- 1 0 1
ci- zi= O, Xs5= 2, )
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1. ,
2- ) ’
3. :
4. :
4.3
4.3.1
max z = Cx
s.t. Ax= b
x= 0
A= (aij)rw (e my, b= (bl b bm)T, C= (C1C2 Cn+ m), X= (Xl X2 Xn+ m)T
b m A : , ,
’ n= 2 ’
max z = 2Xi1 + 5x:
s.t. 2X1 + 3X25 6
X1+ 2X25 6
X1+ X2 12/5
X1, X2= 0
2 3
6 6 6 6 6
= — + — = —_ a1+ —_
12 5 3 5 2 , b 5a1 5a2
5 1 1
4.1 X1+ Xz2= 12 2x1+ 3x2= 12, 3x:1+ 2x.= 12 _2,1_2 ,
5 55
,3 , X3, X4, X5
max z = 2Xi1+ 5X:
S.t. 2X1+ 3X2+ X3 = 6
3X1+ 2X2 + Xa = 6
X1+ Xo + xs= 12/ 5
xi= 0, 1= 1,2, 3,45
2 2
4' 1 ) 21 01 21 01 5 ) O’ 27 O’ 27 5 )
12 6 6 6 6
0’016’615 ) 515’010’0 ) 5’5701070 3
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0 n=2 ) , b= %aﬁ %az, X1= X2= %,XBZ Xa= Xs
=0, %% 0,00 X3= 0,Xs= 0, Xs= 0
3 €,
2X1+ 3X2= 6+ §€
3X1+ 2X2= 6+ €,
X1+ X2 = 1_2+ €
1 2 = 5
3
6+ & 6+ € 6 6 6 6 6 6
P. 5 ' 5 , P2 5+2€,5-8,P3 5-8,5"'28, 5' 5 €
_’O 1P11P21P3 ’
4.3.2
min z = - %x1+ 20X - %x3+ 6X 4
Y
S. t. 4x1- 8X2 - X3+ 9Xu< O
%Xl' 12x- - %Xs"‘ X< 0
X3 <1
X1, X2,X3, X422 0
Xs, X6, X7
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min z = - %x1+ 20%2 - %x3+ 6X 4

S.t. %xl- 8X2 - X3+ OXat+ Xs =0

%xl- 12X - %x3+ 3Xa + Xs =0

X3 + x= 1

xi= 0, 1= 1, 2, s
4.17
4.17
X X1 X2 X3 X4 X5 Xe X7
Xe Gl b\

- 3/4 20 - 12 6 0 0 0
X5 0 0 @/ 4 - 8 -1 9 1 0 0
X6 0 0 12 - 12 - 12 3 0 1 0
X7 1 1 0 0 1 0 0 0 1
0 - 3/4 20 - 12 6 0 0 0
X1 - 34 0 1 - 32 - 4 36 4 0 0
X6 0 0 0 3/2 - 15 -2 1 0
X7 0 1 0 0 1 0 0 0 1
0 0 Q 4 - 72 33 3 0 0
X1 - 34 0 1 0 - 84 - 12 0 0
X2 20 0 0 1 3/8 - 15/4 - 12 1/4 0
X7 0 1 0 0 1 0 0 0 1
0 0 Qe 2 18 1 1 0
X3 - 12 0 1/ 8 0 1 - 21/2 - 32 0 0
X2 20 0 - 364 1 0 3/16 1/16 - 18 0
X7 0 1 - 1/8 0 0 21/ 2 3/2 -1 1
14 0 0 - 3 -2 3 0
X3 - 12 0 - 2/5 56 1 0 - 6 0
Xa 6 0 - 1/4 16/ 3 0 1 13 - 23 0
X7 0 1 5/ 2 - 56 0 0 2 6 1
0 - 1/2 16 0 0 G 1 1 0
Xs 0 - 5/4 28 1/2 0 1 -3 0
Xa 0 16 - 4 - 16 1 0 1/3 0
X7 1 0 0 1 0 0 0 1
0 - 714 44 1/2 0 0 - 2 0
X5 0 0 14 - 8 -1 9 1 0 0
X6 0 0 12 - 12 - 12 3 0 1 0
X7 0 1 0 0 1 0 0 0 1
0 - 3/4 20 1/2 6 0 0 0
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) 7 b ) 7 ]
X1= X2= X3= Xa= Xs5= Xe= 0,Xx7= 1
’ [13 ” 4-18’
4.18
X1 X2 X3 X4 X5 X6 X7
XB Cs
3 a
" 20 -5 6 0 0 0
1
X5 0 "2 - 8 1 9 1 0 0
1
X6 0 é - 12 — 3 0 1 0
X7 0 0 0 1 0 0 0 1
3 a1
07 20 - 6 0 0 0
3 15 a
X5 0 0 - 2 "2 5 1 5 0
3
X1 " 1 - 24 1 6 0 2 0
X7 0 0 0 0 0 0 1
5 21 3
0 2 @) ) 5 0 5 0
15 a1 3
X5 0 0 2 0 > 1 > 4
3
X1 - Z 1 - 24 0 6 0 2 1
1
X3 "5 0 0 1 0 0 0 1
21 3 S5
0 2 0 5 0 5 4
4.4
4.4.1
max z = CXx
S.t AXx=
X2
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VA= (@i)m mem, b= (ke b)), Xx= (XaXz Xwmm) , C=(C1C  Gnen)

) , m
, - z«> 0, X« : X8, : r,
. b
min —|ax> 0 = —
ik Ark
XB
. bi
min ai> 0 , , Ro
i Ak
b . b
Ro= r| - =mn —_ |ax> 0
aArk i ik
B '= (araz am),
ar 1 . all
Ri= ri| — = min —
arlk i R, Qik
R: ri, Xer, , , R:
a )
R. = rj‘—'-: min =
ar k i R, dik
i ]
Ri ri ) Xsr,
4.4.2
, A
) A>O ) A (21- 11012)1(01
1,1,- 1,(0,0, 2, 1) , (0,0,- 1,2 ,(0,0,0,0)
b | l(my > O, ,
., B'plB*'>0
4.19, ,om B '
4.19
X1 X2 Xm Xm+ 1 Xk Xn+ m
XB Cs
b C C1 C2 Cm Cm+ 1 Ck Ch+ m
X8, Cs, b aii auz aim ai,m+ 1 a,k ai,n+ m
XB, Cs, o) ao1 a2 aom a2, m+ 1 A,k a2,n+ m
XB, Cs, br arl ar2 arm ar, m 1 @, k ar,n+m
XB, Ce, bm adm Am2 Amm Am m+ 1 Am, k Am, n+ m
Z Ci- Z1 C- Z2 Cn- Zm | C+ 1= Zm+1 k- Zk Ch+ m= Zn+m
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4.20

4.20
X X1 X2 Xh Xm Xk Xn+ m
X8 Cs
b C C C Ch Cm Ck Ch+ m
X8 Cs b - Qa ain- %ak 0 a ) arn+mak
1 1 ark 1k 1h Ak 1 1n+m ar 1
br ar n+ m
XB, Cs, e- —ax an- — ax 0 an+ m- ar_aZk
aArk ark ark
Arn+
Xk (o b/ ak arn/ ark 1 S
Ark
b a "
XB, C,, - —am am- — amk 0 amn+ m- mamk
aArk aArk ark
b au
z- ark(or Zn) (cn- zn)- ark(&- Zk) 0
4.4.3
B 'blB* i iZr =
b ar1 ar .
b- —axan- -——ax am- —ax ,i% I
ark ark ark
Qik
(biair az  am) - (b an ar arm)
aArk
b a:  am -
, 1= r
Ark Ark ark
= r
a> 0, r ( Fr ) >0
IZr 1 Ro i|] Ro
(1) i] Ro, aik< 0,
Qik
(bi, air, @iz, ,aim) - A (b,an, a2, ,am) > 0
rk
ax> 0, iI Ro,
b b
<
dArk Aik
b
b- —ax> 0
Ark
Qik
(bi ain aw aim) - a (b am a- am) > 0
rk
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(2) i Ro,

1 R:

(a) 1] Ry, R

(b) 1

m+ 1

Bi+1

1 >0

R:, aiz-

Cs B b |

b
ark

ar1
aw- —awx> 0

Ro cax> 0,
b
Aik
i|] R:
adil ari
s
aik ark
ar1 -
— ai= 0, 1 Re
ark

B'b|IB*>0

ark

i|] R ,

CBJ. B] ' - Cs. Bl'_+11b| Cs. BJ'-+11 = . Zk(br dr1 Ar2

j+1

Ck- Zk> 0, ax> 0

(Bland)

CeBi'b|CeBi " -

Bl, Bz, ) B = B:
C:Bi'b| Ce B’
Cs,B>"'b| Cs,B>" -

Cs, Bi-ib| Gs,Bi- "
Cs,Bi 'b| Cs B -

4.5

+ 1
! ark

Caj+1Bj+11b| Csj+lBj'+11 > 0

C:,B:'b| CB2" > 0
Ce,Bs'b| CoBs' > 0

Ce,B 'b|CBi' > 0
Cs,Bi'b|CB:i" > 0

Xi ci- zi> 0,
= mjin{j@j- zi> O},

am)
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4.11 max z= X1+ 2X2+ Xs

S. t. 2X1+ X2- X3t Xa =2
2X1- X2+ BXs + Xs =6
4x1+ X2t Xs + Xs= 6

xi= 0, 1= 1, 2, , 6

4.21
4.21
X X1 X2 X3 X4 X5 X6
X8 Cs B
b Cl 1 2 1 0 0 0
X4 0 2 2 -1 1 0 0 2
X5 0 6 2 -1 5 0 1 0
X6 0 6 4 1 1 0 0 1 6
0 0 1 1 0 0 0
X2 2 2 2 1 -1 1 0 0
X5 0 8 4 0 4 -1 1 0 2
X6 0 4 2 0 -1 0 1 2
4 - 3 0 -2 0 0
1 1
X2 2 4 3 1 0 5 0 5
X5 0 0 0 0 0 3 1 -2
1 1
X3 1 2 1 0 1 - 0 >
1 3
10 -6 0 0 -5 0 >
4.5.1 C
C
(1) x« , O O, Zk C ,
G- Zk= (&- &)+ (&- zv)
G- zk< 0, G- G C- Zx ,
C 1 3, C- z:= - 4, , C 1 8, G- z2=1> 0
X1 )
4.22 4.22 4.21
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4.22

X X1 X2 X3 X4 X5 X6
XB B
b Cl 8 2 1 0 0 0
1 1 4
X2 4 1 0 2 0 2 3
X5 0 0 0 0 3 1 - 2
1 1
X3 2 1 0 1 - 0 > 2
1
10 0 0 -5 0 - 3
4 1 1 1
X1 3 1 3 0 5 0 5
X5 0 0 0 0 3 1 - 2
2 a1 2 1
X3 3 0 T3 1 T3 0 3
34 1 2 S
3 0 3 0 3 0 -3
(2) x« Lo o Zi zi= C:B &
G- z1=G- CB 'a
= (- GCB 'a)- (- c)ag
=(6- z)- (&- o)a
] =12 ,n+ m
G- Z ai B A k j X3 2,
X2= 4, X3= 2, Xx1= Xa= Xs5= xe= 0,z= 12
4.23
4.23
X X1 X2 X3 X4 X5 X6
XB B
b Cl 1 2 2 0 0 0
1 1
X2 4 3 1 0 5 0 5
X5 0 0 0 0 3 1 - 2
1 1
X3 2 1 0 1 - 0 >
12 -7 0 0 0 0 -2
C3 4,
4.24
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4.24

° o~ ™ | ™ N o
5 - | 5_6 —| ©
1 1
1 1
o —© — ™
52 o - o o 1_3 1_6
1 1
< -
= - o — o o
5 o o — o o o — o
% — o o o - o o o
- o o
= %) o — %) o -
1 1
x/ O
< o o [8] « o ~ 9
fo!
@) N O < N o <
o [aV) wn 3] N < ™
< < < < < < <

4.5.2

E,Xlz X4= Xe =

2,X5: 6,X3=

X2 =

= 112

min z

1,

bs

10

4.5.3 aj

ai

G- Z

C:B ‘a

Zi=

Xi

Xi
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8= - 7< 0,

4 c- z.= 1-

2

au

I
-
S
©
© _ x
s
- .
N — .
- —
“ oo @
0 m
oM @
—~ ©
© ©
N
. I
. & ®
m
& I
& ©
j —
< 1]
B -
m

1

1 0

B.*

B—l

ai

a

Qk
an

ak

2

3 1

azs3

1 0 1

-1 1

1

Bn=

0

Bo

Bn

- 1
1
o « O
- 1
1
1
“
&
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B-1

2

4 3 1 0

1

8 4 0 O
2 1 0 1

5 =
1

4.25

X6

X5

X4

X3

X2

X1

10

XB

X2

X5

X3

X2= 4,X3= 2,Xs= 8, X1= X4= Xe= 0, max z= 10

4.5.4 A

ais

23

dss

Bo

oo ©ow «w

To Ko\l
o — o
| w H___5 | o
N :
o o —
- N
AN N 4
O 1
O «H O
- N
_ AN & N
1
o ¥
o)
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48
(10 - 10 10)

(B
(8"

BT(B- 1)T= (B 1B)T= |

X1= X4= Xe= 0, max z

_ 16
=
(2- 15)
(B") °
)B’
(BT

0

X 4 X
3T g Xe=
(az a2 az)

22
51

X2=

Q
x| ©| M w oo
o o —
—i o o <| © (@) —
GQuw oo o
M O —w
_ N Yo <w x| ©| Nw Hw
o — o |
Nw o —w M o x| | © ©
. 1
— o N
T < (QV — o
- 1
o o NN
: N © © x| | Sw o
© = © mw o w <] O
— _ 9
! < Qo G
o — o
o}
Nw Jw —w i
_ S N o
©
~
<
m N L0 ™
X X X X

4.5.5 A




— N

— N

— N

— N

o)
*
-4 O d
o ©
a g
1
-4 O d

10 1 °°

1

10

10

10

10 1

26|30 0 O

10 =

- 10

6|10

0

1

10

4.27
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4.27

X X1 X2 X3 X4 X5
XB C‘B b B

1 2 1 0 0
1

X2 2 4 3 1 0 5 0

X5 0 26 30 0 0 10 1
1

X3 1 2 1 0 1 0
2
1

10 - 6 0 0 5 0

4.5.6

X2= 4, Xx3= 2,Xs5= 26, x1= x4= X6= 0,max z= 10

y:
max z= Xi+ 2X:+ Xs+ qQy
S.t. 2X1+ Xz2- X3+ ohy+ Xa = 2
2X1- X2+ 5X3 + py + Xs = 6
X1+ X2+ Xz + by + Xe= 6
xiz 0, 1= 1,2, ,6,y= 0
1 1
2 0 2
X21X51X31 B_ 1: 3 1 - 2 ) O/- Zy: Cy' CBB_ 1ay
1 1
"o 95
G- >0, vy , G- zy< 0,
,y=10
1 1 1 1
> 0 % a 2% T %
B ‘a = 3 1 - 2 o= 3m+ &- 2
.1l 1 @ 1 .1
2 2 T %
1+ 1o
2 2
CeB 'ay= (2 01) 3+ - 206 = %ou+ %o&
%Gl"‘ %(13
1 3
G- Zy= O+ Lo+ S0
o= 5,00= L= 0= 2
z,=5>0, vy :

117-



1
B ‘a= 2, y= 4, x3= 1, xs5= x1= Xx2= x4= 0, max z= 22
0

, 4.28
4.28
X X1 X2 X3 X4 X5 X6
XB Cs b B
1 2 1 0 0 0
1 1
X2 2 4 3 1 0 > 0 5 2
X5 0 8 4 0 0 1 1 0 2
1 1
X3 1 2 1 0 1 - 0 5
1 3
10 - 6 0 6 - 0 -5
1 1
y 5 4 3 1 0 > 0 >
X5 0 0 -2 -2 0 0 1 -1
1 1
X3 1 2 1 0 1 -5 0 > 0
22 - 15 - 3 0 -2 0 - 3 0
4.5.7
max z = Cx
s. t. Ax= b
x> 0
XB
A= BIN B Xz N Xn X=
XN

xs+ B" 'Nxv= B 'b
Aixs + AxXn £ b,
AiXs + AxXn + Xn+1= b
Aixs + A:iB 'Nxnv = A:B b
(A:- A:B 'N)Xu + Xn+1= b- AB 'b
b- A:B b= 0, ,

> 0, Xn= 0,Xn+1= 0 , ,
X1+ X2+ x3< 8, ( 4.29)
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4.29

X X1 X2 X3 X4 X5 X6
XB Gs B
b Cl 1 2 1 0 0 0
a 1
X2 2 4 3 1 0 > 0 >
X5 0 0 0 0 0 3 1 - 2
X3 1 2 1 0 1 - é% 0 é%
1 3
10 -6 0 0 - 0 5
1 1
+ + — + — =
3X1 X2 2x4 2X6 4 (1)
3Xa+ Xs5- 2Xs =0 (2)
X1 + Xsz- %X4 + %Xa =2 (3)
(1+ (3
4x1 + X2+ Xs + X6 =6
X1 + X2+ Xs + X7= 8
- 31 - Xe+ X7= 2
( 4.30)
4.30
X X1 X2 X3 X4 X5 X6 X7
XB Cs B
b NC| 1 2 1 0 0 0 0
a1 a
X2 2 4 3 1 0 5 0 5 0
Xs 0 0 0 0 0 3 1 - 2 0
a a
X3 1 2 1 0 1 -5 0 > 0
X7 0 2 - 3 0 0 0 0 -1 1
1 3
10 - 6 0 0 - 5 0 ) 0
X1+ X2+ X3 5
- 3Xi- Xet+t Xi=- 1
( 4.31)
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4.31

X X1 X2 X3 X4 X5 X6 X7
XB Cs P
1 2 1 0 0 0 0
1 a
X2 2 4 3 1 0 2 0 2 °
Xs 0 0 0 0 0 3 1 -2 B
1 1
a 1 2 1 0 1 - 0 5 0
X7 0 -1 - 3 0 0 0 0 -1 1
1 3
10 - 6 0 0 T2 0 2 °
z 3 4 3
e 0 2 6 0 0 3 1 0 - 2
3 1 L 3
X3 1 2 T2 0 1 ) 0 0 2
e 0 1 3 0 0 0 0 1 -1
17 3 L 5
2 "2 0 ° T ° ’ ’
xe= L xs= i,st 2,x6= 1, x1= xa= x7= 0, max z=
2 2 2
4.5.8
Pi, P2, Ps , 2,31 X1, Xz, X3
3 )
D X1+ X2+ X3 3
D X1t 4dxet+ Tx3< 9
’ ?
X4, X5
max z= 2Xi1 + 3xz2+ Xs
s.t. X1+ X2+ X3+ Xa = 3
X1+ 4X2 + 7X3 + Xs= 9
XiZ O, i= 1;213’415
4.32
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4.32

X X1 X2 X3 X4 X5
* © b & 2 3 1 0 0 P
X4 0 3 1 1 1 1 0 3
X5 0 9 1 7 0 1 8/ 4
0 2 3 1 0 0
X4 0 1/4 &l 4 0 - 1/4 1 - 1/4
X2 3 9/4 1/4 1 7/ 4 0 1/ 4 9
5/4 0 - 17/ 4 0 - 3/4
X1 2 1 1 0 1 1 1
X2 3 2 0 1 2 -1 1
8 0 0 3 -5 1
b= 12:
. 1 12 39
- 1 9 - 3
4.33
4.33
X X1 X2 X3 X4 X5
e “ | b Cl 2 3 1 0 0 P
X1 2 39 1 0 -1 4 -1
X2 3 -3 0 1 2 -1 1
69 0 0 -3 -5 -1
X1 2 27 1 4 7 0 3
X4 0 3 0 -1 -2 1 -1
54 0 -5 - 13 0 - 6
b 12, x1= 27,x4= 3,X2= x3= xs= 0, max z= 54
4.5.9
(1)
4.5.8
max z= (2+ Nx:+ (3- NXxz2+ (1+ A)Xs
S. t. X1+ Xz+ Xzt Xa = 3
X1+ 4X2 + 7Xs + Xs= 9
xi= 0, 1= 1,2,4,5,3
4.34
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4.34

X X1 X2 X3 X4 X5
X Gs
i b Cl 2+ 3- A 1+ A 0 0
X1 2+ A 1 1 0 -1 4 -1
X2 3- A 2 0 1 2 -1
8- A 0 0 - 3+ 4) - 5- 5 - 1+ 2\
3
- 3+ 4Xx 0, A< 4
- 5 5Xx 0, A -1
- 1+ 2X 0, A< —%
1
- < A\ —
1< A< >
%< A< % ,Cs- Z5> 0, Xs
( 4.35)
4 .35
X X1 X2 X3 X4 X5
XB Cs b
2+ )\ 3 A 1+ A 0 0
X1 2+ )\ 3 1 1 1 3 0
Xs 0 2 0 1 2 1 1
6+ 3\ 0 1- 2\ -1 - 6- 3\ 0
(2)
max z= 2X1+ 3X2+ Xs
S. t. X1+ Xz+ Xzt Xa = 3(1+ A
X1+ 4X2 + 1Xs + Xs= 3(3- A)
xi= 0, 1= 1,2, 3,45
- 4 -1 - 4 -1 3(1+ XN 3+ 15\
B "= , B b= =
-1 1 -1 1 3(3- N 6- OA
X1= 3+ 15\, X2= 6- O6A
3+ 15A=> 0, A= - %
6- 6> 0, A< 1
- %s X1 »>1
M1 Xi= 27- 9\ Xa= BA- 6, X2= X3= Xs= 0, max z= 54- 18A
4_.36
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4.36

X X1 X2 X3 X4 X5

. © b c 2 3 1 0 0 P
X1 2 3+ 15\ 1 0 -1 4 -1
X2 3 6- 6A 0 1 2 e 1 1
24+ 12) 0 0 - 3 -5 -1
X1 2 27- O\ 1 4 7 0 3
Xa 0 6\ 6 0 -1 -2 1 -1
54- 18) 0 -5 - 13 0 - 6

max z= 2Xi- X2+ X3
Ss. t. X1+ X2 - 2Xs3<
4X1 - X2+ Xz
2X1 + 3X2 - X3
xi=z 0, 1= 1,2, 3
min z= Xi+ 3X2- X3
S. t. X1+ X2+ X3= 3
- X1+ 2X2 > 2
- X1+ BXo+ X3 4
xi2 0, 1=1,23
max z= 4X:+ 5X2- 3Xs
10

S.t. X1+ X2+ Xs

v
=

X2- X2
2X1+ 3Xz2+ X3 < 20

X1, X2, Xs= 0

max z= Xi1+ 2Xe

S. L. X1+ X2
- X1+ X<

Xz2<

X1, X2= 0

123-



max z= OX+  Xs - 2Xs5- X

s.t. 5x2+ B50Xs+ Xs+ Xs = 10
X1- 15X+ 2Xs =2
X2+ X3 + X5+ Xe=

xi= 0, 1= 1, 2, , 6

M
max z= 2Xi1- 2Xz2- X3- Xa
S.t. X1+ 2X2 + X+ Xas 2
X1- X2+ Xst 5X42 4
2X1 - X2+ X3 > 2
xiz 0, 1= 1,2,3,4
M
min z= 3Xi1- 2X2 + 5Xs
S. t. X1+ 2X2+ X322 5
- X1+ X2- X2 4
X1,X2,Xs2 0
max z= Xi+ 2X2+ Xs
S. t. X1+ 4X2+ 6X3< 4
- X1+ X2+ 4x3< 1
X1+ 3X2+ X3 6
X1, X2, Xs= 0
(a) min z= - ixﬁ 20x s- lx6+ 6x 7
4 2
s.t. Xu + —ixr 8Xs- Xet+ 9X7= 0
X2 + _;Xr 12xs- %XG"’ 3x.= 0
X3 + X =1
xi2 0, 1=1,2, ,7
(b) min z= - §x1+ 150x-- Lx3+ 6X 4
4 50
S. t. - %xl- 60xX2- 2—15x3+ OX4+ Xs =0
%xl— 90x2- $x3+ 3X4 + Xs =0
X3 + X7=1
xiz 0, 1= 1,2, ,7
; Bi Bi-+1,

124.



CeB 'b|CB " - G, Biiib|GCs, Bisib]| G, Bt > 0

j+ 1 i+ 1 i+ 1

11.
(a) min z= (3 A)xi- (2+ Nx2
s. t. 2x1+ 5X2< 10
X1+ X< 12
Xi- X221
Xi= 0, 1= 1,2
(b) minz= 2Ax:+ (1- A) X2- 3Xs+ AXat 2Xs- 3AXe
s. t. X1+ 3X2-  Xa + 2Xs =7
- 2X2+ 4Xs3+ Xa =12
- 4X2+ 3Xs + 8Xs+ Xe= 10

xi= 0, 1= 1, 2, , 6
12.

max z = 45x. + 80Xz
S. t. 5x1 + 20x.< 400
10x: + 15x.< 450
X1, X22 0
(a) Ct 45 45+ §,
(b) b 400 400+ B3,

(c)an 5 5+ q,
(d) X1t X2= B,
13.
min z = Xz2- 3Xs+ 2Xs
S. t. X1+ 3X2 - Xs + 2Xs =7
- 2X2 + 4X3t+ Xa = 12
- 4X2 + 3Xs + 8xs+ Xs= 10

xiz 0, 1= 1,2, ,6
(a) e O ro,
(b) b 12 12+ B,

(c) a2 3 3+ a
(d) 2 - 3Xz2+ 8xst+ x4= 14
14.
max z= 2Xi- X2+ Xs
s. t. X1+ X2t X< 6
X1+ 2X2 < 4

X1, X2,X3= 0
(0 o -1 3
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15.

(b)
(c)

(d)

(e)
(f)

(a)
(b)

126-

Ci

az

1

0
2
3
Xs, G= 1, as= ) , Xe> 0
D - Xat 2X3= 2
max z= X1+ 3Xe
S. t. X1+ X2 6
- X1+ 2X22 6
X1, X222 0
1+ 2\, & 3 3+ A
6- A
6+ A



51
511
max zZ = CiXi
2.
S. t Z aixi < b
—1
Xj= 0
= 1,2, ,mj=12 ,n
min w = by i
2.
S. t aijVi= G
2.
i=> 0
j=1,2, ,n; 1= 1,2, ,m
51
51
min w
x1= 0 x2= 0 xn= 0
yi= 0 au a2 ain < b1
y2= 0 ax a2 an < b2
ym2 0 adm am2 Admn < bm
max z o © I

127-



max z= Cx min w= yb
s.t AX< b s.t yA> C
x= 0 y= 0
X= (X1 Xz x) L y= (yr ye ym)
A= (ai)m »,C= (0 G),
b= (b b bm) "
5.1
max z = 4X:1 + 2X2 + 4Xs + 7Xa + 9Xs
S. t. X1+ X2+ Xsz+ Xa+ Xs< 10
2X2+ X3+ Xa < 4
6X1 + OX2- 4Xs - 4Xs + 3Xs< 2
4x1 + 10X2 - Xz - 2Xa - 3Xs<
xiz 0,i= 1,2,3,4,5
C=(4 2 4 7 9,b=(10 4 2 17
1 1 1 1 1
A= 0 2 1 1 0
6 6 - 4 - 4 3
4 10 - 1 - 2 - 3
minw = 10y: + 4y> + 2ys + V.
S. t. Y1 + Bys + 4dy.> 4
yi1+ 2y2+ 6ys + 10y.> 2
yit yz- 4ys-  y.x 4
yr+ ya- dys- 2y.2 7
Y1 + 3ys- 3y.= 1
y1,Y2,ys,ya2 0
5 1.2
5.2 3 : P1,P2,Ps Pi1,P2, Ps
60, 30, 20 M1, M2, Ms 5.2(
5.2
P P2 Ps
ma 8 6 1
m2 4 2 1.5
Mms 2 1 0.5
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M, M2, Ms 48, 20, 8 P, P2, Ps

X1, X2, X3
max z = 60x. + 30x2 + 20xs
S.t. 8X1+ 6Xa2+ X3< 48
Ix1+ 2X2+ 1. 5xs< 20
2x1+ 1.5z + 0. 5x3< 8
X1, X2,X32 0
y1,Y2, Ya mz, Mz, Ms ;
min w = 48y: + 20y.+ 8ys
s.t. 8y:+ 4dy.+ 2ys:> 60
6y: + 2y.+ 1.5ys> 30
yi+ 1. 5y2+ 0.5y:> 20
y1,¥2,¥22 0
8yi+ 4y:+ 2ys< 60, P : By:+ 2y.+ 1. 5ys

> 30, yi+ 1.5yz+ 0.5ys> 20

51.3
min  w=yb
s.t. yA=C
y= 0
max w = - bivi
2.,
S.t Zl- aiyis - ¢
yi2 0, =12, ', m =12 ,n
minz:Z- G X; maxz:Zc,-x,-
=1 =1
S.t Zl - aiXx; = - b S.t. ZlainjS bi
iI= 1,2 ,m Xxj=2 0
x;j2 0, ] =12 ,n 1= 1,2 ,m
] =1,2, ,n

129.



514 Ax=D

max z = G X;
=1
aquS bl
-1
Z = auXJS' h
-1
i= 1,2 .m
xi=2 0, j=1,2, ,n
min w = Z biyi + Z - biyi
-1 -1
s. t Zaajy? + Z - ayi = G
—1 -1
j= 1121 1n
yi =2 0,yi =2 0, 1= 1,2, ,n

y=Yi- Y

130-



5.1.5
max z = G X
=1
S.t aix;< b, 1= 1,2 ,m
-1
aiXx;j= b, 1=m+ 1,m+ 2, ,m
-1
Z aiXij= b, i= m+ 1,m+ 2, ,m
-1
xi=2 0, j=1,2, ,n
max z = Zc,-x;
-1
S. t. Z aiXj + Xo+i= b, 1= 1,2, ,m
-1
Z aiXj - Xn+i= b, 1= m+ 1, m+ 2, ,m
-1
Z aiXj= b, 1= m+ 1, m:+ 2, ,m
-1
x;i=2 0, j= 1,2, ,n+ m
5.1.4 : Yi, Vi, yi
my m;, m
min w = biyi + biyi + biy?
Zl y i:Zl+1 y i:Zz+l y
my m, m
S. t. aiyi+t Vi + aiyi= G
Zl !y i:Zfl !y i:Zfl !y
j= 1121 vn

yi2 0, 1=1,2, ,m
- yi2 O(yi< 0, 1=mMm+ 1m+ 2, ,m

yi = met 1Lme+ 2, ,m

n
min z = Z G X
-1

n

S.t. Z aiX; < b, i= 1,2, ,m
-1

m
2
Z aiXj = b, 1= m+ 1,m+ 2, ,m:
j=fqm+ 1

131.



Z aiX; = b, I= m+ 1, m+ 2 ,m

xj=2 0, j=1,2, ,n

1 ms

max w = Z by + Z biyi + Zm biy i
i= 4+ i=fm + 1
S. t. Z aiyi + Z aiyi + :Zm+laijy€’2 G

yi< 0, 1= 1,2, ,m
yi=2 0, 1= m+ 1lm+ 2, ,m

53
(max) (min)
i < i >0
i > i <0
1 = 1
J =20 ] >
J <0 J <
| j =
5.2
5.2.1
max z = Cx
s.t. AXx< b
X >
min w= yb
S.t. yA= C (5.1
y=2 0
X= (x1xz2 xn),C= (e &), A= (ai)m n,b= (b bn)',y= (yryz ym)
Xi,»j= 1,2, ,n, Y

132.



Za;x;s b, 1= 1,2, ,mx;=20, |j=1,2, ,n
-1

m

Za.y> ¢, j= 1,2, ,n,yi= 0, i= 1,2, ,m

yi

Z Za.x,= ZZa,xy< Zby

Zx,z aiyi = Z Z aiX;yi = Z G X;
Z aiX; = Z sz aiyi
Zqu,_ Zlhyi

5.2.2

m><>< x X

(Al D= (2 a B+ m)
. 133



B ,Xx=B 'b,z= CGB 'a,j= 1,2, ,n+m y=
CsB ', y
viAl =B (Al )= (B 'A | &GB Y
B ' , ©6- z<0,j=1,2, ,n*+m, GCsB 'A=C,CB =0,
yA= CeB 'A> C,y=2 0 (5.2)
(5.2) y=CeB ' (5. 1) ,
yb= C:B b= Cs(B 'b) = Cexs
X Yy ,
Cx = yb
L]
5.2.3 min
, min B max
. GCsB"' min ,
(a) : ,
(b) ,
(c) ,
(d) ,
(e) ,
X y
max z = CX min w = yb
S.t. Ax< b S. t. yA=> C
x= 0 y= 0

X = (x1xz  xo),y =(yryz ym)
(a) vyi > 0, Z aixi = b, i= 1,2, ,m

n

(b) Zaijxf<bi, yi = 0, i= 1,2, ,m

ancix? < Zml ana;xfy? < Zml by i
anqx,-* = Zmlbiy?
anCij* = Zml anainj* y? = Zml biy?
Zl Zlaijxf y? = Zl biy?
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2£1aixf - byi =0

n

*

Yi > 0, Z aiXxj= 0 , Z ainT < b, y? =0
-1 =1

n

2{ G X 2{ zi aiX; Vi

(a) x; > 0, Z aiyi = G

Zil G - zglaay? Xi =0
(b) Zmlaayf > G, Xi = 0
5.3

max z= 4x: + 3X:

S.t. X1+ 2X2

IN

IN
w N o1 wN

X1- 2X2

IN

2X1 + 3Xo2

X1+ X

IN

X1+ X

IN

X1,X22=2 0

minw = 2y: + 3y:+ bSys+ 2ya+ 3ys
S. t. Yyi+ Yo+ 2ys+ ya+ 3Ys

v

2y1- 2¥y>+ 3ys+ ys+ ys = 3
yi= 0, i= 1,23 4,5

1,5 , 2,34 ,
yz=ys=ys= 0
X1, X2> 0
yi+ 3ys= 4 yi=1
2y1+ ys= 3 ys= 1
y:= Lys= 1 y>= ys= ya= O,w= 5
5.4 max z= X1+ Xz
S.t. 2X1+ 3X22 6
X1+ 2x2< 6
X1, Xx2= 0
5.4
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5.4

X X1 X2 X3 X4
XB Cs B
C 1 1 0 0
X3 0 6 2 3 1 0 3
X4 0 6 2 0 1 2
0 1 1 0 0
X3 0 2 0 o' 3 1 - 2/3 o5
X1 1 2 1 2/ 3 0 1/3 3
2 0 1/3 0 - 1/3
X2 1 6/5 0 1 35 - 215
X1 1 6/5 1 0 - 2[5 3/5
12/5 0 0 - 15 - 1/5
min w = 6y: + 6y:
S. t. 2y1 + 3y: 2
3y: + 2y2 2
yy22 0
C:B ,
1 1 12
= 5 ¥em 5 WE g
5.5 min z= 2x:+ 6X:
s.t. 3x:1+ x22 3
4x:1+ 3X2 2 6
X1+ 2X2 2 2
X1, x22 0
max w = 3y: + 6Yy2 + 2ys
S. t. 3yi1+ 4y, + ya< 2
yi+ 3y2+ 2ys< 1
yi,y2,y:2 0
5.5
X1= 3 X2= L
5’ 5’
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5.5

y1 y2 ys y4 ys
ys Cs B
b C 3 6 2 0 0
ya 0 2 3 4 1 1 0 1/2
Ys 0 1 1 2 0 1 1/3
3 6 2 0 0
ya 0 2/ 3 '3 0 - 5/3 1 - 4/3 215
y2 6 13 1/3 1 2/ 3 0 1/3 1
2 1 0 2 0 2
y1 3 2/'5 1 0 -1 35 - 4/5
y2 6 15 0 1 1 - U5 3/5
12/5 0 0 -1 -35 -6/5
5.6 min w= y:+ 2y
s. t. 3y:i+ 4y.=> 6
yi+ 3y22=> 3
2y1t y2 2= 2
y1,y22 0
ys, y4ys ye, y7, Y,
minw =y + 2y
S. t. 3y:1 + 4ya- Y3 + Yo = 6
y: + 3y -y toyr =3
2y1+ Yy - Ys t ys= 2

yi= 0, i= 1,2 ,8
5.6 5.7

6 _3 . 12
yi= gLy2= TLminw= o
max z = 6X1 + 3X2 + 2Xs
S.t. X1+ X2+ 2X3t+ Xa =1
4x1 + 3X2 + Xs + Xs= 2
X1, X2, X3, Xa, Xs 2 0
5.8
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5.6

Y1 y2 ys ya ys ye y7 ys
ye G B
0 0 0 0 0 1 1 1
Ve 1 6 3 4 -1 0 0 1 0 0 3/2
y7 1 3 1 0o -1 0 0 1 0| 1
Vs 1 2 2 1 0 0 -1 0 0 1 2
11 - 6 8 1 1 1 0 0 0
Ve 1 2 53 0 -1 4/ 3 0 1 - 4/3 0 6/5
y2 0 1 1/3 1 0O - 13 0 0 1/3 0 3
Ys 1 1 63 0 0 1/3 -1 0O -1/3 1 3/5
3 - 10/ 3 0 1 - 53 1 0 8/3 0
X6 1 0 0 -1 1 1 -1 -1
X2 0 4/5 0 1 0 2/ 5 1/5 0 2/5 - 15 4
X1 0 3/5 1 0 0 1/5 - 3/5 0 -1/5 3/5
1 0 0 1 -1 -1 0 2 3
ys 0 1 0 0 -1 1 1 1 -1 -1
y2 0 3/5 0 1 /5 - 3/5 0 - 1/5 3/5 0
Y1 0 6/5 1 0 - 35 4/ 5 0 3/5 - 4/5 0
0 0 0 0 0 0 1 1 1
57
Y1 y2 ys ya4 ys
Y8 Cs B
1 2 0 0 0
ys 0 1 0 0 -1 1 1
y2 2 35 0 1 1/5 - 3/5 0
Vi 1 6/ 5 1 0 - 3/5 4/5 0
12/5 0 0 1/5 2/5 6
5.8
X1 X2 X3 X4 X5
X8 Cs B
6 3 2 0 0
X4 0 1 1 2 1 0 1/3
X5 0 2 4 3 1 0 1 2
0 6 3 2 0 0
X1 6 1/ 3 1 /3 2/3 1/3 0 1
Xs 6 2/ 3 0 &3 -5/3 - 4/3 1 2/5
2 0 -2 -2 0
X1 6 1/5 1 0 1 3/5 - 15
X2 3 2/ 5 0 1 -1 - 4/5 3/5
12/5 0 0 -1 - 6/5 - 35
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min w = 48y: + 20y.+ 8ys

S. t.

y:i= 0,y2= 10,ys= 10,
z 0, 10

8y +

By +

4y, + 2ys=> 60

2y2 + %ysz 30

Y1+ %yz'i' %y32 8

Xa=— 24

i= 1,2,3
y= (0 10 10)

ma

3 1
=GB '= (6 3 > _ 6 3
. ) 4 3 5
5 5
5.3
max z= Cx min w= yb
S. t. AxX< b S.t yA= C
X y= 0
B ,z= GB 'b=yb, z= Z yibi,y = (y: y2
= gradz, vyi= _é,IZ 1,2, .,m y b
bi I , Vi z i
m ( ) bi
y4
5.1 5.2
max z = 60x: + 30x:+ 20Xs
S. t. 8X1+ 6Xx:+ X3+ Xa = 48
4x 1 + 2X2+ 1.5xs + Xs = 20
2X1 + 1. 52+ 0. 5xs + Xe= 8
X1, X2,X3= 0
5.9

ma
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59
X X1 X2 X3 X4 X5 X6
XB Cs
b C 60 30 20 0 0 0
X4 0 48 8 6 1 1 0 0
Xs 0 20 4 2 1.5 0 1 0
X6 0 8 1.5 0.5 0 0 1
0 60 30 20 0 0 0
X4 0 16 0 0 -1 1 0 - 4
Xs 0 4 0 -1 G 0 1 -2
3 a a
X1 60 4 1 4 4 0 0 -5
240 0 - 15 5 0 0 - 30
X4 0 24 0 - 2 0 1 2 -
X3 20 8 0 - 2 1 0 2 - 4
S5 a 3
X1 60 2 1 4 0 0 -5 >
280 0 -5 0 0 - 10 - 10
5.4
541
max z= CX
S.t. Ax< b
X2
b , ,
) b )
min
5.10 , ci- zi< 0
b< 0O, a< 0, ark 511
arh aArh aArh aArh
Zh = CB, Aih- — Ak + C, Q- — aAx + + o + + . amh- T aAmk
1 ark 2 ark ark m ark
arh

= (eant cant  + o am)- oant o
r
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rh
- ark(CBlalk"' Cs,x+  + Cs_@m,-- Ce k)

= Zn- CBrarh"' G -
a

aArh aArh

rk

aArh
= znt — (-
zZnt (- zv)

;(Zk- cBrark)

a.rh
- zn= o= zn- (G- zv) (*)
ark
h=1,2, ,n,hz k
5.10
X X1 X2 Xk Xn
X8 Cs B
b C C1 C2 Cx Cn
X8, Cs, b1 a1 a2 Ak ain
X8, ) b2 a1 a2 ax ax
X8, Ce, b (< 0) a1 ar an(< 0) am
X8, Cs, b am1 am2 ank am
Z Ci- Z1 C- 22 C- Zk Ch- Zn
5.11
X X1 X2 Xh Xk Xn
XB C B
C C C2 Ch O Cn
b adrh
XB Cs - = - 0
1 1 b1 arka1k aih akalk
h adrh
XB Cs - = - 0
> 2 07) ark62k azh ark82k
b
Xk [ - o 1
aArk ark
a
XBm CBm bm- Eamk amh- _rhamk 0
Ark Ark
7 G- Zn 0
= —( )
= 7- - Zk
Z Z Ak Cx Z
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5.4.2

5.4.1

aArk

(a) an> 0

(b) an< O

br< O

5.4.3

5.7

142.

(*)

b1 aii aiz
b. adz1 az2

br ar a2
bm dm1 am2

Z Ct- 721 C- 22

br
ark
ci- zi< 0
Ck - k .
= min
aArk j

aik
Ak
G
Amk
Ck - Zx
, k
g. - Z
arj < 0
arj
Ck- Zk
>
ar- k

- z«< 0, ax< 0,

aArh

0

ain

arn

Cn-

c- zn= (- zn)- ;(Or zx)< 0

G- Zk Ch- Zn
<

aArk

rh

arh
,0- znS T (- zx)
ark

a
- z0= (0- z0)- —(o- z)< 0
ark

ark
min

(

**)

min z= 3x:1+ X
X1+ X221

2x1+ 3x22=> 2

S.t.

max w=
S. 1.

X1, X22 0
3X1-  Xe
X1- X2
2X1- 3X2

IN

Zn

Ci-

zi< 0

)



X1, X2= 0

X3, Xa,
max w = - 3Xi- X2
S.t. - X1- X2+ Xs =- 1
- 2Xi1- 3X2 + X4= - 2
X1, X2, X3, Xa= 0
5.12
5.12
X X1 X2 X3 X4
XB Cs B
b C - 3 -1 0 0
X3 0 -1 -1 -1 1 0
X 4 0 -2 -2 O3 0 1
0 -3 o1 0 0
a a1 1
Xs 0 - 3 - 3 0 1 O3
2 2 1
X2 -1 3 3 1 0 ) 3
2 wa 1
" 3 3 0 0 ()—3
X4 0 1 1 0 - 3 1
X2 -1 1 1 1 -1 0
-1 - 2 0 -1 0
_ _ _ _ _ .03 1 _ 1
Ci- z1= - 3, z2=- 1, - 2= &- z+= 0, = - 2, min 51 3 T 3
x2=1,x4=1,2z= 1
5.8 min z= X:+ 3X2+ 2Xs
S. t. Ox1+ 3x2- 4xs <
X1+ Xo- X3 = 2
X1, X2, Xz= 0
X4, X5
max W= - Xi- 3Xz2- 2Xs3
S. t. X1+ 3X2- 4Xs3+ Xa = 8
- 3Xi1- X2+ 3Xs + Xs= - 2
xi= 0, 1= 1,2 3,45
5.13
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5.13

X X1 X2 X3 X4 X5
XB Cs
b C -1 3 2 0 0
X4 0 8 6 4 1 0
X5 0 -2 O3 1 3 0 1
-1 3 2 0 0
X 4 0 4 0 1 2 1 2
2 a a
X1 1 3 1 3 1 0 3
2 8 a
"3 0 -3 3 0 3
2 . _ e Y _ 2
X1= 3,x4— 4, X2= Xs= Xs= 0, z= 3
5.9 4.5 4. 11
max z= X:+ 2X2+ Xs
S.t. 2X1+ Xo- X3+ Xa =
2X1 - X2+ 5xs3 + Xs =
4X1 + X2+ Xs + Xe=
xi= 0, 1= 1,2, ,6
X2= 4,x3= 2,x5= 0,x1= x4= xe= 0O, 5 14
5.14
X X1 X2 X3 X4 X5 X6
XB CB
b C 1 2 1 0 0
a1 a1
X2 2 4 3 1 0 5 5
X5 0 0 0 0 0 3 - 2
a a1
X3 1 2 1 0 1 -5 5
a 3
10 - 6 0 0 - 5
bs 6 1
a1 0 1 3
2 2 2 2
b= 3 1 - 2 6 10
1 1 1 1
- = 0 - . =
2 2 2
5.15
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5.15

X X1 X2 X3 X4 X5 X6
XB Cs
b C 1 2 1 0 0 0
X2 2 3/2 3 1 0 12 0 2
X5 0 10 0 0 0 3 1 - 2
X3 1 - 12 1 0 1 o VU2 0 2
X2 2 1 4 1 1 0 0 1
X5 0 7 6 0 6 0 1 1
X4 0 1 -2 0 - 2 1 0 -1
- 0 - 0 0 - 2
5.10 max z = 2X1 + 3X2 + Xs
s.t. X1+ X2+ Xzt Xa = 3
X1+ 4X2 + 7Xs3 + Xs= 9
X1, X2, X3, X4, Xs= 0
5.16
5.16
X1 X2 X3 X4 X5
X8 Cs B
b C 2 3 1 0 0
X1 2 1 1 0 -1 4 -1
X2 3 2 0 1 2 -1 1
0 0 -3 -5 -1
3+ 3A
9- 3A
4 - 3+ 3\ 3+ 15\
b= = L A>
-1 9- 3A 6- OA
517
5.17
X1 X2 X3 X4 X5
XB Cs B
b C 2 3 1 0 0
X1 2 3+ 15\ 1 0 -1 4 -1
X2 3 6- 6A 0 1 2 O1 1
24+ 12)\ 0 0 -3 -5 -1
X1 2 27- 9\ 1 4 7 0 3
X4 0 6\- 6 0 -1 - 2 1 -1
54- 18\ 0 -5 - 13 0 - 6
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max z= Cx

S. t. Ax= b
x= 0
C< 0,A= (ai)m n
S: b= 0,i= 1,2, ,m, : : bi< O
S: b= miin{bi@t}i< 0, a;=20,j=1,2 ,n, : ; : ai; <
0
Ss - rSZS= mjin Q'a_”ZJ_ a;< 0
S r Xs,  as
Ss S:
b< O , Se br, b
2.5
551
5.11 max z= 3Xi1+ 6X2
S t. X1+ 2X2 = 6
3x1+ x22= 9
7x1+ 5x2 < 35
X1,X22 0
X3, X4, Xs
max z = 3X1+ 6X2
S.t. - Xi1- 2Xe2+ Xs = -
- 3X1- X + Xa = -
7X1+ 5X2 + Xs= 35
xiz2 0, 1= 122345
5.18
, G- z< 0 , hb<O
b= 0,
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5.18

X X1 X2 X3 Xa X5
XB Cs B
C 3 6 0 0 0
X3 0 - 6 -1 1 0 0
X4 0 -9 -3 0 1 0
Xs 0 35 7 0 0 1
3 6 0 0 0
X3 0 8 9/5 0 1 0 2/5
X4 0 - 2 o 85 0 0 1 1/5
X2 6 7 715 1 0 0 1/5
- 2715 0 0 0 6/5
X3 0 23/ 4 0 0 1 9/8 5/8
X1 3 5/ 4 1 0 0 5/ 8 1/8
X2 6 21/ 4 0 1 0 7/ 8 3/8
141/ 4 0 0 0 27/ 8 15/8
5 5.2
Si. max <
So. Ax=Db
Ss.
(a)
ark,
5 = ‘ G- _z)hb ‘
ar
(b)
ark,
5 = (o -a kzlk)brl
Sa. o> O, , , Ss
O, O
5.12 min z= - 3Xi1+ X2- 2X3
s. t. X2+ 2xs < 10

X1+ X2

v
w

X1, X2,X3= 0
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max z'= 3Xi1- X2+ 2Xs

S.t. X1- X2+ 2X3+ X2 = 10
X1- X2 + Xs= - 3
xi 0,1 1,2,3,4,5
5.19
5.19
X X1 X2 X3 Xa X5
XB Cs
b C 3 -1 2 0 0
X 4 0 10 -1 2 1 0
X5 0 -3 1 -1 0 0 1
0 3 -1 2 0 0
X1 3 10 1 -1 2 1 0
X5 0 - 13 0 0 - 2 -1 1
30 0 2 - 4 - 3 0
) aii ) , a2
_ |10 3‘_ _‘-3- (- 1)‘_
1= ‘ 1 = 30, &= 1 =3
55.3
5.13 max z= - 2x:+ 3x:
S.t. X1t X256
1
- X1t 2X2 £ - E
X1- 3Xz2< - 1
X1, X220
X3, X4, X5
max z= - 2X:+ 3X:
s. t. X1+ X2+ Xs = 6
- X1+ 2X2 + Xa = - %
X1 - 3X:2 + Xs= - 1
X1, X2,X3, X4, X522 0
0 , 5.20
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5.20

X5

X4

X3

X2

X1

_1+e

Cs

XB

X3

X4

X5

e< 3,

6= 4,

X2

, C2- 722> 0,

5.21

5.21

(e}
v o o — o
9_2
1_2 +
! | 1_2 3_2 3_2
1
m — o o o
¢ o — o o
9_2
1_2 -l v
< o e _ T 1__2
1
o) o |-
1n_02 [V KVl
+ + |
' < <
s Y MY 5
1 1 ﬂ-_o
N
fan)
nw o b o
o o™ o~ n
< < x <

, X1

, X5

Qa
@
- N
n
= ™ _ _ -
1
fan)
— ™
<
< < _ _ ™
1
2 - O o o
¢ o o o
= o o — o
x 10| N
@ @
2 A Yo} b
AL
13_27_2
+
N
D
I3
@) o 1
3 1
m [92] oN —
< X X x

6= 0
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(a) min z= 3x1+ 2x2- 3xs+ 4xe
s.t. X1- 2X2+ 3Xs+ 4X4< 3
X2+ 3xst 4xa> - 5
2x1- 3X2- Tx3- 4xa=
x12 0, x4< 0, X2, X3
(b) max z= 3x:+ 2X:

S. t. X1+ 3X2< 3
6xi- x2=4
X1+ 2x2 < 2
x1= 0,x2=2 0
2. max z= - 4xz:+ 3xst 2xa- 8xs
S. t. X1+ Xot+ 2Xs3+ Xa =3
X1- X2 + X4t Xs5= 2

Xxi2 0, 112345
3. minz= 2x1+ X
S.t. - 4x1+ 3X2- Xz= 16
X1+ O6xz2+ 3x:=> 12

X1, X2, Xa= 0

(a)

(b)
(c) (b)
4. min z=  2x:+ 3x2+ 5x3t+ 6xa4
s.t. X1+ 2X2+ 3Xzt+ X422 2
- 2X1t X2-  Xst+ 3xs4< - 3
X1, X2, X3, X4= 0
(a)
(b)
(c)
5. min z= 2x:1+ 3X2- 5Xs
s.t. X1+ X2- X3+ X422 5
2X1 + Xs <4

X2+ Xzt X4= 6
X2,Xs3=2 0, x:< 0
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(a) max z= x1+ 6x2

S. t. X1+ X222
X1t 3x2< 3
X1, X220
(b) min z= x: + 2X3- Xs
S.t. X1+ X2+ Xzt X4 <6

2X1- X2+ 3X3- 3X4= 5
Xxi 0, 11234
(C) max z= 5xit+ 7xz:+ 2xs

S.t. 2X 1+ X2+ X3+ Xa =5
%X1+ X 2 + Xxs5= 1

xi 0, = 1,23,4,5
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6.1
6.1.1
m Al,AZ, 1Am;n Bllel 1Bn Ai ail i:
1’ 2, lm; BJ lej: 1’ 2, ln
ai = i i, a, b>0 ai > ,
Zl Zlb i j, a, b Zl Zlb
) Bn+ ,bn+ = ai - b‘, Cin+t 1 = 0, = 1,2, , M
1 1 Zl Zl ] 1
Z ai < Z b Ai Bi ci, 1= 1,2, ,m,j = 1,
-1 -1
2, ,n
Ai B; Xi )
min z = Ci Xij
2.2.0%
S. t. Xi= ai, 1=1,2, ,m
2.
Xi=b, =212 ,n (N)
-1
x;y=2 0, 1=21,2, 'm =12, ,n
lei: di Ai Ai ai, 1= 1, 2, , M ,ZlXi
= b Bi bi,j= 1,2, ,n mn ,m+ n
(N) (N)
X= (X11 Xz Xin X2 X2 X 2n Xmi  Xm2 Xmn) "
C= (cu cw Cn Ca1 C2 Cn Cni  Cm2 Cm)
b= (ax a an b be )
A= (a11 aiz ann azn  azz azn ami  amz amn)
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ai= e+ emj,a n+ m [ 1,
m+ j 1, 01i=1,2, ,mj=12 |,
n
min z = Cx
S.t. Ax= Db
x= 0
6.1 m=3,n=5
6.1
3 5=15 , 3+ 5= 8 : 61
X11+ Xi2+ X3+ Xt Xis =
Xait X2t X2zt Xzt Xozs =
X3t X3t Xst+ Xaut+ Xss5=
X11 + X2 + Xa1 =
X 12 + X22 + Xa =
X13 + Xoes3 + Xa3 =
X14 + X4 + X34 =
X15 + Xos + X35 =
6.1 2
, A mtn mn ,
1 0 0
1 0
A=
0O O 1
I I [ (m+ nymn
1 1 n :
1= (1,1, ,1)
o1
0 O n
I X n
A 2 1, m n
0
6.1 (N)
a.:Zb:s, ,xizﬂ)ﬂlz 1,2, ,m; =
=1 -1 S

0, em+j
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anx;= aizl QSLZ di

m m

Xi
Zl =1 S

I
o
|8
I
O

0< xi< min{ai, b}

(N) :
6.2 A
m n 2 ,mn=zm+n, A m+ n A
n , A mtn
6.1 rank(A)=m+n- 1
A mtn : rank(A)< m+ n- 1
rank(A) = m+ n- 1, m+ n- 1 :
, 6.1 A
A= (an Az aAis dis d21 d2 Axs ds1  ds2
ai XiJ ] i: 1’ 2’ 3; j = 1’ 2! 55’ a'15 X15
(1 00 00 0 0)
(als dzs dAss A1 dz2 ass a34)
ais adzs ass adll dz22 as’ ass
1 0 0j]1 0 0 O
O 1 0|0 1 0 O
O 0 110 O 1 1
ls | D
0 00l100O0-= +
0 "l
O 0 OO 1 0 O
O 0 OO O 1 O
O 0 0'0 O O 1
: 1 0
: (m+ n- 1x (m+ n- 1)
A m+ n- 1, m+ n :
6.2 A +1 O
A 0 1 : rank(A)= m+ n- 1, m+ n

154.
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k Ak
Ax 1 0; 1, 0
(1) 0, 0
(2) Ax 1, 1 , n
: Ax ,detAx= 0
(3) A 1, detA«=* detA« :
6. 3
6.3.1
A
1.
3.
, 2 3
Ax=b , ;
6.1
6.1
Bl BZ B3 Bn— 1 Bn
Ci1 Ci2 Ci3 Cin- 1 Cin
A1 a
X1 X12 X13 X1,n- 1 X 1n
C21 C22 C23 C2n- 1 C2n
A2 a
X21 X22 X23 X2,n- 1 X 2n
Cm1 Cm2 Cm3 Cmn- 1 Cmn
Am am
X'm1 X' m2 X' m3 Xm,n 1 X'mn
bl b2 b3 bn— 1 bn
(i,j) Ci, X X ij a, | Xi
bi
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min z= 10Xu+ 8X1+ 12X+ 11X+ 11X+ 14X22+ 15X 23+ 9X24
+ 16Xs1+ 11Xsz+ 18X+ 7Xs34
S. t. Xu+ X2+ Xzt Xis = 40
X21t+ X227+ X23+ Xoa = 60

Xa1+ Xs2+ Xzt Xau= 45

X 11 + X1 + Xs1 = 50
X12 + X2z + Xa32 = 25
X13 + Xoz3 + Xass = 35
X1a + X2 + X3s= 35
xs= 0, i=1,2,3, j=1,223 4
6.2
6.2
B: B: Bs B4
10 8 12 11
A1 40
11 14 15 9
A2 60
16 11 18 7
As 45
50 25 35 35 145
, At B: , Xu= min{az, b:}= min{40, 50} = 40, A
, B: , 10 A: B, x12= min{60, 10}= 10, B: Az 50,
B. 25, X22= min{ 50,25}= 25, 25, B2 , Az 25 Bs, A-: , Bs
10, As B310, As 35 B , Az , B3, B4
6.2 6.3 , 6.3
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6.3

B: B> Bs B4
A1 40 ol
80
A2 10 25 25 /50/
25
A 10 35 /45{
i 35
50 35
25 25
A6 A6
6.3.2
7, (A3 Bai) 35 ,
8( ’ )
, ) (A11 Bz) 9’ (AZ, B4) )
, : 6.4
6.4
B1 B Bs Ba
10 8 12 11 46
A
15 25 5
11 14 15 9 /60/
Az 35 o5 e
16 14 18 7 -
As 10 35 A6
B0 25 35 35 e
35 0 A0 0
) 0 b
6.4(a) (b) 3 4 ,
A (a) X11, X21, X22, X23, X33, X34 ; (b)

X112, X11, X21, X23, X33, X34

m

6
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m+ n- 1

6. 4

A= (&11 a2 din A2 Az azn dmi  amz amn)
ai= et en i, & ntm-1 i 1, 0
6.4(a) aws
Ais = Au1- At ds- At A

; = (et @)- (et+ e)+ (et &)- (et &)+ (et &)= e+ &=

6.3.3

6. 4(b)
6.4 : m , N ,
, m+ n- 1 , ,
, ; m+ n- 1
, 6.5
, A:r  Bs, A1 , Ba A1
, B 10, B. ,  As
45 10, 1 :
As, B: A: 60 50,
, Bs 35 25
1 , B3, B2 : Bs : Az
45 25 : 6. 6 ; 6.5

6.7

a,a, ,amb,b, ,b , ,
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(us
(us
(U
(U
(us
(us

6.6 6.7

6.4 C- z ,

Ci]- Zi’ 1 )

G- Zij= GCj- CBB_laij = 1,2, ,m;j= 1,2, , N

D ai= et ewi, A nt m- 1,
& j=n1= 1,2, ,m
A= &+ €en+| 1= 1,2 .,m;j=12  ,n- 1
CsB "= (ur  uwe Un Vi Vo Vo 1),
Gi- zZi=GCi- W Vv, 1,2, ,m;j=12 ,n
, w=0 CB ' m+tn-1 m+ n- 1
Xi, Gi- zi= 0 6.8 X11, X21, X22, X23, X33, X34
z= 10x 40+ 11x 10+ 14x 25+ 15x 25+ 18 10+ & 35
= 1660
A ,
e |=4
A= e+ e, | £ 4 ai = &+ En
va= 0
6.8
Uz Us Vi V2 Vz)au= Cu, Uit vi= 10
Uz Us Vi V2 Vs)az= Ca, U+ va= 11
Uz Us Vi Vz Vs)az= C2, U2t v2= 14
Uz Us Vi V2 Vs)az:= Cs, U2+ vs= 15
Uz Us Vi V2 Vs)ass= Cs, Ust vs= 18
Uz Us Vi V2 Vs)@m:= Cu, Us=7
us= 7
vs= 18 us= 18- 7= 11 6.8
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u:= 15- vs= 15- 11= 4

Vo= 14- u.= 14- 4= 10

vi= 11- uw=11- 4= 7

u:= 10- v:= 10- 7= 3

Ci2- Zz12= 8- ui- ve2= 8- 3- 10=- 5
Ciz- Ziz= 12- Ui- vs= 8 3- 11=- 6
Cu- z1= 11- ui- va= 8 3= 5

Caa- z2a= 9- U2- va= 9- 4= 5

Cai- za:= 16- us- vi= 16- 7- 7= 2
Ca- Zn= 14- us- V.= 14- 7- 10=- 3

min , X13
6.5
X13 ) 6. 11 ) 6= 25, X13 X11, X23,
X11 X23 25, X23 , X13 0 25,

z= 1x 15+ 1k 35+ 14« 25+ 1 25+ 1& 10+ & 35= 1610

6.9, 6.10 6. 11

6.9 6. 10

Cii- Zi
uit vi= cu= 10, 1+ vs= ciz= 12,
Uzt vi= can= 11
U2+ V2= C2= 14, us+ vs= 3= 18, Us= cu= 7
ve= 18- us= 11, = 12- vs= 12- 11= 1,
vi= 15 wi= 14, u.= 11- va= 11- 14= - 3
ve= 14- u.= 14+ 3= 17 6. 11
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= 1,u= - 3,Us= 7, Vvi= 14,v.= 17,vs= 11,v.= 0
Ciz- Ui- v2= 8- 1- 17= - 10
Cu- Ui~ va= 11- 1= 10
Czs- Uz2- vs= 15- (- 3)- 11=7
Caa- Uz- Va= 9- (- 3)= 12
Cai- Us- Vi= 16- 7- 14= - 5
Cs2- Us- v2= 14- 7- 17= - 10

X 12 : 6. 12 X 11 : 6.13

6.12

z=8 15+ 12 15+ 1% 35+ 14 10+ 18 10+ ¥ 35= 1535
Ciz= Uit vz2= 8, ci3= i+ vs= 12, ca= U2+ vi= 11
C2= U2+ v2= 14, 3= us+ vs= 18, = ust+ va= 7

us= 7,vs= 18- us= 18- 7= 11, 1= 12- vs= 12- 11=1
Vo= 8- = 8- 1= 7,u= 14- vo= 14- 7= 7
vi= 11- w=11- 7= 4

U= 1, U= 7,Us= 7,Vvi= 4,v2= 7,Vvs= 11
cu- w- vi= 10- 1- 4= 5
Cu- Ui~ va= 11- 1= 10
C2- Uz- vs= 15 7- 11=- 3
Caa- U2- V4= 9- 7= 2
Cai- Us- vi= 16- 7- 4= 5
Ca2- Us- ve= 14- 7- 7= 0

X 23 : 6. 14 6= 10, x=z : 6. 15

Uit ve= ce= 8, uit va= cis= 12, u2+ vi= cu= 11
Uzt vs= = 15, ust vs= 3= 18, us+ va= 4= 7

us= 7, va= 18- us= 11
u:= 15- vs= 15- 11= 4, vi= 11- w.= 11- 4=7
us= 12- vs= 12- 11=1,v.= 8- u:i= 8 1=7

6.13
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U= 1,U2= 4,us= 7,va= 7,V2= 7,Vvs= 11
Cu- Ui- vi= 10- 1- 7= 2
cu- ui- va= 11- 1= 10
C22- Uz2- V2= 14- 4- 7= 3
C24- U2- Va=— 9- 4=5
Cai- Us- vi= 16- 7- 7= 2
Cz2- Us- V2= 14- 7- 7= 0
6.14 6. 15
X12= 25,X13: 15,X21: 50, X23= 10,X33= 10, X34= 35, 0
z=8 25+ 1% 15+ 1% 50+ 15 10+ 18 10+ ¥ 35
= 1505
6.6
6.2 6.5,
6.5
Bl Bz Bs BA BS BG

Al 10 12 13 8 14 19 18

A, 15 18 12 16 19 20 22

As 17 16 13 14 10 18 39

As 19 18 20 21 12 13 14

10 11 13 20 24 15 93
6.6
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6.6

B1 B Bs Ba Bs Bs
Al 10 8 48 8
Az 3 13 6 22 x &
As 14 24 1 39 25 A
'y 14 | .44
A0 AL a3 20 A A5
s A A
zo=18 10+ 1x 8+ 18 3+ 1% 13+ 18 6+ 14 14+ 18 24+ 18 1+ 13 14
= 1140
ust vi= cu, wt vi= 10
Ui+ Vo= Ci2, Wi+ Vo= 12
U2+ V2= C2, U2+ vo= 18
U2+ V3= Cs, U+ V= 12
U2+ Va= Cu, U2t va= 16
Us+ Va= Cas, Us+ Va= 14
us+ vs= css, Uust vs= 10
us+ ve= 18, wus= 18
ust ve= 13, us= 13
: us= 13, us= 18, us+ vs= css= 10,vs= - 8 :

us= 13, us= 18
us+ vs= 10, vs= 10- us= - 8
Us+ va= 14, va= 14- us= - 4,
uz2+ vs= 16 u2= 16- vs= 16+ 4= 20
U2+ V= 12,vs= 12- u.= - 8
uzt+ v2= 18, ve= 18- y2= 18- 20= - 2
Ui+ vo= 12, ui= 12- v.= 14
u:+ vi= 10, vi= 10- u:= 10- 14= - 4
u:= 14, u.= 20, us= 18, us= 13, v1i= - 4
Vo= - 2,Vs= - 8,Va= - 4, Vvs= - 8,ve= 0
Cis- Ui- vs= 13- 14+ 8= 7
Cu- Ui- Va= 8- 14+ 4= - 2
Cis- ui- vs= 14- 14+ 8= 8
Cie- Ui- ve= 19- 14= 5
Ca- U2- Vi= 15 20+ 4= - 1
Czs- U2- vs= 19- 20+ 8= 7
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Cs- U2- Ve= 20- 20= 0

Cai- Us- Vi= 17- 18+ 4= 3
Cs2- Us- V2= 16- 18+ 2= 0
Css- Us- vs= 13- 18+ 8= 3
ca- Usa- va= 19- 13+ 4= 10
Ca2- Us- V2= 18- 13+ 2=7
Ca- Us- V3= 20- 13+ 8= 15

X 14 : 6. 16 6= 6, X , 6. 17

6.16 6.17

z=18 10+ 1% 2+ 8 6+ 12 13+ 18 9+ 1& 14+ 18 24+ 18 1+ 18 14
= 1126
us+ ve= 13, u«= 13,us= 18
Us+ vs= 10, vs= 10- 18= - 8
ust vs= 14, wvs=14- 18= - 4
Ui+ Va= 8§, ui= 8+ 4= 12
ui+ ve= 12, v.= 12- 12=0
u:+ vi= 10, wvi= 10- 12=- 2
U2+ ve= 18, u.= 18
uz+ vs= 12, vs= 12- 18= - 6
u.= 12, u.= 18, us= 18, us= 13
vi= - 2,v2= 0,vs= - 6,vs= - 4,vs= - 8
Cis- Ui- vs= 13- 12+ 6= 7
Cis- Ui- Vs= 14- 12+ 8= 8
Cie- Ui- ve= 19- 12=7
Ca- U2- Vi= 15 18+ 2=- 1
C2a- Uz2- Vva= 16- 18+ 4= 2
Cxs- U2- Vs= 19- 18+ 8= 9
C6- U2- ve= 20- 18= 2
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Cai- Us- Vi= 17- 18+ 2=1
Ca- Us- V2= 16- 18= - 2

Cs- Us- vs= 13- 18+ 6=1
ca- us- vi= 19- 13+ 2= 8
Ca2- Us4- V2= 18- 13=5

Css- Ua- V= 20- 13+ 6= 13
Caa- Us- V4= 21- 13+ 4= 12
Css- Us- vs= 12- 13+ 8= 7

X 32 6.18 6. 19

6.18 6.19

6= 2, X 6. 19

z=16 10+ 8 8+ 14 12+ 1& 2+ 18 9+ 1x 13+ 16 24+ 18+ 13 14
= 1122
Us+ ve= 6= 13, us= 13, us= 6= 18
Us+ Vs= Cs= 10,vs= 10- 18= - 8
Us+ Va= Cu= 14,vs= 14- 18= - 4
ust ve2= 16, v2= 16- 18= - 2, u2+ v2= 18, u.= 20
Uzt vs= cs= 12 vs= 12- 20= - 8
u:t+ vs= 8, 1= 8+ 4= 12, i1+ vui= 10, vi= 10- 12= - 2
ui= 12, u2= 20, us= 18,vs= 13,vi= - 2
ve= - 2,vs= - 8,vs= - 4, vs= - 8
Cui- Ui- Vo= 12- 12+ 2= 2
Cis- ui- vs= 13- 12+ 8= 9
Cis- Ui- Vs= 14- 12+ 8= 10
Cie- Ui- Ve= 19- 12= 7
Cai- U2- va= 15- 20+ 2= - 3
C2a- Uz2- Ve= 16- 20+ 4= 0
Czs- U2- vs= 19- 20+ 8= 7
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Cz- Uz2- Ve= 20- 20= 0

Cai- Us- Vvi= 17- 18+ 2=1
Cs- Us- vs= 13- 18+ 8= 3
ca- us- vi= 19- 13+ 2= 8
Ca- Us- V2= 18- 13+ 2=7
Css- Us- V= 20- 13+ 8= 15
Caa- Us- V4= 21- 13+ 4= 12
Css- Us- Vvs= 12- 13+ 8= 7
Xa21 : , 6.20 6= 9, x2

6. 20

6.21

6. 21

z=10+ 8 15+ 18 9+ 12 13+ 1& 11+ 1& 3+ 18 24+ 18+ 18 14

= 1079
us= 13, us= 18, us+ vs= 10, vs= - 8, us+ va= 14, va= - 4, us+ v2= 16, vo.= - 2,
u:+ va= 8, u:= 8+ 4= 12, u:+ vi= 10, vi= - 2, U2+ vi= 15, u2= 17, u2+ vs= 12,

va= 12- 17= - 5,us+ v2= 16,v.= 16- us= 16- 18= - 2
U= 12, U= 17,us= 18, us= 13, vi= - 2,V2= - 2,Vs= - 5 w= - 4,vs= - 8,ve= 0
Xi  Ci- Ui~ Vj, Ci- zi= 0, z= 1079
6.3 6. 22 :
x22= 0, , X22= 0
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6. 22

Us+ Va= 3, Us= 0, U2+ va=1 Uu=1
U2+ Vs= 5 ve= 5- 1= 4, U+ vo= 12, v.= 11
ust ve=3, w=- 8 w+ vi=2 wv:i= 10
Cis- Ui- vs= 4+ 8 4= 8
Cu- Ui- va= 9+ 8= 17
Ca- Uz- Vvi= 14- 1- 10= 3
Cai- Us- vi= 12- 3- 10= - 1
Cs2- Us- V2= 15 3- 11=1
Ca- Us- Vva= 9- 3- 4= 2
X 31 6.23(a)

6. 23

0= 0, xa , X 22

6.23(b)
Us= 3, U=1, us+ wvi=12, wvi=9
uz+ vs= 5 va=4, wt+twi=2, wm=-7
Ui+ vo= 3, V2= 10
Ci- Wi- vs= 4+ 7- 4=7
Cu- Wi- va= 9+ 7- 0= 16
Ca- U2- Vi= 14- 1- 9= 4
C2- Uz2- V2= 12- 1- 10=1
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C:- Us- V2= 15- 3- 10= 2
Css- Us- vs= 9- 3~ 4= 2

6.22 6. 23, 0
T:  To 6.23(b)

Fasgh ye-yo

6.7
6.7.1
, m=n, ai= a= = an= b= h.=
n A1, Az, ,An n B:,B2, ,Bn, Ai Bi
ci, xi=0 Ai B ;o xi= 1 Ai
min z = Cii X i
2. 2.0
s.t. xi= 1, 1= 1,2, .,n
2"
Xi = 1’ J = 11 2’ ,n
-1
Xi= 0 1, i,j = 1 2
min z= Cx
S. t. Ax = |
X= (Xu X1 Xo21 X 21 X n1 Xm) ', Xi= 0 1, i,j=1, 2
A= (aij)ZPr n2= (all din az1 azn ani ann)
ai= et &) ) ’ L
min z= CXx
S. t. Ax = |
x= 0
xi= 0 1 1= (1 1 1)"
6.7.2
6.4 A1, Az, Az, As, B:, B2,Bs, B4

168-
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A, 3 2 ) 4
= A 0 1 2 3
As 4 1 - 1 3
A2 5 3 4
B: B, Bs Bua
6. 24 6. 25
6. 24 6. 25
Caa- Us- Va= 4- Ua- va= ca= 0, us= 0
Caz- U4~ V3= 3- us- vs= 0, va= - 1
Css- Us- Vs= - 1- Us- Vs= 0, us= 0
Ca- Us- V2= 1- Us- V2= 0, Vo= 1
C22- Uz- V2= 1- uz- vz2= 0, u= 0
Cai- Uz2- vi= 0- uz2- vi= 0, vi= 0
Cu- Ui- vi= 3- ui- vai= O, ui= 3
Cie- Ui- V2= 2- 3- 1= - 2
Cu- Wi- Va= 4- 3=1
Cs- Uz2- vs= 2+ 1= 3
Caa= Uz2- V4= 3
Cai- Us- vi= 4
Cas- Us- V4= 3
Ca- Us- Vi= 2- 4= - 2
Ca2- Us- V2= 5- 4- 1=0
X4 y X21
6. 26
Ca- Us= O,us= 4 6. 26
ca- Us- va= 0,2- 4- vi= 0,vi= - 2,cu- ui- vai= O, wni= 5
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Cas- Us- V3= 0, va= - 1
Css- Us- Vs= 0, Us= 2
C32- Usz- V2= 0, ve= -1

C22- U2- V2= O, U= 2

Uui= 5 u2=2,us= 2, ws= 4, wvi= - 2, v2=- 1,

Ciz- Ui- V2= 2- 5+ 1= - 2, Cu- U2- V4= 3 2=1
Cis- Ui- Vs= b- 5+ 1= 1 Csi- Us- Vi= 4- 2+ 2=
Cua- Ui- va= 4- 5= - 1, Ca- Us- va= 3 2=1
C2zi- U2- va= - 2+ 2= 0, Ci2- Us- V2= 5 4+ 1=
C2s- Uz2- Vs= 2- 2+ 1=1

X 12 , X32
6. 27

Us= 4,va= 0, vs= - 1,vi= - 2, 1= 5,Ci2- U1- v2= 0
V2= - 3,Cz- Uz- V2= 0,U2= 4, C3- Us- Va= 0,Us= 2

U= 5, Uz= 4, Us= 2, Us= 4, Vi= - 2,V2: - 3, V3= - 1, va= 0

Cuz- U:- Vvs= 5- 5+ 3= 3, s~ ui- va= 4 5=- 1

Cai- Uz2- Vi= - 4+ 2= - 2; Cs- Uz2- V3= 2- 4+ 1=

Caa- U2- Va= 3- 4= - 1; Cs1- Us- Vi= 4- 2+ 2=

Cs2- Us- V2= 1- 2+ 3= 2; Cas- Us- Va= 3- 2= 1
Ca- Usa- V2= 5- 4+ 3= 4

6. 27
X21 , X11 6. 28

6. 28

170-
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Us= 4,va= 0,vs= - 1,vi= - 2, Us= 2,Vs= - 1
Cai- Uz2- Vi= 0, U2= 2, C2- U2- V2= 0,Vv= - 1

Ciz- Ui- v2=0,2- w:+ 1= 0, 2= 3

= 3,U2= 2,us= 2, us= 4,vi= - 2,v2=- 1,vs= - 1,va=0
Cu- Ui- Vi= 3- 3+ 2= 2, Ci3- Wi- Vs= 5- 3+ 1= 3
Cu- Wi- Va= 4- 3= 1, Cz- Uz- Ve= 2- 2+ 1=1
Caa- U2- V4= 3- 2= 1; Ci- Us- vi= 4- 2+ 2= 4

Cs2- Us- V2= 1- 2+ 1= 0; s~ us- va= 3 2=1
Ca2- Us- V2= 5- 4+ 1= 2

X12= X21= X33= Xuu= 1,Z= 5

6.8
6.8.1
A, 3 5 5 4 1
A2 8 4 5 5 5
C= (ci)= As 6 6 6 3 7
A 6 3 3 4 4
As 4 4 3 5 5
Ji J2 Js Ja Js
A1, Az, Az, A, As yJ1,d2,J3,Jd4,Js , Cij I Ai
] Jj ,
(a) C : , : ,
0
(b) (3 : : 0
(a), (b) ,
3 55 4 11 2 4 4 3 O 1 4 4 3 O
8 4 5 5 514 (a)40111 (b)30111
6 6 6 3 73 > 3 3 3 0 4 > 2 3 3 0 4
6 3 3 4 43 3 00 11 2 0 0 1 1
4 4 3 5 53 111022 O 1 0 2 2

15= 1+ 4+ 3+ 3+ 3+ 1
1,4,3, 3,3 1, 2,3 4,5 , 1 1
171.



Al 4 4 3 0
A-3 0 1 1 1
C=(cd)=As2 3 3 0 4
Ai2 0 0 1 1
A0 1 0 2 2
Ji Jz Js Ja
(c 0 ) :
1, Az 4, As, A4, As
1 A1, Az, Az, As, As
, C
C
, A , Bi
c
C' 0 : 0, C
: , Cs1,C22, Cis, Caa, Cis C *
Az Js, Az J2, As
Ji, 15
5 0 , ,
6.8.2 (Konig)
(0,1)- A= (ai)» n, 1
1, m ,
, A 1,
, M, A M 1, A
1 m M
m= M
m= M , m 1,
M= m
m r , C , m=r+ C,
Jujz e
r I,
s> {I&y =1, |# juj2, ]}
S I 1 : C = J1,]e,
s, %, S, k(ksr)

172.

[62]

A1
3 :
C’
0 :
0,
Ja, A Js3, As
A
m< n
M
r L, Ik, T
ljc
K,



K : m=r+ c 1< k<

r ( ), r r 1
r julz, o]
E R C 1 C
ik, ,k
rtc 1 M2 m
6.8.3
J 1,2, ,n EE jn, , 1
j1 , 2 j 2 , , N jn
W(J) = Zlciji
J  w(@)
Ai I(Ai),i1= 1,2, ,n; Ji 1(Ji),j= 12, ,n,
I(A)+ 1(J)< i, ,j= 1,2, ,n 1(Ai), 1(J1)
(ci)
6. 2 J= (ju,j2, . jn) wW(J) , 1(A),

1(J:)).1,j=1,2, ,n,

min W(J) = rrgglxznl[l(Ai) + 1(39)]

[(Ai) + |(in) = Ci,

= maxznl[I(Ai) + 1(39)]

)
n
M= minz Cii,
() 4=,

[(A) = mjin(ci),I(Ji) =0, 1= 1,2 ,n
I(A:) + [(J)) £ G

Zl[I(A‘) + 1(J35)] = Zl[I(Ai) + 1(JI))] < Zlcii

[(A)+ 1(J)) < G I,
Y [(A) + 1(3))] Y o,
m, ms M

. 173



Zl[l(Ai)Jr 1(Ji)] = Zlcii
m=M,J= (jujz .jn) . A B, =12 ,n

2 LAY+ 1(39)]

B= (bi)nxn,bi = ci- [I(A)+ 1(Ji)]

Lj=1,2, ,n , B n O : 0
(i,j3),
Z [1(A) + |(in)] = Z Cii_, m= M
B k(<n) O ,
k
0 K r ¢ ,k=r+c, r I, i,
, k;C [EET KT
(a) Ail,Aiz, ,Air ) n-r
(b) le,sz, ,ch 1 ) n- C
Avr y Ja ; o I’
JCAD)+ 17(35)= 1(A)+ 1(J)) : "(AD)+ 1'(J) = 1(A)+ 1(J3i)- 1

'(A)+ 1'(ID)=1(A)+1(Ji)+ 1
, I : ;
I"(A) + 1'(J)) < G 0
A= (A, Ay, LA Je= (35,31, L, 3Jd1)
(1) A AL J; Je
I"(A)+ 1'(J5)= 1(A)+ 1(J))- 1<y
(2) Ao] A,Ja| B
I"(AD+ 1"(Ji) = [(Ai)+ 1(Ji)+ 1< ci
(3) Ai AL i) I Al AT Jo)
I"(AD)+ 1'(Ji)= 1(A)+ 1(J))
. 174.



I I
n n

Zl[l’(Ai)+ 1I'(Ji)] = Zl[I(Ai)+ 1(JN] + (n- 1)- ¢

: n- r- ¢c=n- (r+c)> 0,

I (A)
!
3 55 411 4 0
2 3 4 3 42 1 D
C= 2 4 4 1 51 B:= 3 B!
3 21 3 31 1 D
1 2 1 3 31 1 0 D
1(J))O 0 0 0 O
B 4 ,
| (A)
l
3 5 5 4 1 2
2 3 4 3 4 3
2 4 4 1 5 2
3 2 1 3 3 2
1 2 1 3 32
1(J) - - 1 0 1 1 1
2 3 4 3 O
0 0 2 1 2
B.= 1 2 3 0 4
2 0 0 2 2
0O 0 0 2 2
- Ai—Js, A2—J1, As—J4, As—J2, As—Js
5
Zl[I(Ai)+ 1(J;))] = 2+ 3+ 2+ 2+ 2- 4= 7
, B 5 0 , 5 5
B- 1 1 O bis, A1 Js JA2 2 0
ba, b2, Bz Ji, 2 , , ( 6. 29) . Al
Ji ( 6. 30)
Az AJs, As As] 4, Az
A2J1AsJ3Ad2 , Ai, Ji ,

A1—Js, Ac—IJ1, As—J4, As—IJ2, As—Is
A1—Js A1 Js ,
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6.29 6. 30

6.8 4
min z = Z Z Cii X i
S. t. Z xi= 1, 1= 1,2, ,n
Z Xi = 11 J = 11 21 1n
Xi= 0 1 i,j = 1,2, , N
S1. S 1(AY) <—mjin{cij}, =12 ,nl(J)<0,j=1,2, ,n
S2. Bi= (bi),bi —ci- [(Ai)- I(J),ij=12 ,n G= (V,E),
V= {x1 X2 Xn Y1 Y2 yn}, E= {(xiyi)Chi=0,1,j=1,2, ,n}
S3. G , E n X= (X1 Xz Xn) Y= (y: VY2
yn) , , ; sS4
S4 Xo X, V1<—{Xo},V2<—
S5. Gi F(Vl): V2, S6, S7

S6. a—min{ci- I(xi)- I(yi))&:i Vi,y;i [(Vi)\Vz}
I(v) + a v Vi
(V) « I(V)- a v V2

I(v)
B G
SY. y [(Vi)\Ve
S8. y S9, S10
SO. yX,Vi<V:i {x},V2cV: {y}, S5
S10. Xo Yy P,
M~M E(P)
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S3

(1) :

(2) T (v):
(3)

Xi3, ,yjk_ l—Xik

Yiys » Xi—Yi

(4)

E(P) = {Xilyjl’ yilXiZ’ XIZyJZ’ yJZXiS’

M

G

6. 31

Xi y] ’
Vv
Xilyleizyjz Xikyjk

y—X

6. 31

Xil, y;k

Yy X

1+ 1= 0+ 0= 0, 1+ 0= 0+ 1= 1
M = {yleiz,ijXis, ’yjk- 1Xik}

E(P) = {XiYi,, Xi,Yi,,

,Xikyjk}
P= (pij)rx n,

Vi Xi Xi Vit

Pi

y Yi,— Xy, Yi,—
- Xip—Yi,, Xi,—
Ai Ji

177-



S4.
S5.
S7.
S9.

max z = Z Z Pii X
1 T=1

S. t. z Xi = 1,
Z Xi = 1, j =
(1) | (Ai) = mjax{pij}, i= 1, 2,

[ (Ai)+ 1(Ji)= pi

(2) B= (bi)x o,
(3) s6

bjz Pi- I(Ai)' |(Jj),i,j= 1,2,

I(v) =
6.5

P=
5 7 7 6
4 4 0 4
4 6 6 3
0O 3 3 0
3 4 3 5
I(J;) 50 0 0 O

4 B
o A-

As Vi {Ad, Vo,

o= min{I1(A)+ 1(Ji)- pi},

1, 2,

1= 1,2,

, N

, N

,n, 1(Ji)=0, i= 1, 2,

, N

I(v) - « v Wi

I(v) + « v Ve

I(v)

5 7 7 6 3

4 4 0 4 4

4 6 6 3 0

0 3300

3 4 35 5

I(A)

!
37 2 0 0 1 4
4 4 — 94 —0—0
06 Bb= 2 0 0 3 6
03 3 0 0 3 3
5 2 P—o0—%6
0

0 :
J2, A2- J1, As- Js, As- Js

F|(V1): {JZ,J3}¢ Vz,l'|(V1)\Vz: {JZ,JS}

Js, Asds

M

Vi—Vi {As}: {As,A4}
Vo Voo {Js}={Js}, M1(V1)={J2,J3}# Vs,

Ci(V)\Ve= {J2},
178-
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Ad: M, Vi= {As,As As}, Vo= {J2, 33}
F(Va)= {J2, Ja}= Vs
F(Vi)\Ve= {J1,J4,J5}
o= min {I(A)+ 1(J;)- pi}= min {I(A)+ 1(J)- ps}=1

1
j
I TV,

 I(A:1)= 7- 1= 6,1(As)= 6- 1= 5,1(A:)= 0,1(J.)= 0+ 1= 1,

1,4,

1(J:)=1
I
5 7 7 6 3 1 O 0 0 3
4 4 0 4 4 0 1 5 O O
4 6 6 30, B= 1 0 0 2 5
0O 3 3 0O 2 0 o 2 2
3 43 55 2 2 3 0 0
0O 1 1 0 O
G ( 6.32)
6. 32
Ai- Ja, A2- J1, As- J2, As- Js, As- Js , 24 n= 5 B
0 12 , N ,
6.8.5
S1. M
S2. X : ; S3
S3. Xo X, Xo , Vi {Xo},Vze
S4.  T(Vi)= Vs, : y T(V)\Ve
S5. y , S6, ,
Xo Y P, M-M E(P), S2
S6. y , M (y,z2), VieVi {z},VaeV2 {y}, sS4
: 6. 33 , S1 S2

179-



S3.
S4.
S6.
S4.
S6.
S4.
S6.
S4.

6. 33

Xa ) V1<—{X4},V2<—

F(Vi) = {yz, ya} # V2, [ (V1)\ Vo= {y2,ys} y2 , S6
(yz,Xs),V1<—{X4,X3},V2<—{y2}

F(Vl) = {yz, ya} ) F(V1)¢ V2, r(Vl)\Vz Ys3,Ys

(x1,y2) , Vi {Xz1, X4, x3},Vz{y2, ys}
r(Vl): {yz, ys,y4}¢ V2, Ya I'(Vl)\Vz,y4
(Xz,y4) , V1<—{X1,X2,X3,X4},V2<—{y2,y3,y4}

C(V) = {ys, y2,ys,ya}# Vo, y1 T(Vi)\Vz,y1 ,
Y1 Xz Y4 XioYsoXa,

{X2y1, X2y, X1y 4, X1Y3, Xays}  {X1Ys, X2Y4, X3y 2, XsYs}

= {Xzy1, X1y4, X3y 2, Xays, Xsys}

X1—Y4, X2—Y 1, X3—Y2, X4—Y3, X5—Ys

6.9
A, 6 11 10 4 7
A, 13 10 10 8 5
P=As 5 9 7 7 4
A+ 15 12 10 11 5
As 8 11 8 8 4
J:. J2 Jz  Js Js
A J1 , A , J:
P A1 Ji1
A, 10 100 8 5
As 9 7 7 4
P.= . .
A, 127 10 11 5
As 11 8 8 4
J> Js Js Js
Pl *
4 2 4 2
4 4

180-



A: J CAs J2 A Js, Ay Ja, A Js
A4= 6+ 12+ 10+ 11+ 5 44 , A: J 44,
A1 J1 , A2 J2 , A2 J1
A, 11 10 4 7
A: 9 7 7 4
P2: . .
Ae 127 10 11 5
As 11 8 8 4
Jz Js J4 JS
4 1 M
53 ’
4 2 4 1 5 1 2 1 4 1 4 1
4 5 5 1 ’ 4 8
4 1 4 1
, Az J1 A J1
5 3
Az J: , Al J., P A, Az J1, J2
As 1 7 4
) o 4 4 4
A, 10 11° 5
50
As 8 8 4
1 41 1 51 1 41 1 41
50 ’ 50 ’ 52 ’ 52
4 4 41 31
) ) - Ai—Js,
50 49 48
A2—J1, As—Js3, A2—J4+, As—J 2, 49,
4 2 42 4 2 41 41 41 49
44 ’ 45 ’ 48 ’
5 1 21
6. 34
51
( 6. 35)
31
50 '
A1—Js, A2—Js3, As—J4, As—J1, As—J2, 90,

50, ,

181



6. 10
n
n ,y M , N> m,
A1, Az, Az, A:4
A, 4 8
A, 3 10
C=
As 12 12
As 7 6
N ETN P
Cij = Ai Jj
15, 12, 20, 14

182.

1= 1,23 4= 1,2,

6. 34

6. 35
n : : 1
y 9 JlsJZl I\ng
3 10 10 8 7 5 10
5 6 3 10 2 9
= (Cij)at 9

2 2 (7 9 10 4 15
5 4 9 9 12 14 7
Jz Ja Js Je J7  Js Jo

.9 b= (15 12 20

Az, Az, Az, A4

14) 7,



4 9
min z = Z ZCiXij
-1 f=1
4

S.t. xiy =1, j=1,2, ,9

xi= 0 1, 1=1,2,3,4,)=12, ,9

0, j A
Xij =
, min{cij}s b, A ,
j
( 6. 7)
6.7
J1 J2 NES Ja Js Je J7 Js Jo
A1 8 3 10 10 8 10 15
A2 3 10 5 6 3 10 2 9 8 12
Az 12 12 2 2 7 10 4 15 20
As 7 6 5 5 9 9 12 14 7 14
1 2 1 3 4 1 5 1 1
7 21 7’
5 5 , J7 Az, A2 12- 2= 10
6. 8)
6.8
J1 Jo Js Ja Js Je J7 Js Jo
A1 8 3 10 10 8 7 5 10 15
A| 3 10 5 6 3 10 9 8 7l 10
As 12 12 2 2 7 9 10 15 20
Az 7 6 5 5 9 12 14 7 14
1 2 1 3 4 1 1 1
: 4, Js A, 6.9
6.9
J1 J2 Js Js Js Js J7 Js Jo
A1 4 8 3 10 10 8 7 5 10 15
Al 3 10 5 6 10 9 8 F 72 7
Az 12 12 2 10 4 15 20
A, 7 6 5 5 9 9 12 14 7 14
1 2 1 3 1 1 1

183-



Ja As, As 20
6. 10)
6.10
Al a4 8 3 10 10 8 7 5 10 15
A,| 3 10 5 6 10 9 8 A5 A0
As| 12 12 2 7 9 10 4 15 | .26 18
Al 7 6 5 5 9 9 12 14 7 14
1 72 1 1 1 1
6.11
6.11
J1 J2 Js Ja Js Je J7 Js Jo
Al a4 8 3 10 10 8 7 5 10 15
Al 3 10 5 6 10 9 8 45 40
As| 12 12 2 7 9 10 4 15 | 26 18
Al 7 6 5 5 9 9 12 14 7 A4 8
1" 1 1 1 1
6.12
6.12
J1 J2 Js Ja Js Je J7 Js Jo
ALl a4 8 3 10 10 8 7 5 10 | 15
Az 10 5 6 10 9 8 | 8 46 A
As| 12 12 7 9 10 4 15 | 26 18
As| 7 5 5 9 9 12 14 7 | A 8
1" 1 1 1
A2 y Az ( 6. 13)
6.13
J1 J2 Js Ja Js Je J7 Js Jo
Al a4 8 3 10 10 7 5 10 | 15
A2 10 5 3] 10 8 )-/2/ /1’0/ /
As| 12 12 7 9 10 4 15 | 26 48 16
Asl 7 5 9 9 12 14 7 8
1 1 3

184-.




3, A2 . 10- 7= 3(
6. 14)
6.14
J1 J2 Js Ja Js Je J7 Js Jo
Al 4 8 3 10 10 7 5 10 | 15
A r—5 6 16 g s | 42 6 A 4
As| 12 12 10 4 15 | 20 18
Asl 7 5 5 12 14 A4 1
1 1
(  6.15 6.16)
6.15
Jo 0 Js  Js o Ja Jds Js Jdr Js o Je
Al 4 8 3 3 10 8 7 5 10 | 15
A, 10 5 5 10 9 8 | 42 46 A 4
As| 12 12 9 10 4 15 | 26 18
Al 7 5 5 9 9 12 14 A4 4 1
1 1
6.16
Jio 0 Js  Js Ja Js s dr Js Je
Al 4 8 3 3 10 7 5 10 | 45 7
A> 10 5 5 10 9 8 | 4 A6 A 4
As| 12 12 7 9 10 15 | 20 48 14
Asl|l 7 5 5 9 9 12 14 A4 4 1
A1 Js; A2 Ji1, Js,J7; As Js,J4,Js; Aa J2,Je
6.11
6.11.1
G=(V,E),
(a) Z, , d (2)=0,
(b) Z, , d' (2)=0,
(c) : (vi, vi) Ci

185-




, 6. 36 ,
: Z Z
(vi, Vi) fi, 6. 36 : 6.36
max z= w
S. t. fzat+t fo+ fze= W
fzat fa= faz+ fa
foo+ faot fo= fozt+t fu+ foa
fze= fo+ fu
foo+ fu= faz
faz+ fze+ faz= W
0< fza< 4, 0< fan< 3, 0< fz< 4
0< fan<s 2, 0= fazg 3, 0< fwm< 3
0< fws< 2, 0 fou< 1, 02 faus<g 2
0< fiz< 2, 0< fazg 4, 0< faz< 3
w= 0
fzat fra=faz+ fab, a a ,
G= (V. E), (ij) fi
, f
(a) (L]) fisc
(b) Z z : i
Zfij= kai
i ;
(c) Z Z

Zfzi: Z sz= W

6.11.2

G=(V,E),S V ,
() Z S
(b) Z| S
186-



S= V\S, Vv S S : Z S,Z S S,
S , (S,9) S, S
, C(S,95)

c(S,S) = Z G

6. 36 ,  S={Z,b,cd},S= {a,Z},
C(S,S)= Czat Gt Gz+ Ciz= 4+ 3+ 2+ 4
= 13

6.3 : Z Z w,

min C(S, S) = max w
S S
[ Z Z ; ,
Zfi- iji: 0 (6.1)
Zle'z w (6.2)

i S (6.1) (6.2
Z [fi- fji]=W

V=S S

iZ'V[fij- fji]: .Z, S[fij' fji]
+ .Z S[fij' fii] = w
.Z S[fi- fji]: .Z Sfij' .Z Sfji
= .Z Sfij- ,-Zi Sfjiz 0

Z [fij' fji]: w

fy- fiig f4< G

W:_Z [T - fji]S_Z fi= C(S,9)

f (S,9) : w ,
w < min C(S,S),
max w < min C(S, S)

187-



6.11.3 - ( Ford-Fulkerson)
6.3 f, W
- f w
6.4 :
max w = msinC(S, S)
max w < min C(S, S)
(S, 9), max w< min C(S,S)
: max w= min C(S, S)
G , Z Z ;
Z(= Vo) W1 Vo(= Z)
G =012, ,n-1 (vi, Vi 1)
: Z(=vo)vi wi(= 2) Z Z
G 1
(vi, Vi 1) G , ,
V]) G 1 ) Z_’Z
6. 37
(ilj)l fij: Cij! (ilJ) i— Ol
Z Z (ij) fi< ci;
fi> 0,
G- e (h])
ot (i,j)
0= min{d;}
9,
: max w=min C(S,S)
G f
(a) Zz S,

- 188-

C(S, S)

(Vi+ 1, Vi)

(S, 9)

G

6. 37

] (Vj+11

(1)



(b)

S)

6.11.4

(1.)
(2)
| (a)
(b)
(3)

(1)
(2)

X S, fxy<cy, Yy S
X S fw> 0, y S
Z S=V\S; S
Z = Vi,V2, ,Ww= 2
fiir1< Ciw 1,
f
’ X S,y S, fxy= Cy y S,Xx
w = cy = C(S,S
X Zy Co (S, )
max w = msinC(S, S)
W
VA (+ Z,0)
X, X
(y’X) E’y 1 fyx> O )
Oy= min[f,x, &], vy (- x,9)
(Xsy) E,y ' ny>fxy ’
o= min[cy- fxy, &], vy (+ x,d)
(2 Z :
B Z
u= Z
u (+v,9),
fvu<—fvu+ 62,
u (- v,9),
fuv<—fuv' 62

fi+ 1,i> O

fyx= 0

189-

(S,



(3)
(2)

- 190-

v= Z,

(

6.38(a))

6. 38

6. 38(b)

6. 38(b)

u=



Ov Z Z Z ,
6.11.5 (Edmonds-Karp)
_ , 6. 39 :
, Zabz ZbaZ ,
fo 2m
( ),
6. 39 ZabZ ZbaZ ,
ab -
( Edmonds) (Karp) - :
« " v ’
, 6.39 , V4
- ZabZ, Zbaz
ab -
Z a b ; a
Z Z
fo ’ -
f «
f
P jo = o ® o o : o
Z= U, u, u, u., u=2
o c(e) - fu(e), e
“T t(e) ,
g = miin{e'?} =g
oe) e f(e) e ,min{el}= ¢ e
f(e) , @ : c(e)=fw1(a),
, 8 : f1(g)=0,
li(u, v) fi u Vv
8 c(e)> fi(e), e fi(e)>0
Z u f«

6. 39

. fO,fl,

e

oz

, Fea,

191.



ja i 2 e iQ i2
Z= U, u, u, u. u=u

c(g) > f«(e)
fk+1

c(e) = fwi(g)
e 0< f«(e)< c(e),
0< fwi(g) £ c(g)
Z u,f« frea
(Z,u) £ lw1(Z,u)

l«(u,Z) £ | 1(u, Z2)

- , &= (u,v) f
fuer fn fno1,h> Kk,
In(Z,2) =2 (Z,Z) + 2
Z Z fn f« 2
In(Z,u)= Ik(Z,u), In(v,Z)= Ik(v, Z2)
Ik(Z,Z2)= Ik(Z,u)+ Ik(v,2)+ L, Ix(Z,v)=Ik(Z,u)+ 1
In(Z,Z)=1n(Z,Vv)+ In(u, 2)+ 1= |(Z, V) + l(u,Z2) + 1= I«(Z,u) + Ix(u,Z) + 2
In(Z,2Z2)= I\(Z,2)+ 2
In(Z,v),In(u, Z) -

N m z z n- 1
2(n- 1
%(n- 1) m
_ ~(n- Hm
6.11.6 (Dinic)
z _
(1) e E.f(e) 0

(2) Lo{Z},i<0,RV\{Z}
. 192.



(3) S-{v&y R, L v
(4) S= : Z| S
(5) i(— i+ 1, Ll«—S,R«—R\{Ll}, (3)
(6) u-Z, T <
(7) e= (u,v), Y , €
(7). (8)
(8) Z Z P
5(e) = c(e) f(e, e
f(e, e
0= reniFn{é(e)}
(9) e P
(o) = f(e)+ o e
f(e)- o e
(10 (2)
o(n’m),
6. 40 2
6.41
6. 40
12+ 9= 21
6.42, 6. 42
6. 42
6.44 S=
Z1, 2>, . Zi,m Z1, 2o,

(5), (6)
T,U<vV, uz t
f(e)
6. 41
6.43
6. 43
6.45

6. 46 :
- 193



Z1),(2, Z2),

Zi :

6. 44

(a) min z =

S. t.

(b) min z =

S. t.

(c) min z=

S. t.

194.

Z Z,Z , Z ; (Z,

(Z2,2) (Z21,2),(Z:,2), ,(Zm, 2) t o,

Zi Zi

6.45 6.46

OX11 + 8X12+ 12Xz + 13X1a+ 10X21 + 10X22+ 12X2s + 14X2s + 8Xa
+ OXs2+ 11Xss + 12Xss+ 10Xa1 + 10Xa2 + 11Xas + 12Xas

ilX1j = 18, Z:XS] = 6
4 4

Xoj = 24, Xaj = 12
y o=y

4

X
=
1

> 6,3 xe= 14
4

Xs = 35, Xis = b
Z @ = 3 X
xi2 0, Lj= 1,234
X1+ 6X1z+ 2X13 + 44X+ 3Xo1 + B6X22+ 8Xoz+ 2Xoa+ 4Xa + Xz

+ 9Xas + 10Xz

241X1j = 35, ilxzj = 42, ZAIXa = 23
3 3

3 3
u = 20, 2 = 10, iz = 40, iw= 30
ZlXu ZlX2 ZlX3 ZlX4
Xi=2 0, 1= 123 j=1223,4
X1 + 2X12 - Xz + 4AXo1+ X224+ 2X23+ BXos + 33Xz + Xs2 + 2Xass

+ Xas

4 4 4

le,— SZXZJ— 252x3,— 25
Zx.l— 10, Zx.z— 10, Zx.s— 20, me— 15,



© N o O

0.

xi =2 0, 1=1,2,3,j=1,2,3,4
C,
A2 10
C=B1 3 4
C1 2 6
Ji Jo Js
min z = Zl 21Cini
s.t le;— a, i= 1,2 ,m;
leiz b, j= 1,2, ,n
Xy =2 0, 1=21,2 ,m;j=12, ,n
A, 13 42 18 16 19 14
A, 15 21 18 16 54 16
D = A; 23 24 26 41 28 29
A, 19 51 21 20 28 26
As 8 9 21 11 11 31
As 24 26 26 31 26 44
Ji Jz2 Js Ja Js  Je
4
4
4 ;
Ji1,J2, ,Jwo , M1, M2, M3, M4 , M1, M2, M3, M4 Ji, Jo,
J1o
m 5 7 8 12 6 10 9 9 10 3
_I_:mzl431014l78610123
m 6 6 6 8 8 8 9 9 9 14
m 10 5 12 10 4 8 10 9 12 6
Ji Jo Js Ja Js Js I Js Jo Juo
Mz, M2, M3, M4 22, 18, 26, 30, ?
Ji,Jd2, ,J7 y A, Az, Az, As ;
A, 10 8 20 12 17 5 9
A, 12 10 10 14 15 10 8
~As 8 7 22 20 14 15 12
As 7 7 30 32 15 16 17
A1, A2, As, A4 20, 18, 20, 22,

195-



1979

n= 2

7.1

- 196-

( Xa4nsH) (Karmarkar)
7.1 (Klee) (Minty)
40
n
(H-3 W)
] n )
, 1984 ,
max Zz = X
S. L. X112 €
x1< 1
X2- &:12 0
X2+ &1 1
X1, X222 0
El,EZ,nl,rIZ
max Zz = X
s. L. X1- &= €
X1+ m= 1
X2 - &1 - Ezz 0
X2- &1+ Ne= 1
X1,X2,51,E2,r]1,r]22 0
7.1
Vi, V2, Vs, Va4 4 , Vi V2o V3o Va
(n=3 ), 7.2



7.1

8

max z =

7.2

X3

v

X1 €
1

&X1

IN

X1

v

IN

&X1

v

&X2

, O B O

IN

&X2

0, 0O0< ¢«<

1
X1, X2, X3 2 E

vi(g €,€), vo(1,€¢€), va(l, 1- €& €), va(g 1- €, - €)

vs(g 1- €, 1 e+ ¢), ve(L 1- g1- e+t g), vi(l e 1I- €), vs(e &,1- ¢)

Vi,V2,V3 V4, V5, Ve, V7, Vs ’

n= 2 n= 3

Ciy N

maX Z =
S. t.

maXx zZ =

S. t.

X3

Xn
X1> €&
x1< 1
Xi- &Xi1> 0
Xi+t &Xi1< 1
xi > 0, 1, 2,

= , N

Xn

ElZS

X1+ m=1

X1 -

&= 0,
Xit &i1+ =1

Xi- &Xi1-

197-



Xi,Ei,r]iZ 0 1= 12 , N
2" , . , V2"
: xiV< xP< < x&, X Vi Xn
7.2
7.2.1
max z = CXx
s. t. Ax< b (P)
x= 0
min w = yb
s. t. yA= C (D)
y=2 0
x= (X1 X xa),y= (yr y2 ym),A= (ai)m= ,C= (a0 © o), b=
(bl b2 bm)T
X oy (P) (D) : X=syb,x Yy (P) (D)
Cx=yb (P) :
Cx= yb
yA=> C
(n
Ax< b
x=2 0, y=20
(P) (1 : (N
- Cx+ ybs O
- YA - C
AX< b (1)
- x< 0
- y< O
(1) AXx< b AX< b,
AxX< b
A= (ai)m n, b= (b b bn) ", A b
L = Z Z log:(C4; OF 1) + Z log:(CxOKF 1) + log(mn) + 1
L (P)
7.2.2

- 198-



S1. j < 0,8 <0,B;—n"2"E(n)( : E= {x©}'B; 'x< 1, X Ax<
b} )

S2. Ag < b, € ) ;
j> 16n(n+ 1)L, : Ss
S3. aie = b,
1
18- — 1B,—a?/ aBai ;
n’ 2 BiaaB/
Boac 1 Bi- 1 aBal
joj+ 1, S2
- X1- X2 <- 1 -1 -1 -1
X1 - 2X2<-1A l-2b -1 5
= , D= , N =
X1+ 3x2 < 5 1 3 5
- Bx:1+ 3X2< 1 - 5 3 1
S1. 0=
-1
-1
S2. Aeo= 0<
5
1
-1
-1 a=
50 -1 -5
S3. Boai = =
04 -1 -
-5
aBoaz= (- 1 - 1) 2 9, a:Boai= 3
_ T T 1 - S __1 S
e= - N+ 1Boa1/ a:Boa:r = - 9 _ 4 =79 4
-5 25 20
(Boai) (Boai) ' = (- 5 - 4)=
- 4 20 16
8, = n*_ 5 2 Boai(Boai) '
T 2o 1 P ny 1 aBoal
4 5 0 225 20
3 0 4 27 20 16

199-



50 40
4 27 27
= 3 0
27 27
85 40
4 27 27
-3 40 76
27 27
340 _ 160
B 81 81
160 304
81 81
-1 -1 5 -1
1 - 2 9 - 3/9
Ae: = =
1 3 4 17/9
- 5 3 9 - 13/9
Ae< b
5
9 1
(1-2)A—- 3>-1
9
= 2,a= (1 - 2)
. 340/81 - 160/ 81 1 660/ 81
& = =
' - 160/ 81 304/81 - 2 - 768/81
] 660/ 81
a:Biaz = (1 - = 2196/ 81
- 768/81
660/81 660 - 768
T T\T _
Blaz(Blaz) = . 768/ 81 81 81
] o 66.392 - 77.257
Bia:(Biax) =
- 77.257 89. 898
e2= €1 - n+ 1818;/ azBlaE
15 3 660/81 _  0.5555- 0.5215
9 4 2196 - 768/81  0.4444+ 0.6069
_ 0.0
~1.13
_ 4 ;(Blal)(Blaz)T)
B:= 5 Bi- 37 Ba
4 340/81 - 160/81 o 81 66.392 - 77.257
3 - 160/81 304/ 81 3 72196 . 77 257 89. 898

200-



4 2.5650 - 0.0756
3 . 0.0756 1. 5424
) 3.4199 - 0.1008
~ - 0.1008 2.0565 '
-1 -1 - 1.164
1 - 2 0.034 - 2.226
Ae = =
1 3 1.13 3. 424
- 5 3 3. 223
0.0
(- ) = 3.323> 1
1.1
Ae< b
1= 4, a.= (- 5 3)
- 3.4199 - 1.008 - 5 - 17.4023
as = =
T . 0.1008  2.0565 3 6. 6735
) - 17.4023
asBras= (' 5 3)
6.6735
= 87.0115+ 20. 0205
= 107.032
] .- 17.4023
(B.al) (Boah) "= (- 17.4023 6.6735)
6.6735
) 302.84 - 116.1342
© . 116. 1342 44,5366
&= & —o BaT/ a.B.a:
- 2 n + 1 2 A4 4D2A4
_0.034 1 17. 4023
~1.13 X 10.3456 @, 6735
_ 0.5946989
~0.914969
_ 4 o 2 (Bai)(Beas)
. 3 ? 3 a4Bza1
4 3.4199 - 0.1008 5 ) 302.84 - 116. 1342
3 . 1.008 2.0565 X 107.032 - 116. 1342 44. 5366
4 3.4199- 1.8664 - 0.1008+ 0.723399
3 - 0.1008 + 0.723399 2.0565- 0.277415

1.0447 0.8301
0.8301 2.3721
j= 4
201-



-1 -1 - 1.5097 -1
1 - 2 0.5947 - 1.283 -1
Ae = = <
1 3 0.9150 3. 3397 5
- 5 3 - 0.2285 1
_0.5947
Y= 0. 0150
7.2.3
7.1 B e R a n , @1
S3 ,
(a) Bj+1: , Ei+ 1= {x@x- e+1) ' B+1(x- e+1)< 1,x R"}
(b) {x€&x- e)'Bi ‘(x- e)< 1 a(x- a)< 0, x R} Ej:
(c) Ei Ei+1
VOH E'+ 1! < 2 2(n1 1)
vol(E))
7.1
n’ n’ n’
B= diag (n+ 1)2,n2_ 1" 'n’- 1°
n’ (n+ 1)°
(n+ 1)° n’
0
n’ n- 1
B = n- 1 B '= n’
W W
0 0
2
n
n“- 1
-1 T,
E= {x RE&x- & B (x- &< 1},S= {x&'x< 1}
7.1 %SC {x R®®'x< 1,xi<0 E
1
X 281,

202-

Bi+1




T -1 I"|+ 1 1 ? nz' 1 i 2
- - = + + :
(x- e B (x- e e X1 Ty 1 2 _Zx
2
_n - 1XTX+ 2nn-|-2 2xi+ an;l-2 2x1+ a
+
<1 2nn2 2(xi x1) ( X S)
<1 ( x %31)
1
X E, 23 E
V_OI(E_ 2(n+ 1)
72 So(s) < ?
2
=B~ ge = 2.8 E S &+ &t
g< 1,
Bod do= —1— —— " 4rde d
X10dX2 Xn = n+ 1 R El Ez En
n- n- 1
vol(E) _ _n D __ l: n n’ 2
vol(S') ~ n+ 1 p%- 1 n+ 1n°- 1
x>0 e 21- x,e= 1+ x
n2 1 211
= 1+ < @'
n- 1 1 w- 1° °
n 1 'n+11
= - <
n+ 1 1 n+ 1 ©
vol(E) _ e'z‘“_i”< 2'2(1_}rn)
vol(Sn) ~
Bi , L, Bi=LL/
e R,a A 'R , R '=R,RR' = Ewm,
1,
R'Liai = (Il Liaill - 0 0)’
" L
I xIl X o xl 2= X: ?
2 2 Zl

T Ti(x) = @ + LiRx

T T'(y)= RL (y- &)
7.3 S={x R©'x< 1}
Ei= {x R'@x- @) B “(x- e)< 1}
Ti(S)= E
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Ti(S)= {Ti(x)&' x< 1}
= {y&R'L; (y- &) (RL ‘(y- @))< 1}
= {y€ly- &) (Li )'RR'Lj (y- &)=< 1}
= {yely- @) (LL") (y- &)< 1
= {y€ly- €)'Bi (y- g)=< 1}
7.4 E={x R'™x- ¢ B '(x- e< 1}
-1 T " n’ n’ n _
n+10 0 R,B—dlag (n+1)2 n2-1 n2_1,
Ei+ 1= {X RH@(:X- €+ 1)TBJ'-+11(X_ e+1)< 1}

2

E.:i= @g- B;a?/ aiB ai

n+ 1
_— n’ . —2 Biai aiB/
"7 1 P77 n+ 1 aBial

TJ(E) = Ej+1
Ti(x)= e+ LiRx
Bi= LiL; = LiRR'L{

8. .= n’ g . —2 BiaiaiB/
T o 127 n+ 1 aBal
_ 0’ 5 2 LRR(Lia)(al)RIR'LS
" n'- 177 n+ 1 aiL,R'RL; ai
o 2 LiRdiag(ll Lfaill? 0 OR'L]
= 2 Bi - T T 2
n- 1 n+ 1 I Lia ll 5
n’ 2
- T T
= = B - — ;LiRdiag(1 0 O)R'L;
2
n 2 .
= = L;RR'L; - — {LiRdiag(1 0 0 O)R'L/
n’ n- 1
_ ‘ . - T T
= 7. 1L,Rd|agn+ 1 1 1 R'L;
= LR dia n- n (R
’ 9+ 1 M- 1 n“- 1 '
= L,RBR'L;
1 L,RR'L/ai
X- g+1= X- @+ —_—
n + 1 T T
aiLijai

L,R(I L{aill - O 0)'
(n+ I Liaill -

1
n+ 1

X -

T

0 0

(x- g)+ LR

LiIR(T; '(x) - €
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T

L 0

S+ 1
y= Ti(x)= @+ LjRXx,
T '(y) = R'Li ‘(y- e)
y- 8= LiRx
X- 8= LR(T '(x))
Ti(E)= {Ti(x)x - €'B (x- e < 1}
= {xTi () - "B (Ti(x)- &< 1}
= {x@x- @.1) (L )'RB 'R'L; (x- @+1) < 1}
= {X@x- @+1)'Bj+i(x- @+1) < 1}
= Ej+s

1. _ 1.
7.5 T ZSn = 2E1(a)

~E(a)= {x& E.a(x- e)< 0}

%SF {(x&% S, xi< 0}

(xof'x< Lx R,x1< 0= {x R®©&'x< 1} n {x R&:< 0}

%snz Sin {x R'®:< 0}
T, —;sn =Ti(S)n Ti({x R'OL< 0})

7.3 Ti(S)=E;

Ti(x)= g+ LiRx, R'LJa" = (Il LJa'll . 0 0)’
a(Ti(x)- &)= (aLiR)x= Il Lia Il 2x:
xi <0 a(Ti(x)- )< 0

Ti({x Rohs 0) = Ti({x R'@&(x- e)< 0}

T; _;Sn = Ti(S) n Ti({x RH@H(X- eg) < 0})

Ei n Tj({X R"@i(x- e;) < 0})
_ 1
= 2E,(a)

7.2.4
(a) Bi , Bi+1

7.4 , T
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(x- g)'B"(x- )< 1
T, B 1,
(Xx- @+1)'Bj+1i(x- @+1) < 1
(x- 8)' B ‘(x- e)< 1
(x Re'x< 1} > {x Rdx- &)'B(x- g)< 1)

T1 n T~-1
> {X R@|X' a+1) Bj+ 1(X' a+ 1) S 1}

negT Ta= TaoTy n T 1
{x R'©®& x< 1} > {x ROx- e+1) B+i(x- @+1) < 1}
T: T , Ts=T-2T: :
{x R'@x- g:1) Bj+1(x- €:+1)< 1}> Ej.1 , Bi+1

(b)

1 n T -1
EE,—(a): {x R&x- ) B (x- )< lLax- g)< 0} Ei+1
7.5 T

{(x RO®'x< 1,xi:< 0} T {x ROx- @)'B '(x- g)< 1,a(x- &)< 0}

7.1
%3: {x R@'xs< 1,x:< 0}
E={x ROx- B (x- e < 1}
T f Ej+11
%Sn: X'x< 1,x: 0 T %E,-(a)
E= (x- 6 B '(x- <1 To Ei- 1,
1
2Sn E
ZE(a) E-
VOHE'+ 1) 2(1_Jlrn)
(c) vol (E;j) <2
7.3 7.4 T

S{x R'®'x< 1} T E{x R'Clx- e B '(x- )< 1}
X1

T 2 2 2_ X2
X X= X1t X2+ + xn= (X1 Xo Xn)

Xn

T
E{x R'©x- & B "(x- <1} > E-+i{x R&x- e+1) Bi+1(x- g+1)< 1}
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T(x)= g+ LiRx

vOl(E ) @jet(L;R) ©,

vol(E) _ 2-ﬁ< 1

VOoI(Ej+1)  VOI(T(E))
vol(E;) ~ vol(Ti(Sh))
_ et (L;R) Glol(E)
~ @det(L;R) ©lol(S)

_ Vol(E)
— vol(S)
< 2 2(n}r 1) < 1
. SO,Sl,SQ, ,
AX< b, x= 0
C
1
2Ej(a) E; axs<s aej , aex= b,
ax> b, ,
1
(Ej N C) EE] Ei+1
(EO N C) EJ, J = 11 21
: Eon C£ , E1, E2, C 7.1 E1, Ez,
: 0
7.6 AX< b,x= 0

V= (vi,V2, ,Vn)
max{ll Vil }< 2"/ mn
Vi= DI/ @O, = 1,2, ,n
eh Gt 2/ mn
(Hadamand) :
yu Yz Yin
y = ya Y22 Yyan
Yo Yne Ynn
yi= (Y, Ye, ,yn), 1= 1,2, ,n

Iyl 2= Zlyé = (ynys)

det(yjay’) = [det(y)]" < [L(yi,yi)
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ya Y Yan S
2 22 2 < Dlzl@yij@f:

ynl yn2 ynn
Y VY12 Y 1n
Yo Y2 Y 2n H" y,|| 2
ynl yn2 ynn
7.6
V(vi, vz, ,va) n , vi= det (Di)/ det(D),
= 1, 2, , N, D Di {O, 1, dij , b.} ,
di: di din
dz: d2 dan
D=
dnl dn2 dnn
di = (d.l diz din), = 1,2, , N

I dil 2= (dh+ dz+  + di)
< (CduOF 1) (@O 1)° (AuOf 1)°

SO h(@#ij©H 1)

L= (Zml an|ng(@Hi©=+ 1) + anlogz(@j@}k 1) + Iogz(mn)-l

(Iogz mnl" (CBOW 1)|_| (Cd; O 1) -I

det(D) < ﬂ|| dill < |‘| (C&;O% 1) < 2/mn

det(Di) < 2"/ mn

det( D) , 1, max{ll vil }< 2°/mn
2L
7.2.5
7.7
auX: + auizXz + + amnXn < hn
AxzX1 + a=Xz2 + + anmXn < b (
amX1 + amX:2 + + amXn < bm

- 208-



AuX: + aw2X2 +

A1 X1 + @a2X2 +

+ anXn < b+ &

+ Az2n Xn < tk + €o

(
amiX1 + amoX2 + + amXn < b+ &
g0= 2 "
7.7 : () ( :
() : () () :
()
x= (x1 X2 xn) () :
AuX1 + aiXz2 + + anXn< bi+ € 1= 1,2, ,m
Ai= (au, a2, ,an),
| > {iP< Aix- bi< g
I () Aix- b= 0 A
j:1l<j< m, Bii
A = lBjiAi
A Ai ,
Ay =0, 1
Ay=1 ]l (
Y, X= X+ Ay, A ,
: Aix- b ArX - I
A= min - %Aiy> 0 =- A—ky
il | Aix- b< 0, M0, il 1, )\SA_);W_bL
X ()
Aix - b= Ax- bi+ My
AiXx - bi< g P
T oAx-b- AE=Ray- o g
(), i | ,Ax- b= Ax- b> 0, i1 1,Ax- b= Ax- b+ M y<
K,
AX - bk= Ax- b+ My= 0
I K, m :
,1={12 i}, x
Aix= b, 1= 1,2 ,r
X ()

- 209



A = leA1+ szA2+ + BjrAr

DA = DjiAi
J Zl J
Bji: Di i/D, D A ) AiX* = bi; = 1; 21 iy Iy

D(AJX* - bj) = Z DjiAiX* - Dbj = Z Djibi- Dbj

DA = Zrl DiiAi

Z D;iAix - DAjx= 0
=1

x () ,
D(AjX* - bj): Z Djibi- Dbj
1
= - Z DjiAiX- DAjX
1
= - Z (DjiAix - Djiby) + D(Aix - hi)
1
= - Z Dii(Aix - hbi) + D(Ax- h)
1
< € Dii+ D
2D
L L
< 2" 2—+ Fa < 1
mn n
Z Diib - Db
-1
y AiX* - bs O; i: 11 21 y M, ’X* ( )
7.2.6
7.8 X' x< 2" AX< b, x> 0 2 "
AxX< b :
Ax< b,0< xi< 2°/n, i= 1,2, ,n
n+ 1 :
Vo VW1 Vh
nt 1 , nt 1
1 1 1
—1| det
n: Vo Wi Vi
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Ui , Di 2" ,

Do D: D
det
Uo Ui Un

= @oD: D.©

1
n! @[poDl Dn©:

- (n+ 1)L

> 2

>

- (n+ 1)L

Vo, Vi, , Vh
7.9 4(n+ 1)L

L - (n+ 1L

7.8, (1) X x< 2 ,

7.1

w < 2' 2(ni 1)
vol(E))

vol(E:) _ z-m

VOI(Eo)

Vol(Ez) _ vol(Ea)  vOI(E)) _ 5 5
vol(Eo)  vol(E:) " vol(Eo)

vol(Eo)

j=4(n+ 1)°L

+ 1) 2
VOI! E! < 2 ﬂzrzn_j% — 2- 2(n+ 1)L
vol( Eo)
Eo: X' x< 2°°,  xi+ x3+ + xi< 2®

m

I

T[n/2 2nL m|
vol (Eo) = 0 2 = o 27) "
— 4+ ( T[) (2m+ 1) L _
r 2 1 (2m + 1)!!2 , h=2m+ 1
vol (Eo) g 2 ,

Vol(Eo) < (% 2)"= 2

2", n= 2m

(L+ 1)n

(L+ 1)n

R
Vol(Ej) < 2 2™ jo2

j=4n+ DL L> n,
vol(Ej) < 2

(n+ 1)L (L+ 1)n - (n+ 1)L

jo2 < 2

7.8 :

7.2
LP

LP , ,
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7.3

7.3.1
1984 ATE&T
( (S) )
min z= Cx
s.t. Ax= 0 (S
ex=1
x= 0
, A= (@ij) m n, ai , € 1 n , e=(11 () P
141 a7
(Al) Xo= non n
(A2) 0
min z = Cx
AX= b (7.0
x= 0
A= (ai)m n, ai =12 m j=1,2, ,n, (S,
7.3.2
(7.1),
min z = Cx
S.t. Ax= Db (7.2
x= 0
' Ql
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Zn1XiS Q

Q= 2, L Xns 1,
(7.2)
min z = Cx
s. t. Ax= Db
(7.3
eX + Xne1= Q
x= 0
e= (11 1), Xne 2, (7.3)
AX - bXxn2= 0
X+ Xnr1- QXnr2= 0
eX + Xn+1- Xm2= Q+ 1
X= 0,Xn+ 1,Xn+ 22 0
eX+ Xn+ 1- QXnv 2= 0 X+ Xn+r 1+ Xnr 2= Q+ 1, Xn+ 2= 1 ex
+ Xn+ 1t X 2= Q+ 1 :
Xxi= (Q+ 1Dy, j=12 ,n+ 2
(7.3)
minz=(Q+ 1)Cy
s. t. Ay - by.n2= 0
&+ Y- Qyn2=0 (7.4
ey + Yor1t+ Yor2= 1
y= 0,Yn1,Yr22 0
(A1), Yo+ 3, (y: Y2 Y1 Yor2 Yo 3)
_ 1 1 1
n+ 3 n+ 3 n+ 3 ’
mnz= (Q+ 1)Cy+ My s
S.t. Ay - bynz- (A€ - b)ynz= 0
Cy+ ymi- Qymz- (n+ 1- Q)yms= 0 (7.9)
Cy+ Y1+ Y2+ Yes= 1
yi=2 0,]=1,2, ,n+ 3
yi= n+13’ i-1,2 ,n+t3 (7.9 (7.5)
M (7.5) yne 3= 0, (7.5)
1 1 1
’ n+ 3 n+ 3 n+ 3
(Az), :
, X
y
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AX< b, x= 0
(7.6)

yA< C,Cx= yby=> 0
(7.6)
Ax= 0,x= 0 (7.7
(7.7) , Q,
ex< Q (7.8
Q: 2L (7 9)
(7.9) (7.8)
Ax=Db, e&< Q, x= 0
AX= bex= Q,x= 0
Ax= b,ex= 1,x=> 0 (7.10)
bex = b
AX=Db
(A- be)x=0
A- be A,
Ax= 0,ex= 1,x= 0 (7.11)
Ae = 0
L L (7.11) ,
n'n n n
A= (aij)rx m
Ae = (vi vz V) =V
Vi= ai, 1= 1,2, ,n 7.12
Zl i ( )
A .
(a) 0 vi,A i Vi
(b) vi= 0, (a) , A | A j
A
Ae' = €
Ax= 0
A
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minz= A
s. t. Ax- ex=0
ex=1
x> 0
A= (A | e),x= (x', N’
e= (11 1sx (1 (7.13)
(7.13) (A1) (A2
7.1 max z = 2X: + X
s.t. X1- X2 2

(P)

X1,X22 0

minw = 2y: + 4y,

S. t. Yyi+ y22 2
- yi+ 2y2> 1
yi,y22 0

X3, X4 Y3, Ya, (P)(D)
X1- X2+ Xz= 2

(D)

X1+ 2X2+ Xa= 4

yit yz- ys= 2

- Y1+ 2y2- ya=1
2X1+ X2= 2y1+ 4y
Xi,yi=2 0, 1= 1,234

X1+ Xo+ Xsz+ Xat Y1+ Yo+ Yyz+ ya< Q

St,
X1+ X2+ X3+ Xat+ Y1+ Y2+ ys+ yat+t = Q

X1+ X2+ Xz+ Xa+ Y1+ Yot ys+ yat+t - Q2= 0
X1+ X2+ Xz+ Xat Y1+ Yot ys+ Yot 5+ = Q+ 1
=1

Xi1- X2+ Xsz- 29=0

X1+ 2X2+ X4- 4= 0

yit yz2- ys- 2%= 0

- Y1+ 2y2- ya- =0

2X1+ X2- 2y1- 4y.= 0

Z (xi+ yi)+ s- Q=0
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4

Z (Xi+ yi)+ s+ = Q+ 1

xi= 0,yiz 0, i= 1,234
ss=2 0, =2 0

Xj = + 1)z

= (Qr Dz i= 1,2,3,4
yj: (Q+ 1)Z4+j

s= (Q+ 1)z

= (Q+ 1zuw

Z1- Z>+ Z3- 2Z10= 0
21+ 222+ z4- 4zi0= 0
Zs+ Ze- Z7- 2Z10= 0
- Zst+ 2Zo- Zs- Zw= 0

221+ Z>- 2Z2s- 4z6= 0

yi2 0, i= 1,2, ,10

Z1, (7.5) )
min w = zn
S.t. Zi1- Z2+ Z3- 2Zi0+ zZ11= 0

Zi- 2Z2+ Za- 4zw= 0

Zs+ Ze- Z7- 2Zi0+ Zun= 0

- Zs+ 2Ze- Zs- Zw+t zZu= 0

221+ Z22- 2Zs- 426+ 3zu= 0 (7.14)

ZQZi- Qzw+ (Q- 9zu=0
il Zi =

ziz2 0, 1= 1,2 ,11
(7.14) (A1), (A2) ,

7.3.3
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min z = Cx

S. t. Ax= b (P)
x=2 0
max w = yb
S. t. yA< cC (D)
y=2 0
: (P)
Ax= b
A< c
é«-yb: 0 (D
x=2 0,y=> 0
(1)
Ax- u= b
YA+ v= ¢
cXx- yb=0 ()
x=2 0,y=2 O,u= 0,v= 0
A
min A
s.t. Ax- u+ (b- AX"” + u'”)A=b
yA+ v+ (c- y7A- VA= ¢ (J)

ox- yb+ (- '+ y?b)A= 0
X2 0,y= O,u= 0O,v= O,A= O
x?20y?20u”20Vv"20

= Xw%y: fm,u= 0 v= v A= 1 (J) | ()
(J) , (J) ,
(J) : (1) , (1) (D)
(J) > 0, (P) . (1) X,
y ,u,v, X,y ,u,v,A=0 (J) , 0, A> 0
, (J) 0, (P) : (J)
0, (P)
(P) (J)
(J)
minz= C X
sst. Ax=b (P)
x= 0
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7.3.4 To

T,
a= (a1 a an)T> 0,x= (X1 X2 Xn)TZ 0,

X S
Xi' = ai/ 1+ Zl " i= 1,2,

N
To
Xne1= 1 - Z Xi = 1
-1 Xi
1+ Z —
— ai
To :
7.1 To P.={x0=0 R
n+ 1
A= X' xi=1,xi=20 R’
-1
L X ’ DX L X
— =2 0, Xi = _/1+ - < 1,
Zl ai 1 Zl ai Zl ai
Xne1= 1- Xi = nl > 0
—_— Xi
1+ -
Zl ai
X1+ X2+ + X+ Xnr1 =1
To P. R (X1 Xz X») = 0 A X':
X' = (xd XZ  Xa' Xhe1)' A R
1
_ T
7.2 To a=(a a a) >0 A 0t 1t 1
Rn+1
7.3 To
To': Xxi= axXi/Xh1, i= 1,2, ,n
&_ Xi’ _— ! I
(715) (716) a— Xn,+l,X|— aX|/Xn+l
A x=Dbx=20 To
a”)T> 0 (P) ) To ,
x= (x1 Xz x)' R
(X1 X2 Xo Xhe1)'T A R™?
1
a= (a1 a an)’ A = —7(11 )" A
(P) A= (aa @ a), a A i = 1,2,
AX=D axi= b
2.
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(7.15)

(7.16)

a= (a1 a

(7.17)



Xi= a Xj"IXw1, =12 ,n

(7.17)
Z aax;'- bxhwi1= 0
-1
X1, X2, , X', Xn+ 1
A= (a',a, ,a',an’1)
ai'= aidi, i= 1, 2, ,n,an'+1= - b
(P) A x=b
n+ 1
Z axi =0
1
AIXI: O
To (P)
A'x'= 0
n+ 1
Xxi = 1,xi=2 0 1=1,2, ,n+ 1
—1
1 1 1 7
n+ 1 n+ 1 n+ 1
To (P)
R
CX = anlzlc.a.x.
Xh+1> 0, C X ciaiXi 0
: 2.
: (P) : (P) 0,

n
Z ciaiXi 0]
—1

Gl = GCa, 1= 1,2, ,n,G+:1=0

(P)
min z= Cx'
S. t. A'x' = 0
n+ 1
Z Xi =
-1
x>0
_ 1
(A1) A =7 1(1 1 1)
(A2) 0
7.3.5
a O’ n- 1 q
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[

(1) x*° < neT,k<—0

(2) Cx(k)< 2‘ qC)((O)
(3) D« —diag(xi” x%” Xn)
ADx

e
C= CD«
C—[l.- B'(BB') 'B]C
C -G/l Gl
(4) rﬁé—
n(n- 1)
b<—%eT- arCo
D«b
“ eDub’
7.2 min z= - X
S.t. X2- X3= 0
X1+ X2+ Xs= 1

B~

(5) x" " kek+ 1, (2

X1, X2, Xa= 0

1
2
1 _ 1
n(n- 1) 6

A= (01- 1), X1= 0, X2= %,x3=

4!

(1) k0

(0)

(2) 1
300

>
O
i
—
o
H
1
e
o

w [~
o
I
o
|

220-



- ™M

(3)

1__3 —
1
1_3 —
o —
I
-

(a8
(af)]

— ™M
1
1_3
1
o
o
o N
— —
-
@)
)
© o, 7
~
_IB .
o N o
_ 0 o o
N
T
I 2} o
' 1 1 O
~ =
[l —
B e
(af]
— I I

G/l Gl

Cp:

221.

o~ I~
—
— &
Il
N o 4
1
_6
—
g
_6
—
g
&) 1__4
| —
(@}
1_4 _ '
— —
L o
1_n —| ™
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(5) % 0 0
10 10
_ 1 . _ 1
D«b= 0 3 0 ,024 7—72 7
7 7
1
O O 3
10
1 1
eDikb= (1 1 1) 7 95, = 3
7
o 10
D« 1
(1) — - =
X'= Db~ 24
7
x=(1 0 0)'
X1— 1,X2: x3= 0
__6
) ar— 3 )
b= FleT- ar jaC,
1 _ - 2
_ 41 6 1
- 3 1 - 3 19 F 1
1 1
1
= 0
0
1
Dkb: _é 0
0
eDka _é
o 1
D«
(1) — —_
X°= o
0
7.3 min z= X:
S. t. X1+ Xz2- 2X3= 0

X1+ X2+ x3=1
X1, X2, Xa= 0
1 T

1 1 2 1
H 3 0 3 ]



(0)

g 0 0
K0, Do= o% 0
1
0 0 3
3 0 O
Do'= 0 3 O
0O O
1
3 0 O 3
eDo'x”=(1 1 1) 0 30 —é:
003_1
3
X1
_ Do'x Do * =
Y= eDo’x T 3x:i+ 3x: 4+ 3xs 2
X3
1
3
(0 1
y = 3
1
3
1
3 0] 0]
C:CD—OlooiO—Oi
k_( ) 3 - 3
1
0] 0] 3
ADx«
A:(11-2),B:
e
1
3 0] 0]
_ 1 _ 1 1
AD«= (1 1 - 2) 0 5 0= 7
1
0] 0] 3
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o o «
1_2 1_2 o

1_2 1_2 o

B (BB") ‘B

O +Hm o
o o
1_21_20
1_21_20
1
o o dH
O +H O
— O O
Il
‘0
o
-
T
(af)]
m
N
T
m
1
Il
@]

N o
1
_3
|
SR —
1
1_3
_3
|
SR —
+
—| ™
I
a)
2 )
I
o
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(BB') ‘=

BT(BBT) -1

B'(BBT) 'B=

B"(BB") 'B=

GC=

I Coll =

=

164 0
1
0 3
9+ 3 1
27 243
9.- ? . 164
27 0
2
_ 3 l
14+ 3 -2; 1
82 T3
13 1
2" 3
3(9+ _3)+ 1
82 3
2 14+ 3 2
3 82
121
246
39+  3) 1
82 3

(1 - B'(BB') 'B)C' =

- 0.1324030

0. 1505548

- 0.0181517
0. 2013121

[

e - oG =

>

Wk wk wpk

9 -, 1
16497 3) 73
0 9 — 1
1 1649~ 3) 73
3 81 1
82 3
23 e o
14- 3 ? 1 3 S
82 * 3 g2( 9 3)+
39-  3) 1 27 1
82 3 41 3
121 1l 3 -
246 3t g9t
2 14- 3 3 3 — 1
3 82 go(° 3)- 73
3(9-  3) 1 1
82 3 123
121 3-.9
- X
246 27
2 14- 3 3, 9-
3 82 27
39- 3) 1, 9- 3
82 3 27
ar T
I Gl &
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- 0. 1324030 0. 3930009
0. 4506524 0. 1505548 = 0. 2654855
- 0.0181517 0. 3415134

|
Wk wk wp

0. 457409
x = e%(’ozll = 0.209258
0. 333333
q= 4, =2
7.3.6
(1)
min z = Cx
S.t AX =
- (K)
x= 0
A= (ai)m n, A m,n= 2
T
(A) xo= + = L (K)
(A2) 0
Ax=0 n-m ,ex=1 n-1 {x@h\x= 0,x= 0} {xCdx= 1,x=
0} ., {x@\x=0,x2 0} n {x@ix= 1, x= 0}
n- m- 1
n=3,m=1 Ax= 0, aixit axx2t asxs= 0 ,ex= 1  xat
X2+ X3= 1 , 7.3 AB
T
=333
n=3, m=1 X1+ Xo+ x3= 1, xi= 0, i= 1, 2, 3, (1 0 0)),
(0 1 0),(0 0 1) ( )
n=4m=1 X1+ X2+ Xs+ Xs4= 1,xi= 0,1= 1, 2, 3, 4,
( 7.4)
xe= (x1? x5 x$9) T
Dc= diag{x:’ x:° Xa' }
T«:

y = D« 'x/ (€D« 'X)

xi/xi?
j= n ) = 1121

Xi

. 5

N
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{xCgx= 1, x= 0}
(Dxy) (eDx "x)

T«

Tk ,Ax=0
1 1 1"
n n n

7.3

7.4

T« lyGy= 1,y= 0}

(eDwy) (eDk 'x)= 1

1
eDxy

eDr 'x=

... D
x= (Duy) (€Di 'x) = eﬁ?

ADwy= 0 xi= (a” ab’

ar('nk))T

T«

227-



n=3, m=1

7.3.7 T«

228-

7.5

(K)

7.6




min z = CD«y/ (eD«y)

S.t. ADw = 0
ey = 1 (K™)
y=> 0
(K™) : (A2), 0 eDwy> O,
(K™)
min z = CD«y
S. t. ADwy = 0
ey=1
y= 0
min z= Cy
s.t. Py=D
y=2 0
AD«
C= CDk,P:
e
0
b=
1
_ 4141 1 r
ye n n n ' Y
“ 1 _
B(yo,r) yi- =T ey= 1,y= 0 :
1
“ i°* ., _
y 1y.- o =r,y=2 0 n{yGy= 1,y= 0}
{yGy= 1,y= 0} n- 1
B(yo, r) n- 1 {xCx= 1,x= 0}, r
n=3, m=1 7.7
1 1 1 1 1 1 1 1 1
r 31313 2!2101 2!012 ] 01 212
_ _ 4 1 1 1 4 1 1
n=4,m=1 3' 3'3" 3 3,3,3,0 7.8
, X1+ X2+  + Xn= 1,X1,X2, ,X=20n-1
1 1 1 O_1_ ~1
r n'n’ 'n 'n- I'n- 1" ’'n- 1
1 1 1 ° 1
r= =+ (n- 1) — - =
p ) n- 1 n(n- 1)
1 1 1
n1n1 7n (1101 10)
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a

(0, 1)

230-

7.7

7.8
1 i 1
. +(n- 1
min z= Cy
s. t. By= b
y B%e,ar
_ 1
r =
n(n- 1)




0
b= , B le,O(r i,l, ,l ,ar
1 n n’n n
minz= - X:+ X
s. t. Xi+ x3< 1
© - X1+ X2= C xi+ x:= 1
- X1t X2= - E, C= (- 1,1
7.9
min z= Cx
S. t. I xlI < r
. C’
X =" a’
,Cx=1 ¢l - I xlIl - cos(C', x)
I cl =c- C'/l cl
mncCx=- I cl - I x =-¢c C- r/ll cCl
CT
T’
min z= Cx
s.t. I x- all < r
.
© X = ao- L
’ I Cl
Bx=0
min z= Cx
s. t. Bx= b
I xII < r

231
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C , C=G+ G, G C
Bx=0 , GG C {xCBx= 0} {xCBx= 0} B
: G C Ch Bx=0 ,
C B' X Bx= 0 X B', GCx=0,Cx=(G+
Ch)x= GCoX (S
min z' = Cyx
s.t. Bx= 0
I xlI < r
Bx=0
B'(0,r) = {xc& xl < r} n {x@Bx = 0}
min z' = Gx
s. t. x B'(0,r)
I Gl
C'" Bx=0 G
Bx= 0 X B : X B
Bx=0 I xll <r Bx= 0
;
B Ve, C C=GCG+C,C G
G Ve, G Vs , G B
Ve B : B
Ch= uB
u m , u= (U w2 Um)
G=(C- G)=C- uB
uB Ve : I C- uBll <1 C- uBll , G C Vs
( 7. 10)
7. 10

232-



I C- uBll = (C- uB)(C- uB)’
(C- uB)(C - B'U")
= CC' - CB'Uu - uBC + uBB'U

CB'u’ uBC' ,(CB'U)"=uBC'= CB'U',
I C- uBll = I ClIl - 2uBC' + uBB'U
u (7.18)
F(u, Uz, ,um) = uGU + uH + I CI °
G= BB",H'= - 2BC, G=0G

G= (gii)m m, H= (hl h2 hm)

7.3.8

7.1

7.3

y1,Ye,

F(Ui, Uz, ,Um) = Zm zmgiuiu,- + Zm hiui+ I CIl 2

_llj. = 2(guUi + QU2 + + Qinln) + hi= 0
i= 1,2, ,m
gll glz glm Uz hl 0
21 22 om 5 ha 0
2 ° ? J N + =
gml ng gmm Um hm O

2Gu" + H' = 0

= - %G‘ 'HT = (BB") 'BC'
u= CB'(BB") '
[I- B(BB') B]'=1- B'(BB") 'B

C,= C- uB= C- CB'(BB") 'B
= C[I- B"(BB") 'B]
C = [l- B (BB') 'B]C

f(C,x) = nIn(Cx) - Z | nXi

n
X|Z Xxi= 1,x=> 0 X1, X2,
-1

T X1 X2

f(C,x) = f(CD,y) - Zn Inx

(7.18)

Yi1,Yo
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T: y= T(x)= D 'x/(eD 'x)

y;:Tb/Z o . j=1L12 .n

x= T '(y) = Dy/ (eDy) (7.19)
D= diag{xi" x3° X}

(),
xj= == j=1,2, ,n

(7.19) f(C, x)
iy o Dy _ . CDy < x’vi
f(C,T (y))=f C,CDy = nlog Dy
= nlog(CDy) - nlog(eDy) - Z logx:“

Z logy: + nlog(eDy)
= f (CD,y) - Z logx
f(C,x) = f(CD,y) - Z InX (*)

T(X1) = y1, T(X2) = y2
f(C,x1) - f(Cx2) = f(CD,y:1) - f(CD,YV:)

f(CD,y) - f(Cx) = f CD,%eT - f(C x) = Z Inx ;"

: Tk

Dk X
y_ T (X) - eD X
x/x(k) .
yi = ] = 1,2, ,n

Z X(k)

) . 1 1 1
D ’= diag x$ x5 x
D= diag{x{" x& x5}

. 234



X Qn A

1. T« y QnA,
Q= {x@\x= 0}, A= {xCgx= 1,x= 0}
Q'= {y©ADy= 0}, A= {yGy= 1,y= 0}
2. T«
min z = CDy
s.t. Ay = 0
ey = 1
y=2 0
(A1) (A2)
3 y= Z+ %eT
min z = CDy
s.t ADy = 0
ey =
Iy - %eTII < o, a (01)
y=2 0
min z' = CDZ
S. t. ADZ= 0
eZ=0
I ZI < or a (0,1
Z=2 0
1 1+ _G

4. ADy=0,e= 1,1 y- FeTII
=1- B'(BB') 'BDC',
b’ ADb'= 0,eb'= 1
5.  ADy= 0,e/= 1,1l y- %eTu
y)
C.=[I- B'(BB') 'B](CD)’
CD- G = CD- CDJ
B(b'- y)= 0,

<ar,0< o< 1,y= 0,b'= h€-a

AD(b'- y)= 0,e(b'- y)= 0

<or,0< o< 1,y= 0,

| - B'(BB") 'B] = CDB"(BB") 'B

(CD- G)(b'- y)=0

(CD) (b

- y) = G(b - y)

I Coll

GCo

(CD)(b'- y)= G (b'-



min z = CDy
S. t. Ay = 0
ey =1

Iy - FleTII < ar,0< a< 1

y=2 0
C(b- y)< 0
G- y)= G +-y- o lCl
ﬁ %eT- y < | %eT- yl < ar
G(b- y)< 0
AD
B(b'- y)=0, B=
e
(CD) (b'- y)= Co(b'- y)< O
CDb'< CDy
bl
7.5 b’

Ab =0, = 1,1 b- +e'll < ar,0< o< L,b' 2 0,
1

f CD, e - f(CD,b )z & &
.
min z = CDy
s.t. Ay = 0
ey =1
y=2 0
(A1) (Az) CDy = 0, )
{xCéx= 1, x= 0}
I y- Lal <o Lo y B Lo ar = {x@x= 1,
n n n
I x- %eTu < ar,x= 0} b A 0< A< 1,
. 1 -
b = a5 + (1- AN P
o
CDy =0
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1 ~;_ 1 .. CDe __n
nCPe = T Ph oy T -
b’ , CDb >0,b>0
CDleT n
f CD,~¢ - f(CD,b")= nin - ninCDB" + ¥ In (=N
n i -1 n
n
_ CDe' (- N _
= nln Db’ + len 0 + N
n : 1- A .
=nn 775+ len N
_ n_ 1- A *
= len 1- % 1 + Ni

i nA_ -
len 1+ 7,

izo [z as gy gy

n

1 * nA o _ nA
f CD,7e - f(CD,b )= In 1+ )\Zly. =In 1+ 7775
b= (1- N =+, Ib- <& = a,
n n
S SR
a=1 b - neII:}\IIy- nells)\R, R {xCéx= 1,x= 0}
. n-1
] R_ n
S ar_ 1 n- 1 _a
R n(n- 1) n n- 1
_nA_ na/ o _ ., _na
ST ) e N T
i CD,%eT - f(CD,b )= In(1+ 0), O0< o< 1
_ 41 G
7.6 b= n® o
f CD,%eT - f(CD,b)2 3, 3
b min z= CDy
S.t. Ay= 0
e= 1
1
I y- 0 I < or
y= 0
CDb> 0,b'> 0

- 237



CDy

I y-

- 238-

1l -

f CD,~¢ - f(CD,b)
= co,;leT . f(CD,b’) + [f(CD,b)- f(CD,b)]
+ [f(CD,b) - f(CD,b)]
minz= f(CD,y)
s.t. Ay = 0
ey= 1
Iy - %eTII < ar
y= 0
CDy> 0, , b
7.5
f CD,=¢ - f(CD,b )2 In(1+ )
, b (*) : b

f(CD,b )- f(CD,b)= 0 ,

f(CD,b) - f(CD,b) = nlng%g Zln%‘
—1 i
(*) , b (*) ,
CDb _
CDb> CDb, cop= 1
CDb
InCDbZ 0
f(Cd,b) - f(CD,b) > - Zm%
- _
neII <Sar,0< o< 1ly=20,egy=1 'y
Y| B n
len_ < 2(1- B)’B_ a < 1
n 2
f(CD,b) - f(CD,b)> ZI % 5 2‘ > i-BB
n n

7.5

(*)



2
f CD,LeT - f(CD,b) 2 In(1+ 0 - o
n 1- B
> g- L. an/n-_ 1 -5
2 n
1-a 7

7.6
f(CD,%¢) - f(C, Xes1) 2

T (X 1) = b, T(x«) = %eT

f(Cx) - f(Cxws)=f CD,€ - f(CD,b)2 &

f(C, x0) i f(C Xi) >

kd< Z In—+ Z Inx
= nl - i
Z xi= 1,7 xi L
=1 =71 n
Cxo Cxo 1
< >
ko nInCXk lank_ nk6
—k6
Cxo = e" Cxx
- Les
Cxk < e ™ CXo
%6= g, k= ng/d= O(nQ)
ng ,
CX« -
CXOS 2

1. Ax= b, x= 0, A= (@i)m n, b= (b, b2, ,bn)’

m n

L=(1+ logzm+ logzn+ Zl leogz[1+ logz(1+ €4 ©)]

+ ) [ 1+ logz(1+ @t&@:ﬂ
- 239



B B B
xe= (X7, %57,  Xm

xr< 2/mn, j=1,2, ,m
I xI < 2'/n

X:1< 12

min z = Xs

S. t. X1- Xz =0
X1+ X2+ Xz3= 1
xiz 0,i= 1,2, 3

min z= Cx
S.t. AX =
e)(:

I x- —€'l

IN

or

B n
< 21- B " 2n- DY

yIn7
n

B= a 1< l,y ey= 1L, y= 0,1l y- %eTII <o,k o<1

I y- <&l = or
n
2

n 2 _ 2n i i 2 2.2
Zl(nya- 1)° = nZl yi- S nar

In(ny)= In[1+ (ny- 1< (nyi- 1)+ %(nyi- 1)
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8.1

X1,X2, ,Xn AX= aiXi+ &X:+ + aXa= Db, n,
minz= p+ n
S. t. AX- p+ n=
X,p,n= 0
n Ax- b>0, p>0,n=0, Ax- b<O0, n>0,p=0,
p n , A= (a1 & an),x= (X1 Xn) ' ,
X Ax= b,
minz= n
S. t. AX- p+ n=
X,p,n= 0
X AX< b,
mnz= p
S. t. AX- p+ n=
X,p,n= 0
AXx= b, Ax- b Ax= b,
n AX< b, p
8.1 P. Pq, 80 100
P: P2 A,B,C
A C
P1 4 1
P2 5 0

241.



A,B,C 80, 48, 6 )

?
I X1 P » X2 P :
max z= 80x.+ 100x:
S. t. 4x.+  5x.< 80
4x1+  2X2< 48
X1 < 6
X1,X22 0
1 A,B :
4x:+ 5x2 < 80
Ax:1+ 2X2 < 48
2 800
80x: + 100x- = 800
C 6: X1< 6
4. P: P2 ( ) 7 D X1t X225 7
min z= Pi(p:1+ p2) + P2ns+ Pspa+ Paps
S. t. 4x: + 5X2+ ni- p:i= 80
4AX1 + 2X2+ nN2- p2= 48
80x:+ 100x:+ ns- ps= 800
X1 + Ns- Pa= 6
X1+ Xo+ Ns- ps= 7
X1,Xz2,pi,ni= 0, 1= 1,2 3,4,5
Pi, P2, Ps, P4 , ,
p:+ p2 , 4y 1+ 5x2< 80, 4x:1+ 2x:2< 48,
: 80x:+ 100x.> 800, x1< 6, X1+ X2< 7
8.2 : P1 10 P
8 ,P: 3 , P2 2 :
120 , : 1
; 30
1. 120
2. : 20
3. 800
X1= P ,
X2= P :
X3= P ,
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Xa= P

X1+ Xo > 30
Xs+ Xa = 30
3X1 + 2Xs < 120
3X2 + 2x4< 20
10x1+ 9x2+ 8xs3+ 7x4= 800
iz 0,i= 1,2 34
minz= Pi(ni+ n2+ ps3) + P:ps+ Psns
S. t. X1 + X + ni- pi= 30
X3+ Xa + N2- p2= 30
3X1 + 2Xs + ns- ps= 120
3X2 + 2Xa+ na- pa= 20
10x:+ 9x2+ 8Xs+ 7Xat ns- ps= 800
xiz 0,1= 1,2, 3, 4,p;,n;= 0,j = 1,2 ,5

8.3 3 M1, M2, Ms 3 D:,D2,Ds 1500

M1, 6.00 ; 2100 Mz, 4.50 950 Ms,
3.00

D: 10% M: 50% M : 6.00 ;D 60%
M3 20% M: , 5.50 ;Ds 50% Ms 10% M-

: 5.00

1.

2. 2000 D:

Xi= Mi Di ( ),1,j=1,2,3

X1+ X1z + Xiz < 1500
X1+ X222+ X3 < 2100
Xz1+ Xz + Xsz3< 950

X 21
X1+ Xoa1 + Xaz

< 01

X11
X1+ Xoa1 + Xaz

v

0.5

X 32
X2+ Xa22 + Xa2

IN

0.6

X12
X2+ Xa22 + Xa2

v

0.2

X33
X113+ X223 + Xas3
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X 23
X1z + X223 + X3

> 0.1

6( X112+ Xz + Xsz1) + 5.5(X12+ X2+ X3) + 5(Xz+ Xaz+ Xsz)
- B(Xu+ X2+ Xiz) - 4.5(Xa1+ X2+ X2) - 3(Xa:+ X2+ Xsz) = 5000

X112+ X2+ Xs1= 2000

minz= Pi(p1+ pz2+ ps+ pPat Ns+ pet N7+ ps+ No)
+ P2nio+ Psnu

S.t. X1+ X2+ Xwiz+ ni- p:= 1500
X1+ X224+ X2+ N2- p2= 2100

Xz + Xa2+ Xsz+ Ns- ps= 950

0.9%21 - 0.1Xu1- 0.1xs1+ na- pa= 0
0. 95X - 0.9X22- 0.5Xs1+ nNns- ps= 0
0.4Xs2 - 0.6X12- 0.6X22+ ne- ps= 0
0.8X12- 0.2X22- 0.2Xs2+ n7z- p7z= 0
0.5Xs3 - 0.5X13- 0.5%X23+ ns- ps= 0

0.9X23 - 0.1X1s- 0.1x2s+ nNo- poa= 0

6(X11 + X2+ Xa) + 5.5(X1z+ Xaz+ Xz) + 5(Xz+ X3+ Xassz)

- 6(X1+ Xiz+ X3) - 4.5(Xa+ X2+ X23) - 3(Xs1t+ Xz + Xas)
+ N - pwo= 5000

X1+ X+ X+ M- pu = 2000

xi = 0, ,]j= 1,23

n,,px= 0, k= 1,2, ,11

1 3 3 ,
2000 D1
8.2
8.4 min z = Pl(pl + pz) + P2ns + P3p4 + P4p5
S. t. 4x:1+  5SX2+ ni- pi1= 80 (Gy)

A1+  2X2+ n2- p2= 48 (G2)

80x:+ 100x:+ ns- ps= 800(Gs)
X1 + Ni- pa= 6 (Ga)
X1+ Xt ns- ps= 7 (Gs)
X1, Xz, Ni, pi= 0,1= 1,2,3,4,5

8.1
1 : p:= p2= 0, 8.2
244



N3— 0,

8.1

8.2

8.3

8.3

245:



3 . pa= 0, 8.4

8.4 8.5
(0,8) x1= 0, x2= 8, ps , (0,8) X1+ X2= C
, C= 8, ps= 1
8.5 min z = Pip:1+ P2nz+ Pasns
S.t. X1+ X2+ m- p:= 10

2X1+  Xo+ N2- p2= 26
- Xit+ 2X2+ ns- ps= 6
X1, X2, Ni, Pi 2 0,i= 1,2,3

8.6
8.6
1 , 8.6 2 , (10,0
, (10,0) 2x:i+ x2=c¢ .c= 20, n2= 6, 3 , 3
2 3 2 ,
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8.6 A B : A,
1 : 140 ,
60 , B 100 : A
120 / :
max z = 300x.: + 120x:
Ss. t. 2X1 + X2 < 140
X1 < 60
X2 < 100
X1,X22 0
y X1 A , X2 B
A 60 , B 20 :
1 : 25 000
(D 140 ;
(2) A 60 ;
(3) B 100

minz= Pini+ P2(pz+ pz:+ p4)
S.t. 300x:+ 120X2- p1+ m=
2X1  + X2- P2+ N2=
X1 - ps+ n:=

X2- Pa+ M=

300 / , B

z= 20400

25000
140
60
100

X1, X2, P1, N1, P2, N2, P3, N3, Pa,Na= 0O

8.7

8.7

8.8

247-



2

(60,

(43, 3, 100)

P2 ’
140

8.7
80 :
45 000 :

A W DN B

X1, X2

8.9

248-

( 8.8)

(60, 58, 3)

, P2t pst+ P4
100) ,ps= ps= 0, p2 0;(60,58,3) ,ps= ps+=0, p2
,p3: p4: 0, p2 O, pz
., 1 , 2 ,

2X1+ X2< 140

| A 70 000

A,B , 1000 ,
min z= Pin:+ P2ps+ Ps3(5n2+ 3ns) + Pap:
S. t. X1+ X2+ nNi- p:= 80
X1 + n2- p= 70
X2+ Ns- ps= 45
X1+ X+ na- pa= 90

X1,X2,N1,N2, N3, Na, P1, P2, P3,pPa= 0

A 2.5 |/ , B
5, ns 3 N2 Ns ,
8.9

p2< > 0,

1.5 /



8.10
3 N2 ns, (20, 70) 4 pi= 0
, 4 3
, A 100 000 :
, 2 , 3 |
B
min z= Pin2+ P:ni+ Ps3pi+ Pans
S. t. X1+ X2+ ni- p:= 80
X1 + n2- p2= 100
X2+ Ns- ps= 45
X1, X2, N1, N2, N3, P1, P2, Pz= 0
8.11
8.10 8.11
1 , x1= 100 , 2 , 3
) Pt ) x1= 100, x2= 0, 4
8.3
8.8 A,B , ,
A 25 , B 15 80
: A 70 , B 45

249.



X1, X2
max z = 25x:+ 15x.

S. t. X1+ X2< 80

0< x:< 70,0 x2< 45

1. 1 ,
2. 2 10 ;
3. 3 A,B ;
4. 4
min z = Pini+ P2ps+ 5Psnz+ 3Pans + Papa
s. t. X1+ Xzt N - p: = 80
X1 + N - P2 = 70
X2 + Ns - Ps = 45
Nat+ P2 - pa =10
X1, X2, N1, Nz, N3, Na, P1, P2, P3,Ps= 0
,N2  nNs 3 , A 250, B
150, 5Ps, 3Ps
8.1
X1 X2 nq Ny N3 N4 P1 P2 Ps Pa
Cs c B
b 0 0 P. 5Ps 3Ps O Pa 0 0 P2
N1 P 80 1 1 1 0 0 0 1 O 0 0 80
n2 SP3 70 0 0 1 0 0 0 1 O 0 0
N3 3Ps 45 0 1 0 0 1 0 0 0 1 O
Na 0 10 0 0 0 0 0 1 1 0 0 1
P. 0 0 1 0 0 0
Ps 485 5 -3 0 5 3 0
Ci- Zi
P2 0 0 0 0 0 1
P 80 1 1 1 6 0 0
Pi, P2, Ps, P4 : P:m P2m Psm P. Am B
k, A> kB, A>B+ k c- zi 2 Ps,Ps3, P2, P1, X1
Ci- Zi - Pi- 5Ps, P - 1, Ps - 5, P2, Pa
0, X1 ) n2 a1
: 8.2
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8.2

45

35

10

Pa

Ps

P2

Pz

N4

ns

nz

ni

X2

X1

P2

Pa

5P; 3Ps

P:1

10
70
45

10

135

10
10
70
35

10

105

20
70
25
10
25

Pi

3Ps

P4

Ps

P2

Pi

3Ps

P4

Ps

P2

P:1

3P3

Pa

Ps

P2

Pi

ni

X1

ns

N4

Zi

Ci-

X2

X1

ns

N4

Zi

Ci-

X2

X1

ns

P1

Zi

Ci-

1

X1= 70,X2: 20,p1: 1O,n3: 25,

p:= 10

160

8.9

80

1.5

4.5

5500

100

X1, X2

251



min z = Pini+ Pa2na+ 2P3nz2+ Psans + 3Psps + Pap:

s.t.  5Xit 2X2+ nu - Pp: = 5500
X1 + N: - P = 5 160 = 800
X2 + s _ ps = 4 80= 320
Na + P2 - p«= 100
X1, Xz, Ni,pi= 0,i= 1,2 3,4
) N2 N3 2P
Ps
¥ 1.5- 4.5= 3, X
1.5 2= 1, 1 3 , pe Pa,ps
3P4 8.3
8.3
X1 X2 mn n2 ns Na p1 P2 ps Pa
Gs C B
b 0 0 P1  2Ps Ps 0 0 Ps 3P4 P
ni P 5500 5 2 1 0 0 o -1 0 0 0| 1100
n2 2P3 800 0 0 1 0 0 o -1 0 0 o800
N3 Ps 320 0 1 0 0 1 0 0 o -1 0
Na 0 100 0 0 0 0 0 1 0 1 o -1
P4 0 0 0 1 3
Ps 1920 -2 -1 2 1
R 0 0 0 1
P 5500 -5 -2 1
N1 P 1500 0 2 1 -5 0 o -1 5 0 0 300
X1 0 800 1 0 0 1 0 0 o -1 0 0
ns Ps 320 0 1 0 0 1 0 0 o -1 0
N4 0 100 0 0 0 0 0 1 0 0O - 1] o100
Pa 0 0 0 0 1 3 0
Ps 3200 -1 2 0 0 1 0
R S 0 0 0 o o o0 1
P 1500 -2 5 1 -5 0 0
N1 P1 1000 0 2 1 -5 O -5 -1 0 0
X1 0 900 1 0 0 1 0 1 0 0 o -1
N3 Ps 320 0 1 0 0 1 0 0 o -1 0
p2 P4 100 0 0 0 0 0 1 0 1 o -1
Pa 100 0 0 -1 0 3 1
Ps 320 -1 2 0 0 1 0
T e | o 0 0 0 0 0 1
P 1000 - 2 5 5 1 0O -5
P4 P2 200 0 2’5 15 -1 0O -1- 115 0 0 1
X1 0 1100 1 25 U5 0 0 0- U5 0 0 0
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X1 X2 N1 n2 ns Na Pz P2 Ps Pa
Co C
b 0 0 P: 2Ps Ps 0 0 Ps 3Pa4 P
ns Ps 320 0 0 0 1 0 0 o -1 0
p2 Pa 300 0O 215 15 -1 0 0- 15 1 0 0
P4 300 - 2/5- U5 1 0 U5 3
Ps 320 -1 0 2 0 0 1
P2 200 - 2/5- U5 1 1 1S5 0
P 0 0 1 0 0 0 0
pa P2 72 0 O v5 -1-2/5 -1-1U5 0 @/5 1
X1 0 972 1 0 U5 0- 2/5 0- U5 0 2/5 0
X2 0 320 0 1 0 0 1 0 0 o -1 0
p2 P4 172 0 0O U5 -1-2/5 0- 15 1 2/5 0
Pa 172 - 15 1 2/5 0 U5 13/5
Ps 0 0 2 1 0 0 0
P2 2 - 1/5 1 2/5 -1 15 - 2/5
P 0 1 0 0 0 0 0
ps 3P4 180 0 0O vV2-5/2 -1-52-1U2 0 1 52
X1 0 900 1 0 0 1 0 1 0 0 0o -1
X2 0 500 0 1 VY2- 5/2 0-52-12 0 0- 52
p2 P4 100 0 0 0 0 0 1 0 1 o -1
P4 640 - 3/2 15/2 3 132 32 - 13/ 2
Ps 0 2 1 0
P2 0 0 0 1
P 0 1 0 0
2 3 , 4
x1= 900,x2= 500, p2= 100, ps = 180
8.4
1 , 2 3 ,
Ci- Zi

8.10 minz= Pi(p1+ p2) + P2ns+ Pspa+t Pa(n:i+ 1.5n2)

S. t.

X1 + ni- p:= 30

X2+ N2- pP2= 15
8xi+ 12x.+ ns- ps= 1000

X1+ 2X2+ Na- ps= 40

X1, X2, Ni, Pi 2 0,

1= 1,2,3,4

253:



min z: = p: + p2

S. t. + m- p:= 30
X2+ N2- P2= 15
X1, X2, N1, N2, P1,P2= 0
8.4
8.4
X1 X2 N1 n2 p1 P2
B Cs B
0 0 0 0 1 1
N1 30 0 0 1 0
N2 15 0 0 -1
1 1
ni= 30, n.= 15,x1= x2= p1= p2= 0,21 = p1+ p2= 0
pi+ p2= 0,p1, P22 O, p:= p2= 0, 2
min z: = ns
S. L. X1 + M = 30
X2+ N2 = 15
81+ 12X2+ ns- pPs = 1000
X1, X2,N1, N2, N3, Pz = 0
8.5
8.5
X1 X2 M n2 ns Ps
B Cs B
0 0 0 0 1 0
N1 0 30 1 0 1 0 0 0
Nz 0 15 0 0 1 0 0
N3 1000 8 12 0 0 1 -1 1000/ 12
1000 8 o012 O 0 0 1
N1 0 30 0 1 0 0 0 30
X2 0 15 0 1 0 1 0 0
N3 1 820 8 0 0 12 1 -1 102
820 8 0 0 12 0 1
X1 0 30 1 0 1 0 0 0
X2 0 15 0 1 0 1 0 0
N3 1 580 0 0 - 8 12 1 -1
580 0 0 8 12 0 1
X1— 30, X2= 15, Z; = ns= 580
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Nz, N2, Ps Ci- Zi

min zs = pa

S.t. X1 = 30
X2 = 15
8x:1+ 12X = 420

X1+  2X2+ nsa- pa= 40

X1, X2, N4, P4s 2 0

x1= 30, X2= 15,n:= 0, ps= 20,25 = 20,z = ni+ 1.5n2= 0

8.11 mnz= Pi(p:1+ p2) + P2nzs+ Paspa
S.t. 2X1 + X2+ ni- pi= 12
X1 + Xo+ n2- p2= 10
X1 + N3- ps= 7
X1+ 4X2+ na- pa= 14
X1, Xz2,Ni, piz 0, 1= 1,2,3,4
1
min z: = p.+ P2
S. t. 2X1+ Xo+ M- pi1= 12
X1+ X2+ n2- p2= 10
Xi,ni,pi=z 0, 1= 1,2
8.6
8.6
X X1 X2 N1 N2 p1 P2
B Cs C
b 0 0 0 0 1 1
N 0 12 2 1 1 -1 0
N2 0 10 1 1 0 1 0 -1
1 1
71 = pi+ p2= 0,p1= p2= 0,n:= 12, n.= 10, x1= x2= 0, 2
min zz2 = ns
S.t. 2X1+ X+ N = 12
X1+ Xzt N = 10
X1 + Ns- ps= 7
X1,X2,N1,N2,Ns, ps= 0
8.7
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8.7

X X1 X2 N1 N2 ns p3
B Cs C B
b 0 0 0 0 1 0
N1 0 12 1 1 0 0 0
n2 0 10 1 1 0 1 0 0 10
N 7 1 0 0 0 1 -1 7
7 -1 0 0 0 0 1
X1 0 6 1 1/2 U2 0 0 0
n 0 4 0 1/2- 12 1 0 0
N 1 1 0-1/2- 12 0 1 -1
1 1/2 U2 0 0 1
X1= 6,n2= 4, m= x2= ps= 0, z2 = ns= 1, X2, N1, P3
2 : 3
min zs = pP.
S.t. 2X1 = 12
X1+ N2 = 10
X1+ 1 = 7
X1+ Na- pa= 4
n:= 4,n:= 0,ps4= 2, X1= 6,X2= 0,21=0,22= 1,2 = 2
8.12 min z = Pini + P:ps+ 5Pznz+ 3Pans + Pap:
S. t. X1+ X2+ ni- p:= 80
X1 + N2- p2= 70
X2+ Ns- ps= 45
p:+ nis- ps.a= 10
X1, Xz, Ni, pi= 0, 1= 1,2,3,4
1
min z: = n:
S. t. X1+ X2+ ni- p:= 80
X1,Xz2,N1,p1= 0
8.8
8.8
X X1 X2 n1 p1
B G C B
b 0 0 1 0
X1 0 80 1 -
0 0 1 0

z: = mi= 0,x:= 80
256-



= pa

min z

80
10

X1, X2, P1, Na, pa=2 0

P:

X1+ X2 -

S. t.

pe =

p:+ Ns-

2

8.9

8.9

Pa

N4

pP1

X2

X1

80
10

Ce

X1

Ny

=p4=0

*

X2

5n. + 3ns

min zs

80
70

p1=
45

X1+ X2+ Ni-

S. t.

P2=

+ No2-

X1

Ps=

X2+ Naz-

10

X1, X2, N1, N2, N3, N4, P1,P2,P3= 0

p:t+ Na

8.10

8.10

80

45

35

p2

Pz

Na

na

nz

N1

X2

X1

80
70

45

10

485

10
70
45

10
135
10
70
35
10

Cs

Nna

N2

ns

Na

Na

X1

n3

Na

X2

X1

na

N4
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Ps

P2

Pz

Na

ns

nz

Nni

X2

X1

3

0 o-

105
20
70
25
10

Cs

X2

X1

ns

P1

5n2+ 3ns= 75

p:= 10, 73
8.3

*

y Z4

X1— 70,X2: 20,n2: 0, ns= 25, p1: 10

8.2

8.5

min z= Pai(p1+ p2) + P2(ns+ 2ns) + Pam

20
35

pi=

+ Ni-

X1

S. t.

P2=

X2+ N2-

220

60
1,234

Ps

51+ 3X2+ ns-

X2t Na- Pa=

X1

O,

X1, X2, Ni, Pi 2

8.11)

(

8.11

35
220/ 3

Pa

Ps

P2

P1

Na

ns

N2

ni

X2

X1

2P Pi P

P2

Ps

0

1

20
35

220
60
20

340

20
35

115
95

Ps

P2

2P
Ps

P2

P.

Ps

P2

2P

Nni

n2

ns

N4

Zi

Ci-

ni

X2

N3

N4
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Pa

Ps

P2

P1

N4

ns

n2

ni

X2

X1

2P P1 P

P2

Ps

20
305

Ps

P2

Pi

Zi

Ci-

ni, X2, N3, N4

8.11

0

0
3 1 0

0

0

P

8.13

0

0

P. 2P)

P-

0

Zi

Ci-

P:

pz

8.12

, P2

pz

8.12

pPa

Ps

P2

Pz

N4

ns

nz

ni

X2

X1

2P> Pi

P2

Ps

13

13

1
0

- 53
- 53

13

0

13

1

13

2/ 3

2/3

13

4/ 3

20
35
115
190

20
115
190

20
73
38

228

20
456

Ps

P2
2P>

Ps

P2

P.

Ps

2P

Ps

P2

P1

Nni

X2

ns

N4

ni

X2

p2

N4
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Xo2.

N2

Ns.

Na.

P

poa:

Na 2P 6P Na , CsB , CsB

1 0O 0 O
0 1 0 O
(Pa 0 Ps 6P2) = (Pa 3P P 6P2)
0O -3 120
0 1 0 1
X1, X2, N1, N2, N3, N4, P1, P2, P3, P4 Ci- Zi
1
0
- (Ps 3P P 6P2) = - Ps3- P2
- 5
1
0
1
(P3 3P: P 6P2) =0
3
-1
1
0
Ps- (Ps 3P2 P2 6P2) 0 =0
0
0
1
- (Ps 3P P: 6P2) 0 = - 3P:
0
0
0
Po2- (P3 3P: P2 6P2) 1 =0
0
0
-1
0
Pi- (Ps 3P: P2 6P») 0 = P:1+ Ps
0
0
-1
Pi- (Ps 3P: P2 6P2) 0 = Pi1+ 3P:
0

260-



= P2

o O € O

(Ps 3P2 P: 6P:2)

ps:

6P

o O O -

3P: P 6P2)

- (p3

p4:

8.13)

(

8.13

95

60

Pa

Ps

P2

pP1

Na

ns

N2

ni

X2

X1

6P Pi Pi

P

Ps

20
35

115
95

20
685

20
35

220
60
240
120

20
35

320
40

560

Ps

P2

6P 2
Ps

P

Pi

Ps

P

6P
Ps

P2

P

P2

6P 2
Ps

P

P1

ni

X2

ns

N4

Zi

Ci-

ni

n2

ns

N4

X1

N2

1K}

N4

40,
20
40

35

8.14

20
40

0
0

0
3 1 0 220

100
100

60
40,

Na

ns

X2
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100,

300,

75,

35

20
75

20
75

0

0
3 1 0 220

I
| Q

5
135

0

60

8.14

8.14
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N1

X1

ns

Na

Zi

Ci-

ni

X2

n2

N4

Zi

Ci-

asi

8.15

O 0 0 1

1

3 1 0 2

0
0

B 131 =

Ci- Z1

Ps

4P, -

— O N

P. 2P))

P2

(P4

262-



8. 15)

(

8.15

115/ 2

95

Pa

ps

P2

p1

N4

ns

n2

N1

X2

X1

2P Pi Pi

P

Ps

0

1

20
35

115
95
20

305

20
35

75
75

25

Ps

P2

2P,
Ps

P2

Pi

P2

2P
Ps

P

P

ni

X2

ns

Na

Zi

Ci-

X1

X2

N3

N4

Zi

Ci-

ps = 8
8.16):

(

4X. + X2+ nNs -

8.16
8.16

Pa

Ps

P2

p1

Na

ns

N2

ni

X2

X1

2P P1 P

P2

Ps

20
35

115
95

20
305

Ps

P

2P
Ps

P2

Pi

ni

X2

ns

N4

Zi

Ci-

X2

X2

X2+ N2- P2= 35,

Ps = 3B=- 27

N+ P2+ Ns-

4x1 -

8.17)

(
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30

95

20

ps

Pa

P2

p1

Ns

Na

ns

nz

ni

X2

X1

P

P. 2P: 0 P: P

0

Ps

31197/ 7

0

1] 27/4

4

0 1- 14 0 0 V4 1 14 0

0

5/ 4

1
0
0
0
1

714
0- 34

0- 74 1 0- 54 0

0

0
0
1

V4

-1 -

V4

V4

0 0- 14 0- V4

14

V4

1 -

4
34

V4

2 - 34

U 4

0 -

14

20
30
115
95

27

20
305
27
20

196
68

27

20
332

53/4

30
695/ 4
353/ 4

27/ 4

53/4
130

8.17

Ce

Ps

P

2P >
P

Ps

P

P1

Ps

P

2P

Ps

P

Pi

Ps

P2

2P >

0
Ps

P2

Pi1

ni

X2

ns

N4

Ps

Zi

Ci-

ni

X2

ns

N4

n2

Zi

Ci-

ni

X2

ns

N4

X1

8.17

min z= Pai(p1+ p2) + P2(ns+ 2ns) + Pam

20
35

p:=

+ N:-

X1

S. t.

p2=

X2+ X3+ nNoe-

220
60

Ps=

5X1+ 3X2+ Xs+ ns-

p+=

X2- X3+ Ns-

X1

1,2,3,4

O’

X1, X2, X3, Ni, Pi 2

0

3 10

0

0
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X1
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8. 18

min z= Pi(p1+ p2) + P2(ns+ ns(l+ r)) + Pans

20
35

Ni- pP1=

+

X1

S. t.

p2=

X2+ nN2-

220
60

Ps=

51+ 3X2+ ns-

P4=

X2+ Nas-

X1

1,23 4
8.19)

X1, X2, Ni, Pi 2 0, =

0

(

r

r= 0,

8.19

35
220/ 3

24

Pa

Ps

P2

P1

N4

ns

n2

ni

X2

X1

P

P1

P2

P2

Ps

0

1

20
35

220
60
20

280

20
35

115
95

210

Ps

P2

P

Ps

P2

P

Ps

P2

P>

Ps

P2

P1

ni

N2

N3

Na

Nni

X2

ns

N4

8.20

rz 0,

8.20
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X X1 X2 ni n2 ns Na Pz P2 Ps pPa
B Cs C B
b 0 0 Ps 0 P2 P21+ r) P: P1 0 0
Ps 20 1 0 0 0 0 0
Ci- Zi P2 210+ 95 4- r 2- r 0O -2+r 1 1+ r
P 0 0 1 1 0 0
4- r= 0,2- r= 0,1+ r= 0, l<r< 2
2< r< 4,2- r<0,4- r20 N2 ( 8.21)
8.21
X X1 X2 Ny N2 N3 N4 P1 P2 Ps Pa
B Ce B
b 0 0 Ps 0 P2 P2(1+r) P1 P1 0 0
N1 Ps 20 0 1 0 0 0 -1 0 0
X2 0 35 0 1 0 0 0 0 -1 0
ns P2 110 -5 0 0 - 3 1 0 0 3 -1 0
ns |P2(1+ 1) 95 1 0 0 1 0 1 0 -1 0 - 1195
Ps 20 1 0 0 0 0
Ci- Zi P2 210+ 95r| 4- r 2- 0O -2+r 1 1+ r
P 0 0 1 1 0 0
ni Ps 20 1 0 1 0 0 0 -1 0 0 0
N2 0 35 0 1 0 1 0 0 0 -1 0 0
ns P2 220 -5 3 0 0 1 0 0 0 -1 0
na [P2(1+ 1) 60 -1 0 0 0 1 0 0 0 -1
Ps 20 0 1 0 0 0
Gi- Zi P 280+ 60r| 4- r - 2+ 7 0 0 1 1+ r
P 0 0 0 1 1 0 0
> 4, X1 , 8.22
8.22
X1 X2 N1 n2 ns Na P1 P2 Ps pPa
B Ce C B
b 0 0 Ps 0 P2 P2(1+ r) P: P1 0 0
N1 Ps 20 0 1 0 0 0 -1 0 0 0 20
N2 0 35 0 1 0 1 0 0 0 -1 0 0
ns P2 220 -5 3 0 0 1 0 0 0 -1 0
ns |P2(1+ 1) 60 -1 0 0 0 1 0 0 0 - 1|60
Ps 20 1 1 1 0 0 0
Ci- Zi P2 280+ 60r| 4-r - 2+ v 0 0 1 1+r
P 0 0 0 1 1 0 0
X1 0 20 1 0 1 0 0 0 -1 0 0 0
N2 0 35 0 1 0 1 0 0 0 -1 0 0




X X1 X2 N1 n2 ns N4 p1 P2 p3 P4
B Ce C
b 0 0 Ps 0 P> P2(1+ r) P: P1 0 0
N3 P2 320 0 3 5 0 1 0 -5 0 1 0
na | Pa(1+ 1) 40 o -1 -1 0 0 1 1 0 0 1
Ps 0 1 -1 0 0
Ci- Zi P2 360+ 40r -2+ - 4+ 4- 7 1 1+r
P 0 0 1 0 0
8.19 r
min z= Pai(p:1+ p2) + P2(ns+ 2ns) + Pan:
s. t. X1 + ni- pi= 20- r
X2+ N2- p2= 35+ r
- 5Xi1t+ 3X2t+ ns- ps= 220
X1 - X2+ na- psa= 60+ 2r
X1, Xz,Ni,piz 0, 1= 1,234
r=0 N1, X2, N3, N4
1 O 0 O
. 0 1 0 O
5T 0 .31 0
0 1 0 1
1 O 00 20-r 20- r
0 1 0 0 35+r _ 3B+ r
0 -310 220  115- 3
0 1 0 1 60+ 2r 95 + 3r
( 8.23)
8.23
X X1 X2 N1 N2 ns Na p1 p2 p3 pa4
B Gs C
b 0 0 Ps 0 P2 2P: P P 0 0
ni Ps 20- r 1 0 1 0 0 o -1 0 0 0
X2 0 35+ r 0 1 0 1 0 0 O -1 0 0
ns P2 |115 3r| - 5 0 O -3 1 0 0 3 -1 0
N4 2P, | 95+ 3r 1 0 0 1 0 1 O -1 o -1
Ps 20- r -1 0 0 0 0 0
P> |305+ 3r 3 1 1 -1 1 2
P 0 0 0 1 1 0 0
20- r= 0,35+ r= 0, 115- 3r= 0, 95+ 3r= 0, - 31%3 r<2
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2

r<- 31 5, 95+ 3r< O, ,
8.24
8.24
X X1 X2 ni n2 ns N4 P2 p2 Ps P4
B Ce o B
b 0 0 Ps 0 P2  2P: P P 0 0
N1 Ps 20- r 1 0 1 0 0 0o -1 0 0 0
X2 0 35+ r 0 1 0 1 0 0 O -1 0 0
N3 P2 |115 3r| - 5 0 0 3 1 0 0 3 -1 0
p4 0 |- 95 3 -1 0 0 1 0 1 0 1 0 1
Ps 20- r -1 0 1 0 0
Ci- Zi P2 |115 3r 5 3 O -3 1
P 0 0 1 1 0
2
20- r= 0,35+ r=>0,115- 3r= 0,- 95- 3r= 0, - 35=r< 313 8.24
1 1
,115- 3r= 0, 20- r< O, r< 38 3 r= 20 20< r< 38 3
, N1 pr( 8.25)
8.25
X X1 X2 N1 N2 Ns N4 p1 p2 ps3 P4
B G c B
b 0 0 Ps 0 P 2P Pi P 0 0
p1 P r- 20 -1 o -1 0 0 0 1 0 0 0
X2 0 35+ ¢ 0 1 0 1 0 0 O -1 0 0
N3 P |115 3r| - 5 0 0 3 1 0 0 3 -1 0
N4 2P, | 95+ 3r 1 0 0 1 0 1 0O -1 0 1
Ps 0 0 1 0 0 0 0
Ci- Zi P. | 305+ 3r 3 0 1 -1 1 2
P1 r- 20 1 1 0 1 0 0
8.6
8.20 A
2 : 2.5 B 4 ,
1.5 A 800 1 200
12 , 8 , ; 7 ,
16 : 25 1800 ;
1 500
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A,B 200 ,230 A,B 1 500
1 000

Pi: 30 000;
P2: A 1500 ;
Pa: :
Pa: 30 ;
Ps: B 1000 ;
Pes.
X1, X2 A,B

1. 2xat+ 4xo+ m- p:= & 1% 25= 2400
2. 9X1+ 1. 5X2+ n2- p2= 18 ¥ 25= 2800
2. 800x:+ 1200x:+ ns- ps= 30000
3. X1+ nsa- ps«= 1500
X2+ ns- ps= 1000
4. p1+ nui- pu= 30
min z= Pips+ P2ns+ Ps3(6n:+ 5n2) + Pinu+ Psns+ Ps(6p: + 5p2)
S. t. 2X1 + 4xe+ m- pr = 2400
2.5x1 + 1.5X2+ n:- p2= 2800
800x:+ 1500x2+ ns - ps = 30000
X1 + na - pa= 1500
X2+ ns - ps = 1000
ni+ nui- pu= 30
X1, Xz,Ni,pi= 0, 1= 1,2 ,11

Ni, P> 0
8.21 5 , 1 1 ,2 ,
: 24 16 9 1.5
0.055 : 200 :
172 : 160 : 100
Pi: 14 500 ;
P2: :
Ps: 170 ;
Pa: ;
Ps: ;
Pe: 87 52
D X1l ;
X2: ,
X3: ,



X4 ;
Xs:
minz= P+ P2(nz+ ns+ nat+ ns+ ne) + Panz+ Pa(par + Part+ pai)
+ Ps(psi+ pe) + Ps(ne + No)

S. t. 24x1 + 16Xz + 9xsz+ 5xa+ 1.5Xs+ ni- p: = 14500
X1 + n:- p2= 200
X2 + ns- ps= 200
X3 + Na- pa= 172
Xa + ns- ps= 160
Xs + ne- pes= 100
0.55(16x.) + n:- p7= 170
0. 55( 9x ) + ns- ps= 87
0.055(5x4) + nNo- po= 52
p2 + Nai- pai= 24
ps + Nai- pa= 24
p4 + Nai- pa= 52
ps + Nsi- psi= 32
Ps + Nei- Per= 32
D X1= 224, x2= 224, x3= 224, x+= 665, xs= 132
1,2 3,4 : 5 : 505 :
; 14 500 : 12 000
100 2%, : 500
Pi: X
Pa: 12 000
Pa: 170 ;
Pa: 450
Ps: ;
Ps: 13200 ;
P 87 52
X1, X2, ,Xs , X6

min z= Pi(nz2+ N3+ na+ Ns+ ne) + Pa2ni+ Psns+ Pung
+ Ps(pazit+ put pat psit pa) + Pelu+ Pr(no+ Nu)
s. t. 24x:1 + 16X2+ 9Xs+ 5S5Xxa+ 1. 5Xs+ 2.4Xe + ni- p:= 12000
X1+ nz2- p2= 200
X2+ ns- ps= 200
Xs+ Na- pa= 172
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450

X6

X4+ nNs- ps= 160
Xs+ nNe- ps= 100
Xe+ Nnz- p7= 450
0.055(16x2) + ns- ps= 170
0.055(9x3) + no- po= 87
0.055(5%x4) + Nw- pPwo= 52
p1+ Nii- pu= 1320
P2+ Nai- pa= 24
Ps+ Nai- pa= 24
Pa+ Nai- pa= 52
pPs + Nsi- psi= 32
Ps + Ne1- Per = 32
Xi, Pi, Ni, Pxi, k1> 0
=12 ,6;j=12 ,10;k= 1,2, ,6
2.4 100
(0.02 12000/100= 2. 4)

D Xa1= 224, Xo= 224, X3= 224, Xa= 192, Xxs= 132, Xs= 450,

Ps

(a)
(b)
(c)
(d)

N |~

: 106

180 X
10

19 000 4 1

0.02,

100

113214



(a)
(b)
(c)
(d)

min z = Pin: + P2pa+ 6P3n2+ 4P3ns + Pap:
S.t. X1+ Xo+ ni- pi= 90
X1 + Nn2- p2= 70
X2+ Ns- ps= 45
X1+ X2+ na- pa= 100

X1, Xz, Ni, Pi 2 0, 1= 1,2,3,4

min z= Pip: + P2n2+ Pans
s.t. 10x: + 15x2+ ni- p2= 40
100x:+ 100x2+ n:- p2= 1000
X2+ N3- Ps= 7

X1, Xz2,Ni, pi=z 0, 1= 1,2,3

min z= Pai(ps+ pa) + P2(p:) + P32+ Pa(ns+ 1. 5n.)
S. t. X1+ X2+ ni- p:i= 40
X1+ X2+ n2- p2= 100
X1 + ns- ps= 30
X2+ Na- pa= 15

X1, X2, Ni, Pi 2 0, i= 123, 4

1 4
1 4
min z= Pi(2p: + 3p2) + P2(n3) + Pspa
S. t. X1+ Xz + ni- p:= 10
X1 + N2- p2= 4
5X1+ 3X2+ nNs- ps= 56
X1+ Xz + na- pa= 12

X1, Xz,Ni,pi= 0, 1= 1,234

b. 4 12,

1 1 2Xat+ X2+ ni- pi= 10,

‘min z= Pi(p:+ 2p2)+ P2(ns)+ Paps,

i X1= Xzt ns- ps= 4,
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10.

11.

12.

13.

14.

15. 14

274

min z= Pi(ni) + P2(n3) + Ps(n2) + Pa(p1+ p2)
s.t. 2X1+ X2+ ni- pi= 20
X1 + N2- p2= 12
X2+ ns- ps= 10

X1, X2, Ni, Pi 2 0, i= 1 23

min z= Pini + P2pz2+ P3(8ns+ 5n4) + Pap:
S. t. X1+ X2+ ni- p:= 100
X1+ Xo+ nN2- p2= 90
X1 + ns- ps= 80
X2+ Na- pa= 55
X1, Xz2,Ni,pi= 0, 1= 1,234

min z = Pi(ni+ p1) + P2(2pz2+ ps)

S.t. X1- 10x2+ n:- p:= 50
3X1+ 5X2 + n2- p2= 20
8x1+ 6X2 + ns- ps= 100
X1, Xz, Ni,pi= 0, 1= 1,2,3

min z= Pi(p:1+ p2) + Pans+ Psps
S. t. X1+ 2X2+ ni- pi= 4
4xX1+ 3X2+ N2- p2= 12
X1+ X2 + ns- ps= 8
X1 + Na- pa= 2
X1, X2,Ni,piz 0, 1= 1,23, 4

min z = Pi(ni1+ p2) + Pz2ns+ Psps+ Pa(ni+ 1. 5n2)
S. t. X1 + ni- p:= 30
X2+ N2- p2= 15
8x1+ 12x.+ ns- ps= 1000
X1 + 2X2+ na- psa= 40

X1, Xz, Ny, piz 0, 1= 1,2,3,4

minz= P:i(n + p1) + Pzps+ Ps(ni+ 1.5n2) + Pa(ns)



16.

min z= Pi(p:+ p2) + P2ns+ Pang

S. t.

2X1 + X2+ nNe-

X1 + Ns-

X1 + X2+ ni- p:i= 400

p-= 500
ps= 300

0. 4x1+ 0. 3X2+ ni- psa= 240

X1, X2, Ni, Pi 2 0,

17. 10

(a) Pa P 1

(b) P2ns
(c) 1
(d) 1 X1
18. 11 100
150, 75 ?
19.

P2(100ns)

min z =

S. t. X1-

1= 1,234

3,

D 2X1+ OXeo+ ni- pa= 20

-1

75, 90 80, ;100

Pi(ni+ p1) + P2(2p2+ ps)
10xX2+ ni- pi= 50- r

3X1 + SXo2+ n2- p.= 20- v

8x1 + 6X2:+ ns-

X1, X2,Ni, pi=2 0, 1=

20.

ps= 100
1= 1,23

minz= Pini+ P2p2+ Ps3((1+ r)ns+ 5ns) + Pap:

S. t. X1+ X2+ Ni-
X1+ X2+ No-
X1 + Ns-

X2+ Nas-

X1, X2, Pi, Ni 2 0,

21.

p.= 100
p= 90
ps= 80
p:= 55
i= 1,234

min z= Pi(p:+ p2) + P2(ns+ 2ns) + Pam

S.t. X1 +
X2+

- Bxi+ 3xq+

X1 - Xt

X1, Xz, Pi, Ni 2

(a) X1t Xo+
+ 2p5),

ni- p:= 20
N2- p2= 35
ns- ps= 200
Ns- ps= 60
0, i= 1234

Ns- ps= 50, Pz(n3+ 2I"I4)

90

P2(ns+ 2na
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(b) X3,
X1 X3+ ni- pi= 20
X2+ N2- p2= 35
- 5X1+ 3Xz2- X3+ ns- ps= 200
X1 - Xz + nis- pa= 60

X1,Xz2, X3, Ni, pi= 0, 1= 1,2,3,4
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9 DFS

9.1

9.1 m A1, Az, ,Amn B:, B2, ,Bn,
; g Mi,i= 1,2, ,m B; Di,j= 1,2,
B Gi,=1,2, ,mj=12, ,n
: ?
X i Ai Bi YVi= 1 Ai , yi= 0, 1= 1, 2,
2, ,n :

min z = Zm Zﬂ CiXi + Zm giYi

S. t. ZXi: Di, j= 1,2, ,n
-1

Z Xi < |V|iyi, i= 1,2, , M
-

xi=2 0, 1= 1,2 ,m;j=1,2, ,n
yi= 0 1,1= 1,2, ,m

Zm Xi = Dj B; , Z Xi < Miyi Ai
- -1

| , m A1, Az, ,Anm, Ai k
2, ,m k=12 I B:, B2, ,Bn; Bj k
2, ,nm k=12 I k Ai Bi Cik,
Ai ) ;

m n |
min z = z Z Z Ciik Xijk

—1 =1 =1

m

S. t. ZXikz Djk,j: 1,2, , N, k = 1,2, ,
=1

ZXikS Mi, 1= 1, 2, mk= 1,2,
—

Xijk

9.2 n

Ai
, N Ai
,m; j=1,
M

Mi, I= 1,
Dix, j= 1,

C., C2, y Cn
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D= (dij)nx n, di

(9. 1)

(9.2)

(9. 3)

2, ,n+ L 1% j

Xi= 1 [ : xi= 0,1= 1,2, ,n
max z = CGXi1 + CXz + + CiXn
S. t. aiXx1 + a:xz+ + axn< b
xi= 0 1,i= 1,2, ,n
9.3 n Vi,Vz2, ,Va,
Vi o Vi ,di= 0 Vo n
Vo,
Xi=1 ViV : Xi= 0 Vi+ 1= Vo,
none1
min z = ZO jzilidinij
S.t. igoxiz 1, j= 1,2, ,n+ 1
n+]1
leiz 1, 1= 0,1,2, ,n
P# i
u- u+ (n+ 1)Xx5<n
1= 01 ,n,j=12  ,n+ 1, 1% j
xi =0 1,i= 0,1,2, ,n,j =1,
ui> 0
(9.1) (9.2 ,(9.3)
N= 6, X12= X2= Xa1= 1, X45= Xs6= Xea= 1, xi= 0, 9.1
9.1
(9.1) (9.2 (9.3
Us- Us+ 6< 5
Us- Us+ 6< 5
Us- Us+ 6< 5
6< 5
n J1,J2, ,Jn Ji ,
,Lk=12 ,n, iZ Kk
9.4 m , N
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9.6

9.7

min

S. t.

1
max z =

S. t.

liai + |2

min z =

S. t.

Ai , Ai m ]
[ Ci
Z= Z CiXi
-1
n
Z Axi= Ao
-1
xi= 0 1,1i= 1,2, ,n
n 1,12, , In, m
i : A= (ai)m »,
C=(a e c),c i
) Xi= 0, IF 1, 2, , N
CX1 + CX2 + + CiXn
Au1X1 + au2X2 + + anXn < b
AzX1+ ax=zXz: + + anXn< b
an1X1 + am2X2 + + amXn < b
xi= 0 1,i= 1,2, ,n
l1, 12, ,Im b1, be,
n
aui
azi
Ai = ,i: 1,2, , N
Ami
Az + + lmami< |, 1= 1,2, ,n
l1, 12, ,Im b1, be,
Xi Ai ,
X1+ X2+ + Xn
Ai1X1 + awX2 + + anXn = h
ai1X1 + Q2Xz2 + + anXn = b
amiX1 + @m2X2 + + @mXn = Dm
Xi = 0, 1= 1,2, ,n

ai —
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m

min z = Zlfi(Xi) (9.4
S. t. Zlgii(Xi) < b,j=122 ,n
Xxi= 0, 1= 1,2, ,m
f(x) [a, b]
9.2 :
[a, b] n :
a= a< a< < a-1< a=Db
X [ai, & 1]
X = tiai+ twiai 1,
tit tio:= 1,6, 612 0 9.2
f(x) = tf (ai) + tir 2f (@i 1).
f(x) :
X = tiar + teaz + + fthan
f(x) = tuf (ar) + tof (@2) + + tof (an)
tit e+ +t=1, ti 0, 1= 1,2, ,n, 0,1 yi,Yz, ,Yyn, yit y+ +
y»=1
ty < yu
t2 < Y1+ Vo
W
tiv 1 < Vit Vi
W
th < Yo
Yi 1, yi=0,j=1,2, ,n, jZ 1 ti< yi, tis 1< Vit Vi1, ti< 0,
j£ Lt 1, tit o+ + o= 1
tit tie1= 1
: (9.4) tii, Yik

min z = Zml ilf i( aik)tk

S. t. Z Z gi(ax)tk< hb,j= 1,2, ,n

0< tu< yu
0< tie< Yii + Ve

OS ti,n.— 1S yi,ni— 2+ yi,ni— 1
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OS ti,ni S yi,ni— 1
Yo+ Yi2 + + Yino2= 1, 1= 1,2, ,n
tio + tix + + ti,ni: 1, 1= 1, 2 , N

yk= 0 1, i= 1,2 ,n

k= 1,2, ,ni
9.2
max z= Cx + dy
s. t. Ax+ Dy< b
x=2 0,y=> 0
X
X= (X1 Xz Xo)',y= (Y1 Yo yv)', A= (@i)m n, D= (dpa)m n,
b= (b b )", C= (& G),d= (d: d dn)
Ax+ Dy<s b,x= 0,y=0 n+n’ X
X , Z= Cx+ dy : X
, X
9.8 max z = 2Xi- X
S.t. Bxi1+ 7X25 45
- 2X1t Xz<
2X1- 5X2< 5
X1,X22 0
9.3
9.3
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6,% ,  Z= %3
X1 ]
2X1- 5X2= 5
X1+ 7X2= 45
,  x1= 260/ 39, x2= 65/ 39, z= 35/3
? ,
9.9
9.9 max z= Xi+ Xo
S. t. 3Xi- X252 3/2
- Xat X< 1/2
X1, X2 2= 0,
: X1= 1, X2= i, max z= % X1= X2
=1 (1,1) : , (0, 0)
9.4
9.4
9.10 max z = 5x: + 8Xe
S. t. X1+ X2 £ 6
oX1+ 9X2< 45
X1, X222 0
( 9.9),

X1+ X2= 6
51+ 9x.= 45

_ 9 _ 15 _ _ 1
X1 = 4,X2— 4,2— 414,
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9.5

LX1J=L%J= 2
M 1= 32 |- 4
(2,4)
(2 3) 7= 34 (0,5) |
9 15
4’ 4
9.3
A= (a3)m o, 0,1
-1, 0,1,- 1
A , B 0,1,- 1
xe= B 'b, b ,  Xs
9.11 3 J1,J2,J0s; 3 A1, Az, As;
C= (ci)s s, ci= Ji Ai ,1,j= 1,23
xi=1 Ji A : xi= 0

3 3
minz:Z ZCini

-1 £=1

3

s t. S xi=1,j=123
-1
3

in= 1, 1= 1,2, 3
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Xi= 0 1, =123
A
1 001 0 0100
0O 1001 0O0 10
O 01 00 1 0 012
A= 111 00 00 0O
O 0011 10 00
O 00 00O 01 11
A 1 , A 3 3 , A <6, 6
0 A 0 1, 2 0,1
0,1 - 1, k+ 1
0,1 -1 B k , B 0, det(B)=0 B
1, det(B)= * det(B'),B" k- 1 , det(B)
0,1 -1
B 1, 3 ,
9.4 O0-1 DFS
9.4.1
0,1 ,
0-1 :
0< x< 2"°
x=2yi+ 2"+ 4 2yi 4 Yo
y=0 1,1=0,12 I, X Yo,Y1, ,yr 0-1
- 0-1 (n ):0sxi1,i=12, ,n
; : 9.12
9.12 max z= 2X:+ Xz - Xs
S.t. X1+ 3Xo2+ Xa< 2
4X, + X3< 5
X1t 2X2- X3< 2
X1+ 4X2- X3< 4

X1, X2, X3 = 0 1
X1, X2, X3 232 8 , 9.1
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9.1

(1) (2 (3) (4) X S z
X X2 X3
0O 0 O 0 0 0 0 0
0O 0 1 1 1 -1 -1 1
0 1 0 (3) 4 2 4
o 1 1 (4) 5 1 3
1 0 O 1 0 1 1 2
1 0 1 2 1 0 0 1
1 1 0 (4) 4 (3) (5
1 1 1 (5) 5 2 4
9.1 () 010 (1) (3), x1= x3=0,
X2= 1, 1 X1= 1, X2= Xsz= 0,
z= 2
o(2"), n :
n= 100, 2'"= 1. 267% 10°, 10’
:T=1.267% 10°/3.153& 10'= 4.0198 10" 3.153¢ 10'= 36% 24
x 3600, 365 , 3.1538 10’
, , 9.6
3
9.6
9.4.2 DFS
DFS
DFS Depth First Search
9.13 & 4 , , 4
() :
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(b)

’ ( 9'7)
9.7
[ S : O(n!), (Stirling) n!
an L g [ =
1 h , 2 i , 3 i 4
,h, 1],k : 1,234 hi k 9.8
2413
9.8
DFS
9.9 (1) 1 1 , (2) x 2
(6)
(1) 3 ,(8)
2 , (9) 1 1 :
] ] 2
DFS ¢ : ) :(7)—(8) 3 ;
2 : 1, 1 1 , 2
9.7 ,
x ?< b
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9.10

9.14

F> N\S,

F

9.9

9.7 DFS

9.10

0-1 DFS : ‘ ",

max z = Xit+ X2 + Xs
S.t. 2X1- OBX2+ 6Xs< - 4
X1, X2, Xs= 0 1
, X2, X1, X3, S
S
S= {xs= x1= 0, x2= 1}, X3
287-



=0, X1= 0, X.= 1 S Xs= 0, S

{x1= 0, x2= 1}, S= {x1= 0, x2= 1}, x1= 1
( 9.11 ), 9.12
9.11 9.12

1. S= {x.= 0}, k=1, x2= 0, X1 X3 0 1 2X1- bx2+ 6xs
<-4 x2= 0

2. 5= {x2= 1}, S= {x:= 0, x.= 1}, S= {xs= 0,x1= 0,x2= 1},
k=3,z=1

3. X3= 0 : S= {xs= 1, xa= 0,x.= 1},k= 3

4. S= {x3= 1,x1= 0, x2= 1} ,

5. S= {x1= 1,x.= 1}, S= {xs= 0,x:1= 1, x2= 1},

6. S= {xs= 1,x:= 1,x.= 1}, : : k= 0,

X2= 1,X1= X3= 0,z=1

9.5 DFS
9.5.1

DFS
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< 0, Xk= 1- Xk, Xk

, xx=0 1 , ,
¢= 0,)=1,2 ,n
(a) :
(b) Zmin
9.15 min z= - 5yi+ 7y.+ 10ys- 3ys + ys
s.t. - Yi- 3y2 + 5ys - Yyai- 4ys> 0
- 2yi1- Oy2 + 3ys- 2y 2ys< - 4
- Y2 + 2ys + Y4 - Ys= 2
yi= 0 1,i= 1,23,4,5
yi= 1- X1,Yy2= X2,y3= X3, ys= 1- X4,Ys5= Xs, S, 8, S
min z= 51+ 7Xz+ 10xzs+ 3X4a+ Xs- 8
S.t. - Xait+ 3X2- 5Xs - Xat 4Xst+ S= - 2
2X1- ©6X2+ 3Xst+ 2X4- 2Xs+ 2= 0
X2- 2X3 + Xa + Xs+ S$=- 1
xi= 0 1,i= 1,2,3/4,5
s=0j=123
, S S(E, 2, 3) X1= 1, X2= Xs= 0, X1=
0,
S
si= bi- JZS+ aij, 1= 1,2, ,m
z= Z G
[
S'={jg sS,xi=1}, S S xi= 1 =12 . m
s 0,
1 S’
Xj = .
0O j|] S
Xx= (x1 X2 Xn) ' ii s<O0, x
K, S s%, x x", s, x'
: : : : N=1{12 ,n}
S1. A« {j N\s%e! s“<0 i, a;> 0}
. (K (k) (k) — i
( s’< 0 X si'= b ,—Zs+aij : J
A X, O 1 X" , A,
i A X : N\ S\ AL
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S2. B«> N\A\SY, B«= , N= A« S,
C«” {j BxC+ 6= zmin}
( :C« Bk : i C,xi O 1, zx+ 6= Zmi,
i G , B C, )
S3. Ex” B\Cx, Ex= :

Fo > {1 M&" < O,Zmin{o,a;}> s’}
I

( : F« , i M, &< 0, ,
ai< 0 ,x; 0 1 g%
(k) (k) .
: S s < min{ O, ai }
2. |
) Fe S4
S4.
Vi = min{0, s - as},j E
j Zl { i} ] k
VI= mjax{v;},
x=1, X1 <1 X1 0 1,
: min{ 0, s’ - aj X 1 ,
(Y ming } .
ai< 0, si- ai> 0, i , Z min{O,s(ik)- ai} = 0,
0
Xii , , min{0,s" - a;} < 0,
| . min0,8" - )
)
, 9.13

9.13
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9.5.2

9.16 min z = 3x: + 2X2+ 5X3t+ 2Xat+ 3Xs
S.t. - X1 - Xz + Xst 2Xa4 - Xs< 1
- TXa + 3X3- 4Xa- 3IXs< - 2 (9.5
11x1- 6X2 - 3Xa- 3Xs< - 1

xi= 0,1, 1= 1,2,3,4,5

S, S, Ss
min z = 3Xi1+ 2X2+ b5Xs+ 2Xs+ 3Xs

S. t. - X1 - X2+ Xzt 2X4 - Xs+ 5 =1
- X1 + 3X3- 4Xs- 3Xs+ = - 2
11x.- 6X:2 - 3Xsa- 3Xs+ s=- 1

xi= 0,1, 1= 12345 s=>0,j=1,2,3

1. $’=-2<0,8"=-1<0, x=(0 0 0 0 0)F ,
j= 3, ax, as= 0,A:= {3},B:i= {1,2,3,4,5,Ci= ,F:= ,E:={1,2 4,5},
vi= min{0, 1+ 1} + min{0,- 2+ 7}+ min{2,- 1- 11}= - 12
v2= min{0, 1+ 1} + min{0,- 2}+ min{0, - 1+ 6}= - 2
va= min{0,1- 2}+ min{0,- 2+ 4}+ min{0,- 1+ 3}=- 1
vs= min{0, 1+ 1} + min{0,- 2+ 3}+ min{0,- 1+ 3}=0
vi= max{- 12,- 2,- 1,0}=0,vi= Vs
2. vs= 1, (9.5)
min z = 3Xxit+ 2X2+ 5X3+ 2Xa+ 3

S.t. - X1 - Xz + X3zt 2Xat Si= 2
- IXat+ 3Xo - AXat = 1
11x:- 6X:2 - Xt S= 2
xi= 0,1, 1= 1,234 s,%%=> 0
S: = {E_S},Azz ,B2= {1,234,C.= ,F2= JE2= {1,234}

X1= X2= X3= X4= 0, xs5= 1,z= 3

vi= min{0, 2+ 1}+ min{O, 1+ 7}+ min{O0, 2- 11}= - 9

v.= min{0, 2+ 1}+ min{O, 1} + min{0,2+ 6}= 0

vs= min{0, 2- 1}+ min{0, 1- 3}+ min{0, 2+ 3}= - 2

va= min{0, 2- 2}+ min{0, 1+ 4}+ min{0, 2+ 4}= 0

vi= max{- 9,0,- 2,0}=0,vi= vz
3. x2= xs= 1,  Ss={2,5},  (9.5)
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min z= 3X:1+ X3+ 2X4+ 5

S. t. - X1 + Xzt 2Xas+ Si= 3
- X1+ 3X3- 4Xst S= - 2
11X - 3Xst 3= 8

X1, X3,X4= 0,1; s1,9,3=>2 0
Z3> Zmin= 3,
4. Si= {2,5}, xo= 0,xs= 1  (9.5)
min z = 3Xi1+ 5Xs+ 2Xa+ 3
S.t. - X1 + Xst+ 2Xat+ S= 2
- X1t 3Xs- 4Xat =1
11x: - Xat = 2

X1, X3, X4= 0,1; s1,9,3=2 0

Z4> Zmin,
5. Ss= {5},
min z = 3Xa1+ 2X2+ 5Xs+ 2Xa4
s. t. - X1 - X2 + X3+ 2Xat+ si= 1
- IX1 + 3Xs- 4Xat S= - 2
11x:- 6X: - 3Xat 3= - 1

X1, X2,X3,X4+= 0,1;5,9,52 0
As= {3},Bs= {1, 2, 4},Cs= {1},Es= {2, 4}, Fs=
v2= min{0, 1+ 1}+ min{0, - 2} + min{0,- 1+ 6}= - 2
va= min{0, 1- 2}+ min{0, - 2+ 4}+ min{0,- 1+ 3}= - 1
6. Se= {4,5},
min z = 3X1+ 2X2+ 5Xs + 2

S.t. - X1 - X2 + Xs+ Si=-1
- TX1 + 3X3+ &= 2
11x.- 6x: + = 2

X1, Xz2,X3= 0,1, 5,5, 0
As= {3},Bs= {1, 2},Cs= {1,2},Es=

7. S7= {4, 5},
min z = 3X1+ 2X2+ 5Xs
S. t. - X1 - X2 + Xs+ si= 1
- IX1 + 33Xzt = - 2
11x:- 6X:2 + S=- 1

X1,X2,X3= 0,1; s,%,%2 0
A= {3},B={1,2},C={1},E= {2}, F+=
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X2= 1,

8. Ss= {2, 4,5},
min z = 3Xa+ 5xs3 + 2
s.t. - X1 + Xt Si= 2
- X1+ 33Xzt = - 2

11x. + %= 5
X1, X3= 0, 1 3,9, 0
As= {3},Bs= {1}, Cs= {1}, Es= )

9. So= {2,4,5},
min z = 3Xi+ 5Xs
S.t. - X1 + Xs+ si= 1
- Xat Xzt S= - 2
11X + S=- 1

X1,X3=2 0, s,%,= 0
Ao= {3},89: {1},C9: {1},E9: ,

X1= X2= X3= X4= 0, Xs5= 1, Zmin= 3

: 9.14
9.14
9.14 1,2, ,15
(1), (2) 1, 2
0.6
9.6.1 (Geoffrion)

- X1+ 2X2< - 1,2X1- X2 < - 1, Xi,X2= 0,1

X1+ X2 - 2,

293:



0-1

u,

min z = Cx
S. t. AX< Db
x= {0, 1}
u(Ax - b)
um)= 0

Cx,x={0,1}, u

s.t Z aiX; < b, i= 1,2, ,m
xi= 0 1, 1= 1,2, ,n
Z Uiz a;Xj = Z U|b|
() )y . () ()
, u> 0 :
u'= 0, u’= 0,
XrQ%{u(b- AX) + Zmn- CX} < Xm%{uz(b- AX) + zmin - CX}
u'(b- Ax}+ zmn- Cx= 0 u’(b- AX)+ Zmin-
min max

min max {u(b-

uz 0 x=
max{u( b- AX)+ Zmin-

m

Cx}

max

ils
Xj: (0, 1)

m
= ZTiUi'l' Zmin - Zs+
=1

AX) + Zmin - CX}

U| |' ZaI]XJ - Zsain + Zmin - ZstXj -
k i k k

NG

x—(Ol)

ZSQXJ
k

ZmlTiUi+ Zmin - Zs + max stk(- 1) ZmlaiUi+ G X;‘Os X <

Ti= bi- Zsainj, i
k
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1

(9. 6)



max w = Z (- 1)2 (aiui+ G)X

X < 1,j F«
>

X O,j F«

min z = - Zyj
I k

yi = - Z aili + G
j =

yi = 0,]j F«
,(9.6)

ZlTiUi+ Zmin - Zs + mMin ngyj@{j 2 O,Yi 2 - ZlaijUi+ G !j I Sk

Ti= bi - jngain,i M, zs= jZkQXj
J

Sk Xi
O< x;=1,j=1,2, ,n

(9-6)
min w = Tiui + i + (Zmin - Zs
Zl jZKYJ ( )
S. t. - Z aiui- Y < Q,j F«
ui,y; = 0, i M, j F «
Wmin< O , W min= O, Sk , Ui
9.6.2

Si= {5),8%= 2,¢%= 1, ¢"= 3, zmn= 3,

MNW= U - 2U2- Us+ Yi+ Y2+ Yys+ ya

S.t. Ui+ 7Uz2- 1lus- Y1 < 3
U + 6us - Y2 < 2
- Ui- 3u: - Vs < 5
- 2ui+ 4u: + 3us -y« 2
u,y; =2 0,1= 1,2,3;j= 1,2,3,4
( 9.2)
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9.2

U1 U2 Us Y1 y2 Y3 ya S ® S S
Gs C B
b 1 - 2 -1 1 1 1 1 0 0O O 0
S1 0 3 1 -11 -1 0O O 0 1 0 0 0 o3/ 7
ss| O 2 1 0 6 0 -1 0 0 0 1 0 0
Ss 0 5 1 -3 0 0 0-1 0 0 0 1 0
S 0 2 2 3 0 0O 0 -1 0 0 0 1 12
0 1 o-1 -1 1 1 1 1 0 0 0 0
uz [- 2 37 v7 1 - 11/7- 17 0 O 0 1/7 0 0 0
S 0 2 1 0 6 O -1 O 0 0 1 0 0 3
Ss 0 4417 a4/ 7 0O - 337-37 0-1 0 317 0 1 0
S4 0 217 18/ 7 0 o657 47 0 0 -1 - 4/7 0 0 1 02/ 65
- 6/7 o7 0 029/7 57 1 1 1 217 0 0 0
uz |- 2 i_ég 455_65 1 0o - %5 0O O 6_é1 - 42_515 0 0 %5[
S 0 %3 g—é 0 o - é_g -1 0 - é_g é_g 1 0o - g'_é
s| O 249—52: %2 0 0 - %35 0-1 - % 46—53; 0o 1 %
us [- 1 6_25 é_é 0 1 6i5 0O O 6A5 - 6_45 0 0 6_75
u:= 0, u2= 0.47, us= 0. 03
0.477[ - 2- (- 7x1+ 3Xs3- 4x4)]+ 0.030[ - 1- (11xi- 6X2- 3X4)]
+ (3- 1)- (3x1+ 2x2+ Sxs+ 2x4)= 0
- 0. 004x:+ 1. 82x2+ 6.54xs- 0.01x.< 1. 016, X2= X3= 0
S:= {2,3,5},
min z = 3Xi1+ 2Xa
s.t. - Xat+ 2x42 1
- (X1 < - (9.7)
11x:- 3Xa< -
X1,Xa= 0 1
(9.7) DFS
A= ,B={1,4},C= {1}, E= {4}, F=
x:= 1, So= {4,235},
minz = 3x1+ 2
s. t. - xag - 1
- Ix1<
11x.<
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S«= {4, 2, 3, 5},
min z = 3x:
S. t. - xa< 1
X1< - 2
11xa< - 1
x1= 0 1
9.18 min z = 2xa+ 4Xx:+ 6Xst+ 8Xa+ 12Xs
s.t. - 8Xi+ 4X2 + X3 - X4 - SXs< - 5
- 6xat+ 33X+ 2Xs - Xs< - 2
2X1- OX2- Xzt 2Xa - Xs< - 4
xi= 0,1, 1= 1,2,3,4,5
DFS
1. Si= A= ,B:={1,2,3,4,5},CG= ,E:i= Bi, F:i=

vi= min{0, - 5+ 8}+ min{0, - 2+ 6}+ min{0,- 4 2}=- 6

v2= min{0,- 5 4}+ min{0,- 2- 3}+ min{0,- 4+ 9}=- 9- 5= - 14
vs= min{0,- 5 1}+ min{0,- 2- 2}+ min{0,- 4+ 3}= - 11

va= min{0, - 5+ 1}+ min{0, - 2}+ min{0,- 4- 2}=- 12

vs= min{0, - 5+ 5}+ min{0, - 2+ 1}+ min{0, - 4+ 3}= - 2

vs= max{- 6,- 14,- 12, - 11,- 2}

2. S:= {5}
min z = 2X1+ 4X2+ 6X3+ 8xa+ 12
S.t. - 8Xxit+ 4x2 + X3 - X4 0
- BX1+ X2+ 2Xs <-1

2X1- OXo- Xs+ 2X4< - 1
xi= 0,1, i=1234
A= B:={12 3,4 ,C= |E2= B, F:=
vi= min{0, 8}+ min{0, - 1+ 6}+ min{0,- 1- 2}=- 3
v2= min{0,- 4}+ min{0,- 1- 3}+ min{0,- 1+ 9}= - 8
va= min{0,- 1}+ min{O,- 1- 2}+ min{0,- 1+ 3}= - 4
va= min{0, 1}+ min{O0, - 1}+ min{0,- 1- 2}=- 4
vi= max{- 3,- 8,- 4,- 4}=- 3
3. Ss= {1, 5},
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min z= 4x.+ 6xs+ 8x4+ 14
S.t. 4K, + X3 - X4< 8

X2+ 2Xs <5

- OX2- 3Xsz+ 2Xs4< - 3

X2, X3, X4— O, 1
As= {4}, Bs= {2, 3}, C= , E3= Bs, F3=

v2= min{0, 8- 4}+ min{0,5- 3}+ min{0,- 3+ 9}=0
va= min{0, 8- 1}+ min{0,5- 2}+ min{0,- 3+ 3}=0

= 4< o= 6, X2= 1

X1= X2= Xs5= 1,X3= Xa= 0,Zmn= 18

S={2,1,5}
minz= 6xs+ 8x.+ 14
S.t. X3 - Xa< 8
2X3 < 5

- 3Xs+ 2X4< - 3

X3, Xa= 0,1

X2— O,X1= Xs5— 1

u
min w= 8u:+ 5uz2- 3us+ ys+ y.+ (18- 2- 14)
S.t. - Ui- 2U2+ 3Us- VY3 <6
Uz - 2Us - y«< 8
u,yiz 0,i= 1,2,3,j= 3,4
9.3
9.3
ui u2 us ys3 Y4 S1 N3
Cs c
b 8 5 - 3 1 1 0 0
S -1 - 2 -1 0 1 0
S 1 0 - 2 0 -1 0 1
8 5 -3 1 1 0 0
Us - 3 2 - Y3 - 2/3 1 13 0 13 0
S 0 12 /3 - 4/3 o - 23 1 2/ 3 1
- 6 7 3 0 0 1 1 0
4. S.= {1,5},
u u(b- Ax)+ (zmin- d- Cx), d= gcd{ci, @ .o}, d= 2
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min z= 4x.+ 6xs+ 8x.+ 12

S. t. 42 + X3 - x4 0
X2+ 2Xs <-1
- OX2- 3Xs+ 2Xx4< - 1
X2, X3, Xxa= 0 1
u
mnw=- U- Us+ Y1+ yo+ ys+ (18- 2- 12)
S. t. - 4ui- 3u2+ 9us- ya + si= 4
- Ui- 2u2+ 3us - Y2 + = 6
Uz - 3us - Y3+t %= 8
ui,yiSi= 0, 1= 1,2,3
9.4
9.4
Ui Uz Us Y1 Y2 VE S S S
= b X o -1 -1 1 1 1 0 0 0 P
s 0 4 -4 -3 -1 0 0 1 0 o o9
6 -1 -2 3 o -1 0 0 1 0 2
8 1 0 -2 0 0 -1 0 0 1
0 0O -1 o1 1 1 1 0 0 0
Us -1 4/9 |- 49 - U3 1-1/9 0 0 1/9 0 0
0 42/ 9 V3 -1 o 13 -1 0-1/3 1 0
0 80/9 9 - 2/3 0- 2/9 o -1 2/9 0 1
49 - 2/3 0 10/9 1 1 1/9 0 0
: w< 0,
5. Ss= {5},
min z= 2xX:1+ 4x:+ 6X3+ 8Xa
S.t. - 8Xait+ 4X2 + X3 - X4 - 5
- bXit+ 3X2t+ 2Xs <- 2
- 9Xi-  3Xe + 2x.< - 1
X1,X2,Xs3,Xa= 0,1
As=  ,Bs=(1,2,3,4),Cs= ,Es= Bs, Fs=
vi= min{0, - 5+ 8}+ min{0, - 2+ 6}+ min{0,- 4 2}=- 6
v2= min{0, - 5 4}+ min{0,- 2- 3}+ min{0,- 4+ 9}=- 14
vs= min{0, - 5 1}+ min{0,- 2- 2}+ min{0, - 4+ 3}= - 11
va= min{0, - 5+ 1}+ min{O, - 2}+ min{0,- 4- 2}=- 12
vi= max{- 6,- 14,- 11,- 12}, x:=1

299-



. Se= {1, 5},
min z= 4x.+ 6xs+ 8xs+ 2

S. t. 4X2 + X3 - Xa< 3
3X2+ 2X3 < 4
- OX2- 3Xst+ 2X4< - 6
X2, X3, Xa= 0,1
As= {4} ,Bes= {2, 3},C= ,Ee= Be, Fe=
vz= min{0, 3- 4}+ min{0, 4- 3}+ min{0,- 6+ 9}=- 1
vs= min{0, 3- 1}+ min{0, 4- 2}+ min{0,- 6+ 3}=- 3
x2=1

7. Si= {2,1,5},
minz= 6xs+ 8Xs+ 6
S.t. Xz - X< - 1
2X3 <
- 3X3+ 2x4< 3
X3, Xa= 0,1
A= {3},Bs= {4},Cs= ,Es= Bes= {4}, Fe=
xa= 1

8. Si= {4,2,1,5}
min z= 6xs+ 14
S. t. X< 0
2X3< 4
- 331
xs= 0,1
xs= 0, S={3,4,2,1,5} Zmin= 14
9. So={4,2,1,5}
min z= 6xs+ 6
S. t. X< - 1
2x3< 1
- 3xs3< 3
xs= 0,1
10. Sw= {2, 1, 5},
minz = 6xs+ 8Xxs+ 2

IN

S.t. X3 - Xa
2X 3 < 4
- 33Xzt 2Xu< - 6
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X3, Xa= 0,1

Aw= {4},Bw= {3},Cw= ,Ew= {3}, Fuzt ,
11. Su= {1, 5}
min z = 4x:+ 6Xx3 + 8Xa
S. t. 4X2 + X3 - Xa< -
X2+ 2X3 < -

A N Ol

- OX2- 3zt 2X4< -
X2,X3, Xa= 0,1
Au=  ,Bu={2,3,4},Cu= ,Eu={2,3,4},Fuz
12. Sw= {5},
13. Si=

X1= X2= X4= 1, X3= X5= 0, Zmn= 14

9.7
9.7.1
9.19 5 Vi, V2, V3, Vi, Vs
v, © 11 1 17 2
v, 11 oo 23 1 3
D=vs 1 23 o 10 8 = (di)xs
Va 17 1 10 o 6
Vse 23 8 6 o
V, V, V, VvV, V
di=vi Vi D cdi= dij, Vi Vi Vi Vi

1i1j= 112131415

1. )
d13(: 1),d24(= 1),d15(: 2),d25(= 3),d45(: 6)
dis+ dast+ dis+ dos+ das= 1+ 1+ 2+ 3+ 6= 13.

5 3 5
2. dis, V1Vs : 5 : V1Vs
5 dss dis, diz+ d2at dzs+ dsst das= 19, 5
3
3. dis d2s 5 : dist+ dis+ d2st+ dss+
dss= 18, 5 3
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d45

d45, d35

V1iVs

d13, d24, d15, d25, d45,

4. dis, dzs,
5 3
5. dis, dos,
= 17 123,45
17
9.15
9.15 15, 15
5
: 17,
: 17,
17 , ,
9.7.2
9.20
D
00 14 30
10 o 11
4 6 o
15 10 13
13 3 4

- 302-

Vi

V2

D= vs
Va
Vs
5 6
4 3
5 6
00 2
11 o

Ss(13, 25, 24, 25, 34) = 17

10

15
13

w N A~ W O

5

9.15

dis+ dis+ dzs+ dos+ ds= 15,

V1Vs

13,

15

5

sdizt dist d2et+ dast dsa

Vi-V3si->Vi-V2-5Vs - Vi,

© Su( 13, 24, 15, 25, 45) = 13,

di dii
5 6
4 3
5 6
00 2
11 o
vV, V.
o 9
7
0 2
13 8
10 O

Ss(13, 15, 24, 25,34) = 17
S2(13, 24, 25, 35, 45) = 19, Ss( 13, 24, 15, 35, 45) = 18,

15

© 8 B p O
8 o N O

17



1

9 24 O

(0]

10

13 8
10

18

5+ 3+ 4+ 2+ 3

17=

V2

V2, V3, Va, Vs

V1

V3

D:

Vi

V2

V3

D:

10

13 8

V4

10 O

Vs

DJ

Va,

V1

V4 - V1

V4

V1

3

yo]

LO

>

<

>

@ -
O N O g
(32}
7mm_ov
g N © O
70mn1U_V1

S 2 5 32 o

I 1

<t

m go)

o

>

i)

<t

>

<t

>

25,

18

>

g N O™~
N~ Om_Vl
N ™M™ wn
> > >

1

™

(A

Ds

18+ 7

25=

D:

Vi—- Va4
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0
0
2

8 23 o
7
00}

1
0
2

9 24 o
7
(e0]

V1
V2
V3

10 0 13 8 10

13 8

Va

19

V4 - Vs,

V2

V3

Va

Va

18+ 6

26=

o0

Vs 10 O O

18

V'

()

9.16,
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Vi - Vs> Vs - V2 -5 Vs - V2
25, 25 , 25 )

9.7.3

9.21 A, B,CD Ji,J2,J3, J4

9 6 59 73
79 15 93 87
81

16 79 86 26
J, J, J, I,

O 0o wm >
(o))
\l
©
W
=
w

Ji,Jd2,J3,J4 A,B,C,D, , ,
A \]1 y C A \]1

C 93 13 81
D 79 86 26
‘] 2 ‘] 3 ‘] 4

‘B J2,C Js, D Ja J2 15, Js
13, J- 26 99+ 15+ 13+ 26= 153,

AaBCD
153

ABCD , A A , ,

A 6 59 73
C 93 13 81
D 79 86 26

BACD , 124 153
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€CAAD ®ACA
158 108
€AAD , 158 > 124, ®ACA 108 < 124,
D J1 , A,B,C J2 ,
® A CC ® B CA D CAA
116 117 242
® 8 CA 8 ACD
’ 117 ’ 124
® A CC
116
® A B C O A €B
196 122
® & CA ® 8 CA
, , D Ji,B J2, C
117 117
117 9.17
9.17
0.8
9.22 max z= Xi:+ Xo
S. t. X1+ %XzS 4%
- 2X1 + X< 1
X1,X22=2 0

306-

® €CAA
242

Js, A

Ja



(1) 9.18

9.18
1= 56 X, = 145 _ 201
'T 33 %7 33'°7 33
1< x:1< 2,
(2) max z= X1+ Xo
S. t. X1+ %XzS 4%

- 2Xa + X221
0< x1< 1,x22 0
'x1= 1, x2= 3,z:.= 4
max z= X1+ Xz

S. t. X1+ %XzS 4%
- 2X1 + X< 1
X122 2,X22 0
DOX1= 2, Xe= 3%,222 5%
22> 271, X122 2 71 Z2 0< x1< 1,Xx1=> 2 ,
3< X< 4,
(3) max z = X1+ Xo
Ss.t. X1+ §x25 4 —
5 3 (9. 8)
- 2X: + X221
X122 2,0 x2< 3
VIR < _c8
D X1= 2 15,X2— 3,z= 515
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max z= X1+ Xo

S.t. X1+ %XzS 4%
- 2X1 + X2 1
X122 2,X22 4
(9.8) : 2< xa< 3,
(4) max z= X1+ X
s.t. X1+ %XZS 4—;
- 2X1 + X< 1
Xx1= 2,0 x2< 3
X1= 2,X2= 3,z= 5
Xx12 3,0< x2< 3
tX1= 3, X2= 2%,z= 5% X1 X2
=1x.=3,z= 4
_ 2
) Z— 5 9 Z )

z=5

9.19
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max

56/ 33, 145/ 33
201/33

9.21

9.20
56

9.21

= Eg,xz—

_ 145
33 %7

201
33"’
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(a) ;
(b) ;

(c) z< z
(a),(b), (c)
9.23 max z = 3X:+ X
s.t. 17x:+ 1l1x.< 86.5
X1 + 2X2< 10.2
X1 < 3.87
X1, X2
9.22
9.22
(1) (3.87,1.87),z= 13.48
1< x:2= 1.87< 2
(2 0< x:< 3.87,0< x25 1, (3.87,1),z= 12.6 0< x:< 3. 87, %22 2,
(3.87,2),z= 13.4
(3) X2 2 , 0 xi< 3,
X1= 3,x2= 3.22,z= 12.23
x> 4
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(4) (3.87,1) z= 12.6, 0< xa< 3,x22 1 (3,1), z=
10,
X1= 4, X< 1,
(5) (3,3.22) z= 12. 23,

0< xi< 3, 2< x2< 3 X1= 3,X.= 3,z= 12
X122 4, x22 4 X1= 2.2,x2= 4, 7z= 10. 6< 12
X1= 3,X2= 3,z= 12
( 9.23), ()
9.23
9.9
9.24 max z = 3X1+ 2X2 + Xs
s.t. X1- 2X2+ Xs < 2
2
2X1 + X2 + Xa< 3
2
Xxi= 0,1= 1,2,3,4,X2,Xs
(1) ( 9.5)
.3 1 _ . _ 0 7= 17
Xz_ 21X3_ 2 1Xl_ X4_ ] Z_ 2
(2)  xo :(a) 0= x22 1, (b) x22 2
(a) 9.6 ,xa= —le,x2= 1, X3= 177,z= 7
(b) 9.7
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9.5

X1 X2 X3 X4 S1 S
XB C
b 3 2 1 0 0 0
S1 5/2 1 2 1 0 1 0
S2 3/2 2 0 1 0 1
0 3 1 0 0 0
S1 11/2 5 0 1 2 0 2
X2 3/2 2 1 0 1 1 1
3 -1 0 1 -2 0 -2
X3 11/ 2 5 0 1 2 1 2
X2 3/2 2 1 0 1 0 1
17/ 2 - 6 0 0 - 4 0 -4
9.6 (0= X325 2,X1,X2,X32 0)
X X1 X2 X3 X4 S1 S2 53
XB Cs C
b 3 2 1 0 0 0 0
S 0 5/2 1 -2 1 0 1 0 0
3 0 3/2 1 0 1 0 1 0
53 1 0 1 0 0 0 0 1
3 2 1 0 0 0 0
S 0 714 o -2 1 1/2 1 1/ 2 0
X1 3 3/4 1 1/2 0 1/2 0 1/ 2 0
53 1 0 0 0 0 0 1
9/4 0 ol/2 1 3/2 0 32 0
S 0 17/ 4 0 0 1 1/2 1 1/ 2 5/2
X1 3 1/4 1 0 0 1/2 0 V2 - 12
X2 2 1 0 1 0 0 0 0 1
11/ 4 0 0 3/2 0 332 - 12
X3 17/ 4 0 0 1 1/2 1 /2 5/2
X1 3 1/4 1 0 0 1/2 0 V2 - 12
X2 2 1 0 1 0 0 0 0 1
7 0 0 0 -1 -1 -1 -1
(3)
:(a) 0 x3=2 4, (b) xs=2 5
Y _ _ _ a3
(a) 9.8 x:i= , X2= 1,X3— 4,X4— 0, z= 6
4 4
(b) 9.9,
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9.7 (Xx2= 2,X1,Xs,X2= 0)

X X1 X2 X3 X4 S1 2 53
X8 Ce c B
b 3 2 1 0 0 0 0
0 5/2 1 -2 1 0 1 0 0
2 0 3/2 2 1 0 1 0 1 0
(S - 2 0 o 1 0 0 0 0 1
0 3 2 1 0 0 0 2
] 0 13/ 2 1 0 1 0 1 0 -2
() 0 - 12 2 0 0 1 0 1 1
X2 2 2 0 1 0 0 0 0 -1
3 0 1 0 0 0 2
9.8 (1= x22 2,05 x35 4,x,x42 0)
X X1 X2 X3 X4 St S ) S
X8 Cs C B
b 3 2 1 0 0 0 0 0
S 0 714 0 - 52 - 12 1 - 1/2 0 0 ol/4
X1 3 3/4 1 1/2 0 2 0 1/2 0 0
(53] 0 1 0 1 0 0 0 0 1 0
S 0 4 0 0 1 0 0 0 0 1 2
9/4 0 /2 - 2/3 0O - 3/2 0 0
X3 1 714 0 - 52 1 - 12 1 - 1/2 0 0
X1 3 3/4 1 1/2 0 /2 0 1/2 0 0 32
(S 0 1 0 1 0 0 0 0 1 0 1
S 0 9/4 0 ob/2 0 2 -1 1/2 0 1 9/ 10
4 0 3 0 -1 -1 -1 0 0
X3 1 4 0 0 1 0 0 0 0 1
X1 3 3/ 10 1 0 0 2/5 /5 2/5 0- 15 32
3 0 1/ 10 0 0 0O - 15 o02/5 - 1/5 1- 2/5 ol/2
X2 2 9/ 10 0 1 0 Y5 - 2/5 1/5 0O 2/5
6 10 0 0 0O - 85 o1l/5 - 8/5 0- 6/5
X3 1 4 0 0 1 0 0 0 0 1
X1 3 1/4 1 0 0 /2 0 1/2 - 1/2 0
SL 0 1/4 0 0 0O - 12 1 - 1/2 52 -1
X2 2 1 0 1 0 0 0 0 1 0
6 0 0 0O - 32 0O -3/2 -1/2 -1
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9.9 (1= X2 2,x3=2 5,x1,%x4= 0)

X

X1 X2 X3 X4 S1 S2 S 7l

XB Cs C
b 3 2 1 0 0 0 0 0
S 0 714 0 - 52 1 - 12 1 1/2 0 0
X1 3 3/4 1 12 0 12 0 1/2 0 0
3 0 1 0 1 0 0 0 0 1 0
S 0 -5 0 0 o 1 0 0 0 0 1
0 12 1 - 32 0 3/2 0 0
S 0 - 13/4 0 - 52 0 ol2 1 1/2 0 0
X1 3 3/4 1 12 0 12 0 1/2 0 0
S 0 1 0 1 0 0 0 0 1 0
X3 1 5 0 0 1 0 0 0 0 1
0 12 0 - 32 0 3/2 0 1
X4 0 13/2 0 5 0 1 - 2 1 0 0
X1 3 © 10/ 4 1 o- 2 0 0 1 0 0 0
S 0 1 0 1 0 0 0 0 1 0
X3 1 5 0 0 1 0 0 0 0 1
0 -4 0 0 -3 0 0 1
X4 0 1/4 5/2 0 0 1 V2 1 0 0
X2 2 5/4 - V2 1 0 0 - 12 0 0 0
S 0 - V4 V2 0 0 0 V2 0 1 0
X3 1 5 0 0 1 0 0 0 0 1
7 4 0 0 0 1 0 1/4 5

( 9.24)
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9.10

9.25 max z = CX
s.t. AXx< b
X
XB
X x> 0 x= — A= (B | N)= (as)m n,
Cc= (G | &)
max z= CsXs + CnXn
s. t. Xxs = B 'b- B 'Nxwn
x=0
xs= B 'b- ZNB' 'Pix; A= (P. P: P.), P A i
7= (G | G ;(B = Coxs + CuXn
N

= CB(B_ 1b- ZNB_ 1Pij) + ZNC]'XI'

= CGB ‘b + ZN (¢ - CB 'P)x

Z= Zo+ ZN(C;- Z)Xi = Zo+ z G X
N

G=6G6- z,] N
Xi=X:- ZNC(in,XiZ 0,1 B, x; = O,j N
z= CB 'b= zo,xs= B 'b,xx= 0
Xi= xi +o,i B B Xe
Xj
0< x; < X; ,x;j= x5 +1
9.25 : Z
ZIS Zo- 6zl, ZrS Zo- 62r
6zl 6zr Zo- 6zl Zo- 6zr ydl Zr
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9.25

X = X; - Z Qs X X , X< X X; > x; + 1
N
N N> {j N@h> 0,N > Nap< 0 , X; <
Xi
Xi- Xi = X - Xj - aiX; - aiXi < 0
ij+ JzN'
fi=x - X <1,
Xj - Xj* = fj - Qi Xj - QG X
ij+ jZN'
- Qi Xj - oX; < - fj (9. 9)
iZN+ JZN'
(9.9) ] 1
Xi2 Xi* + 1
Xj - Xj* = Xj* - X - Z i Xj - Z Qi Xj
i NY i NT
=f;- Oii X - x> 1
j jZ\l+ j K] ZN iX]

Z i X; + z ogx; < fj- 1< 0 (910)

i N+ N
(9.10) ,

Oz = min {ofi/ax}, & = min {(fi- 1)/ ax}
k N* k N~
maX{ZI,Zr} = Zo - min{ézl, 62r}

9.26 max z= 18x: + 14X+ 8Xs + 4Xa
S. t. 15x: + 12X+ 7Xs3+ 4Xs+ Xs< 43
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X;j = 0, )= 1,2,3,4,5

(1) ( 9.10)
9.10
X X1 X2 X3 X4 X5 X6
XB G C B
b 18 14 8 4 0 0
S 0 43 15 12 7 4 1 1
0 14 8 4 0 0
X1 18 43/ 15 1 4/ 5 7/ 15 4/ 15 1/ 15 1/ 15
51 0 - 2[5 - 2/5 - 4/5 - 6/5 - 6/5
X 21—3— Ax - lx - Ax - lx ix
'Y 2157 57?7 157°7 1577 15°° 7 157°
z= 51— - lx lx - Ax - Qx gx
- 5 5*?2° g7ttt gttt ghtT gne
o _ 3
X2= X3= X4= Xs5— O,Z— 51 5
(2) X1< 2 X1=2 3 )
(a) x1 =2
X1 - X1 =1—3-Ax-lx-ix-lx-ix<0
' ' 15~ 57°°° 15°°" 1577 157°7 15°° 7
4, 1, 4, L, L1 _ 13
5727 15°°7 1577 15°°7 15"°= 7 15
: , 9.11
9.11
X X1 X2 X3 X4 X5 X6 X7
XB Cs C B
b 18 14 8 4 0 0 0
X1 18 43/ 15 1 4/5 7/ 15 4/ 15 1/ 15 1/ 15 0
X7 0 - 13/15 0 0 4/5 - 7115 - 415 - 1/15 - 1/ 15 1
51 0 0 2/5 - 2/5 - 4/5 - 6/5 - 6/5 0
2/5 2/5 4/5 6/5 6/5 _ 1
MN 45 7/15°4/15° 1/15° /15 ~ 2@ *
XZZLS-Ax-lx-AX-LX-Lx : X2, X3, X4, X
T %15 57 1577 157" 1577 157° '
13 13 4 _13/15 _
( x2 O Ox1) z 215 2, 15~ 55X2,5X2— 4/5 dz2=
2., _ 13 13 13_ 7 _ 13 15
- 56xz— " 30 ,Xs 0 OXs, Z 15 15- 156x3,6x3— E -
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_18, .2 13 26 5_1_3/A_1_35__41_3_
= 70027 g 77 35 X4= 15/ 15" 4947 " 5 47
_1_3/;_ . _ 8 . 18
OX 6= 15/ 15- 13, 8z5= dzs= g‘ 13= 5
0z > - min{dzz, dzs, 8z4, dZs, OZs}
- - min 13 26 13 78 78
B 30’35 5" 5" 5
_ 13
B 30
X2 ,
max z = 18x: + 14X + 8Xs + 4X.
S.t. 15x: + 13X2 + 77Xz + 4Xs+ Xs< 43
0< x:< 2,xi= O
3 13 1
< 3 13 1
z< 51 5 30 51 5
_ 513
X1—215
9.26, 0, 3 , X2= X3=
zZ= 51E
9.26
(b) x:1= 3 15x:1+ 12x2+ 7xs+ 4xa+ xs< 43,
- X1 - 3
(3) 0< xa1< 2
X1= 2- X1, (* ),
2- X1= 23- 4x2 lx3- A4 l5 ixe;
15 5 15 15 15 15
x—1—3+§x-lx-Lx Lx Lx
T o127 47T 1277 37T 1277 127°
Z= 514- lx lx ;x 7x - lx
- 6 27T 67T 3T 67T 67°
gLl L L o2 1 1
max z = 6 - 2X1- 6X3- 3X4- 6X5- 6X6
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X_1_+§X-1X-LX-LX-LX
°7 T2 37T 1277 107°

12 4
X1, X2, X3, Xs,Xs5,Xe6 = 0

X2 = ﬁ,xlz X3 = = Xe= 0,z= 51_615
(4) 1< x2< 2, (@) 0< x2< 1, (b) x2= 2
X222 2
13,5 7. 1 1 1
X2T 0" 4% 12X 3% 12X 12X X

0< x:2< 1,
Y 2 2 1 _ 1
0z= 12m|n 7 2, 14, 14 = 7 " 12 " 1
(3 (4 (5 (9
X22 2 0< x2:<1 , 0< x2<1 ,
1 ll 7 X3 O 1 1
(3)
X2— 1_ X21
X3 = %4' 175X1+ 7X2- £7I- 4 - %Xs- 7X6
z= 517 - ﬁx- lx- Ax- ﬁx- ﬁx
- 7 /AR A A S A
0< xs= 7< 1, x3= 0 x3= 1 ,
c 1,15 12 4 5 1 .
( ) X3= 7 7X1 7Xz— 7X4— 7X5— 7X6, X3= X4, X5, X6
_ 4 _ 4
0z=- Zmin{l &8 =- 7
i, . 1 1
Xa = 4 4X1 X2 - 4X5- 4X6
z= 51- 3X1- 2X2- Xs5- Xs
(6) X5, X6 x4= 0
_ 4 _
0z = 4m|n{(§),(461)} = 1
_ 3 ..,4 2, 1
xs= 0, 0z= - 4mln{5, 3}—- 5 : 9.27

(@
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9.27

Xa= 0 X1= 2,X2= 1,Z: 50

X1< 2,%X2< 1, x3= 0,%x4= 0

max z= 18x.+ 14x:

S. t. 15x:+ 13X+ Xs+ Xe= 43
X1 + X7 = 2
X2 + Xs = 1

X1, X2, Xs, Xe, X7, Xs = 0
320-



( 9.12)

9.12
X X1 X2 X5 X6 X7 X8
XB C:B C B

b 18 14 0 0 0 0

X6 0 43 15 13 1 1 0 0 43/ 15
X7 0 2 0 0 1 0
X8 0 1 0 0 0 0 1
14 0 0 0 0
X6 0 13 0 13 1 1 - 15 0
X1 18 1 0 0 0 1 0
Xs 0 0 0 0 1
0 14 0 0 0 0
X6 0 0 0 1 1 - 15 - 13
X1 18 1 0 0 0 1 0
X2 14 0 1 0 0 1
50 0 0 0 0 0 0

X1= 2,X2: l,X3= Xa=— Xs5— O,Z: 50

min z = - 5Xi+ 7X:+ 10Xs- 3Xat Xs
S. t. - Xi- 3Xz2 + 5Xs - Xa- 4Xs2 O
- 2X1- BX2 + 3Xs- 2X4- X< - 4
- X2+ 2X3 + Xa- X5 2 2
xi= 0,1, i= 1,2,3,4,5

max z = X:1+ 3x:+ 10Xs

S. t. 2X1+ 4x: + 8xs< 15
X1 < 4
X2 < 2

xs< 3/2

Xiz 0 , 1= 1,2,3
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max z= 2Xi1+ 3X2:t 4Xst+ 7Xa

s. t. 4x1+ OX2+ 2X3+ 8xs= 16
X1+ 2X2- OX3+ 7Xa= 3
Xi= 0, , 1= 1,2 3,4

max z = X1+ 2Xo
S.t. X1+ X2 0.9
- 2X1- X2 0.2

X1,X22 0

max z= 3X:+ 3xz2+ Xs3

s. t. X1 - Xzt 2X3< 4
- Xt 4Axq < 2
2X1 + X2- 3X3< 3

X1,X22 0 X322 0
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10

Ok = |_ijJ+ f

10. 1
10.1.1 (Gomory)
max z = zo + G X
0 ZN j
S. t. Xi= ;
Xi, X; = 0, 1
G= G- z :
N,z = z
Xi & Omod 1, X; i B,
e = Lxe J+ fo, fo xo

Xi= Xi,i B,X

Xk = X; + ZNO(ijj

Xk = LX; J+ fi- ZN(LGkJJ+ fkj)Xj

xe - Lxi J+ le_C(ijij fu- Z fxiXi

- Zkaij
- Zkaij

0

fe< 1

f«- Zkaij‘l‘ s= 0
S - kaijZ- f «

Xk X ,
f«
, Xk f«
s>
(10. 1)

0,]j

(10. 1)
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1 1
20T 3xs g
6 3xi1+ 2X2< 1, S, 31+ 2X2+ s= 1
10.1.2
10. 1 max z= 3X: - X
s.t. 3X1- 2X2< 3
- 5X1- 4x2< - 10
2X1+ X2 5
X1,X22 0
10.1
10. 1
X1 X2 St S S
X Cs c B
3 -1 0 0 0
3 3 - 2 1 0 0
- 10 - 5 o 4 0 1 0
0 5 2 1 0 0 1
3 -1 0 0 0
S 0 8 Vv 2 0 1 12 0 a6/ 11
X2 - 5/2 5/ 4 1 0 14 0 2
S 0 5/2 34 0 0 14 1 10/3
- 52 &l 4 0 0 14 0
X1 3 10/ 11 1 0 2/ 11 1/11 0
X2 -1 15/ 22 0 1 - 522 6/ 44 0 35/6
S 0 31/ 22 0 o - 322 D 22 1 SL/7
61/ 22 0 0 - 17/ 22 g 22 0
X1 13 13/7 1 0 1/7 0 217
X2 -1 97 0 1 - 217 0 22/ 7
S 0 317 0 0 - 37 1 22/ 7
30/ 7 0 0 - 517 0 37
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maxz—&)- is- i&
T 7 777
s.t X 15 ls- lSs
' T7 7> 7
_ 9 2 3
X2 = 7+ 731 752
92_3_1Jr isﬂ- 2_2SB
7 7 7
X1,X2,S, S, Ss >
,  (10.2)
.8 1. 2
X1 - = 7' 751' 788
X2- S - 1= <. éa- isg
? 7 7 7
- S+ 3- 4= % %Sl' %83
(10. 3) ,
6 1 2  _
7 - 731- 733_ 0
2 5 3_ _
77 8- %= Omod 1
3 4 1 __
- 731- 733_ 0
6 1 2 6
7 7% < <1
2 5 3 2
7 7& 733< 7< 1
3 4. 1__3_,
77 7% 735 74
(10.4) (10.4) :
6 1 2 2 5 3 3
- 7& 7sss 0,7 S 733S O,7
-isl-lsg+s4—-ﬁ-ia-§ss+ss—-;-
7 7 Y AR 7 I
-ls-;swsa—-ﬁ X‘g’
7> 7 -7 ! 7
6 _
- + s = 1- s x1< 1
7
10. 1
( 10. 2)

(10. 2)
X1,X2,S9, &,Ss
(10. 3)
(10. 4)
(10. 5)
1
- <
733_ 0
1 _ 3
S - 7Ss+ S = 7
le_ ;SB X 13
7 77 T 7
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10.1

10. 2
X1 X2 S S S Sy
XB G
3 1 0 0 0 0
X1 13 13/ 7 1 0 1/7 0 2/ 7 0
X2 -1 97 0 1 217 0 22/ 7 0
S 0 317 317 0 3/7 1 22/ 7 0
S e/ 7 0 0 1/7 0 e 27 1
36/ 7 0 0 517 0 - 37 0
X1 3 1 1 0 0 0 0 1
X2 -1 0 0 1 1/2 0 0 3/2
® 0 - 5 0 0 o 2 1 0 11
S 0 3 0 0 1/2 0 1 - 712
3 0 0 1/2 0 0 - 3/2
X1 3 1 1 0 0 0 0 1
X2 -1 5/4 0 1 0 14 0 - 5/4
S 0 5/ 2 0 0 1 12 0o - 11/2
S 0 714 0 0 0 14 1 - 3/4
714 0 0 0 14 0 17/ 4
X1+ &= 1
.. L, . 5. _5
T4 477 4
S - L&_ 1_134: S
2 2 2
g + _182- i&_ A
4 47 4
1 1 _ 3
(X2- 2- ) - 187 485 7
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1 1. _ 1
(s1- 3- 5s) - 5%~ 5% = 5
3 3._ 1
(ss- 2+ o) 1S 49=° 74
X1,X2,9,9,S%,S y
s 1. 1._9
4 4 47~
1l 1 1
5" %" 234s 0
1 3 3
47 4% 4s4s 0
- i&- —1&<- 3 $s=2 0, - —'s- is4+ S = - 3
4 47~ 4"’ - 4 4 B 4
X2 - %(32+ S) - = %
- —411(52+ S) = - % S
X2 - %- S - = %,Xz— 2+ S+ S, X222 2
( 10. 3)
10. 3
X1 X2 S S S3 S S5
G C
b 3 1 0 0 0 0 0
3 1 1 0 0 0 0 1 0
1 5/4 0 1 0 14 0 5/ 4 0
0 5/2 0 0 1 12 0- 11/2 0
0 74 0 0 0 14 1 3/4 0
0 34 0 0 0 o 14 0 1/ 4 1
714 0 0 0 4 0 4 0
3 1 1 0 0 0 0 1 0
1 2 0 1 0 0 0 1 1
0 4 0 0 1 0 0 5 2
0 1 0 0 0 0 1 1 1
0 3 0 0 0 1 0 1 4
1 0 0 0 0 0 4 1

X1= I,x:= 2,s1= 4,s= 1= 3z=1
10. 2 max z = X1 + X
S. t. - 4dXi+ X2 - 1
4X1 + X2< 3
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X1,X22 0

( 10. 4)
10. 4
X1 X2
XB G
b C 1 1 0 0
s 0 1 o 4 1 1 0
9 0 3 4 1 0 1
1 1 0 0
X1 1 14 1 14 14 0
S 2 0 2 1 1
14 0 14 14 0
X1 = %"‘ %Xz*‘ %Sl
x-x-slzi-gx-i X1,X2,S,S
1 2 4 4 2 43 1, X2, &, S
1 3 3
“—~ .- —X2- —s= 0mod1l
4 T4
1 éx §&< 0
4 477 4
3 1
- SX2- TS+ §=- -
T4 4
( 10. 5)
10. 5
X1 X2 St S 53
XB G C
b 1 1 0 0 0
X1 14 1 1/4 1/4 0 0
S 2 0 2 1 1 0
S 14 0 3/4 o 34 0 1
14 0 5/ 4 1/4 0 0
X1 7/12 1 0 0 0 13
S 2/ 3 0 1 0 1 4/ 3
S 4/ 3 0 1 1 0 4 3
7/12 0 1 0 0 13
X1 = l+ lss X1- S = L ;sg
T o127 3 M 12 3
7 7 2
- ~-g= - .s<
12 353 0 mod 1, 12 353 0
2 7
- TS+ s = - T
3 12

( 10. 6)
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10. 6

X1 X2 S1 S S3 S
XB G C B
b 1 1 0 0 0 0
X1 1 7112 1 0 0 0 1/3 0
S 0 2/3 0 1 0 1 4/3 0
S 0 4/ 3 0 1 1 0 4/ 3 0
S 0 7112 0 0 0 0 o 2/3 1
0 1 0 0 1/3 0
X1 1 2/ 24 1 0 0 0 0 1/2
() 0 /2 0 1 0 1 0 2
S 0 5 0 1 1 0 0 2
S 0 7/ 8 0 0 0 0 1 3/2
21/ 24 0 1 0 0 0 1/2
2 y ] 1
10. 2
A, Xk= Xk - zNak;x,-
M= AXk - Z A0k X
= )\(LX: J"‘ f«) - ZN)\(LGkJJ‘F f )X
Mk - )\LX: J+ ZN)\LijJXj: M o« - ZN)\fijj
M- LA« ]- Z (Mw- LMo )x
M- LM< 1,
M- Lared- Z (Mu- LM hx < 0
A= 1
Xi, Zkaijz f « X
X = fk/fkj max fk/fkj , ,
ZNf;JXj:f; Zfﬁj*XjZ fi
fro>fe, fu< fo,j N
f- f

X1- 5.4X2+ 4.6x3= 7.4,
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X1- OX2+ 4xs- 7= 0.4- 0.6x:- 0. 6xs, 0.4- 0.6x:- 0.6x2< 0O,
0.6x:+ 0.6x2.= 0.4, 2 2X1- 10.8x2+ 9.2x: = 14.8
2X1- 11X+ 9Xs- 14= 0.8- 0.2x2- 0. 2Xs,
0.2x.+ 0.2xs= 0.8
0.2x2+ 0.2xs= 0.8 0.6x:+ 0.6x.= 0.4
(a) max fiCk B,(b)m_aXfi/Zfij|i B
1 1 N
10. 3 max z = X1 - 3X2+ 3Xs
S. t. 2X1+ Xz2- Xz3+ Si= 4
4X1- 3X:2 + S5 = 2
- 3X:1+ X2+ Xs+ Ss= 3
Xi, 5= 0,
( 10.7)
10. 7
X1 X2 X3 S1 S S
XB G C B
b 1 3 3 0 0 0
S 0 4 2 1 1 1 0 0
S 0 2 4 3 0 0 1 0
3 3 3 2 a 0 0 1
0 1 3 3 0 0 0
S 0 7 1 3 0 1 0 1
$ 0 2 @ 3 0 0 1 0
X3 3 3 3 2 1 0 0 1
®0 9 0 0 0 3
S 0 7 0 2 0 1 1/4 1
X1 1 12 1 34 0 0 1/4 0
X3 3 4 0 /4 1 0 3/4 0
14 0 32 0 0 10/ 4 3
X1 = %4' %Xz- %Sz
X3 = 4i+ —1x -
3= 2 4 2 45‘2 S3
1 1 S5
s=7 5 " 2 4x2 232- S
z= 14 - %Xz- %SZ' 3
O N £
4 2 482 Sy = 2
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331

- ix - is + $= - L
A7 47 -T2
1 1 _ 1
- 4X2 - 452 + S = - 2
- ix - is + S = - 1
477 4> -T2
10. 7 , 10. 8
10. 8
X1 X2 X3 S S Ss Sq
XB @} C
b 1 - 3 3 0 0 0 0
S 0 7 0 2 0 1 14 1 0
X1 1 1/2 1 34 0 0 14 0 0
X3 3 4 0 1/4 1 0 34 1 0
S 0 12 0 o V4 0 0 1/4 0 1
14 0 © 32 0 0 5/ 2 3 0
S 0 3 0 0 0 1 2 1 9
X1 1 1 0 0 0 2 0 3
X3 3 0 0 1 0 1 1 1
X2 3 2 0 1 0 0 1 0 4
11 0 0 0 0 1 3 2
10. 3 (Martin)
xi= b{" - ZN ai’ x; (10. 6)
(10. 6)
s=- fi- Z f (ijl) Xj (10. 7)
N
10. 7 , Xk,
(
) ( 10. 6) ,
Xi = bi? - a.i(jZ)Xj - A S (10. 8)
i {k}
(10.8) bi”,a”,j NV{k} ag , (10. 8)
o =- f (iZ) - Z f (ijZ)Xj - f islsl (10. 9)
i {k}
(10.9)



(10.9 , (10. 9) (10.6) s S)
3
xi= b’ - ay Xj - ais S
j {k}
SL , , ,
: S2
S2. ( ) :
( k )
S3. [ : k
S5, S4
S4. , S3
S5.
S6. S1 S1
10. 4 max z = 2X: + 3X:
Ss.t. 2X1+ 5X2< 8
(10.10)
X1+ 2X2< 9
X1,X22 0,
max z= 2x: + 3X:
2X1+ 5X2+ Xa = 8
X1+ 2X2 + Xa= 9
Xxi= 0
i= 1,2,3,4
10. 9
10. 9
X1 X2 X3 X4
X L C 2 3 0 0 P
X3 8 2 & 1 0 8/5
X4 9 3 2 0 1 9/2
0 2 3 0 0
X2 3 8/5 2/5 1 15 0 4
X4 0 29/5 @/ 5 0 2/ 5 1 @9/ 11
2415 A/ 5 0 35 0
X2 3 6/ 11 0 1 3/11 2/11
X1 2 29/ 11 1 0 2/11 5/11
76/ 11 0 0 5/11 4/11
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_ 29, 2 5
X1 = 11 + 11X3 - 11X4 (10.11)
X1- 2- Xs3= L. &x - ix
' T110 o117t o1t
9 S _ L
- 11X3 11X4 + S = 11 (10. 12)
(10.11) (10.12 . Xs
10. 10
XB b X1 X2 X3 X4 St
X1 29/11 1 0 2/11 5/ 11 0
St - 711 0 0 o 911 5/ 11 1
X1 25/ 9 1 0 0 5/9 2/9
X3 7/ 9 0 0 1 5/9 11/9
10. 10
X L. ix + 1—13
3 — 9 9 4 9 1
Xa- 25 = L. ix - ls
4 - 9 9 4 9 1
5 7 7
- gXem &t &=- 7 (10.13)
(10.9) 10.10 , s 10.11
10. 11
XB b X1 Xa S S
X1 25/9 1 5/9 2/9 0
S 7/9 0 5/9 o 79 1
X1 3 1 5/7 0 207
S 1 0 5/7 1 97
10. 11 , . 10.10 x= ,
ss= 1 2 + 2
1 = - 7X4 782
SS- 1- 28 =- %X4 %Sz
- 2% 2s+ 8= 0 (10.14)
(10. 14) , ( 10.12)
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XB b X1 Xa S S3
X1 3 1 5/7 - 217 0
S 0 0 5/7 o 57 1
X1 3 1 1 0 2/ 5
2 0 0 1 1 - 75
10. 12 S
S = + ls; S 2% = iss
2 — = X4 5 - = - Xa- 5
- %Ss+ s=0 (10.15)
(10. 15) 3 ( 10. 13)
10. 13
XB b X1 Xa S Sy
X1 3 1 1 2/5 0
S 0 0 0 o 35 1
X1 3 1 1 0 2/ 3
S 0 0 0 1 - 53
10. 13 S
S _ _ 1
S - 354—33- 28 = - 334<O
1 _
- 384+ s=0
S 10. 14,
10. 14
XB b X1 X4 S S5
X1 3 1 1 2/3 0
S 0 0 0 o 13 1
X1 3 1 1 0 2
S 0 0 0 1 3
Si= - l+ —Xa+ &x
T o1t 11ttt 1™
S= - l+ —Xs+ S
T 9 97" " 9
_ ARY A A S 9
=" 9 F oXT g T oq1 T Xt o
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5 5 10 15 5
= TXat TS=- + oXa+ T
S 7X4 752 11 11X4 11X3
3 6 9 3
S= TS = - o+ TXet X
5 11 117 1’
1 2 3 1
S= TS = - T4+ TXa+ X 10. 16
3 11 117 117° ( )
(10. 16) 10.9 , ,
10. 15
10. 15
X1 X2 X3 X4 S
XB G C B
b 2 3 0 0 0
X2 6/11 0 1 311 - 2/11 0
X1 29/11 1 0 2/ 11 5/11 0
S - 2/11 0 0 o Y11 - 3/11 1
0 0 511 - 4/11 0
X2 0 0 1 0 -1 3
X1 3 1 0 0 1 2
X3 2 0 0 1 11
6 0 0 0 1 5
X2 3 2/3 0 1 1/3 0 2/ 3
X1 2 2 1 0 1/3 0 5/ 3
X4 0 2/3 0 0 1/3 1 - 113
10/ 3 0 0 1/3 0 4/ 3
5 1 1 2 2
A 2o = o=y i + 7= =_ £y . £
X1 3x3 355 23,x1 2- Xs 7 3 3x3 3&
2 1
- T X3- TS+ s$s=-
3777 3 3
( 10. 16)
10. 16
XB b X1 X3 S Se
X1 7/ 3 1 1/3 5/ 3 0
) - U3 0 o 2/3 - 2/3 1
X1 5/ 2 1 0 2 12
X3 12 0 1 1 - 32
1 1 1
= —_ - 4+ - + - - = _ —
S 5 X3 233, S X3 2% 5 235
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- - + = - -
286 S 2
( 10. 17)
10. 17
XB b X1 S1 S5 Ss Sy
X1 5/2 1 0 2 - 12 0
S - 1/2 0 0 0 e 12 1
X1 3 1 0 2 0 2
S5 1 0 0 0 1 2
1 1 1 2 2
Sr= - _+ S, Ss=- —_ + X3+
’ 2 2 3 3777 3
o= 1 1 1 ;X N ;Sﬁ
27 2 37 3777 3
1 1 1 1
= - - T+ TXs+
27 6 3%T 3
2 1 1
- o+ TXst+ TS
3 377 3
1 1 2
- T Xs- TSt s=- 10. 18
377 3 3 ( )
10. 18
X1 X2 X3 X4 S5 S7
XB Cs C
b 2 3 0 0 0 0
X2 3 2/ 3 0 1 1/3 0 - 2/3 0
X1 2 7/ 3 1 0 - 1/3 0 5/3 0
X4 0 2/ 3 0 0 1/ 3 1 - 11/3 0
S7 0 - 2/3 0 0 © 1/3 0 - 1/3 1
20/ 3 0 0 - 1/3 0 - 4/3 0
X2 3 0 0 1 0 0 -1 - 3
X1 2 3 1 0 0 0 2 3
Xa 0 0 0 0 0 1 4 - 3
X3 0 2 0 0 1 0 1 - 3
7 0 0 0 0 - 1 - 1/2
X1 = 3,X2 O,X3= 2,X4: 0
10. 4
10.4.1
( )
1
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, max , Ci- zi< 0, i N,
N k, b= min{b@ < 0,i N}
Xk = bx- ZNaijj,bk< 0 ANE
Xk _ b aj
AT AT 2 AN
1 b a
L7J+fk Xk Kk- ZN L?iLJ'ka]
Xk Xj,j N,
Tl 3 [ s[5 ]
L)\ xet > Ly Jo= L)
;J_
A> 1 L)\ = 0,
% s 3]
ZNL)\ Xis N
S
% Jor 5= (2]
> L5 Jne o= (5
(A~ ) : - 1,
1}
!)\ ] }\l
, min
- 1’
1 QJ_
b = b)'FL)\ C
c r bh< 0 c=0 A
-1
r A
r max
b = mjin{b@t§< 0}
“= 2 - min &=—%|a.< 0
akr 1 a.kl
(3]
’ i )\ )
C - Zr_ . G- Zi
L%J = miln La_k'J ai< 0
A A
A - 1,

min

, Gi -

Zi >

- 337-



- 1, A
10.4.2
10. 5 min z = 4x:1 + 5x:
S. t. X1+ 4x.=2 5
X1+ 2X2= 7
X1, X222 0,
max z = - 4xi1- b5bx:
S. t. - X1 - 44X+ Xs - 5
- 3X1- 2X2 + Xs4= - 7
X1, X2, Xz, Xa= 0
- 3X1- 2Xo+ Xa=- 7
( 10.19)
10. 19
X1 X2 X3 Xa St
XB CB
b C
X3 0 5 -1 4 1 0 0
X4 0 7 - 3 2 0 1 0
L)L 2] [ 2] [+ ]
X5 0 I_ A Y A 0 A 1
- 4 5 0 0 0
- 4 - 5
< =
L_ SJ’L- ZJ’ ,4 5, Xl ,)\
A A
( 10. 20)
10. 20
X1 X2 X3 Xa S
XB G C B
b 4 5 0 0 0
X3 0 5 1 4 1 0 0
X4 0 7 3 2 0 1 0
S 0 3 o 1 1 0 0 1
0 - 4 5
X3 0 2 0 3 1 0 1
X4 0 2 0 1 0 1 3
X1 4 3 1 1 0 0 1
12 0 1 0 0 4
_ - 4
- X2+ Xzs- s=- 2 A= 3
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( 10. 21)
10. 21
X1 X2 X3 X4 S1 S
XB G C B
b - 4 - 5 0 0 0 0
X3 0 - 2 0 - 3 1 0 -1 0
X4 0 2 0 1 0 1 - 3 0
X1 - 4 3 1 1 0 0 -1 0
S 0 -1 0 o1 0 0 0 1
- 12 0 -1 0 0 - 4 0
X3 0 1 0 0 1 0 -1 - 3
X4 0 1 0 0 0 1 - 3 1
X1 - 4 2 1 0 0 0 -1 1
X2 - 5 1 0 1 0 0 0 -1
- 13 0 - 5 0 0 - 4 -1
10. 6 max z= - 10x: - 14X.- 21xs
S.t. - 8X1- 11lx2- 9Xs+ Xsa=- 12
- 2X1-  2X2- X3+ Xs=- 14
- OXi1 - X2 - 3Xsz+ Xe= - 10
Xxi=> 0 1= 1,2, ,6
- 2Xi1- 2X2- TX3+ Xs= -
|52 Jo [52 ) L T e [ 4 = |54
A
A= 2,
- X1- X2- 4o+ S1=- 7
- 10 - 14 - 21 7
S e
A A A
( 10. 22)
10. 22
X1 X2 X3 ) X5 X6 S
XB G C
b - 10 - 14 - 21 0 0 0 0
Xa 0 - 12 - 8 - 11 - 9 1 0 0 0
Xs 0 - 14 - 2 - 2 - 7 0 1 0 0
Xs 0 - 10 - 9 - 6 - 3 0 0 1 0
S 0 - 4 6 1 -1 2 0 0 0 1
- 10 - 14 - 21 0 0 0 0
X4 0 20 0 - 3 7 1 0 0 - 8
Xs 0 - 6 0 0 - 3 0 1 0 - 2
Xs 0 - 26 0 3 15 0 0 1 - 9
X1 - 10 4 1 1 2 0 0 0 -1
- 40 0 - 4 -1 0 0 0 - 10
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5

=- 6

2s

3Xs -

s+ ss=- 2

X3 -

10. 23)

(

10. 23

@
#| ©|o © 0 o wlol~ ™1 o
] | I . |
sl 0l & @ 4 dlo|lw 4 ¢ »m 4o
ala N
| I R e | 1 1
L . 1
2|l o|o o 4 o ofo|lo o+ o0 ofo
2l olo 4+ o o olofo =« o o o|o
S| o+ © o o olofd o oo oo
ol A~ m 0 & Al d|lo o o o 4| o
VA2 —
1 O_
1
o g™ o ™ A of<|m o m -+ o«
<
1 L B | 1
1
| 9|2 ©o ©o <+ ololo o o = o]0
x
1
@)
o © © NE=1E =) o of
R g Y NQ N <
1 1 1
1 1
o
© o o o o © O o o -
3 — =
1 | I |
n ] S o © - <t O O @ «H ™
X | x x x x X X X X X

4

1

24s, + 15s

S+ S= -

X2+ X6 -

24, -

10. 24)

(

10. 24

S1

X6

X5

X4

X3

X2

X1

14 - 21 0

10

7

15

0

15

24

1

1
21

9)

1

0

15

24

15

42

21

20

51

10
21

10
21

XB

Xa

X5

X6

X1

X3

X4

X5

X6

X1

X3
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1

32+ S = -

Xs5 -

l_\A

1_\A

o <

L_ )\3Jsg ¥ L

1_\A

5

3
A S+t S

1

S+ Si= -
10. 25)

(

10. 25

X2 X3 X4 X5 X6 S1

X1

0

14- 21 O

10 -

7- 15 0

0

24 0

15-

1

©

0- 15 7

0

0- 24 15

0

9 - 1

0

21

20

51

14

52

Cs

10
21

10
21

XB

Xa

X5

X6

X1

X3

Xa

X5

X6

X1

X3

1, X2= 0O,Xs= 2,z= 52

X1 =

A

10.4.3

10.6

Zi

Ci-

azi

10. 22

X1

10

Zj

Q -

a.rj< O

SL
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S2. up = 1, a; < 0,]j# p, U E |c;- Zj|> |Cp- Zp
A = 'Tj""“,h
S3. A= max{A}

10. 7 max z= - 2Xi1- 5Xz2- 2Xs

S. t. X1- 4X2- X3+ Xa =- 7

- X1- 2X2+ X3 + Xs =_ 4

- 3Xi-  Xz2- 2Xs + Xe=- 5

Xi= 0 1= 1,2, ,6

X1- 4X2- Xz + Xa= -

3o [ e [ (2o 2o - 2.

Us = l,u—12@5©:> 2,Uz= 2, A= %: 2,\= max{2,2} =
- X2- Xst+ Si=- 4
( 10. 26)
10. 26
X1 X2 X3 Xa Xs X6 S
XB Cs C B
b - 2 5 2 0 0 0 0
X4 0 - 7 1 4 1 1 0 0 0
Xs 0 - 4 -1 2 1 0 1 0 0
X 0 - 5 - 3 1 2 0 0 1 0
S 0 - 4 0 2 o1 0 0 0 1
0 - 2 5 2 0 0 0 0
X4 0 - 3 1 2 0 1 0 0 1
Xs 0 - 8 -1 4 0 0 1 0 1
X 0 3 - 3 3 0 0 0 1 2
X3 2 4 0 2 1 0 0 0 1
- 8 - 2 1 0 0 0 0 2
- X1- 4X2+ Xs+ s =- 8 , X2 yUz= 1, Ull@:l-
z:0F i> 1,us = 3, A= max %% = 4
[ o [ s o= 52
4 T Lg It 27 Ly
- Xi1- X2+ =- 2
( 10. 27)
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10. 27

X6

X5

Xa

X3

X2

X1

o1

10

XB

X4

X5

X6

X3

Xa

X5

X6

X3

X2

o 150 bee [ e [520s

@Q@OpF 1,ur = 1, A= max 6,% = 6,

21+ 3= - 3,

L-)\3J’ u=1

6X1+ X -

b2 s s
A S S

Y
" U7

s+ s=- 1

X1 -

10. 28)

(

10. 28

S1

X6

X5

Xa

X3

X2

X1

11

XB

Xa

Xs

Xe

X3

X2

X4

X5

X6

X3

X2

X1

, S1

25 - 4s + 3ss=- 3

Xs5 -

10. 29)

(
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10. 29

@
G|l ol © o 0o 0o o Ho|ln & m N A O —
gl ol® ® © N A4 A OfHd|lm MmO N A o —
gl ol & ® & 4 © dld|lo o o o o o o
o _ o
&.0424111112211010
el ©o|lo ©o 4« © 0o 0o ofolo o 4 0 o o o
2|l ©o|lo 4 © © © 0 ololo 4 OO0 oo o
J| |+ © o oo oo|lold oo o oo o
gl N|Oo © o 40 o o|lolo oo+ oo o
_
| w|lo o oo 4 0o ofojlo oo o+ o0 o
|
<]l N|]o ©o 0o 0o o 4 olofo o o © o o
X_
@)
N MmN A A Ao + OO0 N o A
b __ 1
o
©O O OWN W, N O © OO N 1N
S
X | x x x x x x & X X X X X X

12

2,Xs5= 1,Xs3= Xa= Xe= 0,z = -

1,X=

. X1 =

10.5

Xk

(10.17)

- ZNC(ijj<- f «

Xk 2 |_ka+ 1, Z oX; < fou- 1

X _
o] x
-

NS

_|_—\/_J

S8 v : ©

X - Vi

2 ! 2
- 1 L -]

8 ol z

|+_|_ W
P Vi
% < w
Al
=
<

(10. 18)

(10. 18)

, (10. 17)

(10. 18)

(10.17)

N}

N"> f{jeds > 0,]
N"> {jet < 0,]

N}
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(10. 17) - Z i Xj < - ZN(ijXj < - fu« (10.17")

Z i X < Z oxX; < fv- 1 (10. 19)
TN N
(10. 19) Fu (1- fo)
fg ,
]Z T xS (10.18)
(10.17') (10.18) ,
fo
jZN_ 1_ fk Z aijjS' k (1020)
X ,(10.20) , Xk
, X , o < 0 fu- 1,006 >
0] f ok = L(]ij+ f Xj )\kj,j [, 1
A = min fk(ll_- ffkkj),fkj v |
i N OOk fu(l- fa)/(1- f),j N° OO fy (10. 20)

ST 3 ane y s

NS > {j@ N n I },N:> {J@, N n I}, 0 | |

N ¢ X o> 0 N ¢ o < 0 X
10. 8 max z = - 5x.- 10xs+ 20
s. t X1 - jx - lx:é
. . 1 3 2 3 4 3
4 11, _
- 3X2'|' X3 + 3X4— 3

X1, X222 0,X3, X222 0

- %Xz*‘ X3 + 1_31X4:% ,
X3 + - %Xz*‘ 3+%X4:2+%
X2 ,X4 ’
1 4 1, 2
3 3 X2 - 3 3 Xa+ S = - 4
1- = 2 1- = 4 -3
3 3
- %Xz- %X4+ S = - 5
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( 10. 30)
10. 30
X1 X2 X3 X4 S1
Xg Gs C

b 0 - 5 0 - 10 0
X1 0 5/3 1 - 5/3 0 1/3 0
X3 0 7/3 0 - 4/3 1 11/3 0
S1 0 - U3 0 © 2/3 0 1/6 1
0 - 5 0 - 10 0
X1 0 5/2 1 0 0 1/ 12 - 5/2
X3 0 3 0 0 1 4 - 2
X2 - 5 12 0 1 0 1/4 - 3/2
- 52 0 0 0 35/ 4 - 15/2

X1 = %,Xz— E,x3— 3,Xa= 0,z= 20- %= %5

max z = 2X: + 4X:
s. t. 2X1+ 6X2< 23
X1- X251
X1+ X255 6
X1,X22 0
min z= 3x1 + 2X2 + 4Xs
S. t. - X1+ X2+ 3Xsz3= 8
3Xi- 4X2+ X322
2X1+  Xz2- X3 2
X1, X2, X3
2 min z= 2x:- X2+ 3X:

346-

max z= X: + 16x. + 12Xs
2X3< 22
6Xx2:+ 10xs< 28

S.

f. 4x: + 13X+

Ox: +

X1, X2,Xz 2 0, X1, X2




max z = 4x: + 3X:

S. t. X1+ x2< 10
2X1+ 3X2< 8
X1,X22 0

min z = 2X1 + 5X:

S. t. X1+ X222 4.5
2X1 + 6X22= 22

X1,X22 0

347



11 (Benders)

11.1
11.1.1
MIP
(MIP) min z = cx + dy
S. t. Ax+ Dy= Db
x=2 0,y=2 0
X
A: (aij)m n,D: (dij)m n', m,n n’ y X
X MIP
|XT1anz= rxnig{cx+ min(dyCy = b- Ax,y= 0)}
X ;
min w = dy
s. t. Dy= b- Ax (L)
y=2 0
max v = u(b - AXx)
S. t. ub< d (DL)
u= 0
U= {u@D< d,uz 0} , (DL) , | (L)
u o, u x X U u(b- Ax)
. u
“(p= 1,2,3 ,p) U Vi(s= 1,2, ,9) , X Vv
Vi(b- Ax) > 0, ma_3<{u(b- Ax)} : : maUx{u(b- AX) }
X, Vv, v(b- Ax) > 0, (DL) : , (L)

vi(b- Ax) < 0,(s= 1,2, ,9
. 348



11.

SL
S2.

S3.

Yy X

vi(b- Ax) < 0(s= 1,2, ,s),x= 0, , X
x X,
min w = dy
s.t. Dy> b- Ax
y=2 0
(DL) max :
min{cx+ ,_max Eu"(b- AXx)}
s.t.  u(b- Ax)< 0,s= 1,2, ,s
x= 0
z= ox+ max{w(b- Ax)},p= 1,2, ,p z= ox+ u'(b- Ax),p= 1,2
minw = z
s.t. cx+ u’(b- Ax)< z,p= 1,2, E
V(b- AX)< 0,s= 1,2, ,s
x= 0
1.2
X ,?,E@oo,;@- o,p-049g-0
(DL)
max w = u(b- Ax)
s. t. uD< d
uz 0
X X, u’, p—p+ 1,z cx+ u’(b - A§),
Vi, qeqgq+ 1
min z
s.t. z>cx+ u(b- Ax),h= 1,2, ,p
Vi(b- Ax) < 0,k= 1,2, ,q
x= 0,
ZoZ XX
z<z S2 X
min w = dy
s.t. Dy=> b- AX
y= 0
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min z = cx + dy
s.t. Ax+ Dy= b

x= 0 ,y=2 0
11. 1
11.1
11.1.3
11.1 mnz=x+ yi+ Vys
S. t. 2X + yi- By2- 5Sys=> 1
X+ yi+ Yot 2ys > 2
x= 0
yn,yzys2 0

SL X= 0,z + 0,z - ®,p<0,q-0,

S2. x= 0,
max w = u: + 2u:
s. t. Uur- uw<s 1
- 6+ u< 0
- b+ 2u2< 1
u,uz= 0
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( 11.1)
11.1
Us Uz S1 S S
XB G C B
b 1 2 0 0 0
s 0 1 1 1 1 0 0
S 0 0 6 d 0 1 0
S 0 1 5 2 0 0 1
0 1 2 0 0 0
S 0 1 5 0 1 0 0
U2 2 0 6 1 0 1 0
S 0 1 d 0 0 - 2 1
0 13 0 0 - 2 0
S 0 12/7 0 0 1 - 107 5/ 7
Uz 2 6/ 7 0 1 0 - 57 6/ 7
Us 1 U7 1 0 0 - 27 17
13/7 0 0 0 12/7 - 137
- 10/ 7 1 0 0
_ _ 10 , 2o 2
as= 57 = y 0 y 1 7 0
- 27 0 0 1
10 5 2
733- 7az- 731
12/ 7+ P10/ 7
10 5 2
b- Bas= 6/7+ B5/7 = b+ Bio, joas+ Bio oA+ B a
V7+ B2/7
Uz, U2 B > o :
6 5
lim = = lim I L
B o Ul_ B i_l_ l B 2
7 7
V= (25
11.2
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S3. b- Ax= 2(1- 2x) + 5(2- 3x)= 12- 19

minw = z
S.t. 12- 19x < O
> 0,
M
S4 z2< 2z S2
1 - 6 - 5
S2. x= M,D =
- 1 2
Uz - U2
uD = (u:r  u2) = - 6ur + U
-1 1
- 5+ 2u:
max z = uw(1l- 2M) + u(2- 3M)
S. t. U - u< 1
- BUui+ U< 0
- 5+ 2u2< 1
U, U= 0
( 11. 2)
11.2
U1 uz S1 S2 S3
XB Cs C
b 1 2M 2- 3M 0 0 0
S 0 1 1 1 1 0 0
S 0 0 6 1 0 1 0
3 0 1 5 2 0 0 1
1 2M 2- 3M 0 0 0
M= 1, ur= u2= 0
Z M
S3. ox+ u?(b- Ax) = X
minw = z
s. t. 12- 19% < 0
X< z
x= 0
x=1z= 1,z=1
- 1- 2 -1 -
S4. z= 1,z= M > 1, x= 1,b- Ax= = Z
2- 3 -1
max w = - Ui- Uz
S. t. U: - U: <
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Uu,u2= 0

U= Uu:= 0 z= 1- 0- 0= 1
S3. minw = z
S. t. 12- 19% < O
X< Z
x=2 0

S4. z= z= 1,x= 1
mnw =vy: + Vys
S. t. Yi- 0By2- Sys=>- 1
- Y1t Yo+ 2ys> - 1
yi,y22 0
mnw =vy: + Vys
S. t. - Y1+ 6y2+ Hys+ si= 1
yi- Y- 2Yat &= 1
yu,yz,ys2 0
( 11. 3)
11. 3
Y1 y2 Ys St S
XB Ce C
b 1 0 1 0 0
S 0 1 1 6 5 1 0
® 0 1 1 1 2 0 1
1 0 1 0 0

y:= y2= ys= 0
11. 2 minz=x:+ 4x2+ yi + 3y
S.t. X1- 2X2- 2y1- Y221
- Xat X+ 2yi+ 2y.2 1
32 X1,X22 0 ,Yi,y22 0
X1= 280+ &, X2= 2m+ n, &, = 0 1,i= 1,2
mnz=2+ &+ 8+ 4+ y:+ 3y:
S. t. 2600+ & - Am- 2 - 2yi-  y22= 1
- 28i- Bt B+ 3+ 2yt 22 1
§&,&,m, = 0,1}y;,y.2 0

(1)

(1)
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min z =cx + dy
s.t. Ax+ Dy= b
X {0,1},y= O

2 1 - 4 - 2 -2 -1
A= D =

.2 -1 6 3 2 2
x= (&, &, mn),y= (yi,y2)'

b= i,c: (2 1 8 4),d= (1 3

S1. x= (0,000,200 ,zZc - ®,p0,q-0

-2 -1
S2. uD = (U1 Uu2)
2 2
= (- 2u1+ 2uz, - Ui+ 2u2)

max W =ub= u:+ U
S.t. - 2+ 2u2< 1

- U+ 2u2< 3

U,u2= 0
11. 3
11.3
( 11. 4)
11. 4
(VS Uz S
XB CB
b c 1 1 0 0
S 0 1 2 2 1 0
S 0 3 1 2 0 1
1 1 0 0
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S3.

S4.

S2.

S3.

N |

(u, u2) = (2,1),9<1

min w = z
S. t. (2 1

Ei,l’]iZ 0,1;i: 1,2
3- 26- &+ 2m+ < O
&= &= 1,m=nmn=20

S2
1
AXx = L - 1=
- -1 6 0 -
0
max w = (Us U2) ] = 2ui + 4u:
1+ 3
S.t. - 20+ 2u2< 1
- U+ 2u2< 3
U,u22= 0
- W+ 2u2= 3
Cout 2w = 1 Ur= 2,Uz = %,uz 2,%
— — - 5 1- 3
z= cx+ u(b- Ax) = 3+ 2 B 1+ 3:
min w = z
s.t. 3¢ + %Ez+ N + —%r]z+ %< z
3- 2&- &+ 2m+ < O
&G, ni= 0,1,1= 1,2
&= &= 1m=n=0z=92z-9
=z=9

minw =y: + 3y

S.t. - 2Y1- Y22 - 2
2y1+ 2y = 4
yi,y22 0

max w' = - yi- 3y

s.t. 2yi+ Y2+ S = 2

- 2Y1- 2y2+ Se=- 4
Y1,Y2,S,% 2 0
(  11.5)

1- 286 - &+ 4+ 2n 0
<
1+ 286+ & - 6m- 3
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11.5

X Y1 y2 St S
Xs Ce C
b 1 3 0 0
S 0 2 2 1 1 0
3 0 4 O 2 2 0 1
0 1 3 0 0
S 2 0 o1 1 1
Y1 1 2 1 1 0 1/2
2 0 2 0 1/2
Yo 3 2 0 1 1 1
Y1 0 1 0 1 1/2
6 0 0 2 5/2
yr= 0,y2= 2,x1= 3,X2= 0,z= 9
11. 3 mnz=x:+ 4x:+ y:1+ 3y
S. t. X1- 2X2- 2Y1- Y22
- Xat Xzt 2yi+ 2y 2>
X1,X22 0 , Yi,Y22 0
c= (1 4),d= (1 3
1 - 2 -2 -1
A= , D= , b=
-1 3 2 2
S1. x= (0 0),Zc®,Zc - ©,p<0,gqc0
S2.
max w = U+ U
S. t. - 2ui+ 2u2< 1
- W+ 2u2< 3
U,uz= 0
( 11.6)
11. 6
X u1 uz S1 2
X8 Ce c
b 1 1 0 0
S 2 2 0
S 3 1 2 1
1 1
, ( 11. 4)
1+ 2P
b- pa.= B :
3+ B

356-




11.4

VY= (1 0)
S3. min z
S. t. 1- X1+ 2X2< 0

X1,X22 0
X1 = M,M 1 , X2 = 0
S2.  x= (1 0)
(U u2) ! - t-2 1 = (U1 U2 ! - ! = (U1 U2 0 = 2U:
1 -1 3 0 1 -1 2
max z = 2u:
s. t. - 21+ 2u2< 1
- W+ 2u2< 3
U,u2=2 0
( 11.7)
11. 7
X Uz P St S
Xs Cs B
b 0 2 0 0
S 0 1 2 Q 1 0
S 0 1 2 0 1
0 2 0
U2 2 12 1 1 1/2 0
S 0 d 0 1
Q 0 0
U2 2 3/2 0 1 1/2 1
Uy 2 1 0 0
3 0 0 2
32 - 1/2 32+ B/2
b- pa:= - B =
2 -1 2+ B
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B - OO’E_’ 2, \Y; (2 1)
S3. min z
S.t. - X1+ 2X2< -1
- X1+ X2<- 3
X1,X2=2 0
( 11. 8)
11. 8
X X1 X2 S1 S
XB Cs C
b 0 0 0 0
S 0 1 1 2 1 0
S 0 3 o1 1 0 1
S 0 2 0 1 1 1
X1 0 3 1 1 0 1
0 0 0 0
11.5
x1= 3, %x:= 0, (31) x= (30)7, Ax= (
S4. z;t y4
S2. max z = - 2u: + 4u:
S. t. - 2u:+ 2u:< 1

358-

(

11. 9)

- W+ 2u2< 3

Uu,u2= 0



11. 9

X Uz Uz S S
= b Cl - 2 4 0 0 P
0 1 - 2 Q 1 0
0 -1 2 0 1
- 2 4 0 0
4 12 -1 1 1/2 0
0 2 d 0 -1 1
2 0 - 2 0
4 5/2 0 1 - 1/2 1
-2 2 1 0 -1 1
6 0 0 0 - 2
U= 2, Uz= %,u2= 2 %
z= Cx+ W(b- Ax) = 3+ 2 2 2=9
2 4
min z
s.t. - X1t 2Xo2 <- 1
- X1+ X2 <- 3
%x1+ %Xz'l‘ %s z
X1,X22 0
minz=%x1+ %x2+ %
s. t. - Xat X2+ si=- 1
- Xit+t X2+ S2=- 3
X1,X22 0
( 11. 10)
11. 10
X X1 X2 S1 2
Cs
b 3/2 1/2 0 0
- -1 2 1 0
- 3 o 1 1 0 1
3/2 1/2 0 0
0 2 0 1 1 -1
3/2 3 1 -1 0 -1
9/ 2 0 2 0 3/2
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z= 92+ 92= 9
S4. z= z= 9, X1= 3,Xx2=0

min w = dy
s. t. Dy > b- AXx
y=> 0
min z=y: + 3y
s.t. - 2Y1- Y22 - 2
2y1+ 2y2= 4
yi,y22 0
min z=vy: + 3y:
S.t. 2y1+ Y2+ 5= 2
- 2y1- 22+ =- 4
yi,y22 0
( 11.11)
11. 11
X Y1 y2 S1 S
XB Cs B
b 1 3 0 0
S 0 2 2 1 1 0
2 0 4 o 2 2 0 1
1 3 0 0
S 1 2 0 1 1 1
Y1 2 1 1 0 - 1/2
1 0 5/2 1/2 0
Y2 2 0 1 1 1
Y1 0 1 0 1 1/2
6 0 0 2 5/2
y2= 2,y1= 0,xa= 3,X2= 0
11. 2
11.2.1
max z = CX
S. t. Ax= b
x= 0 (P)
A, b C
X , (P)
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f
(R)
z= GB 'b-
11.2. 2
11. 4

Zr

A Xi

max z= CeB 'b+ (Cv- CeB "N)xn
s. t. Xe= B 'b- B 'Nxw

Xe,Xn = 0

max z = CsB 'b+ ZN(CN - GsB 'a)x;

s.t. Xxe = B 'b- B ‘ax;
5 ZN j

XB
X = >0
XN

B 'b- B 'Nxn = 0mod 1
xv = 0
xn, B 'b- B 'Nxn ,
f(B 'b) - f(B 'Nxnu) = 0mod1

xv= 0
a
f(a) = a- La]

min z. = (CeB” 'N - Cu)Xn

s. t. f(B 'b) - f(B 'Nxnv)= Omod 1

x= 0

(P) ! (R)

11.6

Zr
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( 11.12)
11. 12
X1 X2 S1 S S
Xs G c
b 1 2 0 0 0
S 0 1 2 1 0 0
S 0 Q 0 0 1 0
S 2 4 0 0 1
1 2 0 0 0
s 0 9/2 0 @ 1 12 0
X1 1 72 1 0 0 12 0
S 16 0 4 0 1 1
0 2 0 12 0
X2 2 9/4 0 1 1/2 14 0
X1 1 72 1 0 0 12 0
S 0 7 0 0 - 2 2 1
8 0 0 - 1 0 0
X1 = L. i&
2 2
=3 der i
Ss= 7+ 25- 2%
Z= 8- S
max z= 8- s
X1 712 0 12
s. t. X2 = 9/4 - V2 - 1/4
Ss 7 - 2 2
X1,X2,9,%,S%= 0
(R)
min z: = s
12 0 12 0
S. t. V4 - 1U2s- 34s= 0 modl
0 0 0 0
S,%> 0
Ss 0, (R)
1/2 0 1/2
va  vu2°>T za T mod 1
s,&2 0
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N o <

o 1_2

11. 13

11. 13

Si.

o AN

o M N

O <N

O - N

O N

O ««N

O «— N

o 1_2

™ o N
To KUY
N ™
o o &

- 3_ o\
1_2 3_4
o o
&
1_2 3_4

o 1_2

1_2 3_4

1_2 1_4

o 1_2

1_2 3_4

1_2 3_4

1_2 1_4

MAN O <

0,123

0,1

, 9,

= S

min z.

0,s=

S =

S,

min z. =

1,8 = ss=1,s=

S =

0,s =

S =

=1

2(3)

3,2 =

2, X2 =

X1 =
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11.5 max z = 2X1+ X2+ 4Xs+ 3Xa+ Xs

s.t. 2X2+ Xz + 4Xa+ 2Xs< 41
3Xi1- 4X2+ BXs+ Xa- Xs< 47
Xi= 0 1= 1,2,3,4,5
S, S
( 11. 14)
11. 14
X1 X2 X3 Xa X5 S1 S
XB G C
b 2 1 4 3 1 0 0
s 0 41 0 2 1 4 2 1 0
% 0 47 3 - 4 & 1 -1 0 1
0 2 1 a 3 1 0 0
S 0 158/5 - 3/5 @H5 0 19/5 11/5 1 - U5
X3 4 47/5 3/5- 4/5 1 1/5 - 1/5 0 1/5
188/5 - 2/5 @U5 0 11/5 9/5 0 - 4/5
X2 1 158/ 14 - 3/4 1 0 19/14 1114 514- 1/14
X3 4 129/ 7 a7 0 1 9/7 3/7 217 V7
85 1/2 0 o - 7/2 - 3/2 - 3/2 - 12
X2 1 20 0 1 12 2 1 1/2 0
X1 2 43 1 0 7/3 3 1 2/3 13
106 0 0 - 7/6 - 5 - 2- 11/6 - 2/3
max z = 106%— %x3— 5Xa - 2Xs - 1—6131— %sg
st X1= 431 ] 7/3x3- 3x4- 1x5- 2/331- 13
X2 203 12 2 1 12 0
X1, X2, X3, X4,X5 > 0 1,22 0
(R)
min z, = %x3+ —231+ %Sz
1 2 1 0
s. t. 3 X3 + 3 s+ 3 = 1 modl
1 1 0 o
2 2

X3, 5,22 0
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( 11. 15)

11. 15
X3! 0 1 2 3 4 5 6
L L 2 0 1 2
3 3 3
f 1 X3 1 3 1 3 1
Py Py 0 2 0 £}
Su: 0 1 2 3 4 5 6
= < 1 0 2 L
3 3 3
f 1 S1 1 3 1 3 1
> > 0 2 0 >
Se! 0 1 2 3 4
1 1 2 1
f 3 5 3 3 3
0 0 0 0
s=9s=1
X1= 42, Xx2= 20,Xs= Xsa= Xs= 0,z= 102
ss= &= 0,x3= 3, x1= 36,X2= 19,X4= Xs= 0 (R) : (P)
11. 3
y G: {a11a21 ,ag} ]
[13 id’
1. ra G,b Gajsb=c¢ G
2. a,bc Gajobjoc= aijo(bjec) = (aijdb) joc
3. e G, "a G, aijre= ejma= a
4, "a Gvb Gajo= bjra= e
11.3.1
(R)
o %
11.4 ,f 1 s ,f 3 £, s,%=012, Abel (
2 4
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mod 1

G

11.5

Gs

(R)

,

G: =

N wl

1
G = 5 X
1= 1§1%
4
s ,s= 0,1, 2,
1
0 3 L 0
) !3] 1
0’ 1 =
> 0 2
2, Gs
2
o 3 <+ O
, .32
0’ 1 =
> 0 2
minzrzch,-(gj)x;
S. t.

go= f(B 'b),g = f (B ‘a),a

G

- 366-

gi

gi - Ok,

11. 4

G (i)

o)

X

minz=s

S. t.

1
2
1
4
mod 1
14
31
a1
0 2
2 3
31
1
0 2

ZNg,-xj = gomod 1

Xj
N

2

0

(R)

]

G

N c(g))= GB 'a- ¢6,j N
] = 1,

2 N

gk -

mod 1

gi= gi mod 1,

X

gi - O(

gi
G



g7 -

1 a1
0 0 2 2
= , = , = ,Ob =
g1 % g 3 g 1
4 4
1 0
g2- 0= Qgi1- Q2= 3 = 02,0:- 0= 0gv- g2= 1 = O
Z 2
11.7
0-02-0:1= @g,e= 3,9=0
11.6 max z= 110- (2xz+ 7Xs+ 4Xs)
S. t. X1 + %Xs‘l‘ %X4- %st 135
. 3 , 5 _ 9
X2 4X3 4X5 4
xi= 0 1= 1,2,3,45
min z: = 2Xs + 7Xs + 4Xs
S 3 A
8 L 8 8
s. t. Xs+ 2 Xa+ Xs =
3 0 1 1
4 4 4
X3, Xa,Xs = 0
5
8
G:
3
4
S 1 e
0 _ 8 _ 4 B 8
Jo = O,gl— é y g2 = i yOs = i
4 2 4
1 3 3
B % _ 8 _ 4 _ 8
g4 3 y Os i y Je L y 07 _1
4 2 4
O:- Qo= 01,02- 01= 01,0s- (2= 01,04~ 0Os= 01,0s- 0+= (1, Qe -
s = J1,Jo- g7 = 01,04- Qo= Q4 Os- Q1= 04,06 - Q2= 04,07 -

gs = 0O,
gs = 04,
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go- Q¢=0401- Ogs= 04,02- Qe = Q4,0s- Qg7= 04 Q1 - Go= Qg7,go- Q1= G,
9:- 092=07,02- Q3= Q7,0s- ¢+4= 07,04~ Os= ¢7,9s- Qe = g7,0gs- g7 = Qv

11.8
(R) (a),(b), (c) )
11.9
Qo g:(= gv) X3 = 3,Xa= Xs= 0, (R)
11.3.2 (Dijkstra)
(R) , 0
D = (dij)n n,dij: (Vi,Vj) O, 1,2,
n- 1

S1 icOM<{i},M<{1,2, ,n- 1},8-0,5<0,j # O
S2. "j M, S > s+ di S «Si+ dj
S3. s = rjnih?{s}
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S4. MM\{r}, M= |, , Mc<M  {r},icr S2

0 M, M, M
(R)
min z. = 2Xs + 7Xs + 4Xs
5 3 e
8 L 8 8
S. t. X3 + 2 Xa + X5 =
3 0 1 1
4 4 4
xi=> 0, 1= 3,45
S 1 e 1 1
_ 8 _ 4 _ 8 _ E _ 8
0: i y 02 _1 y O3 L y 04 3 y Os i
4 2 4 4
3 3
4 _ 8 0
Os 1 y g7 1 y Jo 0
2 4

1. c(9:) «2,¢(94) «7,¢(g7) «4,¢(9:) = min{2, 7,4} = 2, M ~{0,1},c(gz) « o,
c(gs) — o ,c(gs) — o ,c(gs) — oo

2. ¢(9:) + c(92) = 4,¢(9:+ 91) = c(92), c(gz) —~4,¢c(g7) = 4
McM {7}, M= {017
M = {2,3,4,5,6)

3. ¢(g:) + c(g7) = 2+ 4= 6,c(g9:+ g7) = ¢(go) = 0,¢(g7) + c(g7) = 8, c(gr +
g7) = ¢(ge) = o, c(ge) ~8

4. c(gz) = 4,0(gs) = 8,¢(gz) M (g . McM {2 = {0,1,2,7},
M= {3,4,5,6}
c(g:) + c(g2) = 6,c(g:+ g2) = ¢(gs) = o, c(gs) ~ 6

c(g7) + c(gz) = 8,¢(g2+ g7) = c(9:) = 2,2< 8,¢(g2) + ¢(gz) = 8,¢c(g2+ Qg2) =
c(gs) = 7,7< 8
5 M= {0,1,2,3}, gs M, M= {4,5,6)
go gs , Xs= 3,X4= Xs= 0
(R)

11.4
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max z = G X
-1
s. t. axi<s b
-1
Xj= 0
ai, g,b
NP ,
11.7 ,
, L , | bi ,i: 1, 2, , M
n ] Xi G, 1= 1,2, ,n
ai = (an diz aim)T,
airl: + a2+ + aimlm < L
di i , [ aij ,i= 1, 2, , M
min z = ciX: + C2X2 + + CiXn
S. t. Zla;sz bi,i= 1,2, ,m
xi= 0 =12, ,n
s> 0,i= 1,2, ,m,
min z = X1+ CX2+ + CXn
S.t. Zlainj- S = bi,i: 1, 2, , M
Xxi=2 0,siz 0,1= 1,23 ,m,j= 1,2, ,n
Xs . B , X8
C- GB 'A> 0
D= CB '= (d: d- dnm), a= (ay az am) ',
Zdjaji- G < O,i: 1, 2, , N
-1
a= (o o Oh) . a
max w = d:ox + d20e + + dmOm
S. t. [iou + lo00 + + lmom < L
a=> 0 1= 1,2, .m
n ,
(11. 1) i= 1,2 ,n, Z diog < G
-1
11.8 b, n P., P2, P. Pi

370-
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Ci, ai, 1= 1,2, ,n b ,

1 Pi
Xi =
0 1= 1,2, ,n
max z= CiX1 + CX2 + + GiXn
S. t. aixX: + aXz+ + anXxn< b
xi= 0,1,i= 1,2, ,n
m , b, ke, ,bn, Pi
aui, &, ,am, 1= 1,2, ,n,
max z = GiX1 + CXz2 + + GiXn
S. t. auX1 + aiX: + + anXn < b
1= 1,2 ., m
xi= 0,1j=12 ,n
11.5
11. 1
w = ZNaljxj = b, = ZNaij,-: b. (11. 2)
ai, X 0= 1,25 N
N = {1,2, ,n}
(a) , j, ba £ bea;
(b) A
A> bzrjnaNx{an/az;}> o
W+ Ax= b+ A (11. 3
(11. 3) (11. 2
(a) (a) , j, ay > 0,as > 0 hay >
ay  {x;€ N} Xj = 0, blZNaZJXj> bZZNalej
biwx > b, bk
(b) : W+ A= b+ Ak,
W+ A= b+ Ao w= b+ Kk, W+ A= b+ A, o+
A= w+ A+ XK= b+ A, w= b- Ak k= 0,(b)
, k>0, A> b, w= - Ak< O, : W
, k< 0 w< b,z b+ A A> b(ay/az),] N,
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)\ZN X > bzzN ai X

A > o
w> b+ A
A > b A > bbb+ A= A w> b , k =
11. 9 W= X1+ X2+ 3Xs= 6
W = 2X1 + 4Xs + 4x.= 8

W= X1+ X2+ 3Xs+ X2= 6

X1, X2,X3,X4a= 0

W= W= X1+ 2X + 3Xs= 6
0.)’25 W+ W= X1+ 22X+ Xs+ 4x.= 14

W= W+ W+ W= 4X:1+ 3Xz2+ 10xs + 5x. = 20

w W W= W+ = 4X:+ 4x2+ 10xs + 10x.= 20
W W
4 4 10 1 _
A> l1ldmax 32 704 T 28
A= 29,
W= W+ 2902 = (4X:+ 4xz2+ 10Xs + 4xa4) +

29(3x1 + 2X2+ X3+ 4xs) = 20+ 2% 14
W = 91X: + 62X2+ 213xsz+ 120x4 = 426

oW W
A > 20 max %1%2%3%) = 500, A= 502
91x:1 + 62x2 + 213xs+ 12x4+ 502(4x: + 3x2+ 10xs + 5X4)
= 426+ 10040
2099x: + 1568x. + 5233xs + 2522x. = 10466
11. 2
11. 2
W = ZNalij: by, W = ZNazjx,: b.
ai b ( 0),i= 1,2,j N
(11. 4) ,
A > max max (k- 1) ay/ay - h , max by - (ke+ 1) ay/ay
W+ A= b+ A (11. 4

. 372

(11. 4)



11.1 : A 11.1 :

11. 6

min z = an(— G ) Xi

S. t. ananj = b

Xi= 0 ,J=212 ,N
b+ 1 Vo, Vi, V2, , Vb
Vi Vg, t> g, a, a+ g=t, Vg
Vi Xi 1, - G X; = 0,
Vo Vb b , 4 ,
11. 10 minz=- 2Xi- 3X2- 4Xs3
S. t. X1+ 2X2+ 3Xs+ Xa= 4
Xiz 0 1= 1,2,3,4
11. 11, 11. 10
11. 10 11.11
di Vo Vi
d.=- 2,
d2= min{d.- 2,do- 2} = min{- 2- 2, - 3} =- 4
ds= min{do- 3, d:- 3,d2- 2}= min{- 3,- 3- 2,- 4- 2}=- 6
ds= min{d.- 3,d2- 3,ds- 2}= min{- 2- 3,- 4- 3, - 6- 2}=- 8

- 2 - 2 - 2 - 2
. ‘0 o] ‘0 ‘a ‘0
- Vo I X1 'Vl X1 {/2 X1 \}3 X2 \/4
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11.7
() .
11. 11 max z = 18x: + 14x. + 8Xs + 4Xa
S. t. 15x:1 + 12X2 + 7Xs+ 4x. < 33
Xxi= 0 1= 1,2,3,4
, X1, X2, X3, X4 Gl ai
CL C Cs C
— =2 T =2 =2
ai az as aa
£3> —4> §> 1
15— 12— 7 ~
G _ 6
(1) an 5’
1= i_g,z_ 3= Xa= 0,21: 18 i_:;: 39

(2) 0 xi1g 2, X1= 2

max z = 14x.+ 8xs: + 4xs + 36

S. t. 12X+ 7Xs + 4X.< 3
X2,X3,Xa2> 0
X1= 2,X2= %,Xs_ Xs= 0,z = 39%

(3) x1= 3, x1= 3+ X:
15X1 + 12X + TXs + 4Xa< - 12

X1, X2,Xs,Xa= 0

11. 12

374-
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(4) xa= 2,x2= 0,
max z = 8Xs + 4x. + 36

S.t. X3+ 4xa < 3

X3, X222 0

X3 = %,x4= 0,z:= 39%

(5) x2< 2,x22 1, Xx2= 1+ X
max z = 18x: + 14x. + 8Xs + 4xs + 14

s.t. 15X: + 12X+ 7Xs + 4xa < 21
X1, X2, X3, Xa = 0
X1 = i—é,xéz Xs= Xa= 0,2 = 39%
5 11. 13

11. 13

(6) X1 2,X2= 0,Xxs= 0
max z = 18x:1+ 4Xa
S. t. 15x:1+ 4xs < 33

X1,Xs= 0

X1= 2,4X3< 3, X3 < %,zz 39

(7) xag 2,X2= 0,Xs= 1, Xs= 1+ Xs,
max z= 18x:+ 8xs+ 4xs+ 8

s.t. 15X1+ 7Xs + 4xs< 26

X1,X3,Xa2= 0
375-



_ 26 _ _ 1
X1 = 15,X2— Xxs= 0,z= 39 5
1
(5 (7) (7)

(8) z= 397
Xx1< 1,X2= 0,x3> 1
max z = 18x: + 8xs: + 4x.+ 8

s. t. 15X1 + 7Xs + 4Xs< 26

X1, X3, Xa> 0,X:< 1

X1= 1,7Xs + 4Xs< 11,X3= 171,x4: 0
88_ .54
z= 26+ = 387
X1= 1,X2= 0,Xs= 2%,22 38_2-

= 0,X:> 1, 8Xs + 4Xa< - 4, Xs,Xa= 0

(9) X1 = 2,X2 =
(10) (5) 7= 39%,
Xx1< 1, x22 1,
max z = 18x:1 + 14x> + 8xs: + 4xs + 14

s.t. 15X: + 12X+ 7Xs + 4xa < 21

0< X1< 1,X2,X3,Xa= 0

X1= 1,12X2+ TXs+ 4xa< 6

X2 = %,z= 39

(11) X212 2, %2> 1, X1= 2+ X1

15x1 + 12X + 7Xs+ 4xa< - 9

X1, X2, X3,X4> 0

(12) z 39 (6 (10) (10),

x1< 1,x2=1
max z= 18x:1+ 8xs+ 4x. + 14

15+ 7Xs+ 4xa < 21

S.t.
0< Xx1< 1,X3,Xx22 0
X3+ 4x4< 6

X1= 1,X2= 1,X3= —g,z: 38%

(13) X1 < 1,X22 2, Xz2= 2+ Xz
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max z = 18x: + 14x:+ 8x: + 4xs+ 28
S. t. 15X:1 + 12X+ 7Xs+ 4Xa< 9
X1, X2, X3, Xa = 0
x1< 1

xi= 2 x,= 3,Xs= Xs= 0,z= 38

5!
(14) , (6) z= 39 ,
max z = 4x.+ 36

S.t. 4x.< 3

(15) X1= 2,X2= 0,xs=> 1, ,

(16) (12) X1 1,X2= 1,x5= 0
max z = 18x:+ 4x.+ 14

S. t. 15x:+ 4x.< 21
X1, X222 0

Xx1< 1,xs= 0
3 __
2,2— 38

(17) x2 < 1,x2= 1,x32 1, Xs= 1+ X
max z= 18Xx:+ 8Xs+ 4Xs+ 22

s.t. 15X+ 7Xs+ 4x. < 14
0< X1< 1,X5,X4=> 0

14 84 _ 4

X1 = 15,2— 22 + 5 - 385

(18) xa = O,x2= 1, xs> 1
max z = 8xs + 4Xs+ 22

s. t. 7x: + 4xa< 14
X3, Xa2 0,Xz= 2
X1= 0,X2= 1,x3= 3,Xa= 0,z= 38
(19) x:12 1,x2= 1,x3=2 1
151 + 7xs + 4x.< 14

X1,X3, Xa= 0, x12> 1

11. 14

adi, dz, ds, A4

11. 14 b X1= A1, X2 = Az, X3 = a3, Xa = au,”Z*= b
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11.12 041

(1)c> 0,j = 1,2,

a_ o
(2) 3,2 2 >
(3) b> 0

- 378-

n

11. 14

max z = Z G X
-

oS
X

n

G
an

a;
1

Xi< b

0 1]

1, 2,



11.13 max z = 70x: + 20X2 + 39Xs + 37Xs+ 7Xs+ 5xe + 10X~

S. t. 31x: + 10x2 + 20xs + 19x4+ 4Xs + 3Xe + 6X7 < 50
xi= 0 1,i= 1,2, ,7
(0) X1= X2= 1,Xs= 9/20,z= 107.55
(1) x2= 1
max z = 20x: + 39%s + 37Xs+ 7Xs+ 5xe¢+ 10x7+ 70
S. t. 10x2 + 20xs + 19Xs + 4Xs+ 3Xes + 6X7 < 19
1> xi=2 0,i= 2,3, ,7
X2 = 1,xs= 9/20,z = 107.55
(2) Xx1= 0,X2= Xz3= Xa= 1,Xs5= %,zz 97%

(3) X1 = x2= 1,xs= 9/20,z= 107.55

(4) xa1= 1,x2= 0
max z= 39xs+ 37xs+ 7Xs+ bxe+ 10x-+ 10
s. t. 20x3+ 19Xs+ 4xs+ 3Xe+ 6Xx:< 19

0< Xs, X4, ,X75 1
Xz= 19/20,Xx4= Xs= Xe= X7= 0,z = 107.05
(5) xi1= x2= 1,x3=0
max z = 3/X4 + 7Xs + SXe + 10x7 + 90
S.t. 194 + 4Xs + 3Xe+ O6X7 < 9
O< xi< 1,i= 4,5,6,7

9 __
T 107.5

Xa

(6) X1= X2= 1,Xxs3= Xa= 0
max z= 7Xs + 5xe+ 10x- + 90
S.t. 4xs + 3Xe + 6X7 < 9

0< Xs5,Xs,X7< 1
Xs = Xe= 1,X7= %,z= 105%

(7) Xx1= X2= 1,x3= 0,Xa= 1,
(8) (4,
X1= 1,X2= x3= 0

max z= 37X+ + 7Xs+ 5Bxese+ 10x: + 70

S.t. 19X+ + 4xs+ 3Xs + 6X7< 19
xs= 1,z = 107
(1,0,0,1,0,0,0 . z= 107

(9) x2= 1,x2= 0,xs= 1,
(10) X1= Xz2= Xs= 1
379



11. 15

11. 15
11.8
, NP : NP
11.8.1
Tk,
Vi Vi« Vj , Vi T« Vj
+ di- di« L,
11.3 La/L. < 2
k I

oi= di+ dik- di

I, [2, 1 1
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[i > %6i,6i < 2l

Lo= 02+ &+ + o< 2(l2+ s+ + |n)

= 2(Li - 1)
11. 16 Tk, T« (1 )
T« T«
i | k ,
Oi= dij + dik- dj
p T« ,q Tk p ’ p
di S dpq
di < dix+ di < djix+ dpg
di + dk < dik+ 2deg
0i= di+ dik- dixk < 2dpq
i i,k ( ki i ki), (p.a) 11.17
11. 17
11. 16
11.8.2
K L , ik i
;] ] o
O = (m)inT{dk+ dv - di}
dix Vi Vi (Vi,Vk)

Vi - Vj - Vi

di + dii= min {dhk + dkh}

ViV VvV

- 381



11. 14

382-

Vi oo 2 11 10 8 7 6 5
V2 00 4 8 8 4 6 7
Vs 12 o 11 8 12 3 11
vo 11 9 10 1 9 8 10
vs 11 11 9 4 oo 2 10 9
ve 12 8 5 2 11 o 11 9
v 10 11 12 10 9 12 o
ve« 7/ 10 10 10 6 3 1 o
Vi V2 Vs V4 Vs Ve V7 Vs
1= 7,] = 8§,
11. 18
,7 V7,8 VB, )
1,2, ,6 7,8 & 11. 16)
11. 16
dx dke d«7 da dx + dke- dm da + di7- der 1
7 8
10 5 6 7 10+ 5- 3= 12 7+ 6 1= 12 g 7
7 8
11 7 6 10 11+ 7- 3= 15 10+ 6- 1= 15 g 7
3 12 11 3 10 12+ 11- 3= 20 10+ 3- 1= 12 8 7
7 8
4 10 10 8 10 10+ 10- 3= 17 10+ 8- 1= 17 8 7
7 8
5 9 9 10 6 9+ 9 3= 15 6+ 10- 1= 15 8 7
6 12 9 11 3 12+ 9- 3= 18 3+ 11- 1= 13 8 7
5 12, 1 7 8 , 8 ( 11. 19)
11. 19



2.3,4,5,6 (1,7), (L8 & (7.8)
( 11.17)
11. 17 (1\ 7)
k dik + di7- diz dx + di- dn Ok ]
2 2+ 6- 6= 2 11+ 6- 10= 7 2 1 7
3 11+ 3- 6= 8 12+ 5- 10= 7 7 7 1
4 10+ 8- 6= 12 10+ 11- 10= 11 11 7 1
5 8+ 10- 6= 12 9+ 11- 10= 10 10 7 1
6 7+ 11- 6= 12 12+ 12- 10= 14 12 1 7
11. 18 (8\ 1)
k da + dii- das di + dis- dis O« (I
2 10+ 6- 7= 9 2+ 7- 5= 4 4 1 8
3 10+ 5- 7= 8 11+ 11- 5= 17 8 8 1
4 10+ 11- 7= 14 10+ 10- 5= 15 14 8 1
5 6+ 11- 7= 10 8+ 9- 5= 12 10 8 1
6 3+ 12- 7= 8 7+ 9- 5= 11 8 8 1
3 , Ok k= 2, 1-7 11. 20
3,4,5 6 11. 19 1-.2,2-7 & ,7-38,
851 Ok 11. 16 11.18
11. 19
k dik+ de - di2 dx + dk7- dor7
3 11+ 12- 2= 21 4+ 3- 6= 1
4 10+ 9- 2= 17 8+ 8- 6= 10
5 8+ 11- 2= 17 8+ 10- 6= 12
6 7+ 8- 2= 13 4+ 11- 6= 9
Ok 3 27 11. 21
11. 20 11 21
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11.20 1-2,7-8,8-1

4,5, 6 2-3,3-7 Ok ,
11. 20
k dx+ dw - d23 dx + dk7- ds7
4 8+ 10- 4= 14 11+ 8- 3= 16
5 8+ 9- 4= 13 8+ 10- 3= 15
6 4+ 5- 4= 5 12+ 11- 3= 20
S 6 2.3 (11 22)
11. 22
4,5, 2.6 6.3 & ( 11 21)
11. 21
k doc + dis - dos da + dis- des
4 8+ 9- 4= 13 2+ 10- 5= 7
5 8+ 2- 4= 6 11+ 9- 5= 15
O« 5 2-6 11. 23
daa + das- das= 8+ 1- 8= 1,dssa+ das- dss= 4+ 9- 2= 11
4 2-5 , 1-2-4-5.6-3-7-8-1, 11. 24
11. 23 11.24
11. 4

dix+ dg = di,di = dji
384-



( 11.251-2-3-4-1, 2-3 41

P 1.2.4.3.1
11. 25
11.8.3
S1. T
S2. T , 3 ,
, S2 S2 5> 0
11.15 6
vi 0 6 8 9 12 11
v: 6 0 7 4 6 10
V28 7 0 512 09
vi 9 4 5 0 8
vs 12 6 12 8 O
ve 11 10 9 4 3 0

V1 V2 Vs Va Vs Vs

TVi 5V2 5Vs 5 Va 5 Vs o Ve > V1 16+ 7+ 5+ 8+ 3+ 11= 40

11. 26
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(v, V2) : (Vvs, Va), (Va,Vs), (Vs, Vs) : (vi1,V2)

(Vs, Va) : (Vi,V2), (Vs, Va), (v1,Vs), (Vz2, Vi) 'Vi 5> Vs 5 V2 > Va > Vs >
Ve — V1 0= (dwiz+ dzu) - (diz+ da) = 8+ 4- 6- 5= 1,
) (Vi, Vj) (Vh, Vk) ) Vi - Vj - - Vh > Vk - - Vi
(vi, Vi), (vn, W) (vi, vn), (Vi, v«) Vi - Vh - Vi > Vk - - Vi(
11.27)
0= dn+ djk) - (dij + dhk)
(Vi,Vj), (Vh,Vk) ( 11.22)
11. 22
(vi, vj) (Vh, Vi) 0= (din+ dj) - (dij+ dn)
(V1,V2) (V3,V4) (d13 + d24) - (d12 + d34) = (8+ 4) - (6+ 5) =1
(Va, Vs) (du+ dxs) - (diz+ dss) = (9+ 6) - (6+ 8) =1
(V5,Ve) (d15 + dze) - (d12 + d56) = (12"‘ 10) - (6+ 3) = 13
(vz,Vvs) (va, Vs) (dz + dszs) - (des+ das) = (4+ 12)- (7+ 8) =1
(Vs, Ve) (ds+ dx) - (ds+ dsg) = (6+ 9 - (7+ 3)=5
(Ve,Vl) (dze + d31) - (d23 + del) = (10+ 8) - (7+ ll) =0
(s, va) (vs, V) (ds + da) - (dsa+ dss) = (12+ 4)- (5+ 3) = 8
(Ve, V1) (ds+ du) - (daa+ der) = (9+ 9 - (56+ 11) = 2
(V4,V5) (Ve,Vl) (d45 + d51) - (d45 + del) = (4+ 12) - (8+ 11) =- 3
Vi > V2> Vs> Va5 Ve - Vs - V1 40 37
1,2, ,n n
n n ( 11. 28)
11. 27 11. 28
11. 5 n ( )
11.5
11. 5
S1. n T
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S2.

S3.

T K, T (i, jo), (i, k)

P
S2 . S3,

max z = 7X:1 + 9X2+ 3Xs
S. t. 2X1- X2+ 3X3< 6
X1+ X2+ Xs3< 35
X1, X2,X32 0
min z = 5x: + 4x:
s. t. 2X1+ X222 7
X1+ 2X22 2
41+ X222 5

X1,X22 0

(K, Jx)
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12

12. 1
12.1.1
12.1 12.1, Ao As 5 :
A1, B: , ,
:{Az, Bz, Cz, D2}, {As, Bs, Cs}, {A4, Bs, Ca}, {As, Bs} ( )
, Ao A : (
)
12.1
, . AoA1, AoB: ,
AoA 1, 3 s ALA2, AiB:2, AiCy; AoB1, 3 : B1B2, B1C,
B:iD: 6 , Ao As x X Xx Xx X 1= 48
4& 5= 240 , 47 : ,
Ao As
Ao - A1 - B2 - As - Ba - Bs - As
18

388-



12.1.2

k
P. , P«
, As : Ao As
k= 6
f (As) As  As ,f(Bs) Bs As
f(As) = 4,f(Bs) = 3
k=5
f (As) = min{d(As, As) + f(As),d(As+,Bs) + f(Bs)}
=min{3+ 4,5+ 3} = 7
f(A4) As > As 5 As,
Bs - As
f(Bs) = min{d (B4, As) + f(As),d(B4,Bs), + f(Bs)}
=min{5+ 4,2+ 3} =5
f(Cs) = min{d(Cs, As) + f(As),d(Cs,Bs) + f(Bs)}
=min{6+ 4,6+ 3} =9
k= 4
f (As) = min{d(As, As) + f(As),d(As,Bs) + f(B4)}
=min{2+ 7,2+ 5} =7
f (Bs) = min{d(Bs,Bs) + f(B4),d(Bs, C) + f(Cas)}
=min{l+ 52+ 9} =6
f(C) = min{d(Cs,B.) + f(B4),d(Cs,Cs) + f (Cu)}
=min{3+ 5,3+ 9} = 8
k=3
f(A2) = min{d(Az, As) + f(As),d(A:,Bs) + f(B3)}
=min{6+ 7,8+ 6} = 13
f(B2) = min{d(B:,As) + f (As),d(Bz,Bs) + f(Bs)}
=min{3+ 7,5+ 6} = 10
f (C2) = min{d(C:z, Bs) + f(Bs),d(C:,Cs) + f(Cs)}
=min{3+ 63+ 8 =9
f(D2) = min{d(D2z,Bs) + f(Bs),d(D2,Cs) + f(Cs)}
= min{8+ 6,4+ 8 = 12
k= 2

P«,

As -
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f (A1)

f (B1)

k=1
f (Ao)

As As,

15

12.1.3

- 390-

min{d(A:,Az) + f(A2),d(A1,Bz2) + f(B2),d(A:,Co), + f(C2)}
min{1+ 13,3+ 10,6+ 9} = 13
min{d(B1,B:) + f(B:),d(Bi, C) + f(C),d(B1,D:) + f(D2)}
min{8+ 10,7+ 9 6+ 12} = 16

min{d(Ao., A1) + f (A1),d(Ao.,B1) + f(B1)}
min{5+ 13, 3+ 16} = 18

12. 2, % As

12.2

28 Ao As
As

12.3 O(0, 0) E(m,n)

12.3



(n+ m- 1)(n+ m)!
(m+ n- 1)C(n+ m,n) = * Il ’
+ |
(n+ ml =, c(n+ m,n) o E |
n!m!
12.3 m X, N y , XX X
yy v, @) X m y n E m X n
y m+ n , m+ n m X,
y
2mn+ m+ n mn 12. 3
2 , 2 , 1 ,
m=n (2n- 1) iq(2n) !/ (n!)? c(2n) !t/ (n1)?- 1
2(n’ + n) , n?
nl = 27N —
e
n , n’
12. 2
12.2.1
n D1, Do, , Dn, , k,1<
k< n, k ;
: D«+ 1, Dks 2, , Dn
12.2.2
12. 2 1000 : Pi, P2 P,
50 : 65% ; P2, 40 :
40% ; 3 :
, 3 ? 1
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X1, X2, X3 1,2,3
y Y1, Y2,V 1,2,3 P
max z= 50 000(x:+ X2+ Xxs3) + 40 000(y:+ y2+ Yys)

X1+ VY1 1000
X1+ y2= 0.35x:+ 0.60y:
Xz + ys= 0.35x2+ 0.60y:

Xi,Yiz2 0 1= 1,2 3
pi(n) n I 1 , X3
=1 , 1
pi(n) = 0Enax{SO 000xs + 40 000(n - x3)}
_xssn
= 50 000n
X3 =N
i= 2, ,X2 Pl 1

0.35x2+ 0.60(n- Xx:2),
pz2(n) = _max {50 000x> + 40 000(n- x2) + p2(0.35x2+ 0.60(n- Xx2)}
< X2Sn
p:(k) = 50 000k,
pz(n) = _max {50 000x. + 40 000n - 40 000x.+ 50 000(0.6- 0.25x2)}
< X2SI’1

= max {- 2 500x.+ 70 000n}

0< xzs n

70 000n
X2=0
i= 3 3 , P X1,

P

p2(1000) = max {50 000x:+ 40 000(1 000 - X:) + p2(0.35x: + 0.6(1 000- X:)}

0= xls 100

P

= max {50 000x:.+ 40 000 000 - 40 000x: + 70 000( 0. 35x: + 600 - 0. 6x1)}

0= Xq < 1000

= maxooo{ 40 000 000 + 42 000 000 + 10 000x: - 17 500x 1}

0= xls 1

= max {82 000 000- 7 500x:}

0= Xli 1000

82 000 000

1 000 P2;
P2;
P,
. 392.



82 000 000

12.3
a n , gi(X) X [
1= 1,2,
max z = gi(X1) + g2(X2) + + ga(Xn)
S.t. X1+ X2+ + Xn= a
xiz 0,1= 1,2, ,n
gi( Xi) Xi )
f«(n) n k
fi(a) = maxgi(x)
fz(a) = max{g:(x) + fi(a- x)}
fa(a) = max{gs(x) + fa(a- x)}
fn(a) = 0max{gn(x) + foa(a- x)}
A,B,C : 12.1
12.1
1 2 3 4 5 6 7
A 0.12 0. 15 0.20 0.21 0.24 0.30 0. 36
B 0.22 0. 24 0.26 0. 28 0.30 0.33 0.34
C 0.18 0.22 0.26 0. 28 0.30 0.34 0. 36
1. A fi(a) 12. 2
12.2
a
1 2 3 4 5 6 7
f
fi(a) 0.12 0. 15 0.20 0.21 0.24 0.30 0. 36
2. A, B , a fz(a) , X2 B
f.(a) = OEnax{gz(x2) + fi(a- Xx2)}
_xzsa
12. 3, *
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12. 3

X2
0 1 2 3 4 5 6 7 | f2(a)
a
1 1(0.120.22 0.22
0.12+ 0.22
2 0.15 . 0.24 0.34
= 0.34
0.15+ 0.22|0.12+ 0.24
3 0.20 . 0.26 0.37
= 0.37 = 0.36
0.20+ 0.22|0.15+ 0.24(0.12+ 0.26
4 0.21 . 0.28 0.42
= 0.42 = 0.39 = 0.38
0.21+ 0.22(0.20+ 0.24|0.15+ 0.26]|0.12+ 0.28
5 0.24 . 0.30 0.44
= 0.43 = 0.4 = 0.41 = 0.40
0.24+ 0.22|0.21+ 0.24(0.20+ 0.26|0.15+ 0.28|0.12+ 0.30
6 [0.30 . 0.33 0.46
= 0.46 = 0.45 = 0.46 = 0.43 = 0.42
0.30+ 0.22|0.21+ 0.26(0.20+ 0.28(0.15+ 0.30|0.12+ 0.33
7 0.30 N 0.34 0.52
= 0.52 = 0.47 = 0.48 = 0.45 = 0.45
3. 7 A,B,C,
fa(7) = OEnax7{gs(x3) + f2(7- X3)}
_XSS
X3 C 12. 4
12. 4
X3 0 1 2 3 4 5 6 7
g3(X) 0.00 0.18 0.22 0.26 0.28 0.30 0. 34 0. 36
fa(7- X) 0.52 0.46 0. 44 0.42 0. 37 0.34 0. 22 0. 00
ga(x) + f2(7- x)| 0.52 0.64 0. 66 0.68 0. 65 0.64 0. 56 0. 36
fa(7) = max{ga(x) + fa(7- x)} = 0.68
SX3S
0. 68 12. 4 X3 = 3,f2(7- Xs) = f2(4)
12.3 fo(4) = 0.42, x2= 1, Xxi= 3
12. 3
12.3.1
n ( ) , N Vi,Vz, ,Vn dj
Vi Vi ( ), di # dii Vi :
Vi , ?
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Vi,Vz, ,Va : (n- 1!
: , (n- D(n- 1)! (n- 1'- 1 , N ,

f(vi,V) Vi : V : Vi
, V , vi| V )
f(vi,V) = min{dy + f(vi, \{vi})}

V\{v} \ Vi
G= (V,E),V= {vi,v2, ,Va}, G
f (v, {vz,Vvs, ,Vu})
vio 2 1 3 4
v21 0 4 4 2
D=vsa5 4 0 2 2 = (di)s s
vi5 2 2 0 3
vs 4 2 4 2 0
Vi V2 V3 V4 Vs
f (v = 1= da
f (vs; = 5= da
f(vs; = 5= da
f (va; = 4= d=
f(vz;vs) =ds+ f(vs; )= 4+ 5= 9
f(vz;va) = daa+ f(ve; )= 4+ 5= 9
f(vz;vs) =ds+ f(vs; )= 2+ 4= 6
f(vs;v2) =dse+ f(v2; )= 4+ 1= 5
f(vs;va) =daat+ f(va; )= 2+ 5= 7
f(vs;vs) =dss+ f(vs; )= 2+ 4= 6
f(va;v2) = daa+ f(v2; )= 2+ 1= 3
f(va;vs) =das+ f(vs; )= 2+ 5= 7
f(va;vs) =dass+ f(vs; )= 3+ 4= 7
f(vs;ve) =dsa+ f(v2; )= 2+ 1= 3
f(vs;vs) =dss+ f(vs; )= 4+ 5= 9
f(vs;Vva) =dsa+ f(va; )= 2+ 5= 7

min{dzs + f (Vvs;Va), daa+ f(Va;Va)}
min{4+ 7,4+ 7} = 11

f (Vvz2; Vs, Vi)

- 395



f(vz;vs,vs) = min{dzs+ f (vs;Vs),dzs + f(Vs;Vs)}
= min{4+ 6,2+ 9 = 10
f(vz;Va,vs) = min{dza+ f(Va;Vs),das+ f(Vs;Va)}
=min{d4+ 7,2+ 7} = 9
f (vs;Vvz,va) = min{ds2+ f (Vv2;Va),dsa+ f(Va;Vv2)}
=min{4+ 9,2+ 3} =5
fa(Vvs;Vvz2,Vvs) = min{ds2+ f (Vv2;Vs),dss+ f(Vvs;V2)}
=min{4+ 6,2+ 3} =5
f (vs;Vva,vs) = min{dsa+ f(Vs;Vs),dss+ f(Vs;Va)}
=min{2+ 7,2+ 7} = 9
f(va;vz,vs) = min{ds2+ f(Vvz;Vvs),das+ f(vs;Vv2)}
=min{2+ 9,2+ 5 =7
f(va;vz,vs) = min{daz+ f(Vv2;Vs),das+ f(Vs;V2)}
= min{2+ 6,3+ 3} = min{86 } = 6
f(Va; Vvs,vs) = min{das+ f(Vs;Vs), das+ f(Vs;Vs)}
= min{2+ 6,3+ 9 = 8
f(Vvs; Vv2,vs) = min{ds2+ f (v2;Vvs),dss+ f(vs;V2)}
=min{2+ 9,4+ 5 =9
f(vs;Vv2,va) = min{ds2+ f(v2;Va), dsa+ f(Va;V2)}
=min{2+ 9,2+ 3 =5
f(vs;vs,va) = min{dss+ f(vs;va),dsa+ f(vs;Vs)}
=min{d4+ 7,2+ 7} = 9
min{dzs + f (Vvs; Vs, Vs), d2a + f (Va; Vs, Vs),d2s + f (Vs; Vs, Va)}
=min{4+ 9,4+ 8 2+ 9 = 11
f(Vvs;Vz2, Va, Vs) = min{dasz + f (V2;Vs,Vs), dsa + f(Va;V2,Vs),dss+ f(Vs;V2,Va)}
= min{4+ 9,2+ 6,2+ 5 = min{13,8,7} = 7
f(Va; V2, Vs, vs) = min{da + f(V2;Vs,Vs), das+ f(Vs;V2,Vs),das+ f(Vs;V2,V3)}
=min{2+ 10,2+ 5,3+ 9} =7
f(Vs;Vz2, Va, Va) = min{dsz + f (V2;Vs,Va), dss + f(Vs;V2,Va),dsa+ f(Va;V2,Vs3)}
=min{2+ 11,4+ 5,2+ 7} = 9

f (Vl; V2, Vs, Va, V5) = min{dlz + f (Vz;Vs, Va4, V5) ,dis + f (Vs; V2, Va, V5), dis

f (V2] Vs, Va, Vs)

+ f (Vva; V2,Vs,Vs),dis + T (Vs; V2, Vs, Va)}
=min{2+ 11,1+ 7,3+ 7,4+ 9}
min{13, 8, 10,13} = 8

Vi Vs, f(Vs; V2, Va,Vs) = 7 Vs Vs,
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Vi - Vs - Vs - Vu - V2 - V1

12.3.2
n= 5 :
12.4
12. 4 f (Vv2; Vs, Va)
f(vs;va) T (Vva)Vvs); f(vs; va), f(va; ),
12. 4 :
: V= {Vvo,Vvi,Vvz2, ,Vuo},V= V\{Vvo} = {vi,v2, ,Vn}
v Vo, 12. 4
1 : f(vo; V) ;
2 f(vis VW{Vi}) vi V2V {vi} n - 1, 2
nC(n- 1,n- 1) = n f(vii W {vi}):
3 (v VW{vi, vi}), vi,  V V\{vi,Vi} n- 2, 3

- 397-



nC(n- 1,n- 2) f(vi; V\ {vi, vi})

nC(n- 1,n- k+ 1) = nC(n- 1, k- 2
f(vis Vi, Vi, v )
f(vi;vi);

n+ 1

S=1+ ZnC(n- 1, k- 2)
b}

n+ 1

1+ nz C(n- 1,k- 2

n- 1

1+ nZ C(n- 1,k)

1+ n2"'=n2" "+ 1

1 f(Vo;\—/) n

2 f(Vil;\—/\{Vil}) nC(n- 1,n- 1), n- 1
3 f(Viz;\—/\{Vil,Viz}) nC(n- 1,n- 2), n- 2
kK f(vi sV\{Vi, Ve, Ve }) nC(n- 1,k- 2)
n- k+ 1 k= 2, ,n,
T=n+ Z (n- k- 1)C(n- 1,k- 2)
:n+Zn(n- k+ 1)C(n- 1,n- k+ 1)
=n+ n{(n- DC(n- 1,n- 1)+ (n- 2)C(n- 1,n- 2)+ + C(n- 1,1)}
(1+ x)"'= 1+ C(n- 1,1)x+ C(n- 1,2x°+ + x"'
(n- 1)(1+ x)"*= C(n- 1,1) + 2C(n- 1,2)x+ + (n- 1x"°*
x=1

C(n- 1,1) + 2C(n- 1,2) + + (n- 1)C(n- Ln- 1) = (n- 1)2°

T=n+ n(n- 1)2°°
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12. 4

12.4.1
G= (V,E),V = {vi, vz, ,vn}

D= (di)= n
(Vi, Vi) : (Vvi, Vi) E

di= O , Vi=
0 )

L= 1,2, ,n

G

A: (ai)w n,B= (hj)m n,
CC A* B = (Cij)rx

>

Cij = mkin{aik+ bkj}, i,j = 1,2, , N

D(l) — D D(k+ 1) — D(k)* D(l)
D = (di’),dv’ = min{d«+ du}, Vi

3
i(j) Vi Vi

A BC (min(ai, b))« «

D' = D® DW D™ = (di)w »
dlj Vi VJ
DY n? n
e (n*)
12.4.2
DY = (@)
di© Vi (Vi, V2, V) Vi
d? = min d{ 2,d% Y+ d¥ i = 1,2,
E(iJO) = ds a%”) i,j
(1) DD
(2)k 1 n,
1 1 n,
] 1 n,
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k

Lj,K

(V1, V4) I

400-

aij —min ai, di + akj

E,

: & (n%),
Vi oo 1 00 00
V2 oo 00 3 o
Vs 1 2
D=
V4 (e¢] 00
Vs 00 00 00 00 00
Ve 0 00 00 00 00
Vi V2 V3 Va Vs
Vi - V2 - Vs, d(lz) = 4
o 1 2 4 o
00 00 1 3 00
D® = 00 00 00 1 2
00 00 00 00 00
00 00 00 00 00
00 00 00 00 00
(V1, V3 E, (V3, Vs) E, (12) = 4,

dé’ = {d&,

3

4

o (n)

8 o w 8 ~ 8

8 o w 8 ~ 8

(1421) - 4, dis = 2, dsa4

22 + dss} = min{3,2} = 2,d%¥ = min{d?,dd +

1 2 3
o 1 2
00 00 1
0 0

8
8
8

8
8
8

*

=
N
N W

8
8
8

8 8 N w »

8 N w b» 8

8

8

8 o w ~ 8

8 X w 'bx- ('nx- mx-



4 5 6
D(): D(): D()

12.5
m ‘M1, M2, |, Mn,
Mi - M2 - - Mn
M : M-,
n ; ,
Ji1,32,  ,Jn
T= (ti)m n
ty = Ji M
m= 2
So= {J:1,J2, ,Jn},N={1,2, ,n}
n : M1 :
M- )
M , M M-
, M , M-
S , M: S , M2 1
: , S T(S,t),
T(S, 1) = min{tu+ T(S\{Ji};tai + max{t- tu 0})}
tzi + max{t- tu, O} 12. 5

12.5

Ji , Ji :
T(S,t) =tu+ T(S\{Ji};tzi + max{t- ti,0})
=tu+ ty+ T(S\{Ji, Ji};tai+ max{tzi+ max{t- tu, 0} - t;,0})
=tu+ ty+ T(S\{Ji,Ji};Ts)
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Ti =ty + max{ta+ max{t- t; 0} ty,O0}
= tai+ ty - ty + max{max{t- tui, 0}, ty - t2i}
= ta+ tz- ty + max{t- tuty- ta O}
= ta+ ty- tu- ty+ max{t tu, tu+ ty- ta}
t+ ta+ ty- ti- ty, max{t, tu, tu + ty - ta} = t
= tat ty- ty , max{t, tu, tu + ty - ta} = tu
ta , max{t, tu, tu + ty - ta} = tui+ ty - to
Ji - Jj ,
T(S:t) = tu+ tu+ T(S\{Js,i}:T)
Ti= ta+ ty- tu- ty+ max{tty,tu+ ty- tz}
max{t, tii + ty - tz, tu} < max{t, i+ ty - ty,ty} (12. 1)
T(S,t) < T(S:1)
, (12.1)
ti+ ty + max{- tu, - ty} < tut+t ty + max{- tz, - tu}
min{tz, ti} £ min{ta, ty} (12. 2)
(12.2) (Johnson) (12. 2 : Ji Ji
M1 : M:
ti1, ta2, o, 22, , tn1, the ta, Jk
,  lke ,  Jk tk  tke,
n
12. 4 6 Ji,Jd2,Jd3,J4,Js5,Js, 3,12,
52911 ; 8,10,9,6,3 1
_ 3 12 5 2 8 11
T 7 096 4 1.,
.

1< 2< 3< 4< 5< 6< 7< 8< 9< 10< 11< 12
\ \ \ \ \ \ \ \ \ \ \ \
t2s t14 tu tos t1s t2a o1 tis tos t22 {16 ti2

f26, Js , {16, t26

Je 5 Jd1 5 s 5 J2 5 Js - Jo
43
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12. 6

12.6.1
min z = Cx
s. t. Ax= Db
x= 0,
A= (alaz am+n)m< (m+n) = (BlN)
Xe
X =
XN
z=CsB 'b+ (Cuv- GCsB 'N)xwn
= CsB 'b+ ZN(Q- C:B &) X
Xe = B 1b- B 1NXN
=B 'b- ZNB_lpiaiXi
Xe,Xn = 0
minz= (GCsB 'N- Cu)Xn = z (CsB 'pi - @)X
s. t. f(B 'b) - f(B 'Nxa) = 0mod1
Xxv= 0
f(x)C x- Lx_
min z = ZNC(aj)Xj
S. t. ;éijE ao (G)
;= 0 ,j N
go= f(B '0),g = f(B'P),c(g)= GB'P- ¢,j N
(G)
k —
Fe(g) = minz c(gi)Xi
k —
S.t. Z giXi = ¢
X;j= 0 J=1,2, ,k

F«(0) = 0
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F«(g) = min{F«(g - g« + c(g«), Fx 1(9) } (12. 3)
F(0) = O
=0 ,F«(g) = f«1(09)
xe2 1, Fu(g) = Fu(g- g+ (g
, K, Fv(g), k= 1,2, ,n g G,
Fi(0) = O0,F:(9) = c(g:) + Fu(g- 01) F2(9), ,F«(9)
12.6.2
12.5 min z = 4x:1 + 5X:
S. t. - X1- 4X2+ Xs=- 5
- 3X1- X2t Xa=- 7
xi> 0 ,i= 1,2,3,4
T TR S 2/10 - 4/10
X2 - -2 - 310 110
) 18/ 10 10 »
" 8/10 N = 0 1’B N=8
. 2/10 - 4/10 7 11
Co- GB N=-1(49 51 w0~ 10 10
min z = lx3+ ~Xa
10 10
. Xi _ 1810 2/10 - 4/10 xa
X2 8/ 10 - 310 VY10 X
X1, X2,X3,Xa= 0
min z = lx3+ 1—1x4
10 10
2/ 10 6/ 10 8/ 10
S.t. X3 + Xa =
7/ 10 1/10 8/ 10
— 2/10 4/10 6/ 10 8/ 10
9= 0= 500097 T 40T T 10097 9T g0
2/ 10 4/ 10
0= 58 = g ITOEE g 9T g
6/ 10 8/ 10 0
9= BE = g 9T T gy 00T 100 E
- 6/ 10 — 2/ 10 — 8/ 10
0= 0= AT 50T 9T g T
— 4/ 10 — 0 — 6/ 10
= g1 0 9UT g0 T 90T g T
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2110 - 8/10 - 410

7—2: = 1,8 2 = = 4,9 2 = = 7
J 7110 = 90 g/10 "9 10 O
10—2 =
J 0
F«(g) = min{F«(g- g«) + &(9),F«1(9)},F(0) = 0
Fi(g:) = Fi(g1) = c(g) + F(0) = c(g:) = 7/10
Fi(gz) = Fi(g:) + c(g:) = 14/10
Fi(gs) = Fi(g2) + c(gy) = 2110
Fi(gs) = Fi(gs) + Cl(al) = 28/ 10,F:(gs) = 35/10, F:(gs) = 42/ 10
Fi(g7) = 49/10,Fi(gs) = 56/10, F1(gs) = 63/10, F1i(gw) = O

F2(g) = min{F(g), Fx(g- g2) + c(g2)},F2(0) = 0
F2(gs) = min{Fi(gs), ¢(gz) + F2(0)} = min{21/ 10,11/ 10 } = 11/10

F2(29:)
F2(39:)
F2(4g:)
F2(59:)
F2(69:)
F2(792)
F(8g:)

F.(9g:)

min

Fo(29s) = min{Fi(2gs),c(gz) + F2(gs)}

min{42/ 10,11/ 10 + 11/ 10} = min{42/ 10,22/ 10 } = 22/ 10
F2(3g93:) = min{Fi1(3gs3),c(g:) + F2(293)}

min{63/ 10,11/ 10 + 22/ 10} = min{63/ 10,33/ 10 } = 33/ 10
F2(493) = min{Fi(4gs),c(g:) + F2(gs3)}

min{14/ 10,11/ 10 + 11/ 10} = min{14/ 10 , 22/10} = 14/ 10
F2(593:) = min{Fi(5gs),c(g:) + F2(49:)}

min{35/ 10,11/ 10 + 14/ 10} = min{35/ 10,25/ 10 } = 25/ 10
F2(693:) = min{Fi(6gs),c(g:) + F2(593)}

min{56/ 10,11/ 10 + 25/ 10} = min{56/ 10,36/ 10 } = 36/ 10
F:(793) = min{Fi(7gs3),c(g:) + F2(6g3)}

min{7/10, 11/10+ 36/10} = min{7/ 10 , 47/10} = 7/10
F2(8gs:) = min{Fi(8gs),c(g:) + F2(793:)}

min{28/ 10,11/ 10 + 7/10} = min{28/10, 18/10 } = 18/10
F2(993) = min{F1(9gs),c(g:) + F2(8g2)}

min{29/ 10,11/ 10 + 18/ 10} = min{29/ 10", 29/10 } = 29/ 10

Fu(g) = min{Fe (), c(g) + Fu(g- 99}

Fe(g) = F« 1(g), xx= 0; c(gx) + F«(g- Ek), Xk= 1
i(q) = j(k-1,9), Fu(g) = Fea(g) (1 x= 0)
k : F(g) = o(gq) + Fu(g- gy
( 12.5)
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12.5

M 1 2 3 4 5 6 7 8 9 10
N 7 4 1 8 5 2 9 6 3 10
)\151 2/10 4/ 10 6/ 10 8/ 10 0 2/ 10 4/ 10 6/ 10 8/ 10
9= g2 7/10 | 410 | Y10 | 8/10 | 5/10 | 2710 | 9/10 | 6/10 | 3/10
Fi(gi) 7/ 10 14/ 10 | 21/10 | 28/10 | 35/ 10 | 42/10 | 49/10 | 56/ 10 | 63/10 —
j1(gi) 1 1 1 1 1 1 1 1 1 1
F2(gi) 7/10 14/ 10 | 11/10 | 18/10 | 25/10 | 22/10 | 29/10 | 26/ 10 | 33/10 —
j2(gi) 1 1 2 @ 2 2 2 2 2 —
— 8/ 10 _
9o= g9~ 9% F2(g4) , J2(9e) = 2, Xa= 1
. Qo= gs= 80z, 89:- Qo= 702= g1, 2j2(g1) = 1 Fa(g:) = Fi(gy),
Xs= 1
xe = B 'b- B 'Nxn, Xs= 1,xa= 1
X1 18/10 2/10 - 4/10 1 2
x> 810 - 310 110 1 1
1226 minz= 2x1+ 7Xz2+ 4Xs
- 5/8 . 5/2X2+ - 5/8X3+ 1X4+ oXS: 15/ 8
3/ 4 0 5/ 4 0 1 9 4
Xiz 0 Ji= 1,2,3,4,5
5/8 1/ 2 3/8 1 0 78
X1 + X2 + X3 + Xa + Xs = mod 1
3/ 4 0 1/ 4 0 1 1/ 4
xiz 0,i= 1,2,3,4,5
G- g - 5/8’92:2g1: 1/4’93: 3g. = 7/8’94_491_ 1/ 2
3/ 4 1/ 2 1/ 4
B _ us B _ 34 B 38 0
e R TP LTI
- 1/2 — 0
9=, 7 g+, 292 = 0o~ ¥
5 - 3/8 _ 4. 255 = 34 _ e, 350 = U8 _ 0. 43 = 12 _ o
1/ 4 1/ 2 3/ 4 0
- 78 - U4
W=y, T, T
— 5/8 — 0 — 7/ 8
922 g, T 9080:= 0=, = O



F«(go) = min Z o(9i) X,

k
S.t. Z giXi = Qo

X; = 0 j=1,2,3,4,5
B F«(g) = min{F« 1(9),c(gx) + F«(g- g}
J: = 0O, Fl(gl) = 2,F1(gz) = 4, Fl(g3) = 6,F1(g4) = 8
Fl(g5) = 10,F1(ge) = 12, Fl(g7) = 14
ji(gi) =L, 1= 1,2, ,7
g: = g4,Fz(§i) = F2(gs) = min{Fi(gs),7+ F2(0)} = min{8,7 }= 7, jo(gs) = 2
Fz(292) = Fz(O) =0

F2(9:) = Fu(92) = 2,F:(9g2) = Fu(g2) = 4

F2(gs) = Fi(g:) = 6 J2(g9) = 1,1= 1,23

g++ Q91= 05,04+ Q2= Qs,04+ Q3= 0~

F2(gs) = min{F:(gs),c(gs) + Fz(g:1)} = min{10, 7+ 2} = 9

j2(gs) = 2

F2(gs) = min{Fi(gs),c(gs) + F2(gz)} = min{12, 7+ 4 } = 11
j2(gs) = 2

F2(g7) = min{Fi(g7),c(gs) + Fz(g:)} = min{14,7+ 6 } = 13
j2(gs) = 2

gs= g7, Fs(gs) = Fa(gr) = min{F:(g7),4+ Fs(0)} = min{13,4} = 4,

j=(g7) = 3

Fs(2g7) = Fs(gs) = min{Fz(gs), 4+ Fs:(g7)} = min{11,4+ 4} = 8
j3(ge) = 3

F:(397) = Fs(gs) = min{F2:(gs),4+ Fs(297)} = min{9,4+ 8 = 9
ja(gs) = 2

F3(4g7) = Fs(g4) = min{Fz(g4),4+ F3(3g7)}: min{7*,4+ 9} =7
ja(gs) = 2

Fs(507) = Fs(gs) = min{F2:(gs),4+ Fs(49:)} = min{6,4+ 7} = 6
Jo(gs) = J2(gs) = 1
F:(697) = Fs3(g2) = min{F2(g:2),4+ Fs(597)} = min{4,4+ 6} = 4
jo(g2) = 1= js(g2) = 1
Fs(797) = Fs(g:) = min{2,4+ 4} = 2,
Jo(g1) = J2(g1) = 1

(  12.6)
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12. 6

M 1 2 3 4 5 6 7 8
_ — — 1,3,5,7 — — — 2,4,6,8
8 7 6 5 4 3 2 1
- 5/ 8 1/4 7/8 /2 1/ 8 34 3/8
gi(= Agi)
34 1/2 1/ 4 0 34 Y2 U4
Fi(gi) 2 4 6 8 10 12 14 —
j1(gi) 1 1 1 1 1 1 1 —
F2(gi) 2 4 6 7 9 11 13
j2(gi) 1 1 1 2 2 2 2
Fs(gi) 2 4 6 7 9 8 4
ja(gi) 1 1 d 2 2 3 3
js(g) = 1 ,xs=0; ja(g)=1  xe= 0 Xi1= 3
12. 7
max z = CiXi
1
s.t ax;< b
-1
XIZ O ,i: 11 2! ln
F = max CiXi
«(9) Z
S. t. axi< d
2.
Xi=> 0, 1= 1,2, .k
F«(0)=0,k=1,2, ,n, F«(d),k=12 ,n,d= b
Jj = 0< x; < | ba |

1,2, ,n,d= 0, Fx(d) i

Xk

k- 1

Fe(g) = max ox« + Z aiX;
-1

k-1
S. t. aj X
2.°
0

Xj 2 v )

i< d- akxx
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xc= 01,2, ,Ldrac]

xk= 0,1, 2, ,Ld/akJ,
max{cxk + F« 1(d- axx«)}

Fo(d) = 0,d= 0,1, ,b

12. 7 max z = 3X:1 + 5Xz2+ Xz + Xa
S. t. 2X1+ 4X2+ 3Xs+ 2Xa< 5
xiz 0 , 1= 1,2,3,4
;< 1,j=1,2,3
k=1 Fi(d) = max 3x:
s.t. 2xa< d
12 xa2 0

d=0 1, x1= 0,Fi(d)= 0,d= 2,3,45xi=1 ,Fi(d) = 3,
O d=0,1,x2=0
Fi(d) =
3 d= 2,3,4,5:x.= 1

F:(d) = XIT:laOXl{SXz‘l‘ Fi(d- 4x2)}

d= 01,23 ,x2= 0,Fs(d) = Fi(d)
0, d= 0,1

3, d= 2,3

d= 4,F:(4) = max{5x:+ Fi(4- 42))

Fa(d) =

= max{Fi(4),5+ F:1(0)} = max{3,5} =5

X2= 1
F2(5) = xr:1:<';(\)>’<1{5x2+ Fi(5- 4x2)}
= max{Fi(5),5+ Fi(1)} = max{3,5} = 5
X2= 1
0 = 0,1
3 = 2,3
Fo(d) = g =4 (x2= 1)
5 =5 (x2=1)
k= 3,as= 3
Fs(d) = erlaogl{x3+ F.(d- 3xs3)}

max{F.(d), 1+ Fa(g- 3)}= Fo(d), d2
F2(d) 0
Fs(d) = F.(d)
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k= 4 a:=

Fo(d) = max {xi+ Fa(d- 2¢)}

2

max{F2(d),1+ Fa(d- 2),2+ Fo(d- 4}, 5> d= 4,x:= 0
= max{F(d),1+ Fa(d- 2)} ., 2< d< 4,x.= 0
F-(d) , Xa= 0

FA(d) = Fz(d),X4 =0

( 12.7)
12. 7

d 0 1 2 3 4 5
Fi(d) 0 0 3 3 3 3
X1 — ) 1 1 1 1
F2(d) 0 0 3 3 5 5
X2 — 0 0 0 1 1
Fs(d) 0 0 3 3 5 5
X3 — 0 0 0 0 0
Fa(d) 0 0 3 3 5 5
X4 — 0 0 0 0 0

Fi«(5 = max{xs+ Fs(5- 2Xa}

Xa = O,

12. 7 , X3 = 0

F:(5 = max{xs+ F2(5-

F2(5 = max{5x:+ Fi(5-

X2= 1, X1= Xs= X2a= 0

. 410

X2= 1

F4(5) = F3(5)

3X3)} = Fz( 5)

4X2)}

Fl(l) = 0x1=0

max z = 3X1+ B5X2+ Xsz+ Xa

S. t.

2X1+ 4Xo+ Xz + 2X4a= 5
0

Xi2

,5- 4x,= 1

Xj < l,j: 1,2 3



k- 1

Fe(d) = max oxk + Z G X;
-1

s. t.

k- 1
Z aiXj = d
-1

Xxj= 0

1j = 1’21

xi= 0,1 ,Lba]
Fe(d) = . O,Ta?i_d/akj{Cka+ fe 1(d- axxk)}

k-1

k= 1,2, ,n,Fo(0)= 0, Fo(d)=- o,d>0
Fi(d) = xl:o,T ’d/alJ{c1x1+ Fo(d - aXxi)}
d- aix:> 0,Fo(d- aixi) =- o, X d- ax:i= 0
F2(d) = max{cx:+ Fi(d- a&X2)}, X2 : Fi(g- axx2)
- %,
Fi(d) = max{3x:+ Fo(d- 2xi)},
Fi(4) = Xp%2{3x1+ Fo(4- 2x1)}
= max{Fo(4),3+ Fo(2),6+ Fo(0)}
= max{- o,- o, 6}=06
Fi(9) ( 12.8):
12. 8
d 0 1 2 3 5
F1(d) 0 o 3 o o
X1 0 — 1 — —
Fi(d) - o X1 Fi(d) = - o 2x1= d
F2(d) = Xrg:%xl{SXﬁ Fi(d- 4x.)}
F2(d) 2
12.9
d 0 1 2 3 5
F2(d) 0 o 3 o %
X2 — — 0 — 0

F2(4)

X 5= 0,1

3

max {5x. + Fi(d -

F1(4) = 6,X2: 0
Fs(d) = xrrlao?(l{X3+ Fz(d- 3X3)},F4(d) = )

4x:1)} = max{Fi(4),5+ Fi(0)}

I;noa)l(z{X4 + Fs(d- 2x4)}
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( 12. 10)

Fs(5) = max{0,4} = 4
F4(5) = max{Fs(5),1+ Fs(3),2+ Fs3(1)}
= max{4,2, - o} =4
Xa = 0, : Fa(5 = 4,xs= 1,F2(2) = 3,x2= 0,F:(2) = 3,

=

G= (V,E)

V2

Vs 12

8 o 8 8
8
8

8 o 8 8

Va
17

15 20 oo o
V1 V2 Vs Va Vs Vs

8
8
o
8

Vs

8 8 o 8 m» O

o

Vs

max z = 110x: + 160x2+ 260xs + 210x:
2X1+ 3Xz3+ Bxs+ 4x.< 20
Xxi= 0 1= 1,2, 3,4

vi 0 10 8 18 14

v 10 0 7 11 4
D=vs 8 7 0 6 5
ve 18 11 6 0 9

5

vs 14 4 9 O
Vi V2 Vs V4 Vs
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